TiERESL ADAPTER

WERKNK S

—_

BERTERIKS

-t -0t] O

[ T N |:|—| ;u.n#]j—l ;u.n*l:l—l _L Ay
IEREBUN i E D SIvE JE Ui bR S Fi by o

N

AETEEANS: EEELIESMS RN “47 FoRds s it sk, AEEEEELASEm “9”
FR90° 4 i IRk . W11BG9-040G, 1JT4-08-06SP4%

3 ZEIEZAKS Tee

DU —uouo-od-got

e e J iy I U i
SEREEAME KNS PGS i b5 5 e

4 METEERLAKS

O —0CO0 O
P LT N B N

Xof DU e Sk — DU s AR ), BRI R — AR5 DU ANE], WSS — A 3oR e, 58 AR B,
=R, YRR N

5 HMRRKSAHHRE, WAFREMHKS, B SITRRT.

ups AN 4l AN
o _ . SR- RRMESAA N 304
s Z- FoRRANEE Cra3+ HEE BR SU- 255 bHEL Yy TS E5 4 316

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 A-1



1B ADAPTER

6 IFSIRBEBAHERTRNENE, BEFRTRATR.
s | G187 | G147 |3’ | G127 | 58 | G347 ) G1.14” |G1.12” | .,
ERE O x19 x19 x14 x14 NV AR LS R g |62
ik | R1/87 | R1/47 | RrR3s” | R12” | R34” , R1.1/4” |R1.12” | ..,
2 x28 x19 x19 x14 x14 |GV Ly x11 |R&T M
e | zus” | z1/a” | zeer | z12” S << S PO P A B 23 A BT 3
WRZL x27 x18 x18 x14 x14 x11.5 | x11.5 | x11.5
24 JIC B 71167 | 127 | 9116” | 3/4” 718”7 |1.1/16” |1.5/16” | 1.5/8” | 1.7/8” | 2.1/2”
WRZL x20 x20 x18 x16 x14 x12 x12 x12 x12 x12
%4 ORFS | 9/16” |1 1367 | 17 [1.3167 |1.71167 1111167 27 -
R x18 x16 x16 x14 x12 x12 x12 x12
glsaE | | _ s | | e | | | |
[0 x18 x14
L — — — — 127 5/8” 3/4” 17 1.1/4” | 1.4/27 27
= 02 04 05 06 08 10 12 16 20 24 32
T AHNRSUR T 5IRSUME—EL

PREER -

1BGHEIE I ERSL B, i8NG 1/2” X14, AiidskiBarhG3/4” X14, TN EIVE i3k,

5 41BG-08-12Z, 1304 A #54NHI1E, 185 41BG-08-12SR.

R

AJIN= B ERESL R A, J eS8 40 9/167x18, Hime kB4 N9/167x18, A7 iie kB4 hZ1/2°x14,

PRI sk, A5 WAJIN-06-06-08Z .

A-2

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



E-T-N | Winner

TEANEERX

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014






A SE5

1CH. 1DH 1Cl, 1DI 1CN, 1DN
PB7 PB10 PB11 PB12
1CO. 1DO 2C
PB13 PB16
0
/ -
8C-LN 9C., 9D AC. AD ACCH-OG. ADDH-OG
PB21 PB22 PB23 PB24

ACCO-0OG. ADDO-OG
PB25

ACHC-OG. ADHD-OG
PB26

ACOC-OG. ADOD-OG
PB27

1CB. 1DB
PB30

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014







FTEXEREX

L1
11

EE (I In 7% 3
Ts2 s Iss
ABISMEL 24°
1C 1C-RNW METRIC MALE 24° CONE
1D 1D-RNW ISO 8434-1
X 5 PART NO. 12 2t THREAD & 14M% TUBE O.D. R s} DIMENSIONS
3L 1ABODY ZH{FASSEMBLY E F D1 D2 11 L1 S1 S2 S3
1C-12Z 1C-12RNW M12X1.5 | M12X1.5 6 6 10 39 12 14 14
1C-14Z 1C-14RNW M14X1.5 | M14X1.5 8 8 11 40 14 17 17
1C-16Z 1C-16RNW M16X1.5 | M16X1.5 10 10 13 42 17 19 19
1C-18Z 1C-18RNW M18X1.5 | M18X1.5 12 12 14 43 19 22 22
1C-22Z7 1C-22RNW M22X1.5 | M22X1.5 15 15 16 46 24 27 27
1C-26Z 1C-26RNW M26X1.5 | M26X1.5 18 18 16 48 27 32 32
1C-30Z 1C-30RNW M30X2 M30X2 22 22 20 52 32 36 36
1C-36Z 1C-36RNW M36X2 M36X2 28 28 21 54 41 41 41
1C-45Z7 1C-45RNW M45X2 M45X2 35 35 20 63 46 50 50
1C-527 1C-52RNW M52X2 M52X2 42 42 21 66 55 60 60
1D-14Z 1D-14RNW M14X1.5 | M14X1.5 6 6 16 45 14 17 17
1D-16Z 1D-16RNW M16X1.5 | M16X1.5 8 8 18 47 17 19 19
1D-18Z 1D-18RNW M18X1.5 | M18X1.5 10 10 17 49 19 22 22
1D-20Z 1D-20RNW M20X1.5 | M20X1.5 12 12 19 51 22 24 24
1D-22Z 1D-22RNW M22X1.5 | M22X1.5 14 14 22 57 24 27 27
1D-24Z 1D-24RNW M24X1.5 | M24X1.5 16 16 21 57 27 30 30
1D-30Z 1D-30RNW M30X2 M30X2 20 20 23 66 32 36 36
1D-36Z 1D-36RNW M36X2 M36X2 25 25 26 74 41 46 46
1D-427 1D-42RNW M42X2 M42X2 30 30 27 80 46 50 50
1D-527 1D-52RNW M52X2 M52X2 38 38 29 90 59 60 60

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 B-1



FTEXEREX

L1
; r 11
JEN
L — L | — ~
| = f 7%0
S2 St S3
1c 1C-RNW INEIIMEBELL 24° HE
- METRIC MALE 24° CONE REDUCER
1D 1D-RNW ISO 8434-1
X = PART NO. 12 24t THREAD & 74z TUBE O.D. R < DIMENSIONS
$%31.44BODY | 414FASSEMBLY E F D1 D2 L1 11 S1 S2 S3
1C-12-14Z 1C-12-14RNW | M12X1.5 | M14X1.5 6 8 40 11 14 14 17
1C-12-16Z 1C-12-16RNW | M12X1.5 | M16X1.5 6 10 41 12 17 14 19
1C-12-18Z 1C-12-18RNW | M12X1.5 | M18X1.5 6 12 42 13 19 14 22
1C-14-16Z 1C-14-16RNW | M14X1.5 [ M16X1.5 8 10 41 12 17 17 19
1C-14-18Z 1C-14-18RNW | M14X1.5 | M18X1.5 8 12 42 13 19 17 22
1C-16-18Z 1C-16-18RNW | M16X1.5 [ M18X1.5 10 12 43 14 19 19 22
1C-16-227 1C-16-22RNW | M16X1.5 | M22X1.5 10 15 445 | 15 24 19 27
1C-16-26Z 1C-16-26RNW | M16X1.5 | M26X1.5 10 18 46 | 155 | 27 19 32
1C-18-22Z 1C-18-22RNW | M18X1.5 | M22X1.5 12 15 445 | 15 24 22 27
1C-18-26Z 1C-18-26RNW | M18X1.5 [ M26X1.5 12 18 46 | 155 | 27 22 32
1C-18-30Z 1C-18-30RNW | M18X1.5 [ M30X2 12 22 48 | 175 | 32 22 36
1C-22-26Z 1C-22-26RNW | M22X1.5 [ M26X1.5 15 18 475 | 165 | 27 27 32
1C-22-30Z 1C-22-30RNW | M22X1.5 [ M30X2 15 22 495 | 185 | 32 27 36
1C-26-30Z 1C-26-30RNW | M26X1.5 [ M30X2 18 22 50 18 32 32 36
1C-26-36Z 1C-26-36RNW | M26X1.5 [ M36X2 18 28 515 [ 19 41 32 41
1C-30-36Z 1C-30-36RNW | M30X2 | M36X2 22 28 535 | 21 38 36 41
1C-30-45Z 1C-30-45RNW | M30X2 | M45x2 22 35 585 | 21 46 36 50
1C-36-45Z 1C-36-45RNW | M36X2 | M45x2 28 35 59 21 46 41 50

1D-14-16Z 1D-14-16RNW | M14X1.5 | M16X1.5 8 47 18 17 17 19

1D-14-18Z 1D-14-18RNW | M14X1.5 | M18X1.5 10 48 17.5 19 17 22

1D-16-18Z 1D-16-18RNW | M16X1.5 [ M18X1.5 10 48 17.5 19 19 22

6
6
1D-14-20Z 1D-14-20RNW | M14X1.5 | M20X1.5 6 12 50 19.5 22 17 24
8
8

1D-16-20Z 1D-16-20RNW | M16X1.5 | M20X1.5 12 50 19.5 22 19 24
1D-18-20Z 1D-18-20RNW | M18X1.5 | M20X1.5 10 12 51 19 22 22 24
1D-18-227 1D-18-22RNW | M18X1.5 | M22X1.5 10 14 54 20.5 24 22 27
1D-18-30Z 1D-18-30RNW | M18X1.5 | M30X2 10 20 5.5 22 32 22 36
1D-20-227 1D-20-22RNW | M20X1.5 | M22X1.5 12 14 54 20.5 24 24 27
1D-20-24Z 1D-20-24RNW | M20X1.5 | M24X1.5 12 16 54 20 27 24 30
1D-20-30Z 1D-20-30RNW | M20X1.5 | M30X2 12 20 59.5 22 32 24 36
1D-22-247 1D-22-24RNW | M22X1.5 | M24X1.5 14 16 57 21.5 27 27 30
1D-24-30Z 1D-24-30RNW | M24X1.5 | M30X2 16 20 62.5 23 32 30 36
1D-24-36Z 1D-24-36RNW | M24X1.5 | M36X2 16 25 67.5 | 25.5 41 30 46
1D-30-36Z 1D-30-36RNW M30X2 M36X2 20 25 71 25.5 41 36 46
1D-30-42Z 1D-30-42RNW M30X2 M42X2 20 30 74 26 46 36 50
1D-36-42Z 1D-36-42RNW M36X2 M42X2 25 30 77 26.5 46 46 50
1D-42-527 1D-42-52RNW M42X2 M52X2 30 38 86.5 | 29.5 55 50 60

B-2 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



FTEXEREX

rE)Z<1>

S1
2/ 1
1C9 1C9-RNW INFIIMBLL 24° $ 90° T
- METRIC MALE 24° CONE 90° ELBOW
1D9 1D9-RNW ISO 8434-1
f{ 5 PART NO. 12 40 THREAD ¥ 4M% TUBE O.D. JU <} DIMENSIONS
Bk ABODY | 4 fFASSEMBLY E F D1 D2 11,2 |L1,L2| S1 |S2,S3

1C9-12Z 1C9-12RNW | M12X1.5 | M12X1.5 6 6 12 27 12 14
1C9-14Z 1C9-14RNW | M14X1.5 | M14X1.5 8 8 14 29 12 17
1C9-16Z 1C9-16RNW | M16X1.5 | M16X1.5 10 10 15 30 14 19
1C9-18Z 1C9-18RNW | M18X1.5 | M18X1.5 12 12 17 32 17 22
1C9-22Z 1C9-22RNW | M22X1.5 | M22X1.5 15 15 21 36 19 27
1C9-26Z 1C9-26RNW | M26X1.5 | M26X1.5 18 18 235 | 40 24 32
1C9-30Z 1C9-30RNW M30X2 | M30X2 22 22 275 | 44 27 36
1C9-36Z 1C9-36RNW M36X2 | M36X2 28 28 305 | 47 36 41
1C9-457 1C9-45RNW M45X2 | M45X2 35 35 345 | 56 41 50
1C9-527 1C9-52RNW M52X2 | M52X2 42 42 40 63 50 60
1D9-14Z 1D9-14RNW | M14X1.5 | M14X1.5 6 6 16 31 12 17
1D9-16Z 1D9-16RNW [ M16X1.5 | M16X1.5 8 8 17 32 14 19
1D9-18Z 1D9-18RNW [ M18X1.5 | M18X1.5 10 10 175 | 34 17 22
1D9-20Z 1D9-20RNW | M20X1.5 | M20X1.5 12 12 215 | 38 17 24
1D9-227 1D9-22RNW | M22X1.5 | M22X1.5 14 14 22 40 19 27
1D9-24Z 1D9-24RNW | M24X1.5 | M24X1.5 16 16 245 | 43 24 30
1D9-30Z 1D9-30RNW M30X2 | M30X2 20 20 265 | 48 27 36
1D9-36Z 1D9-36RNW M36X2 | M36X2 25 25 30 54 36 46
1D9-427 1D9-42RNW M42X2 | M42x2 30 30 355 | 62 41 50
1D9-527 1D9-52RNW M52X2 | M52X2 38 38 41 72 50 60

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 B-3



FTEXEREX

iR

fS DQ{L
sy \S1

L1 B
11

NHISMRLL 24° H | REBYRBEHRE

1CB-WD 1CB-WDRNW METRIC MALE 24° CONE /
1DB-WD 1DB-WDRNW BSP CAPTIVE SEAL
X 5 PART NO. 12 4 THREAD BT HME D1 fie 2 R <) DIMENSIONS

#:LABODY 2H4-ASSEMBLY E F UE O.D. CAPTIVE B 11 L1 S1 S2
1CB-12-02WDZ | 1CB-12-02WDRNW | M12X1.5 | G1/8"X28 6 WD-B02 8 95 (235 14 14
1CB-12-04WDZ | 1CB-12-04WDRNW | M12X1.5 | G1/4"X19 6 WD-B04 12 10 25 19 14
1CB-12-06WDZ | 1CB-12-06WDRNW | M12X1.5 | G3/8"X19 6 WD-B06 12 | 11.5126.5| 22 14
1CB-14-02WDZ | 1CB-14-02WDRNW | M14X1.5 | G1/8"X28 8 WD-B02 8 95| 24 14 17
1CB-14-04WDZ | 1CB-14-04WDRNW | M14X1.5 | G1/4"X19 8 WD-B04 12 10 24 19 17
1CB-14-06WDZ | 1CB-14-06WDRNW | M14X1.5 | G3/8"X19 8 WD-B06 12 |11.5| 26 22 17
1CB-16-04WDZ | 1CB-16-04WDRNW | M16X1.5 | G1/4"X19 10 WD-B04 12 11 |1245| 19 19
1CB-16-06WDZ | 1CB-16-06 WDRNW | M16X1.5 | G3/8"X19 10 WD-B06 12 112.5]| 26 22 19
1CB-16-08WDZ | 1CB-16-08WDRNW | M16X1.5 | G1/2"X14 10 WD-B08 14 14 28 27 19
1CB-18-04WDZ | 1CB-18-04WDRNW | M18X1.5 | G1/4"X19 12 WD-B04 12 11 27 19 22
1CB-18-06WDZ | 1CB-18-06WDRNW | M18X1.5 | G3/8"X19 12 WD-B06 12 112.5| 26 22 22
1CB-18-08WDZ | 1CB-18-08WDRNW | M18X1.5 | G1/2"X14 12 WD-B08 14 14 28 27 22
1CB-22-04WDZ | 1CB-22-04WDRNW | M22X1.5 | G1/4"X19 15 WD-B04 12 13 28 24 27
1CB-22-06WDZ | 1CB-22-06WDRNW | M22X1.5 | G3/8"X19 15 WD-B06 12 |13.5| 28 24 27
1CB-22-08WDZ | 1CB-22-08WDRNW | M22X1.5 | G1/2"X14 15 WD-B08 14 15 29 27 27
1CB-22-12WDZ | 1CB-22-12WDRNW | M22X1.5 | G3/4"X14 15 WD-B12 16 15 29 32 27
1CB-26-08WDZ | 1CB-26-08WDRNW | M26X1.5 | G1/2"X14 18 WD-B08 14 145 31 27 32
1CB-26-12WDZ | 1CB-26-12WDRNW | M26X1.5 | G3/4"X14 18 WD-B12 16 | 145 31 32 32
1CB-30-12WDZ | 1CB-30-12WDRNW | M30X2 | G3/4"X14 22 WD-B12 16 | 16.5| 33 32 36
1CB-36-16WDZ | 1CB-36-16WDRNW | M36X2 G1"X11 28 WD-B16 18 |17.5| 34 41 41
1CB-45-20WDZ | 1CB-45-20WDRNW | M45X2 |G1.1/4"X11 35 WD-B20 20 [17.5| 39 50 50
1CB-52-24WDZ | 1CB-52-24WDRNW | M52X2 |G1.1/2"X11 42 WD-B24 22 19 42 55, 60
1DB-14-04WDZ | 1DB-14-04WDRNW | M14X1.5 | G1/4"X19 6 WD-B04 12 15 30 19 17
1DB-16-04WDZ | 1DB-16-04WDRNW | M16X1.5 | G1/4"X19 8 WD-B04 12 15 30 19 19
1DB-16-06WDZ | 1DB-16-06WDRNW | M16X1.5 | G3/8"X19 8 WD-B06 12 115.5] 30 22 19
1DB-18-04WDZ | 1DB-18-04WDRNW | M18X1.5 | G1/4"X19 10 WD-B04 12 | 145 31 19 22
1DB-18-06WDZ | 1DB-18-06WDRNW | M18X1.5 | G3/8"X19 10 WD-B06 12 15 31 22 22
1DB-18-08WDZ | 1DB-18-08WDRNW | M18X1.5 | G1/2"X14 10 WD-B08 14 |17.5| 34 27 22
1DB-20-04WDZ | 1DB-20-04WDRNW | M20X1.5 | G1/4"X19 12 WD-B04 12 15 33 22 24
1DB-20-06WDZ | 1DB-20-06\WDRNW | M20X1.5 | G3/8"X19 12 WD-B06 12 15 33 22 24
1DB-20-08WDZ | 1DB-20-08WDRNW | M20X1.5 | G1/2"X14 12 WD-B08 14 1178 34 27 24
1DB-22-08WDZ | 1DB-22-08WDRNW | M22X1.5 | G1/2"X14 14 WD-B08 14 19 37 27 27
1DB-24-06WDZ | 1DB-24-06WDRNW | M24X1.5 | G3/8"X19 16 WD-B06 12 118.5]136.5| 27 30
1DB-24-08WDZ | 1DB-24-08WDRNW | M24X1.5 | G1/2"X14 16 WD-B08 14 |18.8| 37 27 30
1DB-24-12WDZ | 1DB-24-12WDRNW | M24X1.5 | G3/4"X14 16 WD-B12 16 |20.5| 39 32 30
1DB-30-12WDZ | 1DB-30-12WDRNW | M30X2 G3/4"X14 20 WD-B12 16 | 20.5| 42 32 36
1DB-36-08WDZ | 1DB-36-08BWDRNW | M36X2 G1/2"X14 25 WD-B08 14 23 47 38 46
1DB-36-12WDZ | 1DB-36-12WDRNW | M36X2 G3/4"X14 25 WD-B12 16 23 47 41 46
1DB-36-16WDZ | 1DB-36-16WDRNW | M36X2 G1"X11 25 WD-B16 18 23 47 41 46
1DB-42-20WDZ | 1DB-42-20WDRNW | M42X2 |G1.1/4"X11 30 WD-B20 20 |23.5| 50 50 50
1DB-52-24WDZ | 1DB-52-24WDRNW | M52X2 |G1.1/2"X11 38 WD-B24 22 26 57 55 60

B-4

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




FTEXEREX

52 St PNEIIMBLT24°4E/
RERG OB ZRE
1CG 1CG-RNW METRIC MALE 24°CONE /
1DG 1DG-RNW BSP ORING SEAL
X5 PART NO. 2 L THREAD __ [#74}M# D1 Ot 1 JX ' DIMENSIONS
#:L{ABODY | 4H-ASSEMBLY E F TUBE O.D. O-RING B 1 L1 S1 S2
1CG-12-02Z7 1CG-12-02RNW | M12X1.5 | G1/8"X28 6 07.97X1.88 76 |104 ] 23 14 14
1CG-12-04Z 1CG-12-04RNW | M12X1.5 | G1/4"X19 6 o111 1 95 | 25 19 14
1CG-14-047 1CG-14-04RNW | M14x1.5 | G1/4"X19 8 o111 11 10 25 19 17
1CG-14-06Z 1CG-14-06RNW | M14x1.5 | G3/8"X19 8 0113 15| 11.5]| 26 24 17
1CG-14-08Z7 1CG-14-08RNW | M14x1.5 | G1/2"X14 8 017.86X2.62 14 13 | 27.5| 27 34
1CG-16-04Z 1CG-16-04RNW | M16x1.5 | G1/4"X19 10 o111 11 12 26 19 19
1CG-16-06Z 1CG-16-06RNW | M16x1.5 | G3/8"X19 10 0113 11.51125)| 27 24 19
1CG-16-08Z 1CG-16-08RNW | M16x1.5 | G1/2"X14 10 017.86X2.62 14 14 29 27 19
1CG-18-06Z 1CG-18-06RNW | M18x1.5 | G3/8"X19 12 0113 11.51125| 27 24 22
1CG-18-08Z 1CG-18-08RNW | M18x1.5 | G1/2"X14 12 017.86X2.62 14 14 28 27 22
1CG-22-06Z 1CG-22-06RNW | M22x1.5 | G3/8"X19 15 0113 11.5113.5] 29 24 27
1CG-22-08Z7 1CG-22-08RNW | M22x1.5 | G1/2"X14 15 017.86X2.62 14 15 29 27 27
1CG-22-12Z 1CG-22-12RNW | M22x1.5 | G3/4"X14 15 0119 14.5119.5| 30 36 32
1CG-26-08Z 1CG-26-08RNW | M26x1.5 | G1/2"X14 18 017.86X2.62 14 |145| 31 27 32
1CG-26-12Z 1CG-26-12RNW | M26x1.5 | G3/4"X14 18 0119 1451155 32 36 32
1CG-30-12Z 1CG-30-12RNW M30x2 G3/4"X14 22 0119 145|17.5| 33 36 36
1CG-30-16Z 1CG-30-16RNW M30x2 G1"X11 22 0217 18.6116.9| 35 41 36
1CG-36-16Z 1CG-36-16RNW M36x2 G1"X11 28 0217 18.6116.9| 34 41 41
1CG-45-20Z 1CG-45-20RNW M45x2 [G1.1/4"X11 35 0222 20 |17.5] 39 50 50
1CG-52-20Z 1CG-52-20RNW M52X2 |[G1.1/4"X11 42 0222 20 19 42 55 60
1CG-52-247 1CG-52-24RNW M52x2 |G1.1/2"X11 42 0224 21.5| 19 42 60 60
1CG-52-32Z7 1CG-52-32RNW M52x2 G2"X11 42 054.0x3.0 245| 25 44 70 60
1DG-14-04Z 1DG-14-04RNW | M14X1.5 | G1/4"X19 6 o111 11 14 28 19 17
1DG-16-04Z 1DG-16-04RNW | M16X1.5 | G1/4"X19 8 o111 11 15 31 19 19
1DG-18-04Z 1DG-18-04RNW | M18x1.5 | G1/4"X19 10 o111 11 14.5| 31 19 22
1DG-18-06Z 1DG-18-06RNW | M18x1.5 | G3/8"X19 10 0113 1.5 15 31 24 22
1DG-20-06Z 1DG-20-06RNW | M20x1.5 | G3/8"X19 12 0113 1.5 15 32 24 24
1DG-20-08Z 1DG-20-08RNW | M20x1.5 | G1/2"X14 12 017.86X2.62 14 | 175 34 27 24
1DG-22-06Z 1DG-22-06RNW | M22x1.5 | G3/8"X19 14 0113 11.5]| 16 37 24 27
1DG-22-08Z7 1DG-22-08RNW | M22x1.5 | G1/2"X14 14 017.86X2.62 14 19 37 27 27
1DG-24-04Z 1DG-24-04RNW | M24x1.5 | G1/4"X19 16 o111 11 17 37 27 30
1DG-24-08Z 1DG-24-08RNW | M24x1.5 | G1/2"X14 16 017.86X2.62 14 |118.5| 37 27 30
1DG-30-12Z 1DG-30-12RNW M30x2 G3/4"X14 20 0119 145|215 42 36 36
1DG-36-12Z 1DG-36-12RNW M36x2 G3/4"X14 25 0119 145 | 24 47 41 46
1DG-36-16Z 1DG-36-16RNW M36x2 G1"X11 25 0217 18.6 224 | 47 41 46
1DG-42-16Z 1DG-42-16RNW M42x2 G1"X11 30 0217 18.6 1229 | 48 46 50
1DG-42-20Z 1DG-42-20RNW M42x2 [G1.1/4"X11 30 0222 20 | 23.5| 50 50 50
1DG-52-247 1DG-52-24RNW M52x2 [G1.1/2"X11 38 0224 21.5| 26 57 60 60
v FIZZUm 51S0 1179-13 DR f# . Note: F thread end fit with 1ISO1179-1 port.

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 B-5



FTEXEREX

S2 s3 3
- égl
i DEE_JH:% L ISMESAoH
- RGP T REONEEE
90°2
METRIC MALE 24°CONE /
1CG9-0G 1CG9-OGRNW BSP ADJUSTABLE ORING SEAL
1DG9-0G 1DG9-OGRNW 90° ELBOW
£ 5 PART NO. #2 4t THREAD |4 74142 D1 ek S <+ DIMENSIONS

$:3LABODY A ASSEMBLY E F TUBE O.D. CAPTIVE M [L1]|L2|s1]s2|s3
1CG9-12-020GZ |1CG9-12-020GRNW | M12X1.5 | G1/8"X28 6 07.97X1.88N90 | 13 | 28 [25.5| 11 | 14|14
1CG9-14-040GZ | 1CG9-14-040GRNW | M14X1.5 | G1/4"X19 8 0111 N90  [15.5(30.5/31.3| 14 [ 17|19
1CG9-16-040GZ | 1CG9-16-040GRNW | M16X1.5 | G1/4"X19 10 0111 N90  [17.5[32.5/32.5| 16 | 19|19
1CG9-16-060GZ |1CG9-16-060GRNW | M16X1.5 | G3/8"X19 10 O113N90  [17.5[32.5/35.8| 16 | 19|22
1CG9-18-060GZ |1CG9-18-060GRNW | M18X1.5 | G3/8"X19 12 O113N90 | 19 [ 34 | 37 | 19 | 22|22
1CG9-22-080GZ |1CG9-22-080GRNW | M22X1.5 | G1/2"X14 15 017.86X2.62N90 | 22 | 37 [43.2| 22 | 27|27
1CG9-26-080GZ | 1CG9-26-080GRNW | M26X1.5 | G1/2"X14 18 017.86X2.62N90 |25.5| 42 | 46 | 27 | 32|27
1CG9-26-120GZ | 1CG9-26-120GRNW | M26X1.5 | G3/4"X14 18 O119N90  [25.5| 42 [49.3| 27 |32]32
1CG9-30-120GZ |1CG9-30-120GRNW| M30X2 | G3/4"X14 22 O119N90  |27.5[45.8| 52 | 30 | 3632
1CG9-30-160GZ |1CG9-30-160GRNW| M30X2 | G1"X11 22 0217 N90  [31.5| 48 | 53 | 33 |36 |41
1CG9-36-160GZ |1CG9-36-160GRNW| M36X2 | G1"X11 28 0217 N90 | 33 |49.8| 56 | 36 |41 |41
1CG9-36-200GZ | 1CG9-36-200GRNW | M36X2 |G1.1/4"X11 28 0222N90 | 36 |52.8| 59 | 41 4150
1CG9-45-200GZ | 1CG9-45-200GRNW | M45X2 |G1.1/4"X11 35 0222N90 | 39 |60.7| 63 | 48 5050
1CG9-52-240GZ |1CG9-52-240GRNW | M52X2 |G1.1/2"X11 42 0224 N90  [40.5|67.8|64.5| 50 |60 |55
1DGY-14-040GZ | 1DGY-14-040GRNW | M14X1.5 | G1/4"X19 6 0111 N90  [17.5(32.5/31.3| 14 [ 17|19
1DG9-16-040GZ | 1DG9-16-040GRNW | M16X1.5 | G1/4"X19 8 0111 N90  [18.5(33.7|32.5| 16 | 19|19
1DG9-16-060GZ | 1DG9-16-060GRNW [ M16X1.5 | G3/8"X19 8 O113N90  |18.5(33.7|35.5| 16 [ 19|22
1DG9-18-060GZ | 1DG9-18-060GRNW [ M18X1.5 | G3/8"X19 10 O113N90  |19.5| 36 [36.8| 19 [2222
1DG9-20-060GZ | 1DG9-20-060GRNW [ M20X1.5 | G3/8"X19 12 O113N90  [|19.5| 36 | 37 | 19 24|22
1DG9-22-080GZ | 1DGY9-22-080GRNW | M22X1.5 | G1/2"X14 14 017.86X2.62N90 |23.5| 41 [43.2| 22 | 27|27
1DG9-24-080GZ | 1DG9-24-080GRNW | M24X1.5 | G1/2"X14 16 017.86X2.62N90 | 24 |42.5| 43 | 24 | 30|27
1DG9-30-120GZ | 1DG9-30-120GRNW| M30X2 | G3/4"X14 20 O119N90  |26.5[49.5| 52 | 30 3632
1DG9-36-160GZ | 1DG9-36-160GRNW | M36X2 | G1"X11 25 0217 N90  [32.5|56.8| 56 | 36 | 46|41
1DG9-42-200GZ | 1DG9-42-200GRNW | M42X2 |G1.1/4"X11 30 0222 N90 | 36 |62.7[59.5| 41 | 50|50
1DG9-52-240GZ | 1DG9-52-240GRNW| M52X2 |G1.1/2"X11 38 0224 N90  [41.5|76.8|63.5| 50 |60 |55

vE: FI24Ui 51S0 1179-13 I ULE{EH . Note

. F thread end fit with ISO1179-1 port.

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




FTEXEREX

L1 B
1"
' -~
D
3 1y |}
\ | L
— S2 St NHIINZELL 244/
NHIFMESI O B Z
1CH 1CH-RNW METRIC MALE 24°CONE /
1DH 1DH-RNW METRIC ORING SEAL
£ 5 PART NO. i2 4L THREAD | 74M# D1| O )\t DIMENSIONS

3L EBODY HIFASSEMBLY E F TUBE O.D. | O-RING B M1 | L1 | s1] s2
1CH-12-10NZ | 1CH-12-10NRNW [ M12X1.5| M10X1 6 008.1X1.6 | 85| 95| 23 | 14 | 14
1CH-14NZ 1CH-14NRNW | M14X1.5 | M14X1.5 8 011.3x22 | 11 | 10 | 25 | 19 | 17
1CH-14-12NZ | 1CH-14-12NRNW | M14X1.5 | M12X1.5 8 009.3x2.2 | 11 [ 10 | 25 | 17 | 17
1CH-16-14NZ | 1CH-16-14NRNW | M16X1.5 | M14X1.5 10 011.3x22 | 11 | 13| 26 | 19 [ 19
1CH-18-14NZ | 1CH-18-14NRNW | M18X1.5 | M14X1.5 12 Oo11.3x22 | 11 | 11 |255] 19 | 22
1CH-14-18NZ | 1CH-14-18NRNW | M14X1.5 | M18X1.5 8 015.3X2.2 |125[11.5[265] 24 | 17
1CH-16NZ 1CH-16NRNW | M16X1.5 | M16X1.5 10 013.3x2.2 |115[125]| 28 | 22 | 19
1CH-16-18NZ | 1CH-16-18NRNW [ M16X1.5 | M18X1.5 10 015.3x2.2 [125[125] 28 | 24 | 19
1CH-18-16NZ | 1CH-18-16NRNW | M18X1.5 | M16X1.5 12 013.3x2.2 |115[125]| 27 | 22 | 22
1CH-22-16NZ | 1CH-22-16NRNW [ M22X1.5| M16X1.5 15 013.3x2.2 | 115[135[295] 24 | 27
1CH-22-18NZ | 1CH-22-18NRNW | M22X1.5 | M18X1.5 15 015.3X2.2 |125[135]| 29 | 24 | 27
1CH-16-22NZ | 1CH-16-22NRNW [ M16X1.5 | M22X1.5 10 019.3x2.2 | 13 [13.5[295] 27 | 19
1CH-22-20NZ | 1CH-22-20NRNW | M22X1.5 | M20X1.5 15 017.3x2.2 | 12 | 15 |[305] 27 | 27
1CH-22NZ 1CH-22NRNW | M22X1.5 | M22X1.5 15 0193x22 | 13 | 15 | 31 | 27 | 27
1CH-26-22NZ | 1CH-26-22NRNW | M26X1.5 | M22X1.5 18 019.3x2.2 | 13 [145] 31 | 27 | 32
1CH-26NZ 1CH-26NRNW | M26X1.5 | M26X1.5 18 023.6X2.9 | 135145 31 | 32 | 32
1CH-26-27NZ | 1CH-26-27NRNW | M26X1.5 | M27X2 18 0236X2.9 | 16 [145] 32 | 32 | 32
1CH-26-33NZ | 1CH-26-33NRNW [ M26X1.5| M33X2 18 0296x2.9 | 16 [155] 33 | 41 | 32
1CH-30-22NZ | 1CH-30-22NRNW | M30X2 | M22X1.5 22 019.3x2.2 | 13 [16.5] 33 | 32 | 36
1CH-30-27NZ | 1CH-30-27NRNW [ M30x2 | M27Xx2 22 0236Xx2.9 | 16 [16.5| 33 | 32 | 36
1CH-30NZ 1CH-30NRNW M30X2 | M30X2 22 0266x2.9 | 16 [17.5] 33 | 36 | 36
1CH-36-27NZ | 1CH-36-27NRNW [ M36x2 | M27Xx2 28 0236X2.9 | 16 [ 17 | 34 | 41 | 41
1CH-36-33NZ | 1CH-36-33NRNW | M36X2 | M33X2 28 0296X2.9 | 16 [17.5] 34 | 41 | 41
1CH-36-42NZ | 1CH-36-42NRNW [ M36x2 | M42Xx2 28 038.6X2.9 | 16 [18.5] 35 | 50 | 41
1CH-45-33NZ | 1CH-45-33NRNW | M45X2 | M33X2 35 029.6x2.9 | 16 [17.5| 37 | 46 | 50
1CH-45-42NZ | 1CH-45-42NRNW [ M45x2 | M42Xx2 35 038.6x2.9 | 16 [17.5| 37 | 50 | 50
1CH-52-48NZ | 1CH-52-48NRNW | M52X2 | M48X2 42 044.6x2.9 |175] 19 | 40 | 55 | 60
1DH-14NZ 1DH-14NRNW | M14X1.5 | M14X1.5 6 011.3x22 | 11 | 15 | 28 | 19 | 17
1DH-14-12NZ | 1DH-14-12NRNW | M14X1.5 | M12X1.5 6 009.3x2.2 | 11 [ 13 | 28 | 17 | 17
1DH-16-14NZ | 1DH-16-14NRNW [ M16X1.5 | M14X1.5 8 011.3x22 | 11 | 15| 30 | 19 [ 19
1DH-18-16NZ | 1DH-18-16NRNW | M18X1.5 | M16X1.5 10 013.3x2.2 [115] 15 | 31 | 22 | 22
1DH-20-14NZ | 1DH-20-14NRNW [ M20X1.5 | M14X1.5 12 011.3x22 | 11 | 15 | 31 | 22 | 24
1DH-20-16NZ | 1DH-20-16NRNW | M20X1.5 | M16X1.5 12 013.3x2.2 [115] 15 | 31 | 22 | 24
1DH-20-18NZ | 1DH-20-18NRNW [ M20X1.5 | M18X1.5 12 015.3x2.2 [125] 17 | 33 | 24 | 24
1DH-20-22NZ | 1DH-20-22NRNW | M20X1.5 | M22X1.5 12 019.3x2.2 | 13 [175] 35 | 27 | 30
1DH-24-22NZ | 1DH-24-22NRNW [ M24X1.5 | M22X1.5 16 019.3x2.2 | 13 [185] 37 | 27 | 30
1DH-30NZ 1DH-30NRNW M30X2 | M30X2 20 026.6x2.9 | 16 [205] 42 | 36 | 36
1DH-30-27NZ | 1DH-30-27NRNW [ M30x2 | M27Xx2 20 023.6X2.9 | 16 [205]| 42 | 32 | 36
1DH-30-33NZ | 1DH-30-33NRNW | M30X2 | M33X2 20 029.6X2.9 |18.5[(225| 42 | 41 | 36
1DH-36-27NZ | 1DH-36-27NRNW [ M36x2 | M27X2 25 0236X2.9 | 16 | 23 | 47 | 41 | 46
1DH-36-33NZ | 1DH-36-33NRNW | M36X2 | M33X2 25 029.6X2.9 |185] 23 | 47 | 41 | 46
1DH-42NZ 1DH-42NRNW M42X2 | M42X2 30 038.6x2.9 | 16 [23.5| 50 | 50 | 50
1DH-42-48NZ | 1DH-42-48NRNW | M42X2 | M48X2 30 044.6X2.9 | 175|265 52 | 55 | 50

VE: FIB4U 51S0 6149-13 LI VLHCf# . Note: F thread end fit with ISO 6149-1 port.

EATON Winner i3 E#£k H-AP-EHGC-2011-C Mar 2014 B-7



FTEXEREX

S3
g s2 T
\ !
QEE: ] 1_5% NI INELL24°4E AT IF A I IMES O B % £
=7 s, e
11 90°=
L1 METRIC MALE 24°CONE /
ADJUSTABLE METRIC MALE ORING SEAL
1CH9-OGN 1CH9-OGNRNW 90° ELBOW
1DH9-OGN 1DH9-OGNRNW
5 PART NO. ¥ ZL THREAD  |#% 742 D1| O HE JU < DIMENSIONS

B3k kBODY 201+ ASSEMBLY E F TUBEOD. | ORING | |1 [L1|L2]|S1]|S2|S3
1CH9-12-100GNZ | 1CH9-12-100GNRNW | M12X1.5 | M10X1 6 008.1X1.6 | 13 | 28 [26.5 11 | 14|14
1CH9-14-120GNZ | 1CH9-14-120GNRNW | M14X1.5 | M12X1.5 8 009.3X2.2 |15.5|30.5(32.5| 14 |17 |17
1CH9-16-140GNZ | 1CH9-16-140GNRNW | M16X1.5 | M14X1.5 10 011.3X2.2 |17.5(32.5| 34 | 16 | 19|19
1CH9-18-160GNZ | 1CH9-18-160GNRNW | M18X1.5 | M16X1.5 12 013.3X2.2 | 19| 34 [ 36 | 19 | 22|22
1CH9-22-180GNZ | 1CH9-22-180GNRNW | M22X1.5 | M18X1.5 15 015.3X2.2 | 22 | 37 [39.5| 22 | 27|24
1CH9-26-220GNZ | 1CH9-26-220GNRNW | M26X1.5 | M22X1.5 18 019.3X2.2 |25.5| 42 [43.5| 27 | 32|27
1CH9-30-270GNZ | 1CH9-30-270GNRNW | M30X2 | M27X2 22 023.6X2.9 |29.5|45.8| 50 | 30 | 36|32
1CH9-36-330GNZ | 1CH9-36-330GNRNW | M36X2 | M33X2 28 029.6X2.9 |33.2|49.8| 54 | 36 | 41|41
1DH9-14-120GNZ | 1DH9-14-120GNRNW | M14X1.5 | M12X1.5 6 009.3X2.2 [17.5(32.5| 32 | 14 | 17|17
1DH9-16-140GNZ | 1DH9-16-140GNRNW | M16X1.5 | M14X1.5 8 011.3X2.2 |18.5(33.7| 34 | 16 | 19|19
1DH9-18-160GNZ | 1DH9-18-160GNRNW | M18X1.5 | M16X1.5 10 013.3X2.2 |19.5| 36 | 36 | 19 | 22|22
1DH9-20-180GNZ | 1DH9-20-180GNRNW | M20X1.5 | M18X1.5 12 015.3X2.2 [19.5 36 | 37 | 19 | 24|24
1DH9-22-200GNZ | 1DH9-22-200GNRNW | M22X1.5 | M20X1.5 14 017.3X2.2 |23.5| 41 [40.5| 22 | 27|27
1DH9-24-220GNZ | 1DH9-24-220GNRNW | M24X1.5 | M22X1.5 16 019.3X2.2 | 24 | 42 | 41 | 24 | 32|27
1DH9-30-270GNZ | 1DH9-30-270GNRNW | M30X2 | M27X2 20 023.6X2.9 |28.5[49.8| 50 | 30 | 36|32
1DH9-36-330GNZ | 1DH9-36-330GNRNW | M36X2 | M33X2 25 029.6X2.9 |32.8|56.8| 54 | 36 | 46 |41
1DH9-420GNZ 1DH9-420GNRNW | M42X2 | M42X2 30 038.6X2.9 | 36 |62.7[57.2| 41 | 50|50
vE: FIRgUf51S0 6149-13 I VLAELA A . Note: F thread end fit with ISO 6149-1 port.

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




FTEXEREX

L1 B
11
- T
EE& s - 740
s \St NHISMRLDI24°4E/
ZH|JICTAHEZT
1CJ 1CJ-RNW METRIC MALE 24°CONE /
1DJ 1DJ-RNW JIC 74° CONE SEALING
& 5 PART NO. 1% 4 THREAD HFHME D1 JX+ DIMENSIONS

B ABODY /H{-ASSEMBLY E F TUBE O.D. B | L1 ]| L2|sS1]| s2
1CJ-10-04LLZ 1CJ-10-04LLRNW M10x1 7/16"X20 6 14 7.5 20 12 12
1CJ-12A-04LLZ 1CJ-12A-04LLRNW M12x1 7/16"X20 8 14 8.5 22 12 14
1CJ-12-04Z 1CJ-12-04RNW M12x1.5 7/16"X20 6 14 8 24 12 14
1CJ-14-04Z7 1CJ-14-04RNW M14x1.5 7/16"X20 8 14 8 23 14 17
1CJ-14-06Z 1CJ-14-06RNW M14x1.5 9/16"X18 8 14.1 8 23 17 17
1CJ-16-06Z 1CJ-16-06RNW M16x1.5 9/16"X18 10 14.1| 8.9 24 17 19
1CJ-18-06Z 1CJ-18-06RNW M18x1.5 9/16"X18 12 1411 9.9 25 19 22
1CJ-18-08Z 1CJ-18-08RNW M18x1.5 3/4"X16 12 16.7 | 10.3 | 25 22 22
1CJ-22-08Z7 1CJ-22-08RNW M22x1.5 3/4"X16 15 16.7 1 10.8 | 26 24 27
1CJ-22-10Z 1CJ-22-10RNW M22x1.5 7/8"X14 15 19.31 11 26 24 27
1CJ-26-10Z 1CJ-26-10RNW M26X1.5 7/8"X14 18 19.3| 11.7 | 28 27 32
1CJ-26-12Z 1CJ-26-12RNW M26X1.5 | 1.1/16"X12 18 219|116 | 28 30 32
1CJ-30-12Z 1CJ-30-12RNW M30x2 1.1/16"X12 22 2191136 30 32 36
1CJ-36-16Z 1CJ-36-16RNW M36x2 1.5/16"X12 28 23.1114.5| 31 41 41
1CJ-45-20Z 1CJ-45-20RNW M45X2 1.5/8"X12 35 2431147 36 46 50
1CJ-52-20Z 1CJ-52-20RNW M52X2 1.5/8"X12 42 24.3| 16 39 55 60
1CJ-52-247 1CJ-52-24RNW M52X2 1.7/8"X12 42 275 16 39 55 60
1DJ-14-04Z 1DJ-14-04RNW M14x1.5 7/16"X20 6 14 11 26 14 14
1DJ-16-04Z 1DJ-16-04RNW M16x1.5 7/16"X20 8 14 13 28 17 19
1DJ-16-06Z 1DJ-16-06RNW M16x1.5 9/16"X18 8 1411129 | 28 17 19
1DJ-18-04Z 1DJ-18-04RNW M18x1.5 7/16"X20 10 14 125 29 19 22
1DJ-18-06Z 1DJ-18-06RNW M18x1.5 9/16"X18 10 141124 | 29 19 22
1DJ-20-06Z 1DJ-20-06RNW M20x1.5 9/16"X18 12 1411144 31 22 24
1DJ-20-08Z 1DJ-20-08RNW M20x1.5 3/4"X16 12 16.7 | 14.3 | 31 22 24
1DJ-22-08Z 1DJ-22-08RNW M22x1.5 3/4"X16 14 16.7 | 15.8| 34 24 27
1DJ-24-08Z7 1DJ-24-08RNW M24x1.5 3/4"X16 16 16.7 | 15.3| 34 27 30
1DJ-24-10Z 1DJ-24-10RNW M24x1.5 7/8"X14 16 19.3115.2| 34 27 30
1DJ-30-12Z 1DJ-30-12RNW M30x2 1.1/16"X12 20 219|176 39 32 36
1DJ-36-12Z 1DJ-36-12RNW M36x2 1.1/16X12 25 21.9120.1| 43 41 46
1DJ-36-16Z 1DJ-36-16RNW M36x2 1.5/16X12 25 23.1119.9| 43 41 46
1DJ-42-20Z 1DJ-42-20RNW M42x2 1.5/8"X12 30 24.3120.2| 47 46 50
1DJ-52-247 1DJ-52-24RNW M52X2 1.7/8"X12 38 275 23 54 655 60

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 B-9



FTEXEREX

L2

12 /ﬂ
. |s2
° ? L] L
— -
= AHISMEL24°HE/
AHESERER
1CI 1CI-RNW METRIC MALE 24°CONE /
1DI 1DI-RNW METRIC BANJO
A 5 PART NO. 42 ZL THREAD  |=7-444% D1 R~ DIMENSIONS iz OWE |m:p
L kBODY |41 /FASSEMBLY| E F TUBEOD. | | | 11 |L1 |12 |L2|s1|s2|s3| BOLT | O-RING | SEAL
1CI-12-10Z | 1CI-12-10RNW [ M12X1.5 | M10X1 6 10 | 9 255 12 [27[14|17]14[700M-101Z|008.1X1.6| ZHD-10
1CI-14-12Z | 1CI-14-12RNW | M14X1.5 | M12X1.5 8 12 [14.5| 33 |14.5(29 (17| 22|17 [700M-121Z|009.3X2.2| ZHD-12
1CI-16-14Z | 1CI-16-14RNW | M16X1.5 | M14X1.5 10 11 125 33 [16.5|31 19|24 [19|700M-141Z|011.3X2.2| ZHD-14
1CI-18-16Z | 1CI-18-16RNW | M18X1.5 | M16X1.5 12 11 [ 15 | 39 | 19 |34 22|27 |22|700M-161Z|013.3%2.2| ZHD-16
1CI-22-18Z | 1CI-22-18RNW | M22X1.5 | M18X1.5 15 12 [16.5| 42 |21.5(37 [ 24|30|27[700Mm-181Z|015.3X2.2| ZHD-18
1CI-26-22Z | 1CI-26-22RNW | M26X1.5 | M22X1.5 18 12 [17.5] 49 | 22 [382732|32[700Mm-2212|019.3X2.2| ZHD-22
1CI-30-26Z | 1CI-30-26RNW | M30X2 | M26X1.5 22 14 | 22 | 56 |28.5[45 |36 | 41|36 [700M-2612|023.6X2.9| ZHD-27
1CI-36-33Z | 1CI-36-33RNW [ M36X2 | M33X2 28 18 [30.5| 71 | 33 [50[41|50|41[700M-3312|029.6X2.9| ZHD-33
1Cl-45-42Z | 1CI-45-42RNW [ M45X2 | M42X2 35 20 [35.5 82 [ 37 |59|50 |60 [50|700M-4212|038.6X2.9| ZHD-42
1CI-52-48Z | 1CI-52-48RNW [ M52X2 | M48X2 42 22 [40.5 93 [41.5|64 |55 |70 [60|700M-4812|044.6X2.9| ZHD-48
1DI-14-12Z | 1DI-14-12RNW | M14X1.5 | M12X1.5 6 12 [14.5| 33 |16.531[17|22]17[700M-1212|009.3X2.2| ZHD-12
1DI-16-14Z | 1DI-16-14RNW | M16X1.5 | M14X1.5 8 12 [14.5| 33 |17.532[19|24|19[700Mm-141Z|011.3X2.2| ZHD-14
1DI-18-16Z | 1DI-18-16RNW | M18X1.5 | M16X1.5 10 12 | 17 | 39 |19.5[36 [ 22|27 |22|700Mm-161Z|013.3%2.2| ZHD-16
1DI-20-18Z | 1DI-20-18RNW | M20X1.5 | M18X1.5 12 12 [18.5| 42 | 21 [37[24|30|24[700Mm-181Z|015.3X2.2| ZHD-18
1DI-22-20Z | 1DI-22-20RNW | M22X1.5 | M20X1.5 14 14 | 20 | 46 |23.5[41|27|32|27|700M-201Z|017.3%2.2| ZHD-20
1DI-24-22Z | 1DI-24-22RNW | M24X1.5 | M22X1.5 16 14 [17.5| 49 | 23 [41[27]32]30[700Mm-221Z|019.3%2.2| ZHD-22
1DI-30-27Z | 1DI-30-27RNW [ M30X2 | M27X2 20 16 | 22 | 56 |27.5[49 |36 | 41|36 [700M-271Z|023.6X2.9| ZHD-27
1DI-36-33Z | 1DI-36-33Z | M36X2 | M33x2 25 18 [30.5| 71 |32.5|57 | 41|50 |46 [700M-331Z [029.6X2.9| ZHD-33
1DI-42Z | 1DIM42RNW | M42X2 | M42x2 30 20 |35.5| 82 | 38 |65|50|60|50|700M-4212|038.6X2.9| ZHD-42
1DI-52-48Z | 1DI-52-48RNW [ M52X2 | M48X2 38 22 |40.5| 93 [42.5|73|55|70|60|700M-4812|044.6X2.9| ZHD-48
B-10 EATON Winner i3 i&#%k H-AP-EHGC-2011-C Mar 2014




FTEXEREX

L1 B
11
s2 S INBISMBBI24 4/
IR B
1CM-WD 1CM-WDRNW  \iETRIC MALE 24°CONE /
1DM-WD 1DM-WDRNW  METRIC CAPTIVE SEAL
X 5 PART NO. B2 5L THREAD  |%T74Mz D1| otk ] <+ DIMENSIONS

3L ABODY A1 ASSEMBLY E F TUBEO.D. |CAPTIVE[ B | 11 | L1 | 81| s2
1CM-12-10WDZ | 1CM-12-10WDRNW | M12X1.5 M10X1 6 WD-B02 8 95| 23 14 14
1CM-14-12WDZ | 1CM-14-12WDRNW | M14X1.5 | M12X1.5 8 WD-M12 | 12 | 10.5]| 25 17 17
1CM-16-12WDZ | 1CM-16-12WDRNW | M16X1.5 | M12X1.5 10 WD-M12 | 12 1 25 17 19
1CM-16-14WDZ | 1CM-16-14WDRNW | M16X1.5 | M14X1.5 10 WD-M14 | 12 10 26 19 19
1CM-16-18WDZ | 1CM-16-18WDRNW | M16X1.5 | M18X1.5 10 WD-M18 | 12 | 12.5]| 27 24 19
1CM-18-16WDZ | 1CM-18-16WDRNW | M18X1.5 | M16X1.5 12 WD-M16 | 12 | 12.5]| 27 22 22
1CM-18WDZ 1CM-18WDRNW M18X1.5 | M18X1.5 12 WD-M18 | 12 |[12.5]| 27 24 22
1CM-18-22WDZ | 1CM-18-22WDRNW | M18X1.5 | M22X1.5 12 WD-M22 | 14 14 29 27 22
1CM-22-18WDZ | 1CM-22-18WDRNW | M22X1.5 | M18X1.5 15 WD-M18 | 12 14 29 24 27
1CM-22WDZ 1CM-22WDRNW M22X1.5 | M22X1.5 15 WD-M22 | 14 15 30 27 27
1CM-26-22WDZ | 1CM-26-22WDRNW | M26X1.5 | M22X1.5 18 WD-M22 | 14 | 14.8 | 31 27 32
1CM-30-26WDZ | 1CM-30-26\WWDRNW M30X2 M26X1.5 22 WD-B12 | 16 | 16.5| 33 32 36
1CM-30-27WDZ | 1CM-30-27WDRNW M30X2 M27X2 22 WD-B12 16 | 16.5| 33 32 36
1CM-36-33WDZ | 1CM-36-33WDRNW M36X2 M33X2 28 WD-B16 | 18 |[17.5| 34 41 41
1CM-45-42WDZ | 1CM-45-42WDRNW M45X2 M42X2 35 WD-B20 | 20 [17.5] 39 50 50
1CM-52-48WDZ | 1CM-52-48WDRNW M52X2 M48X2 42 WD-B24 | 22 20 42 55 60
1DM-14-12WDZ | 1DM-14-12WDRNW | M14X1.5 | M12X1.5 6 WD-M12 | 12 13 28 17 17
1DM-16-14WDZ | 1DM-16-14WDRNW | M16X1.5 | M14X1.5 8 WD-M14 | 12 15 30 19 19
1DM-18-16WDZ | 1DM-18-16WDRNW | M18X1.5 | M16X1.5 10 WD-M16 | 12 | 14.5| 31 22 22
1DM-20-18WDZ | 1DM-20-18WDRNW | M20X1.5 | M18X1.5 12 WD-M18 | 12 17 33 24 24
1DM-22-20WDZ | 1DM-22-20WDRNW | M22X1.5 | M20X1.5 14 WD-M20 | 14 19 37 27 27
1DM-24-22WDZ | 1DM-24-22WDRNW | M24X1.5 | M22X1.5 16 WD-M22 | 14 | 15.5| 37 27 30
1DM-30-27WDZ | 1DM-30-27WDRNW M30X2 M27X2 20 WD-B12 16 | 20.5] 42 32 36
1DM-36-33WDZ | 1DM-36-33WDRNW M36X2 M33X2 25 WD-B16 18 23 47 41 46
1DM-42WDZ 1DM-42WDRNW M42X2 M42X2 30 WD-B20 | 20 |23.5] 50 50 50
1DM-52-48WDZ | 1DM-52-48WDRNW M52X2 M48X2 38 WD-B24 | 22 26 65 55 60

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 B-11



FTEXEREX

L1
1
N
S =
s2 \S1 DNHISMBLI24°4E/
B IMELL
1CN 1CN-RNW METRIC MALE 24°CONE /
1DN 1DN-RNW NPT MALE
R 5 PART NO. 12 2t THREAD & 14M% TUBE O.D. R s} DIMENSIONS
#L{ABODY ZH{FASSEMBLY E F D1 11 L1 S1 S2
1CN-08-02Z7 1CN-08-02RNW M8X1 Z1/8"X27 4 15.0124.4 | 12 10
1CN-10-02LLZ 1CN-10-02LLRNW M10X1 Z1/8"X27 6 1391244 | 12 12
1CN-12-02LLZ 1CN-12-02LLRNW M12X1 Z1/8"X27 8 1491254 12 14
1CN-12-02Z2 1CN-12-02RNW M12X1.5 Z1/8"X27 6 1441284 | 12 14
1CN-12-04Z 1CN-12-04RNW M12X1.5 Z1/4"X18 6 1721322 17 14
1CN-14-04Z 1CN-14-04RNW M14X1.5 Z1/4"X18 8 1721322 | 17 17
1CN-16-04Z 1CN-16-04RNW M16X1.5 Z1/4"X18 10 18.2133.2| 17 19
1CN-16-06Z 1CN-16-06RNW M16X1.5 Z3/8"X18 10 19.9153.0| 19 19
1CN-18-04Z 1CN-18-04RNW M18X1.5 Z1/4"X18 12 19.2134.2] 19 22
1CN-18-06Z 1CN-18-06RNW M18X1.5 Z3/8"X18 12 1991349 19 22
1CN-18-08Z 1CN-18-08RNW M18X1.5 Z1/2"X14 12 21.4136.4| 22 22
1CN-22-08Z2 1CN-22-08RNW M22X1.5 Z1/2"X14 15 2241374 | 24 27
1CN-22-20Z 1CN-22-20RNW M22X1.5 Z1.1/4"X11.5 15 2981374 | 46 27
1CN-26-08Z 1CN-26-08RNW M26X1.5 Z1/2"X14 18 2291394 | 27 32
1CN-26-12Z 1CN-26-12RNW M26X1.5 Z3/4"X14 18 22.4138.9] 30 32
1CN-30-08Z2 1CN-30-08RNW M30X2 Z1/2"X14 22 25.2140.5| 32 36
1CN-30-12Z 1CN-30-12RNW M30X2 Z3/4"X14 22 2441409 | 32 36
1CN-36-16Z 1CN-36-16RNW M36X2 Z1"X11.5 28 29.8146.3| 41 41
1CN-36-20Z 1CN-36-20RNW M36X2 Z1.1/4"X11.5 28 31.3|146.3| 46 41
1CN-45-20Z2 1CN-45-20RNW M45X2 Z1.1/4"X11.5 35 30.3|51.8| 46 50
1CN-52-20Z2 1CN-52-20RNW M52X2 Z1.1/4"X11.5 42 31.8|558| 55 60
1CN-52-247 1CN-52-24RNW M52X2 Z1.1/2"X11.5 42 32.8|558]| 55 60
1DN-14-04Z 1DN-14-04RNW M14X1.5 Z1/4"X18 6 2221372 17 17
1DN-16-04Z 1DN-16-04RNW M16X1.5 Z1/4"X18 8 222 |137.2| 17 19
1DN-18-04Z 1DN-18-04RNW M18X1.5 Z1/4"X18 10 21.7138.2| 19 22
1DN-18-06Z 1DN-18-06RNW M18X1.5 Z3/8"X18 10 2241389 19 22
1DN-20-04Z 1DN-20-04RNW M20X1.5 Z1/4"X18 12 23.7140.2| 22 24
1DN-20-06Z 1DN-20-06RNW M20X1.5 Z3/8"X18 12 2441409 | 22 24
1DN-20-08Z 1DN-20-08RNW M20X1.5 Z1/2"X14 12 26.4 1424 22 24
1DN-22-08Z2 1DN-22-08RNW M22X1.5 Z1/2"X14 14 2741454 | 24 27
1DN-24-08Z 1DN-24-08RNW M24X1.5 Z1/2"X14 16 269|454 | 27 30
1DN-30-12Z 1DN-30-12RNW M30X2 Z3/4"X14 20 2841499 | 32 36
1DN-36-12Z 1DN-36-12RNW M36X2 Z3/4"X14 25 309134.0| 41 46
1DN-36-16Z 1DN-36-16RNW M36X2 Z1"X11.5 25 35.3159.3| 41 46
1DN-42-16Z 1DN-42-16RNW M42X2 Z1"X11.5 30 35.8159.3| 46 50
1DN-42-20Z 1DN-42-20RNW M42X2 Z1.1/4"X11.5 30 36.3|162.8| 46 50
1DN-52-247 1DN-52-24RNW M52X2 Z1.1/2"X11.5 38 39.8170.8| 55 60
B-12 EATON Winner i3 iE##3k H-AP-EHGC-2011-C Mar 2014




FTEXEREX

L1 B

R I Ejl e

sz 8 INEISMNBL 244/
EHMEYL OB ZE

1CO 1CO-RNW METRIC MALE 24°CONE /

1DO 1DO-RNW SAE O-RING BOSS

£ % PART NO. MR S THREAD |4 7414% D1| O R DIMENSIONS
#LkBODY | 4IfFASSEMBLY E F TUBEOD.[ORING [ B | 1 | L1 | s1 ] s2
1C0O-14-04Z7 1C0O-14-04RNW M14X1.5 | 7/16"X20 8 0904 N90| 9.1 8.4 25 14 17
1C0O-16-04Z 1C0O-16-04RNW M16X1.5 | 7/16"X20 10 0904 N90O| 9.1 9.4 26 17 19
1C0O-18-06Z 1C0O-18-06RNW M18X1.5 | 9/16"X18 12 0906 N90| 9.93 [10.07| 26 19 22
1C0O-18-08Z2 1C0O-18-08RNW M18X1.5 3/4"X16 12 0908 N9011.13|10.37| 28 22 22
1C0O-18-10Z 1CO-18-10RNW M18X1.5 7/8"X14 12 0910 N90| 12.7 | 13.8 | 29 27 22
1C0O-22-08Z 1C0O-22-08RNW M22X1.5 3/4"X16 15 0908 N90(11.13(14.87| 29 24 27
1C0O-22-10Z 1C0O-22-10RNW M22X1.5 7/8"X14 15 0910 N90| 12.7 | 12.3| 30 27 27
1C0-22-12Z 1C0O-22-12RNW M22X1.5 [1.1/16"X12 15 0912 N90115.09(11.91| 30 32 27
1C0O-26-08Z 1C0O-26-08RNW M26X1.5 3/4"X16 18 0908 N90 (11.13| 15 31 27 32
1C0O-26-10Z 1C0O-26-10RNW M26X1.5 7/8"X14 18 0910 N90| 12.7 | 11.5| 31 27 32
1C0O-30-087 1C0O-30-08RNW M30X2 3/4"X16 18 0908 N90|11.13|17.37| 33 32 36
1C0O-30-10Z 1C0O-30-10RNW M30X2 7/8"X14 22 0910 N90| 12.7 | 17.3 | 33 32 36
1C0O-30-12Z 1C0O-30-12RNW M30X2 |1.1/16"X12 22 0912 N90(15.09(13.51] 33 32 36
1C0O-30-16Z 1C0O-30-16RNW M30X2 [1.5/16"X12 22 0916 N90115.09|14.41| 34 38 36
1C0O-36-12Z 1C0O-36-12RNW M36X2 |1.1/16"X12 28 0912 N90(15.09(17.91] 34 38 41
1C0O-36-16Z 1C0O-36-16RNW M36X2 |1.5/16"X12 28 0916 N90(15.09(14.41| 34 41 41
1C0O-45-16Z 1C0O-45-16RNW M45X2 [1.5/16"X12 35 0916 N90|15.09(22.41| 39 46 50
1C0O-45-20Z 1C0O-45-20RNW M45Xx2 1.5/8"X12 BO) 0920 N90115.09|16.41| 39 50 50
1C0O-52-20Z7 1C0O-52-20RNW M52X2 1.5/8"X12 42 0920 N90(15.09(19.91| 42 55 60
1D0O-16-04Z 1D0O-16-04RNW M16X1.5 | 7/16"X20 8 0904 N90| 11 [12.9] 30 17 19
1D0O-18-06Z 1D0O-18-06RNW M18X1.5 | 9/16"X18 10 0906 N90| 9.93 [12.57| 31 19 22
1D0O-20-06Z 1DO-20-06RNW M20X1.5 | 9/16"X18 12 0906 N90| 9.93 [16.57| 31 22 24
1D0O-20-08Z 1D0O-20-08RNW M20X1.5 3/4"X16 12 0908 N90(11.13|17.87| 34 24 24
1D0-24-08Z2 1D0O-24-08RNW M24X1.5 3/4"X16 16 0908 N9011.13|18.37| 34 24 30
1D0O-24-10Z 1D0O-24-10RNW M24X1.5 7/8"X14 16 0910 N90| 12.7 | 18.8 | 37 27 30
1D0O-30-08Z 1DO-30-08RNW M30X2 3/4"X16 20 0908 N90(11.13|20.87| 42 32 36
1D0O-30-10Z 1D0O-30-10RNW M30X2 7/8"X14 20 0910 N90| 12.7 | 20.3 | 42 32 36
1D0O-30-12Z 1D0O-30-12RNW M30X2 [1.1/16"X12 20 0912 N90|15.09|17.41| 42 32 36
1D0O-36-12Z 1D0O-36-12RNW M36X2 |1.1/16"X12 25 0912 N90(15.09(21.91| 47 41 46
1D0O-36-16Z 1D0O-36-16RNW M36X2 [1.5/16"X12 25 0916 N9015.09(19.91| 47 41 46
1D0-42-16Z 1D0O-42-16RNW M42X2 [1.5/16"X12 30 0916 N90|15.09(22.41| 50 46 50
1D0-42-20Z 1D0O-42-20RNW M42X2 1.5/8"X12 30 0920 N90(15.09(20.41] 50 50 50
1D0O-52-20Z 1D0O-52-20RNW M52X2 1.5/8"X12 38 0920 N90(15.09|25.91|1 53.9| 55 60
TE: FI240H 51S0 11926-13H D ULE{#E /T . Note: F thread end fit with 1ISO11926-1 port.

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 B-13



FTEXEREX

L1
L 11
N
B I I # i EJ&
F s2 \S1 INEIIMBLT24°HE/
BEHEE IMRALYL
1CT-SP 1CT-SPRNW METRIC MALE 24°CONE /
1DT-SP 1DT-SPRNW BSPT MALE
£ 5 PART NO. 12 4 THREAD % 4% TUBE O.D. R~ DIMENSIONS
#23:ABODY ZH1HASSEMBLY E F D1 11 L1 S1 S2
1CT-12-02SPZ 1CT-12-02SPRNW M12x1.5 | R1/8"x28 6 13 28 12 14
1CT-12-04SPZ 1CT-12-04SPRNW M12x1.5 | R1/4"x19 6 165 | 315 | 14 14
1CT-14-04SPZ 1CT-14-04SPRNW M14x1.5 | R1/4"x19 8 165 | 315 | 14 17
1CT-14-06SPZ 1CT-14-06SPRNW M14x1.5 | R3/8"x19 8 176 | 326 | 17 17
1CT-16-04SPZ 1CT-16-04SPRNW M16x1.5 | R1/4"x19 10 175 | 325 | 17 19
1CT-16-06SPZ 1CT-16-06SPRNW M16x1.5 | R3/8"x19 10 176 | 336 | 17 19
1CT-16-08SPZ 1CT-16-08SPRNW M16x1.5 | R1/2"x14 10 218 | 36.8 | 22 19
1CT-16-12SPZ 1CT-16-12SPRNW M16x1.5 | R3/4"x14 10 245 | 36.5 | 30 19
1CT-18-04SPZ 1CT-18-04SPRNW M18x1.5 | R1/4"x19 12 185 | 335 | 19 22
1CT-18-06SPZ 1CT-18-06SPRNW M18x1.5 | R3/8"x19 12 186 | 336 | 19 22
1CT-18-08SPZ 1CT-18-08SPRNW M18x1.5 | R1/2"x14 12 218 | 36.8 | 22 22
1CT-22-08SPZ 1CT-22-08SPRNW M22x1.5 | R1/2"x14 15 228 | 378 | 24 27
1CT-26-08SPZ 1CT-26-08SPRNW M26x1.5 | R1/2"x14 18 233 | 39.8 | 27 32
1CT-26-12SPZ 1CT-26-12SPRNW M26x1.5 | R3/4"x14 18 22 [ 385 30 32
1CT-30-12SPZ 1CT-30-12SPRNW M30x2 R3/4"x14 22 24 | 405 | 32 36
1CT-36-16SPZ 1CT-36-16SPRNW M36x2 R1"x11 28 296 | 46.1 | 41 41
1CT-36-20SPZ 1CT-36-20SPRNW M36x2 [R1.1/4"x11 28 293 | 458 | 46 41
1CT-45-16SPZ 1CT-45-16SPRNW M45x2 R1"x11 35 296 | 51.1 | 46 50
1CT-45-20SPZ 1CT-45-20SPRNW M45x2  [R1.1/4"x11 35 283 | 498 | 46 50
1CT-52-20SPZ 1CT-52-20SPRNW M52x2  [R1.1/4"x11 42 298 | 528 | 55 60
1CT-52-24SPZ 1CT-52-24SPRNW M52x2  [R1.1/2"x11 42 29.8 | 52.8 | 55 60
1DT-14-04SPZ 1DT-14-04SPRNW M14x1.5 | R1/4"x19 6 215 | 365 | 17 17
1DT-16-04SPZ 1DT-16-04SPRNW M16x1.5 | R1/4"x19 8 215 | 365 | 17 19
1DT-18-04SPZ 1DT-18-04SPRNW M18x1.5 | R1/4"x19 10 21 [ 375 19 22
1DT-20-04SPZ 1DT-20-04SPRNW M20x1.5 | R1/4"x19 12 23 [ 395 | 22 24
1DT-20-06SPZ 1DT-20-06SPRNW M20x1.5 | R3/8"x19 12 231 | 396 | 22 24
1DT-22-06SPZ 1DT-22-06SPRNW M22x1.5 | R3/8"x19 14 246 | 426 | 24 27
1DT-22-08SPZ 1DT-22-08SPRNW M22x1.5 | R1/2"x14 14 278 | 458 | 24 27
1DT-24-06SPZ 1DT-24-06SPRNW M24x1.5 | R3/8"x19 16 241 | 426 | 27 30
1DT-24-08SPZ 1DT-24-08SPRNW M24x1.5 | R1/2"x14 16 273 | 458 | 27 30
1DT-30-12SPZ 1DT-30-12SPRNW M30x2 R3/4"x14 20 28 | 495 | 32 36
1DT-36-12SPZ 1DT-36-12SPRNW M36x2 R3/4"x14 25 295 | 53.5 | 41 46
1DT-36-16SPZ 1DT-36-16SPRNW M36x2 R1"x11 25 351 | 58.1 [ 41 46
1DT-42-16SPZ 1DT-42-16SPRNW M42x2 R1"x11 30 35.6 | 62.1 | 46 50
1DT-42-20SPZ 1DT-42-20SPRNW M42x2  [R1.1/4"x11 30 34.3 | 60.8 | 46 50
1DT-52-20SPZ 1DT-52-20SPRNW M52x2  [R1.1/4"x11 38 36.8 | 67.8 | 55 60
1DT-52-24SPZ 1DT-52-24SPRNW M52x2  |R1.1/2"x11 38 36.8 | 67.8 | 55 60

B-14

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




FTEXEREX

L1 B

] _ _ _ AN =)
o
(m) B r — 1T

s2 \S1 N s oLkt
INFIINZRLL24°4E/
EREESk
1CW 1CW-RNW  VETRIC MALE 24°CONE /
1DW 1DW-RNW BUTT WELD
£ 5 PART NO. 12 4 E & 14Nz TUBE O.D. R~} DIMENSIONS
P31 ABODY 41{FASSEMBLY | THREAD D1 D2 B | D |1 |[L1]|s1] s2
1CW-12-06 1CW-12-06RNW | M12x1.5 6 6 7 10| 7 | 22| 12] 14
1CW-14-08 1CW-14-08RNW | M14x1.5 8 8 8 | 12| 8 | 23 | 14 | 17
1CW-16-10 1CW-16-10RNW | M16x1.5 10 10 8 | 14 | 10 | 24 | 17 | 19
1CW-18-12 1CW-18-12RNW | M18x1.5 12 12 8 | 16 | 10 | 25 | 19 | 22
1CW-22-15 1CW-22-15RNW | M22x1.5 15 15 10 [ 19 | 11| 26 | 24 | 27
1CW-26-18 1CW-26-18RNW | M26X1.5 18 18 10 | 22 |135| 28 | 27 | 32
1CW-26-22 1CW-26-22RNW | M26X1.5 18 22 12 | 27 [125] 28 | 27 | 32
1CW-30-22 1CW-30-22RNW M30x2 22 22 12 | 27 |165] 30 | 32 | 36
1CW-30-25 1CW-30-25RNW M30x2 22 25 12 | 29 [135] 30 | 32 | 36
1CW-36-28 1CW-36-28RNW M36x2 28 28 12 | 32 | 185 33 | 41 | 41
1CW-45-35 1CW-45-35RNW M45X2 35 35 14 | 40 |185| 36 | 46 | 50
1CW-52-42 1CW-52-42RNW M52X2 42 42 16 | 46 | 19 | 39 | 55 | 60
1DW-14-06 1DW-14-06RNW | M14x1.5 6 6 7 | 11| 11| 26 | 14| 17
1DW-16-08 1DW-16-08RNW | M16x1.5 8 8 8 | 13| 13 | 28 | 17 | 19
1DW-18-10 1DW-18-10RNW | M18x1.5 10 10 8 | 15 |125| 29 | 19 | 22
1DW-20-12 1DW-20-12RNW | M20x1.5 12 12 10 | 17 | 145 31 | 22 | 24
1DW-22-14 1DW-22-14RNW | M22x1.5 14 14 10 | 19 | 16 | 34 | 24 | 27
1DW-24-16 1DW-24-16RNW | M24x1.5 16 16 10 | 21 [165] 34 | 27 | 30
1DW-30-20 1DW-30-20RNW M30x2 20 20 12 | 26 |175]| 39 | 32 | 36
1DW-36-25 1DW-36-25RNW M36x2 25 25 12 | 32 | 20 | 44 | 41 | 46
1DW-42-30 1DW-42-30RNW M42x2 30 30 14 | 37 |205| 47 | 46 | 50
1DW-52-38 1DW-52-38RNW M52X2 38 38 16 | 44 | 22 | 54 | 55 | 60
VE AR TH AL BE N L AL PR . Note: the body finish is phosphated .

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 B-15



FTEXEREX

E |
|
F
— 1
D2

: j AHISMRL 244/
NHIPREE24° 4
METRIC MALE 24°CONE /
2C 2C-RNW METRIC FEMALE 24°CONE
R 5 PART NO. 12 2t THREAD 14hME TUBE O.D. O [ R~ DIMENSIONS

#%L/ABODY | 4HMH-ASSEMBLY E F D1 D2 O-RING 11 L1 | S1]|S2| S3
2C-12-147 2C-12-14RNW M12X1.5 | M14X1.5 6 8 006.5x1.5 |23.51 38| 12 | 14 | 17
2C-12-16Z 2C-12-16RNW M12X1.5 | M16X1.5 6 10 008.0x1.5 25140 | 14 | 14 | 19
2C-14-16Z 2C-14-16RNW M14X1.5 | M16X1.5 8 10 008.0x1.5 125140 | 14 | 17 | 19
2C-12-18Z 2C-12-18RNW M12X1.5 | M18X1.5 6 12 0O10.0x1.5 |1 25 | 40 | 17 | 14 | 22
2C-14-18Z 2C-14-18RNW M14X1.5 | M18X1.5 8 12 O100x1.5 1 25 |40 | 17 | 17 | 22
2C-16-18Z 2C-16-18RNW M16X1.5 | M18X1.5 10 12 010.0x1.5 | 26 | 41 17 | 19 | 22
2C-12-227 2C-12-22RNW M12X1.5 | M22X1.5 6 15 012.0x2.0 |28.51 43 | 19 | 14 | 27
2C-14-227 2C-14-22RNW M14X1.5 | M22X1.5 8 15 012.0x2.0 |28.5]1 43 | 19 | 17 | 27
2C-16-227 2C-16-22RNW M16X1.5 | M22X1.5 10 15 012.0x2.0 |[29.5| 44 | 22 | 19 | 27
2C-18-227 2C-18-22RNW M18X1.5 | M22X1.5 12 15 012.0x2.0 |29.5| 44 | 22 | 22 | 27
2C-12-26Z 2C-12-26RNW M12X1.5 | M26X1.5 6 18 015.0x2.0 | 28 | 43 | 24 | 14 | 32
2C-14-26Z 2C-14-26RNW M14X1.5 | M26X1.5 8 18 015.0x2.0 | 28 | 43 | 24 | 17 | 32
2C-16-26Z 2C-16-26RNW M16X1.5 | M26X1.5 10 18 0O15.0x20 | 29 | 44 | 24 | 19 | 32
2C-18-26Z 2C-18-26RNW M18X1.5 | M26X1.5 12 18 0O15.0x2.0 | 29 | 44 | 24 | 22 | 32
2C-22-26Z 2C-22-26RNW M22X1.5 | M26X1.5 15 18 015.0x20 | 30 | 45 | 24 | 27 | 32
2C-12-30Z 2C-12-30RNW M12X1.5 M30X2 6 22 020.0x20 | 32 | 47 | 27 | 14 | 36
2C-14-30Z 2C-14-30RNW M14X1.5 M30X2 8 22 020.0x2.0 | 32 | 47 | 27 | 17 | 36
2C-16-30Z 2C-16-30RNW M16X1.5 M30X2 10 22 020.0x20 | 33 |1 48 | 30 | 19 | 36
2C-18-30Z 2C-18-30RNW M18X1.5 M30X2 12 22 020.0x20 | 33 |48 | 27 | 22 | 36
2C-22-30Z 2C-22-30RNW M22X1.5 M30X2 15 22 020.0x2.0 | 34 | 49 | 27 | 27 | 36
2C-26-30Z 2C-26-30RNW M26X1.5 M30X2 18 22 020.0x2.0 |33.51 50 | 27 | 32 | 36
2C-12-36Z 2C-12-36RNW M12X1.5 M36X2 6 28 026.0x20 | 34 | 49 | 36 | 14 | 41
2C-14-36Z 2C-14-36RNW M14X1.5 M36X2 8 28 026.0x2.0 | 34 | 49 | 36 | 17 | 41
2C-16-36Z 2C-16-36RNW M16X1.5 M36X2 10 28 026.0x20 | 35 | 50 | 36 | 19 | 41
2C-18-36Z 2C-18-36RNW M18X1.5 M36X2 12 28 026.0x20 | 35 | 50 | 36 | 22 | 41
2C-22-36Z 2C-22-36RNW M22X1.5 M36X2 15 28 026.0x2.0 | 36 | 51 | 36 | 27 | 41
2C-26-36Z 2C-26-36RNW M26X1.5 M36X2 18 28 026.0x2.0 |35.51 52 | 36 | 32 | 41
2C-30-36Z 2C-30-36RNW M30X2 M36X2 22 28 026.0x2.0 |37.5| 54 | 36 | 36 | 41
2C-12-457 2C-12-45RNW M12X1.5 M45X2 6 35 032.0x25 | 37 | 52 | 41 14 | 50
2C-14-457 2C-14-45RNW M14X1.5 M45X2 8 35 032.0x2.5 | 37 | 52 | 41 17 | 50
2C-16-45Z7 2C-16-45RNW M16X1.5 M45X2 10 35 032.0x25 138 | 53|41 |19 | 50
2C-18-457 2C-18-45RNW M18X1.5 M45X2 12 35 032.0x25 | 38 | 53 | 41 | 22 | 50
2C-22-457 2C-22-45RNW M22X1.5 M45X2 15 35 032.0x25 |39 | 54|41 |27 | 50
2C-26-457 2C-26-45RNW M26X1.5 M45Xx2 18 35 032.0x2.5 |38.5| 55 | 41 | 32 | 50
2C-30-45Z7 2C-30-45RNW M30X2 M45X2 22 35 032.0x2.5 |40.5|1 57 | 41 | 36 | 50
2C-36-457 2C-36-45RNW M36X2 M45X2 28 35 032.0x2.5 |140.5| 57 | 41 | 41 | 50
2C-12-527 2C-12-52RNW M12X1.5 M52X2 6 42 038.0x2.5 [40.51 55 | 50 | 14 | 60
2C-14-527 2C-14-52RNW M14X1.5 M52X2 8 42 038.0x2.5 [40.51 55 | 50 | 17 | 60
2C-16-527 2C-16-52RNW M16X1.5 M52X2 10 42 038.0x2.5 14151 56 | 50 | 19 | 60
2C-18-527 2C-18-52RNW M18X1.5 M52X2 12 42 038.0x2.5 [41.5]1 56 | 50 | 22 | 60
2C-22-527 2C-22-52RNW M22X1.5 M52X2 15 42 038.0x2.5 [425|1 58 | 50 | 27 | 60
2C-26-527 2C-26-52RNW M26X1.5 M52X2 18 42 038.0x25 | 42 | 58 | 50 | 32 | 60
2C-30-527 2C-30-52RNW M30X2 M52X2 22 42 038.0x25 |44 | 60 | 50 | 36 | 60
2C-36-527 2C-36-52RNW M36X2 M52X2 28 42 038.0x25 | 44 | 61| 50 | 41 | 60
2C-45-527 2C-45-52RNW M45X2 M52X2 35 42 038.0x25 |43 | 65| 50 | 50 | 60

B-16 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



FTEXEREX

w ) i ﬁéj@ INEISMBLI24 4/
AR NI PRISRLI24° HE
: L1 90°
METRIC MALE 24°CONE /
2C9 2C9-RNW METRIC FEMALE 24°CONE
2D9 2D9-RNW 90° ELBOW
{5 PART NO. 2 2L THREAD & |E T4METUBEO.D.| O JU <) DIMENSIONS
$:3L4ABODY | 41FASSEMBLY E F D1 D2 O-RING [ 1 |L1|L2[s1]|s2]s3
2C9-12Z 2C9-12RNW | M12X1.5 | M12X15| 6 6 0045x1.5| 12 |27 |26 [ 12 [ 14 | 14
2C9-14Z 2C9-14RNW | M14X1.5 | M14X15| 8 8 006.5x1.5 | 14 | 29 |27.5| 12 | 17 | 17
2C9-16Z 2C9-16RNW | M16X1.5 | M16X1.5| 10 10 008.0x1.5| 15 | 30 [ 29 [ 14 [ 19 | 19
2C9-18Z 2C9-18RNW [ M18X1.5 | M18X1.5| 12 12 010.0x1.5 | 17 | 32 |29.5| 17 | 22 | 22
2C9-227 2C9-22RNW | M22X1.5 | M22X15| 15 15 012.0x2.0 | 21 | 36 [32.5| 19 | 27 | 27
2C9-267 2C9-26RNW | M26X1.5 | M26X15| 18 18 015.0x2.0 [23.5| 40 [35.5| 24 [ 32 | 32
2C9-30Z 2C9-30RNW | M30X2 | M30X2 22 22 020.0x2.0 |27.5| 44 |38.5| 27 | 36 | 36
2C9-36Z 2C9-36RNW | M36X2 | M36X2 28 28 026.0x2.0 |30.5| 47 [41.5| 36 | 41 | 41
2C9-457 2C9-45RNW | M45X2 | M45X2 35 35 032.0x2.5 |34.5| 56 | 51 | 41 | 50 | 50
2C9-527 2C9-52RNW | M52X2 | M52X2 42 42 038.0x2.5| 40 | 63 | 56 | 50 | 60 | 60
2D9-14Z 2D9-14RNW | M14X1.5 | M14X15| 6 6 004.5x1.5| 16 | 31 |27 |12 | 17 | 17
2D9-16Z 2D9-16RNW | M16X1.5 [M16X1.5| 8 8 006.5x1.5 | 17 | 32 [27.5| 14 | 19 | 19
2D9-18Z 2D9-18RNW [ M18X1.5 [ M18X1.5| 10 10 008.0x1.5 |17.5| 34 [ 30 | 17 | 22 | 22
2D9-20Z 2D9-20RNW | M20X1.5 | M20X1.5| 12 12 010.0x1.5 [21.5] 38 [ 31 [ 17 [ 24 | 24
2D9-227 2D9-22RNW | M22X1.5 | M22X1.5| 14 14 O11.0x2.0 [ 22 [ 40 | 35 [ 19 | 27 | 27
2D9-247 2D9-24RNW | M24X1.5 | M24X15| 16 16 013.0x2.0 |24.5| 43 [36.5| 24 | 30 | 30
2D9-30Z 2D9-30RNW | M30X2 | M30x2 20 20 016.3x2.4 |26.5| 48 |44.5| 27 | 36 | 36
2D9-36Z 2D9-36RNW | M36X2 | M36X2 25 25 020.3x2.4 | 30 | 54 [ 50 | 36 | 46 | 46
2D9-427 2D9-42RNW | M42X2 | M42x2 30 30 025.3x2.4 |35.5| 62 | 55 | 41 | 50 | 50
2D9-527 2D9-52RNW | M52X2 | M52x2 38 38 033.3x2.4 | 41 | 72 | 63 | 50 | 60 | 60

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 B-17



FTEXEREX

L1
11
N x{\\\
w — - o 6* | L—O—S
|
! kY kY
| 4@ s NEIINZL 244/
S1\83 N R ERL 244
METRIC MALE 24°CONE /
2D 2D-RNW METRIC FEMALE 24°CONE
A 5 PART NO. 12 2r THREAD B T4M% TUBE O.D. Ot Bl JX ) DIMENSIONS

#L{ABODY | 41{fASSEMBLY E F D1 D2 O-RING 11 L1 S1]1S2 | S3
2D-14-16Z 2D-14-16RNW M14X1.5 | M16X1.5 6 8 006.5x1.5 | 27 | 42 17 17 19
2D-14-187 2D-14-18RNW M14X1.5 | M18X1.5 6 10 008.0x1.5 |27.5| 42 17 17 22
2D-16-18Z 2D-16-18RNW M16X1.5 | M18X1.5 8 10 008.0x1.5|27.5| 42 17 19 22
2D-14-20Z 2D-14-20RNW M14X1.5 | M20X1.5 6 12 010.0x1.5| 29 | 44 17 17 | 24
2D-16-20Z 2D-16-20RNW M16X1.5 | M20X1.5 8 12 0O10.0x1.5| 29 | 44 17 19 24
2D-18-20Z 2D-18-20RNW M18X1.5 | M20X1.5 10 12 010.0x1.5 | 31 46 19 22 24
2D-14-227 2D-14-22RNW M14X1.5 | M22X1.5 6 14 011.0x2.0 | 31.5| 46 19 17 27
2D-16-227 2D-16-22RNW M16X1.5 | M22X1.5 8 14 011.0x2.0 | 31.5| 46 19 19 | 27
2D-18-227 2D-18-22RNW M18X1.5 | M22X1.5 10 14 011.0x2.0 | 31 47 19 | 22 27
2D-20-227 2D-20-22RNW M20X1.5 | M22X1.5 12 14 011.0x2.0 | 31 47 22 24 27
2D-14-247 2D-14-24RNW M14X1.5 | M24X1.5 6 16 013.0x2.0 | 32 | 47 22 17 30
2D-16-24Z7 2D-16-24RNW M16X1.5 | M24X1.5 8 16 013.0x2.0 | 32 | 47 22 19 30
2D-18-247 2D-18-24RNW M18X1.5 | M24X1.5 10 16 013.0x2.0 |315] 48 | 22 | 22 | 30
2D-20-247 2D-20-24RNW M20X1.5 | M24X1.5 12 16 013.0x2.0 | 33.5| 50 | 22 24 30
2D-22-247 2D-22-24RNW M22X1.5 | M24X1.5 14 16 013.0x2.0 | 33 51 24 27 30
2D-14-30Z 2D-14-30RNW M14X1.5 M30X2 6 20 016.3x2.4 | 36 51 27 17 36
2D-16-30Z 2D-16-30RNW M16X1.5 M30X2 8 20 016.3x2.4 | 36 51 27 19 36
2D-18-30Z 2D-18-30RNW M18X1.5 M30X2 10 20 016.3x2.4 |35.5| 52 | 27 | 22 | 36
2D-20-30Z 2D-20-30RNW M20X1.5 M30X2 12 20 016.3x2.4 | 35.5| 52 27 | 24 36
2D-22-30Z 2D-22-30RNW M22X1.5 M30X2 14 20 016.3x2.4 | 37 55 30 27 36
2D-24-30Z 2D-24-30RNW M24X1.5 M30X2 16 20 016.3x2.4 |37.5| 55 30 30 36
2D-14-36Z 2D-14-36RNW M14X1.5 M36X2 6 25 020.3x2.4 | 38.5| 53 36 17 | 46
2D-16-36Z 2D-16-36RNW M16X1.5 M36X2 8 25 020.3x2.4 | 38.5| 53 36 19 | 46
2D-18-36Z 2D-18-36RNW M18X1.5 M36X2 10 25 020.3x2.4 | 38 54 36 | 22 | 46
2D-20-36Z 2D-20-36RNW M20X1.5 M36X2 12 25 020.3x2.4 | 38 54 36 | 24 | 46
2D-22-36Z 2D-22-36RNW M22X1.5 M36X2 14 25 020.3x2.4 |39.5| 57 36 | 27 | 46
2D-24-36Z 2D-24-36RNW M24X1.5 M36X2 16 25 020.3x2.4 | 39 57 36 30 | 46
2D-30-36Z 2D-30-36RNW M30X2 M36X2 20 25 020.3x2.4 | 39 | 61 36 | 36 | 46
2D-14-427 2D-14-42RNW M14X1.5 M42X2 6 30 025.3x2.4 | 44 59 | 41 17 50
2D-16-427 2D-16-42RNW M16X1.5 M42X2 8 30 025.3x2.4 | 44 59 | 41 19 50
2D-18-427 2D-18-42RNW M18X1.5 M42X2 10 30 025.3x2.4 |43.5| 60 | 41 22 50
2D-20-427 2D-20-42RNW M20X1.5 M42X2 12 30 025.3x2.4 |43.5| 60 | 41 24 | 50
2D-22-427 2D-22-42RNW M22X1.5 M42X2 14 30 025.3x2.4 | 45 | 63 | 41 27 50
2D-24-427 2D-24-42RNW M24X1.5 M42X2 16 30 025.3x2.4 |44.5| 63 | 41 30 50
2D-30-427 2D-30-42RNW M30X2 M42X2 20 30 025.3x2.4 |445| 66 | 41 36 50
2D-36-427 2D-36-42RNW M36X2 M42X2 25 30 025.3x2.4 | 44 69 | 41 46 50
2D-14-527 2D-14-52RNW M14X1.5 M52X2 6 38 033.3x2.4 |47.5| 62 50 17 60
2D-16-527 2D-16-52RNW M16X1.5 M52X2 8 38 033.3x2.4 |47.5| 62 | 50 19 | 60
2D-18-527 2D-18-52RNW M18X1.5 M52X2 10 38 033.3x2.4 | 47 63 50 22 60
2D-20-527 2D-20-52RNW M20X1.5 M52X2 12 38 033.3x2.4 | 47 | 63 50 | 24 60
2D-22-527 2D-22-52RNW M22X1.5 M52X2 14 38 033.3x2.4 |48.5| 66 50 | 27 60
2D-24-527 2D-24-52RNW M24X1.5 M52X2 16 38 033.3x2.4| 48 | 66 | 50 | 30 | 60
2D-30-527 2D-30-52RNW M30X2 M52X2 20 38 033.3x2.4 | 48 70 50 36 60
2D-36-527 2D-36-52RNW M36X2 M52X2 25 38 033.3x2.4 |48.5| 73 50 | 46 60
2D-42-527 2D-42-52RNW M42X2 M52X2 30 38 033.3x2.4 | 49 76 50 50 60

B-18 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



FTEXEREX

L1

S2 11
s1
NN
. g Al ti
4C 4C-RNW NHISMRSI24°4E 1k
4D 4D-RNW METRIC MALE 24°CONE PLUG
£ 5 PART NO. W E 4 T hMED1 S~ DIMENSIONS
3k kBODY Af+ASSEMBLY | THREADE TUBE O.D. §] L1 S1 S2
4C-127 4C-12RNW M12x1.5 6 7 22 12 14
4C-14Z 4C-14RNW M14x1.5 8 8 23 14 17
4C-16Z 4C-16RNW M16x1.5 10 9 24 17 19
4C-18Z 4C-18RNW M18x1.5 12 10 | 25 19 | 22
4C-227 4C-22RNW M22x1.5 15 11 26 | 24 | 27
4C-26Z 4C-26RNW M26X1.5 18 115 | 28 | 27 | 32
4C-30Z 4C-30RNW M30x2 22 135 | 30 | 32 | 36
4C-30DZ 4C-30RNW M30x1.5 22 135 | 30 | 32 | 36
4C-36Z 4C-36RNW M36x2 28 145 | 31 41 41
4C-36DZ 4C-36RNW M36x1.5 28 145 | 31 41 41
4C-457 4C-45RNW M45X2 35 145 | 36 | 46 | 50
4C-45DZ 4C-45RNW M45X1.5 35 155 | 36 | 46 | 50
4C-527 4C-52RNW M52X2 42 16 | 39 | 55 | 60
4D-14Z 4D-14RNW M14X1.5 6 11 26 14 17
4D-16Z 4D-16RNW M16X1.5 8 13 | 28 17 19
4D-18Z 4D-18RNW M18x1.5 10 125 | 29 19 | 22
4D-20Z 4D-20RNW M20x1.5 12 145 | 31 22 | 24
4D-227 4D-22RNW M22x1.5 14 16 | 34 | 24 | 27
4D-247 4D-24RNW M24x1.5 16 155 | 34 | 27 | 30
4D-30Z 4D-30RNW M30x2 20 175 | 39 | 32 | 36
4D-36Z 4D-36RNW M36x2 25 20 | 44 | 41 46
4D-427 4D-42RNW M42x2 30 205 | 47 | 46 | 50
4D-527 4D-52RNW M52X2 38 23 | 54 | 55 | 60

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 B-19



FTEXEREX

| B s
6C 6C-LN 6C-LNRNW
6D 6D-LN 6D-LNRNW

INBISMBSI24°% AR IE S
METRIC MALE 24°CONE BULKHEAD
X 5 PART NO. 12 27 THREAD |4M% TUBE R <} DIMENSIONS

1L /ABODY |4H/-ASSEMBLY | 2 {-ASSEMBLY | 41/4+-ASSEMBLY E F D1 | D2 11 2 |L1])L2|S1]|S2S3|S4
6C-12Z 6C-12LNZ 6C-12RNW |6C-12LNRNW|M12X1.5|M12X1.5| 6 6 7 27 2242117 14 17
6C-14Z 6C-14LNZ 6C-14RNW |6C-14LNRNW|M14X1.5|M14X1.5| 8 8 8 27 |23(42]19 17 19
6C-16Z 6C-16LNZ 6C-16RNW |6C-16LNRNW|M16X1.5|M16X1.5] 10 | 10 | 10 | 28 |25(43 |22 19 |22
6C-18Z 6C-18LNZ 6C-18RNW |6C-18LNRNW|M18X1.5|M18X1.5] 12 | 12 | 10 | 29 |25|44|24| 22 |24
6C-227 6C-22LNZ 6C-22RNW |6C-22LNRNW|M22X1.5|M22X1.5| 15 | 15 | 12 | 31 |27 |46|27| 27 |30
6C-26Z 6C-26LNZ 6C-26RNW |6C-26LNRNW|M26X1.5|M26X1.5| 18 | 18 [13.5(132.5|130(49|32| 32 |36
6C-30Z 6C-30LNZ 6C-30RNW |6C-30LNRNW/| M30X2 | M30X2 | 22 | 22 |16.5|/34.5|33|51|36| 36 |41
6C-36Z 6C-36LNZ 6C-36RNW |6C-36LNRNW| M36X2 | M36X2 | 28 | 28 |18.5|135.5|35|52 |41 41 46
6C-457 6C-45LNZ 6C-45RNW |6C-45LNRNW/| M45X2 | M45X2 | 35 | 35 [18.5(36.5|140(58|50| 50 |55
6C-527 6C-52LNZ 6C-52RNW |6C-52LNRNW/| M52X2 | M52X2 | 42 | 42 | 19 | 36 |42|59|60| 60 |65
6D-14Z 6D-14LNZ 6D-14RNW |6D-14LNRNW|M14X1.5|M14X1.5| 6 6 12 | 29 |127144 |19 17 19
6D-16Z 6D-16LNZ 6D-16RNW |6D-16LNRNW|M16X1.5|M16X1.5| 8 8 13 | 29 |28|44 |22 19 |22
6D-18Z 6D-18LNZ 6D-18RNW |6D-18LNRNW|M18X1.5|M18X1.5] 10 | 10 [14.5(29.5|31|46|24| 22 |24
6D-20Z 6D-20LNZ 6D-20RNW |6D-20LNRNW|M20X1.5|M20X1.5| 12 | 12 |[14.5(30.5|31 |47 |27| 24 |27
6D-227 6D-22LNZ 6D-22RNW |6D-22LNRNW|M22X1.5|M22X1.5| 14 | 14 | 17 | 32 |35|50|30| 27 |30
6D-247 6D-24LNZ 6D-24RNW |6D-24LNRNW|M24X1.5|M24X1.5| 16 | 16 |[16.5(31.5|135|50|32| 30 |32
6D-30Z 6D-30LNZ 6D-30RNW |6D-30LNRNW/| M30X2 | M30X2 | 20 | 20 |17.5133.5|39|55 |41 36 |41
6D-36Z 6D-36LNZ 6D-36RNW |6D-36LNRNW| M36X2 | M36X2 | 25 | 25 | 20 | 35 |44 |59|46| 46 |46
6D-427 6D-42LNZ 6D-42RNW |6D-42LNRNW/| M42X2 | M42X2 | 30 | 30 |[21.5|37.5|148|64|50| 50 |50
6D-527 6D-52LNZ 6D-52RNW |[6D-52LNRNW/| M52X2 | M52X2 | 38 | 38 | 22 | 37 |53|68|65| 60 |65

B-20

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




FTEXEREX

Ll
“E NSRS
METRICLOCKNUT
8C-LN 1SO8434-1
=2 2L THREAD JU<FDIMENSIONS
PARTNO. E A S1
8C-12LNZ M12X1.5 6 17
8C-14LNZ M14X1.5 6 19
8C-16LNZ M16X1.5 6 22
8C-18LNZ M18X1.5 6 24
8C-20LNZ M20X1.5 6 27
8C-22LNZ M22X1.5 7 30
8C-24LNZ M24X1.5 7 32
8C-26LNZ M26X1.5 8 36
8C-30LNZ M30X2 8 41
8C-36LNZ M36X2 9 46
8C-42LNZ M42X2 9 50
8C-45LNZ M45X2 9 5
8C-52LNZ M52X2 10 65

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 B-21



FTEXEREX

S2

9C INHIPIRRE247 4 sk

9D METRIC FEMALE 24°CONE PLUG
g = 2 4 THREAD HEFHME D O [E R~ DIMENSIONS

PART NO. E TUBE O.D. O-RING L L1 S

9C-12Z M12X1.5 6 004.5x1.5 15.5 17.5 14
9C-14Z M14X1.5 8 006.5x1.5 15.5 18 17
9C-16Z M16X1.5 10 008.0x1.5 16.5 18 19
9C-18Z M18X1.5 12 010.0x1.5 18 19.5 22
9C-227 M22X1.5 15 012.0x2.0 18.5 20 27
9C-26Z M26X1.5 18 015.0x2.0 19.5 22 32
9C-30Z M30X2 22 020.0x2.0 21.5 225 36
9C-36Z M36X2 28 026.0x2.0 22.5 245 41
9C-45Z M45X2 35 032.0x2.5 25 29 50
9C-527 M52X2 42 038.0x2.5 27 31.5 60
9D-14Z M14X1.5 6 004.5x1.5 16 18 17
9D-16Z M16X1.5 8 006.5x1.5 16.5 18.5 19
9D-18Z2 M18X1.5 10 008.0x1.5 18 20 22
9D-20Z M20X1.5 12 010.0x1.5 18.5 20.5 24
9D-227 M22X1.5 14 011.0x2.0 19 21.5 27
9D-247 M24X1.5 16 013.0x2.0 18.5 21.5 30
9D-30Z M30X2 20 016.3x2.4 22.5 25 36
9D-36Z M36X2 25 020.3x2.4 235 28.5 46
9D-427 M42X2 30 025.3x2.4 25.5 32 50
9D-527 M52X2 38 033.3x2.4 26.5 36 60

B-22 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



FTEXEREX

D2

F [
] 7 [P e
0 YA VAV | #LEIL@JJ
S2 11 13 S4
L1 L3

AC AC-RNW NHISMEL24 =B

AD AD-RNW METRIC MALE 24°CONE TEE

£ 5 PART NO. 1% 40 THREAD| % ¥4Iz TUBE O.D. R 5} DIMENSIONS

$:3kABODY A ASSEMBLY E,F.G D1,D2,D3 11,23 | L1,L2L3 S1  |S2,83,54

AC-12Z AC-12RNW M12X1.5 6 12 27 12 14
AC-14Z AC-14RNW M14X1.5 8 14 29 12 17
AC-16Z AC-16RNW M16X1.5 10 15 30 14 19
AC-18Z AC-18RNW M18X1.5 12 17 32 17 22
AC-227 AC-22RNW M22X1.5 15 21 36 19 27
AC-26Z AC-26RNW M26X1.5 18 23.5 40 24 32
AC-30Z AC-30RNW M30X2 22 27.5 44 27 36
AC-36Z AC-36RNW M36X2 28 30.5 47 36 41
AC-457 AC-45RNW M45X2 35 34.5 56 41 50
AC-52Z AC-52RNW M52X2 42 40 63 50 60
AD-14Z AD-14RNW M14X1.5 6 16 31 12 17
AD-16Z AD-16RNW M16X1.5 8 17 32 14 19
AD-18Z AD-18RNW M18X1.5 10 17.5 34 17 22
AD-20Z AD-20RNW M20X1.5 12 21.5 38 17 24
AD-227 AD-22RNW M22X1.5 14 22 40 19 27
AD-24Z AD-24RNW M24X1.5 16 24.5 43 24 30
AD-30Z AD-30RNW M30X2 20 26.5 48 27 36
AD-36Z AD-36RNW M36X2 25 30 54 36 46
AD-427 AD-42RNW M42X2 30 35.5 62 41 50
AD-52Z AD-52RNW M52X2 38 41 72 50 60

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 B-23



FTEXEREX

ACCH-OGN
ADDH-OGN

S3

L2

12

L1 L3

ACCH-OGNRNW
ADDH-OGNRNW

NHISMEL 248 | AIER A FISMEL OB X =18
METRIC MALE 24° CONE / ADJUSTABLE METRIC O-RING

RUN TEE
5 PART NO. I8 40 THREAD |#74142D1,02| O S~ DIMENSIONS

#:3LfkBODY 21+ ASSEMBLY E,F G TUBEO.D. |ORING |12 [L1,L2[ L3 | S1 |S2,83| S4
ACCH-12-12-100GNZ | ACCH-1212100GNRNW |M12X1.5| M10X1 6 008.1X1.6| 13 | 28 |26.5| 11 | 14 | 14
ACCH-14-14-120GNZ [ ACCH-1414120GNRNW [M14X1.5|M12X1.5 8 009.3X2.2|115.5|30.5| 32 | 14 [ 17 | 17
ACCH-16-16-140GNZ [ ACCH-1616140GNRNW [M16X1.5|M14X1.5 10 011.3%X2.2|17.5(32.5( 34 [ 16 | 19 | 19
ACCH-18-18-160GNZ [ ACCH-1818160GNRNW [M18X1.5|M16X1.5 12 013.3X2.2| 19 | 34 | 36 | 19 [ 22 | 22
ACCH-22-22-180GNZ [ ACCH-2222180GNRNW [M22X1.5|M18X1.5 15 015.3X2.4| 22 | 37 |39.5| 22 | 27 | 24
ACCH-26-26-220GNZ [ ACCH-2626220GNRNW [M26X1.5|M22X1.5 18 019.3X2.2|25.5| 42 |435| 27 | 32 | 27
ACCH-30-30-270GNZ [ ACCH-3030270GNRNW | M30X2 | M27X2 22 023.6X2.9|129.3|45.8| 50 | 30 | 36 | 32
ACCH-36-36-330GNZ [ ACCH-3636330GNRNW | M36X2 | M33X2 28 029.6X2.9|33.349.8| 54 | 36 | 41 | 41
ADDH-14-14-120GNZ [ ADDH-1414120GNRNW [M14X1.5|M12X1.5 6 009.3X2.2|17.5|32.5| 32 | 14 | 17 | 17
ADDH-16-16-140GNZ [ ADDH-1616140GNRNW [M16X1.5|M14X1.5 8 011.3%X2.2[18.7(33.7 34 [ 16 | 19 | 19
ADDH-18-18-160GNZ | ADDH-1818160GNRNW [M18X1.5|M16X1.5 10 013.3X2.2|19.5| 36 | 36 | 19 [ 22 | 22
ADDH-20-20-180GNZ [ ADDH-2020180GNRNW [M20X1.5|M18X1.5 12 015.3X2.4|19.5| 36 | 37 | 19 | 24 | 24
ADDH-24-24-220GNZ | ADDH-2424220GNRNW [M24X1.5|M22X1.5 16 019.3x22| 24 | 42 |37.5| 24 | 30 |27
ADDH-30-30-270GNZ | ADDH-3030270GNRNW | M30X2 | M27x2 20 023.6X2.9|128.3|49.8| 50 | 30 [ 36 | 32
ADDH-36-36-330GNZ | ADDH-3636330GNRNW | M36X2 | M33X2 25 029.6X2.9|132.8|56.8| 54 | 36 | 46 | 41
ADDH-42-42-420GNZ | ADDH-4242420GNRNW | M42X2 | M42x2 30 038.6X2.9|36.2|62.7|57.2| 41 [ 50 |50

7 GEEZU 51SO 6149-17H VLA A

Note: G thread end fit with ISO 6149-1 port.

B-24

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




FTEXEREX

F D2
: S3 |
T S2 | “~
. %m , | -
B SR -
= R
S1 L1 L3
ACCO-0G ACCO-OGRNW
ADDO-0G ADDO-OGRNW
AHISMEL24° 4/ EHI AT RO Bl Z
FRZiB
METRIC MALE 24°CONE/UN ORING ADJUSTABLE
RUN TEE
5 PART NO. 2 S THREAD  |45744% D1,D2| OlHE S~ DIMENSIONS
P23k fkBODY A1+ ASSEMBLY EF G TUBEO.D. |[O-RING||12[L1,L2| L3 |S1]S2,93|54
ACCO-12-12-040GZ | ACCO-12-12-040GRNW [ M12X1.5 | 7/16"X20 6 0904 | 13| 28 | 28 [11]| 14 |17
ACCO-14-14-060GZ [ACCO-14-14-060GRNW | M14X1.5 | 9/16"X18 8 0906 |15.5| 30.5 |31.32[14]| 17 |19
ACCO-16-16-060GZ | ACCO-16-16-060GRNW [ M16X1.5 | 9/16"X18 10 0906 | 17 | 32.5|33.5 16| 19 |19
ACCO-18-18-080GZ | ACCO-18-18-080GRNW [ M18X1.5 | 3/4"X16 12 0908 | 19| 34 |37.5(19| 22 |24
ACC0-22-22-100GZ | ACC0-22-22-100GRNW [ M22X1.5 |  7/8"X14 15 0910 | 22 | 37 |44.5 (22| 27 |27
ACCO0-26-26-120GZ | ACCO-26-26-120GRNW | M26X1.5 | 1.1/16"X12 18 0912 |25.5 42 | 51 (27| 32 |32
ACCO0-30-30-120GZ | ACCO-30-30-120GRNW| M30X2 | 1.1/16"X12 22 0912 |29.5|45.8 | 54 (30| 36 |32
ACCO-36-36-160GZ | ACCO-36-36-160GRNW | M36X2 | 1.5/16"X12 28 0916 |33.3| 49.8 | 57.5 36| 41 |41
ACCO0-45-45-200GZ | ACCO-45-45-200GRNW | M45X2 | 1.5/8"X12 35 0920 |39.2|60.7 | 63 (48| 50 |50
ADDO-14-14-040GZ | ADDO-14-14-040GRNW [ M14X1.5 | 7/16"X20 6 0904 |17.5]32.5| 30 (14| 17 |17
ADDO-16-16-060GZ | ADDO-16-16-060GRNW | M16X1.5 | 9/16"X18 8 0906 |19 | 34 [33.3[16] 19 [19
ADDO-18-18-060GZ | ADDO-18-18-060GRNW [ M18X1.5 | 9/16"X18 10 0906 |19.5| 36 | 35 [19] 22 |19
ADDO-20-20-080GZ | ADDO-20-20-080GRNW | M20X1.5 |  3/4"X16 12 0908 |[19.5| 36 |[37.5(19| 24 |24
ADDO-22-22-100GZ [ADDO-22-22-100GRNW | M22X1.5 |  7/8"X14 14 0910 | 23| 41 | 44 (22| 27 |27
ADDO-24-24-100GZ | ADDO-24-24-100GRNW | M24X1.5 |  7/8"X14 16 0910 | 24 | 425|465 (24| 30 |27
ADDO-30-30-120GZ | ADDO-30-30-120GRNW/| M30X2 | 1.1/16"X12 20 0912 |28.3| 49.8 | 53.5 (30| 36 [32
ADDO-36-36-160GZ | ADDO-36-36-160GRNW | M36X2 | 1.5/16"X12 25 0916 [32.8| 56.8 | 58.8 [36| 46 |41
ADDO-42-42-200GZ | ADDO-42-42-200GRNW| M42X2 | 1.5/8"X12 30 0920 |[36.2| 62.7 | 59.5 [41]| 50 [50
VE: GEEZUH 51S0O 11926-13h I VLA . Note: G thread end fit with ISO11926-1 port.
EATON Winner i3 &%k H-AP-EHGC-2011-C Mar 2014 B-25




FTEXEREX

‘ —
E}E LI -
Moo s2/ L I 2 | \sa
— L1 L2
S1

ACHC-OGN ACHC-OGNRNW

ADHD-OGN ADHD-OGNRNW
NHISMRELZI24°4E | TR /AHISES O

PE=E

METRIC MALE 24° CONE / ADJUSTABLE

METRIC MALE O-RING

BRANCH TEE
X 5 PART NO. 2 50 THREAD |#7442D1,.D2| OJLH JU~f DIMENSIONS

L ABODY YAfFASSEMBLY E.G F TUBEOD. | ORING |j12|L1,L2| L3 [S1]|S2,54|S3
ACHC-12-10-120GNZ | ACHC-1210120GNRNW |M12X1.5| M10X1 6 008.1X1.6 | 13 | 28 |26.5|11| 14 |14
ACHC-14-12-140GNZ | ACHC-1412140GNRNW |M14X1.5|M12X1.5 8 009.3X2.2 [15.5| 30.5 | 32 |14| 17 |17
ACHC-16-14-160GNZ | ACHC-1614160GNRNW |M16X1.5|M14X1.5 10 011.3X2.2 |17.5| 32.5 | 34 16| 19 [19
ACHC-18-16-180GNZ | ACHC-1816180GNRNW |M18X1.5|M16X1.5 12 013.3x2.2| 19| 34 | 36 |19| 22 |22
ACHC-22-18-220GNZ | ACHC-2218220GNRNW |M22X1.5|M18X1.5 15 015.3X2.2 | 22 | 37 |39.5|22| 27 |24
ACHC-26-22-260GNZ | ACHC-2622260GNRNW |M26X1.5|M22X1.5 18 019.3X2.2 |25.5| 42 |43.5|27| 32 |27
ACHC-30-27-300GNZ | ACHC-3027300GNRNW | M30X2 | M27X2 22 023.6X2.9 [29.3| 45.8 | 50 |30| 36 |32
ACHC-36-33-360GNZ | ACHC-3633360GNRNW | M36X2 | M33X2 28 029.6X2.9 |33.3| 49.8 | 54 |36| 41 |41
ADHD-14-12-140GNZ | ADHD-1412140GNRNW |M14X1.5|M12X1.5 6 009.3X2.2 [17.5| 32.5 | 32 |14| 17 |17
ADHD-16-14-160GNZ | ADHD-1614160GNRNW |M16X1.5|M14X1.5 8 011.3X2.2 |18.7| 33.7 | 34 [16] 19 [19
ADHD-18-16-180GNZ | ADHD-1816180GNRNW |M18X1.5|M16X1.5 10 013.3X2.2 [19.5| 36 | 36 |19| 22 |22
ADHD-20-18-200GNZ | ADHD-2018200GNRNW |M20X1.5|M18X1.5 12 015.3X2.2 [19.5| 36 | 37 |19| 24 |24
ADHD-24-22-240GNZ | ADHD-2422240GNRNW |M24X1.5|M22X1.5 16 019.3X2.2 | 24 | 42 |37.5|24| 30 |27
ADHD-30-27-300GNZ | ADHD-3027300GNRNW | M30X2 | M27X2 20 023.6X2.9 [28.3] 49.8 | 50 |30 36 |32
ADHD-36-33-360GNZ | ADHD-3633360GNRNW | M36X2 | M33X2 25 029.6X2.9 [32.8| 56.8 | 54 |36| 46 |41
ADHD-42-42-420GNZ | ADHD-4242420GNRNW | M42X2 | M42X2 30 038.6X2.9 [36.2| 62.7 [57.2]|41| 50 |50

Vs FIRE051S0 6149-13 T UCELAE A

Note: F thread end fit with ISO 6149-1 port.

B-26

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




FTEXEREX

‘n | Tk S3
N \
/% EE <UD BT
w f{ﬁ/ . | lbil =
: © sofl. 1M | 12 |Tsa
LT L1 L2
S1
ACOC-0G ACOC-OGRNW
ADOD-0G ADOD-OGRNW
ANFIIMRELL24°HE/ £ H AT E IO Bl 5+
NE=I8
METRIC MALE 24°CONE/UN ORING ADJUSTABLE
BRANCH TEE
£ 5 PART NO. i 4L THREAD |44 D1.02| O J <+ DIMENSIONS
L ABODY HfFASSEMBLY E.G F TUBEO.D. |O-RING(j112|L1,L2| L3 [s1[S2,54|S3
ACOC-12-04-120GZ [ACOC-12-04-120GRNW|M12X1.5| 7/16"X20 6 0904 | 13| 28 |27.5(11| 14 |17
ACOC-14-06-140GZ [ACOC-14-06-140GRNW|M14X1.5| 9/16"X18 8 0906 [15.5/30.5[31.8[14| 17 |19
ACOC-16-06-160GZ [ACOC-16-06-160GRNW|M16X1.5| 9/16"X18 10 0906 | 17 |32.5[33.3[16] 19 [19
ACOC-18-08-180GZ [ACOC-18-08-180GRNW|M18X1.5| 3/4"X16 12 0908 | 19 | 34 [37.5[19 22 |24
ACOC-22-10-220GZ [ACOC-22-10-220GRNW|M22X1.5| 7/8"X14 15 0910 | 22| 37 | 44 |22 27 |27
ACOC-26-12-260GZ | ACOC-26-12-260GRNW|M26X1.5| 1.1/16"X12 18 0912 |255| 42 | 51 |27 32 |32
ACOC-30-12-300GZ [ACOC-30-12-300GRNW| M30X2 [1.1/16"X12 22 0912 |29.5|45.8| 54 30| 36 |32
ACOC-36-16-360GZ | ACOC-36-16-360GRNW/| M36X2 | 1.5/16"X12 28 0916 [33.3|49.8 [57.5(36 41 [41
ACOC-45-20-450GZ [ACOC-45-20-450GRNW| M45X2 | 1.5/8"X12 35 0920 [39.2|60.7 | 63 48] 50 |50
ADOD-14-04-140GZ | ADOD-14-04-140GRNW|M14X1.5| 7/16"X20 6 0904 (175|325 30 [14| 17 |17
ADOD-16-06-160GZ |ADOD-16-06-160GRNW|M16X1.5| 9/16"X18 8 0906 |18.7|33.7 [33.3|16] 19 |19
ADOD-18-06-180GZ [ADOD-18-06-180GRNW|M18X1.5| 9/16"X18 10 0906 [19.5| 36 [33.5[19] 22 |19
ADOD-20-08-200GZ |[ADOD-20-08-200GRNW|M20X1.5| 3/4"X16 12 0908 |19.5| 36 [37.5|19| 24 |24
ADOD-22-10-220GZ [ADOD-22-10-220GRNW|M22X1.5| 7/8"X14 14 0910 | 23| 41 | 44 |22 27 |27
ADOD-24-10-240GZ [ADOD-24-10-240GRNW|M24X1.5| 7/8"X14 16 0910 | 24 | 42.5 |46.5(24| 30 |27
ADOD-30-12-300GZ | ADOD-30-12-300GRNW/| M30X2 | 1.1/16"X12 20 0912 |28.3|49.8 [53.5|30| 36 |32
ADOD-36-16-360GZ |[ADOD-36-16-360GRNW/| M36X2 | 1.5/16"X12 25 0916 |32.8|56.8 [57.5|36| 46 |41
ADOD-42-20-420GZ | ADOD-42-20-420GRNW/| M42X2 | 1.5/8"X12 30 0920 [36.2|62.7 [59.5|41| 50 |50
VE: FI2Z0H 51S0 11926-13 VLA # . Note: F thread end fit with 1ISO11926-1 port.
EATON Winner i3 &%k H-AP-EHGC-2011-C Mar 2014 B-27



FTEXEREX

RSB 244/
AHEIRERG24°HE
AX=iE

METRIC MALE 24°CONE/

BC BC-RNW METRIC FEMALE 24°CONE
BD BD-RNW BRANCH TEE
A 5 PART NO. 12 2r THREAD E4M% TUBE O.D. Ol R s DIMENSIONS

#L1ABODY| H4-ASSEMBLY E.G F D1,D3 D2 O-RING | 11,13 | L1,L3 | L2 | S1 |S2,54( S3
BC-12Z BC-12RNW M12X1.5 | M12X1.5 6 6 004.5x1.5| 12 27 26 | 12 14 14
BC-14Z7 BC-14RNW M14X1.5 | M14X1.5 8 8 006.5x1.5| 14 29 |27.5] 12 17 17
BC-16Z BC-16RNW M16X1.5 | M16X1.5 10 10 008.0x1.5| 15 30 29 | 14 19 19
BC-18Z2 BC-18RNW M18X1.5 | M18X1.5 12 12 010.0x1.5( 17 32 |[29.5| 17 22 | 22
BC-227 BC-22RNW M22X1.5 | M22X1.5 15 15 012.0x2.0( 21 36 [32.5| 19 27 | 27
BC-26Z BC-26RNW M26X1.5 | M26X1.5 18 18 015.0x2.0|123.5| 40 |355| 24 32 32
BC-30Z BC-30RNW M30X2 M30X2 22 22 020.0x2.0|127.5| 44 |38.5]| 27 36 36
BC-36Z BC-36RNW M36X2 M36X2 28 28 026.0x2.0130.5| 47 |41.5| 36 41 41
BC-4572 BC-45RNW M45X2 M45X2 35 35 032.0x2.5(34.5| 56 51 | 41 50 50
BC-527 BC-52RNW M52X2 M52X2 42 42 038.0x2.5( 40 63 56 | 50 | 60 | 60
BD-14Z BD-14RNW M14X1.5 | M14X1.5 6 6 004.5x1.5| 16 31 27 | 12 17 17
BD-16Z BD-16RNW M16X1.5 | M16X1.5 8 8 006.5x1.5| 17 32 |27.5| 14 19 19
BD-18Z2 BD-18RNW M18X1.5 | M18X1.5 10 10 008.0x1.5(17.5| 34 30 | 17 22 | 22
BD-20Z BD-20RNW M20X1.5 | M20X1.5 12 12 010.0x1.5(21.5| 38 31 17 24 | 24
BD-227 BD-22RNW M22X1.5 | M22X1.5 14 14 011.0x2.0| 22 40 35 119 27 | 27
BD-247 BD-24RNW M24X1.5 | M24X1.5 16 16 013.0x2.0|124.5| 43 |36.5| 24 30 30
BD-30Z BD-30RNW M30X2 M30X2 20 20 016.3x2.4|26.5| 48 |44.5]| 27 36 36
BD-36Z BD-36RNW M36X2 M36X2 25 25 020.3x2.4| 30 54 50 | 36 46 | 46
BD-427 BD-42RNW M42X2 M42X2 30 30 025.3x2.4(35.5| 62 55 | 41 50 50
BD-527 BD-52RNW M52X2 M52X2 38 38 033.3x2.4| 41 72 63 | 50 | 60 |60

B-28

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




FTEXEREX

NEIMRL24°HE/
AHIRIES24°4 X =18
METRIC MALE 24°CONE/

CcC CC-RNW METRIC FEMALE 24°CONE
CD CD-RNW RUN TEE
A 5 PART NO. 12 2r THREAD &T4M% TUBE O.D. Ol R~ DIMENSIONS

#L1ABODY| H4-ASSEMBLY E.F G D1,D2 D3 O-RING | 11,2 | L1,L2 | L3 | S1|S2,83| 54
CC-127 CC-12RNW M12X1.5 | M12X1.5 6 6 004.5x1.5| 12 27 26 | 12 14 14
CC-14z CC-14RNW M14X1.5 | M14X1.5 8 8 006.5x1.5| 14 29 27.5| 12 17 17
CC-16Z CC-16RNW M16X1.5 | M16X1.5 10 10 008.0x1.5] 15 30 29 | 14 19 19
CC-18z CC-18RNW M18X1.5 | M18X1.5 12 12 010.0x1.5| 17 32 295\ 17 22 22
CC-227 CC-22RNW M22X1.5 | M22X1.5 15 15 012.0x2.0] 21 36 325| 19 27 27
CC-26Z CC-26RNW M26X1.5 | M26X1.5 18 18 015.0x2.0123.5| 40 355| 24 32 32
CC-30z CC-30RNW M30X2 M30X2 22 22 020.0x2.0(27.5| 44 38.5| 27 36 36
CC-36Z CC-36RNW M36X2 M36X2 28 28 026.0x2.0130.5| 47 |415]| 36 41 41
CC-457 CC-45RNW M45X2 M45X2 35 35 032.0x2.5(34.5 56 51 | 41 50 50
CC-527 CC-52RNW M52X2 M52X2 42 42 038.0x2.5| 40 63 56 | 50 60 | 60
CD-147 CD-14RNW M14X1.5 | M14X1.5 6 6 004.5x1.5| 16 31 27 | 12 17 17
CD-16Z CD-16RNW M16X1.5 | M16X1.5 8 8 006.5x1.5| 17 32 27.5| 14 19 19
CD-182 CD-18RNW M18X1.5 | M18X1.5 10 10 008.0x1.5117.5 34 30 | 17 22 22
CD-20Z2 CD-20RNW M20X1.5 | M20X1.5 12 12 010.0x1.5121.5 38 31 17 24 24
CD-227 CD-22RNW M22X1.5 | M22X1.5 14 14 011.0x2.0| 22 40 35 | 19 27 27
CD-247 CD-24RNW M24X1.5 | M24X1.5 16 16 013.0x2.0|124.5| 43 36.5| 24 30 30
CD-30Z CD-30RNW M30X2 M30X2 20 20 016.3x2.4(26.5| 48 |44.5]| 27 36 36
CD-36Z CD-36RNW M36X2 M36X2 25 25 020.3x2.4| 30 54 50 | 36 46 46
CD-427 CD-42RNW M42X2 M42X2 30 30 025.3x2.4135.5| 62 55 | 41 50 50
CD-527 CD-52RNW M52X2 M52X2 38 38 033.3x2.4| 41 72 63 | 50 60 | 60

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 B-29



FTEXEREX

L L1 B

Bl

S1 PNHEIIMBLD 244/
HERYO0HZRE
1CB 1CB-RNW METRIC MALE 24°CONE /
1DB 1DB-RNW BSP 60° CONE SEAL
8 = PART NO. 1% 27 THREAD T 4ME D1 S~} DIMENSIONS
$2L1ABODY | “ZH{FASSEMBLY E F TUBEO.D.| B 11 L1 L S1 S2
1CB-12-02Z 1CB-12-02RNW M12X1.5 G1/8"X28 6 10 8 23 24 14 14
1CB-12-04Z2 1CB-12-04RNW M12X1.5 G1/4"X19 6 12 9 24 28 19 14
1CB-14-02Z 1CB-14-02RNW M14X1.5 G1/8"X28 8 10 8 23 25 14 17
1CB-14-04Z 1CB-14-04RNW M14X1.5 G1/4"X19 8 12 9 25 28 19 17
1CB-14-06Z 1CB-14-06RNW M14X1.5 G3/8"X19 8 13.5 9 24 28.5 22 17
1CB-16-04Z 1CB-16-04RNW M16X1.5 G1/4"X19 10 12 10 25 28 19 19
1CB-16-06Z 1CB-16-06RNW M16X1.5 G3/8"X19 10 13.5 1 125 25 33 22 19
1CB-16-08Z2 1CB-16-08RNW M16X1.5 G1/2"X14 10 16 11 26 32 27 19
1CB-18-04Z 1CB-18-04RNW M18X1.5 G1/4"X19 12 12 10 25 29 19 22
1CB-18-06Z 1CB-18-06RNW M18X1.5 G3/8"X19 12 13.5 10 25 30.5 22 22
1CB-18-08Z7 1CB-18-08RNW M18X1.5 G1/2"X14 12 16 1 26 33 27 22
1CB-18-12Z2 1CB-18-12RNW M18X1.5 G3/4"X14 12 18.5 1 26 36.5 32 22
1CB-22-06Z 1CB-22-06RNW M22X1.5 G3/8"X19 15 13.5 11 26 31.5 24 27
1CB-22-08Z2 1CB-22-08RNW M22X1.5 G1/2"X14 15 16 12 27 34 27 27
1CB-26-08Z7 1CB-26-08RNW M26X1.5 G1/2"X14 18 16 11.5 28 35 27 32
1CB-26-12Z7 1CB-26-12RNW M26X1.5 G3/4"X14 18 185 | 11.5 28 5.5 32 32
1CB-30-12Z 1CB-30-12RNW M30X2 G3/4"X14 22 18.5 1 13.5 30 39.5 32 36
1CB-36-16Z 1CB-36-16RNW M36X2 G1"X11 28 20.5 | 145 31 42.5 41 41
1CB-45-20Z2 1CB-45-20RNW M45Xx2 G1.1/4"X11 35 20.5 1 155 37 45.5 50 50
1CB-52-247 1CB-52-24RNW M52X2 G1.1/2"X11 42 23 16 39 50 55 60
1DB-14-04Z 1DB-14-04RNW M14X1.5 G1/4"X19 6 12 13 28 30 19 17
1DB-16-04Z 1DB-16-04RNW M16X1.5 G1/4"X19 8 12 13 28 32 19 19
1DB-16-06Z 1DB-16-06RNW M16X1.5 G3/8"X19 8 13.5 15 32 35.5 22 19
1DB-18-04Z2 1DB-18-04RNW M18X1.5 G1/4"X19 10 12 12.5 29 32 19 22
1DB-18-06Z 1DB-18-06RNW M18X1.5 G3/8"X19 10 13.5 1 14.5 31 33.5 22 22
1DB-18-08Z2 1DB-18-08RNW M18X1.5 G1/2"X14 10 16 14.5 31 36 27 22
1DB-20-04Z7 1DB-20-04RNW M20X1.5 G1/4"X19 12 12 14.5 31 34 22 24
1DB-20-06Z 1DB-20-06RNW M20X1.5 G3/8"X19 12 13.5 | 14.5 31 2.5 22 24
1DB-20-08Z2 1DB-20-08RNW M20X1.5 G1/2"X14 12 16 14.5 31 38 27 24
1DB-22-08Z2 1DB-22-08RNW M22X1.5 G1/2"X14 14 16 16 34 40 27 27
1DB-24-06Z 1DB-24-06RNW M24X1.5 G3/8"X19 16 13.5 1 155 34 37.5 27 30
1DB-24-08Z2 1DB-24-08RNW M24X1.5 G1/2"X14 16 16 185 34 40 27 30
1DB-24-12Z7 1DB-24-12RNW M24X1.5 G3/4"X14 16 185 |1 17.5 36 445 32 30
1DB-30-12Z 1DB-30-12RNW M30X2 G3/4"X14 20 185 | 17.5 39 48.5 32 36
1DB-36-08Z2 1DB-36-08RNW M36X2 G1/2"X14 25 16 19 43 48 41 46
1DB-36-12Z 1DB-36-12RNW M36X2 G3/4"X14 25 18.5 19 43 50.5 | 41 46
1DB-36-16Z 1DB-36-16RNW M36X2 G1"X11 25 20.5 20 44 52.5 41 46
1DB-42-20Z2 1DB-42-20RNW M42X2 G1.1/4"X11 30 2051 215 48 54.5 50 50
1DB-52-247 1DB-52-24RNW M52X2 G1.1/2"X11 38 23 23 54 62 55 60

B-30 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



E-T-N | Winner

Rk

X

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014






11 E#EESL ADAPTER

B SE35I

22 25 D |
| ]| | '
1KT-SP 4K
PC4 PC4
AM 4MN-WD
PC7 PC7
W | ’
18 1SB 1SG9-0G 1SN 180
PC8 PC8 PC9 PC10 PC10

4S
PC13
1B9 -
PC18 PC19 PC20 PC21
1BH 1BH9-0OG 1BJ
PC22 PC23 PC24
16 | | \
1BM-WD 1BN 1BO 1BT9-SP 1BT-SP 2B
PC27 PC28 PC29 PC30 PC31 PC32

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

ASE5

N

2NB
PC37

2TB9-SP
PC39

2TB-GSP
PC39

4B
PC42

Ejlu

4BN-WD 4B-WD 5B-G 5B 5BN 5BT
PC42 PC43 PC43 PC44 PC45 PC45
7 —
AT . ,

5GB 6B 5NB 50B 5TB9-SP 5TB-SP
PC46 PC46 PCa7 PC48 PC48 PC49
At N ’ —
7B 7B9-PK 7B-S
PC50 PC51 PC51

47-SP

PC59

50T
PC60

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

A SE5

T
PC62

GT-PK
PC63

1JB-WD
PC66

1JG-L 1JK 1JG 1JG9-0G
PC68 PC68 PC69 PC70
1JH9-0G 1JM 1JM-WD
PC72 PC73 PC74

=

1JN9 1JO 1J04-0G
PC77 PC78 PC79 PC80 PC80 PC81
73|
1JT9-SP 1JwW 1JWO-IN 10-0G
PC83 PC84 PC85 PC85 PC86

2J9
PC89
= - i
Hi -
2NJ 20J 2TJ-SP 40N 3J
PC92 PC93 PC94 PC94 PC95

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

==
BSE5|
NIl
s
4J 40 5J 5JB-G 5JB-GDK 5JB
PC96 PC96 PC97 PC98 PC98 PC99
5JN-BH 5JN9
PC100 PC102

AJGJ-0G AJHJ-OG AJJ6J AJJG-0G AJJH-OG AJIN

PC108 PC109 PC110 PC110 PC111 PC112
i __iz ) =

o HH | e |y | @D | | e

AJJO-0G AJJT-SP AINJ AJOJ-0G AJTJ-SP BJ

PC113 PC114 PC114 PC115 PC116 PC116
:'

—izjj—"ﬁ —

HNNJ JNJN

PC119 PC119

0 | e | ~ i

T I e
KJINJ KJINN LJUN NB200 NB300
PC120 PC120 PC121 PC122 PC123

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

A S &5

NB500 1F 1FH 1FH9-0G

PC124 PC125 PC126 PC127
r%

1FN9 1FO 1FO9-OGL

PC129 PC130 PC131 PC132

8F
PC138
9F AF AFF6F AF6FF AFFO-0OG AFFN
PC139 PC139 PC140 PC140 PC141 PC141
N N
% %Zm I f
1— L kj L N N ‘ ‘
BF CF NB300-F NB500-F 1N
PC142 PC142 PC143 PC144 PC145
[/=m) S 7@
| — ?%
7 T | |
L D R
1N9 1NO9-0G INT 4N ANN
PC146 PC148 PC149 PC150 PC150
{ E
5GN 5HN 5N 5NO 5NT 50N
PC151 PC152 PC153 PC154 PC155 PC156

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




T ERESL ADAPTER

BS 25|
0
Tﬂﬁ AT @ &
5TN-SP 7N 7N9-PK 9N-CAP
PC157 PC158 PC159 PC159
[ 1 S|
ND 2 . 2 | ¢
He— | e
HN KN LN
PC161 PC162 PC162

7

2NU9-L
PC165
1CFL. 1DFL 1DFS 1JFL 1JFL9
PC169 PC170 PC172 PC173
1JFS 1JFS9
PC174 PC175

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




1B ADAPTER

60°

L

A B

1]

I

1K

HAAHSMNRL60° S

JIS METRIC MALE 60°CONE

60°§>€

-

)= % 4 THREAD R~ DIMENSIONS
PART NO. E F A B L S1
1K-14Z M14X1.5 M14X1.5 17 17 40 17
1K-16Z M16X1.5 M16X1.5 18 18 42 17
1K-18Z M18X1.5 M18X1.5 18 18 42 19
1K-20Z M20X1.5 M20X1.5 20 20 48 22
1K-22Z M22X1.5 M22X1.5 20 20 48 24
1K-24Z M24X1.5 M24X1.5 215 | 215 | 53 27
1K-30Z M30X1.5 M30X1.5 26 26 63 32
1K-33Z M33X1.5 M33X1.5 30 30 71 36
1K-36Z M36X1.5 M36X1.5 33 33 79 41
1K-42Z M42X1.5 M42X1.5 36 36 85 46
L
A N . 1KG
Vi

HARLQFISMEL60°5ME /
REIMRYONE
JIS METRIC MALE 60° CONE /

S1 BSP MALE O-RING
B i2 £ THREAD OJEFE O-RING J <+ DIMENSIONS
PART NO. E F Figi A B L S1
1KG-14-04Z M14X1.5 G1/4"X19 0111 17 11 36 19
1KG-14-06Z M14X1.5 G3/8"X19 0113 17 | 115 | 365 | 24
1KG-16-06Z M16X1.5 G3/8"X19 0113 18 | 115 | 38 | 24
1KG-18-06Z M18X1.5 G3/8"X19 0113 18 | 115 | 38 | 24
1KG-22-08Z M22X1.5 G1/2"X14 017.86Xx2.62| 20 | 14 | 455 | 27
1KG-30-12Z M30X1.5 G3/4"X14 0119 26 | 145 | 525 | 36
1KG-33-12Z M33X1.5 G3/4"X14 0119 30 | 155 | 58 | 36
1KG-33-16Z M33X1.5 G1"X11 0217 30 | 18 | 62 | 41

T FERZU51SO 1179-13 HILEC S A . Note: F thread end fit with ISO1179-1 port.

EATON Winner i3 iE#£k H-AP-EHGC-2011-C Mar 2014



T ERESL ADAPTER

L
A B
1KH
| 607 g N H A ABISMBLZC0 S /
INHISMESORZ B+
) JIS METRIC MALE 60°CONE /
S1 METIRC MALE ORING SEAL
e i2 £ THREAD OJ¥ M O-RING S <+ DIMENSIONS
PART NO. E F Fif A B L S1
1KH-14-12NZ M14X1.5 M12X1.5 009.3X2.2 17 11 | 365 | 17
1KH-14NZ M14X1.5 M14X1.5 011.3X2.2 17 11 | 355 | 19
1KH-16-14NZ M16X1.5 M14X1.5 011.3X2.2 18 11 40 19
1KH-18-14NZ M18X1.5 M14X1.5 011.3X2.2 18 11 | 375 | 19
1KH-18-16NZ M18X1.5 M16X1.5 013.3X2.2 18 | 125 | 40 22
1KH-18-20NZ M18X1.5 M20X1.5 017.3X2.2 18 14 | 415 | 27
1KH-20-18NZ M20X1.5 M18X1.5 015.3X2.2 | 20 14 47 24
1KH-22-20NZ M22X1.5 M20X1.5 017.3x2.2 | 20 14 47 27
1KH-24-20NZ M24X1.5 M20X1.5 017.3X2.2 | 215 | 14 | 485 | 27
1KH-24-22NZ M24X1.5 M22X1.5 019.3x22 | 215 | 15 | 485 | 27
1KH-30-27NZ M30X1.5 M27X2 0236x29 | 26 | 185 | 605 | 32
1KH-33NZ M33X1.5 M33X2 0296Xx29 | 30 | 185 | 62 41
1KH-36-33NZ M36X1.5 M33X2 0296x2.9 | 33 | 185 | 68 41

e FIERZUH51SO 6149-13H HILALMEH . Note: F thread end fit with 1ISO 6149-1 port.

C-2 EATON Winner i3 iE#£k H-AP-EHGC-2011-C Mar 2014



1B ADAPTER

:

1KN

60°(>@

HARLHIIMEL60° M / A HEE IMRLL

>

S1 E/ JIS METRIC MALE 60°CONE / NPT MALE
e #2 4 THREAD S+ DIMENSIONS
PART NO. E E A B L S
1KN-14-04Z M14X1.5 Z1/4"X18 17 | 15 | 38 | 17
1KN-14-06Z M14X1.5 Z3/8"X18 17 | 16 | 39 [ 19
1KN-16-06Z M16X1.5 Z3/8"X18 18 | 16 | 40 | 19
1KN-16-08Z M16X1.5 Z1/2"X14 18 | 195 | 455 | 22
1KN-18-06Z M18X1.5 Z3/8"X18 18 | 16 | 40 | 19
1KN-20-06Z M20X1.5 Z3/8"X18 20 | 16 | 44 | 22
1KN-20-08Z M20X1.5 Z1/2"X14 20 | 195 [ 475 | 22
1KN-22-08Z M22X1.5 Z1/2"X14 20 | 195 [ 475 | 24
1KN-24-08Z M24X1.5 Z1/2"X14 215 [ 195 | 51 | 27
1KN-24-127Z M24X1.5 Z3/4"X14 215 [ 195 | 51 | 30
1KN-30-12Z M30X1.5 Z3/4"X14 26 | 195 [ 565 | 32
1KN-33-16Z M33X1.5 Z1"X11.5 30 | 255 | 665 | 36
1KN-36-20Z M36X1.5 | Z1.1/4"X11.5 33 | 265 [ 725 | 46
1KN-42-247 M42X1.5 | Z1.1/2"X11.5 36 | 275 | 785 | 50

EATON Winner 5T &£k H-AP-EHGC-2011-C Mar 2014 C-3



1B ADAPTER

60°g \I

g 1KT-SP

PHEIIMBL60° I / SEHEEIMELL
METRIC MALE 60° CONE / BSPT MALE

e = 2 4 THREAD JR I DIMENSIONS
PART NO. E F A B L S1
1KT-14-04SPZ M14X1.5 R1/4"X19 17 145 | 37.5 14
1KT-14-06SPZ M14X1.5 R3/8"X19 17 15 38 17
1KT-16-06SPZ M16X1.5 R3/8"X19 18 15 39 17
1KT-18-06SPZ M18X1.5 R3/8"X19 18 15 39 19
1KT-20-06SPZ M20X1.5 R3/8"X19 20 15 43 22
1KT-22-06SPZ M22X1.5 R3/8"X19 20 15 43 24
1KT-22-08SPZ M22X1.5 R1/2"X14 20 20 48 24
1KT-24-08SPZ M24X1.5 R1/2"X14 215 | 20 | 515 | 27
1KT-24-12SPZ M24X1.5 R3/4"X14 215 | 20 | 515 | 30
1KT-30-12SPZ M30X1.5 R3/4"X14 26 20 57 32
1KT-33-16SPZ M33X1.5 R1"X11 30 | 25,5 | 665 | 36
1KT-36-20SPZ M36X1.5 R1.1/4"X11 33 | 265 | 725 | 46
1KT-42-24SPZ M42X1.5 R1.1/2"X11 36 | 265 | 775 | 50
L
A
N
L
50°TLL ) 4K
B HARLQHISMEL60°5ME K
JIS METRIC MALE 60° CONE PLUG
e = 12 4 THREAD R~ DIMENSIONS
PART NO. E A L S1
4K-142 M14X1.5 17 23 17
4K-16Z M16X1.5 18 24 17
4K-18Z M18X1.5 18 25 19
4K-20Z M20X1.5 20 28 22
4K-227 M22X1.5 20 28 24
4K-247 M24X1.5 215 | 315 | 27
4K-30Z M30X1.5 26 37 32
4K-33Z M33X1.5 30 41 36

EATON Winner i3 iE#£k H-AP-EHGC-2011-C Mar 2014




1B ADAPTER

A L
\

60° | —L- - Z/n 9K

HAQTHIRIZES60° A %
JIS METRIC FEMALE 60° CONE PLUG
S2 S1
= i% 4 THREAD JU s} DIMENSIONS
PART NO. E A L S1 S2
9K-14Z M14X1.5 105 | 15 19 19
9K-16Z M16X1.5 10 [175 | 22 | 22
9K-18Z M18X1.5 115|185 | 24 | 24
9K-227 M22X1.5 14 | 21 27 | 27
9K-24Z M24X1.5 15 [ 225 | 32 | 32
9K-30Z M30X1.5 183 | 25 | 36 | 36
9K-33Z M33X1.5 213 | 255 | 41 41
L
A B
1H
w| -1 —r -7 W
AFIIMEGOR B T 1 RT
% METRIC MALE ORING SEAL L-SERIES
1 ISO 6149-3
=) i2 £ THREAD OJF [ O-RING JX <} DIMENSIONS
PART NO. E F Ef Ffi A B L S1
1H-10NZ M10X1 M10X1 008.1X1.6 | 008.1X16 | 85 | 85 | 28 14
1H-12NZ M12X1.5 M12X1.5 | 009.3X2.2 | 009.3x2.2 | 11.0 [ 11.0 | 33 17
1H-14NZ M14X1.5 M14X1.5 011.3X2.2 | O11.3x22 | 11.0 | 11.0 | 33 19
1H-16NZ M16X1.5 M16X1.5 | 013.3X2.2 | 013.3x2.2 [ 115 | 115 | 34 | 22
1H-18NZ M18X1.5 M18X1.5 | O153X22 | 0153x22 [ 125 | 125 | 36 | 24
1H-22NZ M22X1.5 M22X1.5 | 019.3X2.2 | 019.3x2.2 | 13.0 | 13.0 | 41 27
1H-27NZ M27X2 M27X2 023.6X2.9 | 0236X29 | 16.0 | 16.0 | 46 | 32
1H-30NZ M30X2 M30X2 026.6X2.9 | 026.6X29 | 16.0 | 16.0 [ 46 | 36
1H-33NZ M33X2 M33X2 029.6X2.9 | 029.6X2.9 | 16.0 | 16.0 | 48 | 41
1H-42NZ M42X2 M42X2 038.6X2.9 | 038.6X2.9 | 16.0 | 16.0 | 51 50
1H-48NZ M48X2 M48X2 044.6X2.9 | 0446X29 | 175 [ 175 | 52 | 55
7E: 151S0 6149-13 FIULALfE . Note: fit with ISO 6149-1 port.

EATON Winner 5T &£k H-AP-EHGC-2011-C Mar 2014 C-5



1B ADAPTER

2MJ

NHISMEL60° A HE/JICIIZL 74° N §E
METRIC MALE 60° SEAT/JIC FEMALE 74° SEAT

B i2 £ THREAD J <+ DIMENSIONS
PART NO. E F A B L s1 | s2
2MJ-10-04Z M10X1 7/16"X20 8 93 | 22 | 14 | 14
2MJ-12-05Z M12X1.5 1/2"X20 10 | 95 | 245 | 17 | 17
2MJ-14-06Z M14X1.5 9/16"X18 11 | 105 | 255 | 19 | 19
2MJ-16-08Z M16X1.5 3/4"X16 12 [ 105|305 | 22 | 24
2MJ-18-08Z M18X1.5 3/4"X16 12 | 11 305 24 | 22
2MJ-18-10Z M18X1.5 7/8"X14 12 | 13 | 31 | 24 | 27
2MJ-22-10Z M22X1.5 7/8"X14 14 | 13 | 35 | 27 | 27
2MJ-27-12Z M27X2 1.1/16"X12 16 | 145 | 405 | 32 | 32
2MJ-27D-12Z M27X1.5 1.1/16"X12 16 | 15 [ 395 | 32 | 32
2MJ-30-16Z M30X2 1.5/16"X12 18 | 165 | 425 | 36 | 41
2MJ-30D-16Z M30X1.5 1.5/16"X12 18 | 16 | 415 | 36 | 41
2MJ-45-20Z M45X2 1.5/8"X12 20 | 17 | 49 | 55 | 50
2MJ-45D-20Z M45X1.5 1.5/8"X12 20 | 17 | 49 | 55 | 50
2MJ-52-247 M52X2 1.7/8"X12 20 | 20 | 495 | 60 | 55
2MJ-52D-24Z M52X1.5 1.7/8"X12 20 | 20 | 495 | 60 | 55
L
A
4H
LU
NHIIMESORZ B 118 %
METRIC MALE ORING SEAL PLUG
\S1 REF. ISO 6149-4

e i2 £ THREAD OJ¥ /% O-RING R~} DIMENSIONS
PART NO. E Ef A L S1
4H-12NZ M12X1.5 009.3X2.2 11 | 185 | 17
4H-14NZ M14X1.5 011.3X2.2 11 | 195 | 19
4H-16NZ M16X1.5 013.3X2.2 125 | 22 | 22
4H-18NZ M18X1.5 015.3X2.2 14 | 24 | 24
4H-22NZ M22X1.5 019.3X2.2 15 | 26 | 27
4H-27NZ M27X2 023.6X2.9 185 | 315 | 32
4H-30NZ M30X2 026.6X2.9 185 | 33 | 36
4H-33NZ M33X2 029.6X2.9 185 | 34 | 41
4H-42NZ M42X2 038.6X2.9 19 | 365 | 50

7E: 5I1SO 6149-13h HILALAEH . Note: fit with ISO 6149-1 port.

C-6 EATON Winner i3 iE#£k H-AP-EHGC-2011-C Mar 2014



1B ADAPTER

L
B
. . B . 4M
N = ABISMBEL60° IS < R T FILE A BB K
e S L 10’ L R K7\ R ¥m HE &= <
METRIC MALE DOUBLE USE FOR 60° CONE
SEAT OR BONDED SEAL PLUG
rB i2 £ THREAD R~ DIMENSIONS
PART NO. F B L S1
4M-10Z M10X1 8 15 | 14
4m-12Z M12X1.5 10 | 17 | 17
4M-14Z M14X1.5 11 19 | 19
4M-162 M16X1.5 12 | 20 | 22
4M-182 M18X1.5 12 | 20 | 24
4M-20Z M20X1.5 14 | 23 | 27
4M-227 M22X1.5 14 | 23 | 27
4M-247 M24X1.5 14 | 25 | 30
4M-26Z M26X1.5 16 | 28 | 32
4M-27DZ M27X1.5 16 | 28 | 32
4M-30Z M30X2 18 | 29 | 36
4M-30DZ M30X1.5 18 | 29 | 36
L
A
: \k . 4MN-WD
w| A -_r ANHIMES R B ZT N RAE L
METRIC MALE CAPTIVE SEAL HOLLOW HEX PLUG
REF. 1SO9974-4
=) #2 £ THREAD Jiz # CAPTIVE JU ) DIMENSIONS
PART NO. E Ef A L S1
4MN-10WDZ M10X1 WD-B02 8 12 5
4MN-12WDZ M12X1.5 WD-M12 12 | 17 6
4MN-14WDZ M14X1.5 WD-M14 12 | 17 6
4MN-16WDZ M16X1.5 WD-M16 12 | 17 8
4MN-18WDZ M18X1.5 WD-M18 12 | 17 8
4MN-20WDZ M20X1.5 WD-M20 14 | 19 | 10
4MN-22WDZ M22X1.5 WD-M22 14 | 19 | 10
4MN-26WDZ M26X1.5 WD-B12 16 | 21 12
4MN-27WDZ M27X2 WD-B12 16 | 21 12
4MN-33WDZ M33X2 WD-B16 16 | 23 | 17
4MN-42WDZ M42X2 WD-B20 16 | 23 | 22
4MN-48WDZ M48X2 WD-B24 16 | 23 | 24

EATON Winner 5T &£k H-AP-EHGC-2011-C Mar 2014 C-7



1B ADAPTER

1S

L
A. B
2o
60°g T . 60°

9=

HAZEIMEL60° FhE

N
S1 JIS GAS MALE 60° CONE
K= i £ THREAD JX <} DIMENSIONS
PART NO. E E A B L S
18-02Z G1/8"X28 G1/8"X28 12 12 | 30 14
1S-04Z G1/4"X19 G1/4"X19 16 16 | 38 17
1S-06Z G3/8"X19 G3/8"X19 18 18 | 42 19
1$-08Z G1/2"X14 G1/2"X14 20 | 20 | 48 | 22
18-12Z G3/4"X14 G3/4"X14 22 | 22 | 54 | 30
1S-16Z G1"X11 G1"X11 24 | 24 | 59 | 36
18-20Z G1.1/4"X11 | G1.1/4"X11 27 | 27 | 67 | 46
18-24Z G1.1/2"X11 | G1.1/2"X11 27 | 27 | 69 | 50
18-32Z G2"X11 G2"X11 30 | 30 [ 77 | 65
S1
— 1SB
60°)€ T -\T-'- 60
| |- AR EIMEL
A B 60° M/ REIMEN60° W
L JIS GAS MALE 60° CONE/BSP MALE 60° SEAT
®a 1% £ THREAD R~} DIMENSIONS
PART NO. E F A B L S1
1SB-04Z G1/4"X19 G1/4"X19 16 12 | 34 19
1SB-04-06Z G1/4"X19 G3/8"X19 16 | 135 | 375 | 22
1SB-06Z G3/8"X19 G3/8"X19 18 | 135 | 395 | 22
1SB-06-04Z G3/8"X19 G1/4"X19 18 12 | 36 19
1SB-06-08Z G3/8"X19 G1/2"X14 18 16 | 44 | 27
1SB-08Z G1/2"X14 G1/2"X14 20 16 | 46 | 27
1SB-08-06Z G1/2"X14 G3/8"X19 20 | 135 | 415 | 22
1SB-08-12Z G1/2"X14 G3/4"X14 20 | 185 | 495 | 32
1SB-12Z G3/4"X14 G3/4"X14 22 | 185 | 515 | 32
1SB-12-06Z G3/4"X14 G3/8"X19 22 | 135 | 455 | 30
1SB-12-08Z G3/4"X14 G1/2"X14 22 16 | 48 | 30
1SB-12-16Z G3/4"X14 G1"X11 22 | 205 | 555 | 41
1SB-16Z G1"X11 G1"X11 24 | 205 | 575 | 41
1SB-16-08Z G1"X11 G1/2"X14 24 16 | 51 36
1SB-16-12Z G1"X11 G3/4"X14 24 | 185 | 535 | 36

EATON Winner i3 iE#£k H-AP-EHGC-2011-C Mar 2014



1B ADAPTER

A __ B
BN 156G
60“6 - - - -
| F A SRR
' 60° JhE | HEIMEGORE
St JIS GAS MALE 60° CONE / BSP MALE O-RING
B i2 £ THREAD OJ¥8 O-RING R~ DIMENSIONS
PART NO. E F Fii A B L S1
15G-02Z G1/8"X28 G1/8"X28 o7.97x188 | 12 | 76 | 27 14
1SG-04Z G1/4"X19 G1/4"X19 0111 16 1 | 345 | 19
1SG-06Z G3/8"X19 G3/8"X19 o113 18 | 115 | 375 | 24
1SG-08Z G1/2"X14 G1/2"X14 017.86X2.62| 20 14 | 455 | 27
18G-12Z G3/4"X14 G3/4"X14 o119 22 | 145 | 48 36
1SG-16Z G1"X11 G1"X11 0217 24 | 186 | 535 | 41
1SG-20Z G1.1/4"X11 | G1.1/4"X11 0222 27 20 59 50
1SG-24Z G1.1/2"X11 | G1.1/2"X11 0224 27 | 215 | 625 | 60
7 FI240H51SO 1179-13M UL . Note: F thread end fit with ISO1179-1 port.

F

b
S2 =
o 1SG9-0G
oo T H AR T SMBLI60° S AT B I8 S MBS O
st 90° &
A JIS GAS MALE 60° CONE / ADJUSTABLE BSP MALE O-RING
90° ELBOW
B i 4 THREAD OJ% I8 O-RING R <} DIMENSIONS
PART NO. E F Fifi A B s1 | s2
18G9-020GZ G1/8"X28 G1/8"X28 07.97X1.88 | 219 | 255 | 11 14
1SG9-040GZ G1/4"X19 G1/4"X19 o111 28 | 313 | 14 | 19
1SG9-060GZ G3/8"X19 G3/8"X19 0113 29 | 358 | 16 | 22
1SG9-080GZ G1/2"X14 G1/2"X14 017.86X2.62| 38 | 432 | 22 | 27
18G9-120GZ G3/4"X14 G3/4"X14 0119 43 | 493 | 27 | 32
1SG9-160GZ G1"X11 G1"X11 0217 485 | 53 | 33 | 41
18G9-200GZ G1.1/4"X11 | G1.1/4"X11 0222 57 | 59 | 41 50
1SG9-240GZ G1.1/2°X11 | G1.1/2"X11 0224 61 65 | 48 | 55
VE: FU240 51S0 1179-13 LA . Note: F thread end fit with 1ISO1179-1 port.

EATON Winner 5T &£k H-AP-EHGC-2011-C Mar 2014 Cc-9



1B ADAPTER

L
A B
_ % | 1SN
= 1
60°§>@j ot H A& SMELL
- 60° FINE/SE 7 HEE MRS
St F/ JIS GAS MALE 60° CONE/NPT MALE
B i 47 THREAD ]~} DIMENSIONS
PART NO. E F A B L S1
1SN-04Z G1/4"X19 Z1/4"X18 16 15 37 17
1SN-04-02Z G1/4"X19 Z1/8"X27 16 10.5 | 32.5 14
1SN-06Z G3/8"X19 Z3/8"X18 18 16 40 19
1SN-06-04Z G3/8"X19 Z1/4"X18 18 15 39 17
1SN-08Z G1/2"X14 Z1/2"X14 20 19.5 | 47.5 22
1SN-08-06Z G1/2"X14 Z3/8"X18 20 16 44 22
1SN-12Z G3/4"X14 Z3/4"X14 22 19.5 | 515 30
1SN-12-08Z2 G3/4"X14 Z1/2"X14 22 19.5 | 51.5 30
1SN-16Z G1"X11 Z1"X11.5 24 255 | 60.5 36
1SN-16-12Z G1"X11 Z3/4"X14 24 19.5 | 54.5 36
1SN-20Z G1.1/4"X11 Z1.1/4"X11.5 27 26.5 | 66.5 46
1SN-20-16Z G1.1/4"X11 Z1"X11.5 27 255 | 65.5 46
1SN-247 G1.1/2"X11 Z1.1/2"X11.5 27 27.5 | 69.5 50
L
A B
2 180
N | A S ESMELY £ HISAESMEL OF B
1 JIS GAS MALE 60° CONE/SAE O-RING BOSS
2 i2 4 THREAD Of¥l O-RING ]~ DIMENSIONS
PART NO. E F Fi A B L S1
1S0-04Z G1/4"X19 7/16"X20 0904 16 9.14 31 14
1S0-04-06Z G1/4"X19 9/16"X18 0906 16 9.93 32 17
1S0-06-04Z G3/8"X19 7/16"X20 0904 18 9.1 33 17
1S0-06Z G3/8"X19 9/16"X18 0906 18 9.93 34 17
1S0-08-06Z G1/2"X14 9/16"X18 0906 20 9.93 40 22
1S0-08Z G1/2"X14 3/4"X16 0908 20 11.13 39 22
1S0-12-10Z G3/4"X14 7/8"X14 0910 22 16 48.9 32
1S0-12Z G3/4"X14 1.1/16"X12 0912 22 15.1 48 32
1S0-16-12Z G1"X11 1.1/16"X12 0912 24 18.3 53.3 38
1S0-16Z G1"X11 1.5/16"X12 0916 24 15.1 50 38
1S0-20-16Z G1.1/4"X11 1.5/16"X12 0916 27 15.1 59 46
1S0-20Z G1.1/4"X11 1.5/8"X12 0920 27 15.1 61 50
1S0-24-20Z G1.1/2"X11 1.5/8"X12 0920 27 151 57 50
1S0-247 G1.1/2"X11 1.7/8"X12 0924 27 15.1 61 55

T 2404 51S0 11926-13H D ULE{E . Note: F thread end fit with ISO11926-1 port.

C-10

EATON Winner i3 iE#£k H-AP-EHGC-2011-C Mar 2014




1B ADAPTER

st F/

1ST-SP

HARESMEL60° S / FHEEIMRL
JIS GAS MALE 60° CONE / BSPT MALE

e #2 4 THREAD S+ DIMENSIONS
PART NO. E E A B L S
1ST-02SPZ G1/8"X28 R1/8"X28 12 [ 10 | 28 | 14
1ST-02-04SPZ G1/8"X28 R1/4"X19 12 | 145 | 325 [ 14
1ST-04SPZ G1/4"X19 R1/4"X19 16 | 145 | 365 | 17
1ST-04-02SPZ G1/4"X19 R1/8"X28 16 [ 10 | 32 | 17
1ST-04-06SPZ G1/4"X19 R3/8"X19 16 | 15 | 37 | 17
1ST-04-08SPZ G1/4"X19 R1/2"X14 16 | 20 | 44 | 22
1ST-06SPZ G3/8"X19 R3/8"X19 18 [ 15 | 39 | 19
1ST-06-04SPZ G3/8"X19 R1/4"X19 18 | 145 | 405 | 22
1ST-06-08SPZ G3/8"X19 R1/2"X14 18 | 20 | 46 | 22
1ST-08SPZ G1/2"X14 R1/2"X14 20 | 20 | 48 | 22
1ST-08-04SPZ G1/2"X14 R1/4"X19 20 | 145 | 425 | 22
1ST-08-06SPZ G1/2"X14 R3/8"X19 20 | 15 | 45 | 27
1ST-08-12SPZ G1/2"X14 R3/4"X14 20 | 20 [ 50 | 27
1ST-12SPZ G3/4"X14 R3/4"X14 22 | 20 [ 53 | 30
1ST-12-08SPZ G3/4"X14 R1/2"X14 22 | 20 | 52 | 30
1ST-12-16SPZ G3/4"X14 R1"X11 22 | 255|585 | 36
1ST-16SPZ G1"X11 R1"X11 24 | 255 | 62 | 41
1ST-16-12SPZ G1"X11 R3/4"X14 24 | 20 | 57 | 41
1ST-20SPZ G1.1/4"X11 | R1.1/4"X11 27 | 265 | 66 | 46
1ST-24SPZ G1.1/2"X11 | R1.1/2"X11 27 | 265 | 675 | 50
1ST-32SPZ G2"X11 R2"X11 30 | 30 | 77 | 65

EATON Winner i3 iE#£k H-AP-EHGC-2011-C Mar 2014




T ERESL ADAPTER

L B
NN
GZ(>LIJ - - ‘8 28
HXNREIMEL H R R ERIRL
S JIS GAS MALE/JIS GAS FEMALE
= #2 4L THREAD S~} DIMENSIONS

PART NO. E F A B S1 S2 L

25-02Z G1/8"X28 G1/8"X28 12 | 65 | 14 | 14 | 26

25-047 G1/4"X19 G1/4"X19 16 8 17 | 19 | 305
25-04-06Z G1/4"X19 G3/8"X19 16 9 17 | 22 | 315
25-06-04Z G3/8"X19 G1/4"X19 18 8 19 | 19 | 335

25-06Z G3/8"X19 G3/8"X19 18 9 19 | 22 | 335
25-06-08Z G3/8"X19 G1/2"X14 18 | 12 | 19 | 27 | 35
25-08-06Z G1/2"X14 G3/8"X19 20 9 22 | 22 | 375

25-08Z G1/2"X14 G1/2"X14 20 | 12 | 22 | 27 | 39
25-08-12Z G1/2"X14 G3/4"X14 20 [ 135 | 27 | 32 | 425
25-12-082 G3/4"X14 G1/2"X14 22 | 12 | 30 | 27 | 43

25-127 G3/4"X14 G3/4"X14 22 | 135 | 30 | 32 | 445
25-12-16Z G3/4"X14 G1"X11 22 | 16 | 32 | 41 | 47
25-16-12Z G1"X11 G3/4"X14 24 [ 135 | 36 | 32 | 475

25-16Z G1"X11 G1"X11 24 | 16 | 41 41 51
25-16-20Z G1"X11 G1.1/4"X11 24 | 185 | 41 50 | 54

25-20Z G1.1/4"X11 | G1.1/4"X11 27 | 185 | 46 | 50 | 545
2S-20-24Z G1.1/4"X11 | G1.1/2"X11 27 | 19 | 46 | 55 | 575

2S-247 G1.1/2°X11 | G1.1/2"X11 27 | 19 | 50 | 55 | 595

EATON Winner i3 iE#£k H-AP-EHGC-2011-C Mar 2014




T ERESL ADAPTER

4S

HAZEIMREL60°IME K
JIS GAS MALE 60° CONE PLUG

o[

e #2 4 THREAD S+ DIMENSIONS
PART NO. E A L S1
48-02Z G1/8"X28 12 | 18 | 14
48-04Z G1/4"X19 16 | 24 | 17
4S-06Z G3/8"X19 18 | 24 | 19
45-08Z G1/2"X14 20 | 28 | 22
48-127 G3/4"X14 22 | 33 [ 30
48-16Z G1"X11 24 | 35 | 36
48-20Z G1.1/4"X11 27 | 40 | 46
48-247 G1.1/2"X11 27 | 42 | 50
48-327 G2"X11 30 | 47 | 65

EATON Winner 5T &£k H-AP-EHGC-2011-C Mar 2014 C-13



1B ADAPTER

L #itt LOCK NUT
(7] =
/7 >

60°<>'-“

S2
HARZREIMEAL60° hHE T HRIESL
JIS GAS MALE 60° CONE BULKHEAD
X 5 PART NO. 12 £t THREAD R~} DIMENSIONS
B ABODY H{-ASSEMBLY E F A B L S1 S2
6S-04Z 6S-04LNZ G1/4"X19 G1/4"X19 16 32 56 19 19
6S-06Z 6S-06LNZ G3/8"X19 G3/8"X19 18 36 62 22 22
6S-08Z 6S-08LNZ G1/2"X14 G1/2"X14 20 40 70 27 27
6S-12Z 6S-12LNZ G3/4"X14 G3/4"X14 22 41 74 32 32
6S-16Z 6S-16LNZ G1"X11 G1"X11 24 45 88 41 41
A L
60° LLl q
o HARZENIRL60° HNHEEL
JIS GAS FEMALE 60° SEAT PLUG
iSZ S1
= 12 £z THREAD R~ DIMENSIONS
PART NO. E A L S1 S2
9S-04Z G1/4"X19 145 | 17 19
9S-06Z G3/8"X19 155 | 19 22
9S-08Z G1/2"X14 12 19 22 27
9S-12Z G3/4"X14 135 | 235 | 32 32
9S-16Z G1"X11 16 25 36 41
9S-20Z G1.1/4"X11 18.6 | 30 50 50
9S-247 G1.1/2"X11 19 | 325 | 55 55
9S-327 G2"X11 228 | 355 | 70 70
C-14 EATON Winner i3 iE#£k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

L
T
d 1B
60° W - ‘St | |e0°
REIMEL60° NS 7 RinE AHEE B R
- BSP MALE DOUBLE USE FOR 60°
S1 CONE SEAT OR BONDED SEAL
= 1% 40 THREAD JX s} DIMENSIONS
PART NO. E F A B L S1
1B-02Z G1/8"X28 G1/8"X28 10 10 26 14
1B-02-04Z G1/8"X28 G1/4"X19 10 12 28 19
1B-02-06Z G1/8"X28 G3/8"X19 10 13.5 31.5 22
1B-02-08Z G1/8"X28 G1/2"X14 10 16 36 27
1B-04Z G1/4"X19 G1/4"X19 12 12 30 19
1B-04-06Z G1/4"X19 G3/8"X19 12 185 33.5 22
1B-04-08Z G1/4"X19 G1/2"X14 12 16 38 27
1B-04-10Z G1/4"X19 G5/8"X14 12 17.5 39.5 30
1B-06Z G3/8"X19 G3/8"X19 13.5 13.5 35 22
1B-06-08Z G3/8"X19 G1/2"X14 185 16 39.5 27
1B-06-10Z G3/8"X19 G5/8"X14 13.5 17.5 41 30
1B-06-12Z G3/8"X19 G3/4"X14 185 18.5 43 32
1B-08Z G1/2"X14 G1/2"X14 16 16 42 27
1B-08-10Z G1/2"X14 G5/8"X14 16 17.5 435 30
1B-08-12Z G1/2"X14 G3/4"X14 16 18.5 455 32
1B-10Z G5/8"X14 G5/8"X14 17.5 17.5 45 30
1B-10-12Z G5/8"X14 G3/4"X14 17.5 18.5 47 32
1B-10-16Z G5/8"X14 G1"X11 17.5 20.5 51 41
1B-12Z G3/4"X14 G3/4"X14 18.5 18.5 48 32
1B-12-16Z G3/4"X14 G1"X11 18.5 20.5 52.5 41
1B-12-20Z G3/4"X14 G1.1/4"X11 18.5 20.5 55 50
1B-16Z G1"X11 G1"X11 20.5 20.5 54 41
1B-16-20Z G1"X11 G1.1/4"X11 20.5 20.5 58 50
1B-16-24Z G1"X11 G1.1/2"X11 20.5 23 60.5 55
1B-20Z G1.1/4"X11 G1.1/4"X11 20.5 20.5 58 50
1B-20-24Z G1.1/4"X11 G1.1/2"X11 20.5 23 60.5 55
1B-24Z G1.1/2"X11 G1.1/2"X11 23 23 63 55
1B-24-32Z G1.1/2"X11 G2"X11 23 25.5 66.5 70
1B-32Z G2"X11 G2"X11 255 255 68 70
1B-40Z G2.1/2"X11 G2.1/2"X11 32 32 81 90
1B-48Z G3"X11 G3"X11 36 36 92 100

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 Cc-15



HEESL ADAPTER

L
A
L 1B-2WD
J -
60°| W - 160°
REIMEL BT E
— BSP MALE CAPTIVE SEAL
S1
5 RZTHREAD JE#-CAPTIVE JUSFDIMENSIONS

PARTNO. E F Esfi Fit A B L S1
1B-02(2WD)Z G1/8"X28 G1/8"X28 WD-B02 WD-B02 8 8 25 14
1B-02-04(2WD)Z G1/8"X28 G1/4"X19 WD-B02 WD-B04 8 12 29.5 19
1B-04(2WD)Z G1/4"X19 G1/4"X19 WD-B04 WD-B04 12 12 34 19
1B-04-06(2WD)Z G1/4"X19 G3/8"X19 WD-B04 WD-B06 12 12 36.5 22
1B-06(2WD)Z G3/8"X19 G3/8"X19 WD-B06 WD-B06 12 12 35 22
1B-06-08(2WD)Z G3/8"X19 G1/2"X14 WD-B06 WD-B08 12 14 415 27
1B-08(2WD)Z G1/2"X14 G1/2"X14 WD-B08 WD-B08 14 14 44 27
1B-08-12(2WD)Z G1/2"X14 G3/4"X14 WD-B08 WD-B12 14 16 45 32
1B-12(2WD)Z G3/4"X14 G3/4"X14 WD-B12 WD-B12 16 16 47 32
1B-12-16(2WD)Z G3/4"X14 G1"X11 WD-B12 WD-B16 16 18 53 41
1B-16(2WD)Z G1"X11 G1"X11 WD-B16 WD-B16 18 18 55 41
1B-16-20(2WD)Z G1"X11 G1.1/4"X11 | wbD-B16 WD-B20 18 20 59 50
1B-20(2WD)Z G1.1/4"X11 | G1.1/4"X11 | WD-B20 WD-B20 20 20 61 50
1B-20-24(2WD)Z | G1.1/4"X11 | G1.1/2"X11 | WD-B20 WD-B24 20 22 63 55
1B-24(2WD)Z G1.1/2'X11 | G1.1/2"X11 | WD-B24 WD-B24 22 22 65 55
1B-24-322WD)Z | G1.1/2"X11 G2"X11 WD-B24 WD-B32 22 20 66 75
1B-32(2WD)Z G2"X11 G2"X11 WD-B32 WD-B32 20 20 65 75

EATON Winner 1

TiEEL H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

60°
A
{ 1B4
60° |- N\
Q KEIMEL60° M 45°5
BSP MALE 60° SEAT 45° ELBOW
A S1
7?2 1% 2L THREAD JX~F DIMENSIONS
PART NO. E E A B S
1B4-02Z G1/8"X28 G1/8"X28 17 17 11
1B4-04Z G1/4"X19 G1/4"X19 20.5 20.5 14
1B4-04-06Z G1/4"X19 G3/8"X19 21 22 16
1B4-06Z G3/8"X19 G3/8"X19 22 22 16
1B4-06-08Z G3/8"X19 G1/2"X14 24 27 22
1B4-08Z G1/2"X14 G1/2"X14 27 27 22
1B4-08-12Z G1/2"X14 G3/4"X14 28.5 31 27
1B4-10Z G5/8"X14 G5/8"X14 28.5 28.5 22
1B4-10-12Z G5/8"X14 G3/4"X14 30 31 27
1B4-12Z G3/4"X14 G3/4"X14 31 31 27
1B4-12-16Z G3/4"X14 G1"X11 32.5 35 33
1B4-16Z G1"X11 G1"X11 35 85 33
1B4-16-20Z G1"X11 G1.1/4"X11 38.5 38.5 41
1B4-20Z G1.1/4"X11 G1.1/4"X11 38.5 38.5 41
1B4-20-24Z G1.1/4"X11 G1.1/2"X11 415 44 48
1B4-24Z G1.1/2"X11 G1.1/2"X11 44 44 48
1B4-32Z G2"X11 G2"X11 51 51 63

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



T ERESL ADAPTER

60°
F
]
. 1B9
BSP MALE 60° SEAT 90° ELBOW
s
A
f* = 12 2 THREAD R =} DIMENSIONS
PART NO. E E A B S
1B9-02Z G1/8"X28 G1/8"X28 19.8 19.8 11
1B9-02-04Z G1/8"X28 G1/4"X19 23 25 14
1B9-04Z G1/4"X19 G1/4"X19 24.5 24.5 14
1B9-04-06Z G1/4"X19 G3/8"X19 26.5 27.5 16
1B9-06Z G3/8"X19 G3/8"X19 27.5 27.5 16
1B9-06-08Z G3/8"X19 G1/2"X14 31 34.5 22
1B9-08Z G1/2"X14 G1/2"X14 34.5 34.5 22
1B9-08-12Z G1/2"X14 G3/4"X14 37.5 40 27
1B9-10Z G5/8"X14 G5/8"X14 35 35 22
1B9-10-12Z G5/8"X14 G3/4"X14 38 395 27
1B9-12Z G3/4"X14 G3/4"X14 40 40 27
1B9-12-16Z G3/4"X14 G1"X11 43.5 46 88
1B9-16Z G1"X11 G1"X11 46 46 33
1B9-16-20Z G1"X11 G1.1/4"X11 50.5 50.5 41
1B9-20Z G1.1/4"X11 | G1.1/4"X11 50.5 50.5 41
1B9-20-24Z2 G1.1/4"X11 | G1.1/2"X11 54.5 57.5 48
1B9-247 G1.1/2"X11 | G1.1/2"X11 57.5 57.5 48
1B9-32Z G2"X11 G2"X11 68 68 63

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




HEESL ADAPTER

L

A

<j/ 1BG

60°| Wi+ l .
; i;‘ii_”]( *""%E?@EGO RIS 7S A i TE A
1

HERED FHEIMNRGONIE
BSP MALE DOUBLE USE FOR 60° CONE SEAT OR
BONDED SEAL / BSP MALE O-RING

KB 12 47 THREAD OJFE O-RING R~} DIMENSIONS
PART NO. E F Fifi A B L S1
1BG-02Z G1/8"X28 | G1/8"x28 07.97x1.88 | 10 7.6 25 14
1BG-04Z G1/4"X19 | G1/4"X19 0111 12 11 30.5 19
1BG-04-06Z G1/4"X19 | G3/8"x19 0113 12 115 32 24
1BG-06Z G3/8"X19 | G3/8"x19 0113 135 | 115 | 345 24
1BG-06-04Z G3/8"X19 | G1/4"X19 0111 13.5 11 32 22
1BG-06-08Z G3/8"X19 | G1/2"X14 017.86X2.62 | 13.5 14 39.5 27
1BG-08Z G1/2"X14 | G1/2"X14 017.86X2.62 | 16 14 39.5 27
1BG-08-06Z G1/2"X14 | G3/8"x19 0113 16 1.5 39 27
1BG-08-12Z G1/2"X14 | G3/4"X14 0119 16 14.5 44 36
1BG-10-08Z G5/8"X14 | G1/2"X14 017.86X2.62 | 17.5 14 43 30
1BG-12Z G3/4"X14 | G3/4"X14 0119 185 | 145 | 455 36
1BG-12-08Z G3/4"X14 | G1/2"X14 017.86X2.62 | 18.5 14 44 32
1BG-16-08Z G1"X11 G1/2"X14 017.86X2.62 | 20.5 14 49 41
1BG-16Z G1"X11 G1"X11 0217 205 | 186 53 41
1BG-16-12Z G1"X11 G3/4"X14 0119 205 | 145 | 505 41
1BG-20Z G1.1/4"X11 | G1.1/4"X11 0222 20.5 20 58.5 50
1BG-24Z G1.1/2"X11 | G1.1/2"X11 0224 23 215 | 615 60

VE: FERZU51S0 1179-13 I ULECfE .  Note: F thread end fit with ISO1179-1 port.

EATON Winner igiE##k H-AP-EHGC-2011-C Mar 2014 C-19




T ERESL ADAPTER

M

S2

@ 1BG9-0G

REIMRY60° N / HEIMELOMRE 90° T
BSP MALE 60° SEAT / BSP MALE O-RING 90° ELBOW

@,,ELEWT

A
KB 12 47 THREAD OJFE O-RING R~} DIMENSIONS
PART NO. E F Fifi A B S1 S2
1BG9-040GZ G1/4"X19 | G1/4"X19 0111 245 | 315 14 19
1BG9-04-060GZ | G1/4"X19 | G3/8"X19 0113 265 | 36.8 16 22
1BG9-060GZ G3/8"X19 | G3/8"x19 0113 28 36.8 16 22
1BG9-06-080GZ | G3/8"X19 | G1/2"X14 017.86X2.62 | 31 43.2 22 27
1BG9-080GZ G1/2"X14 | G1/2"X14 017.86X2.62 | 345 | 43.2 22 27
1BG9-08-120GZ | G1/2"X14 | GB3/4"X14 0119 40 49.3 27 32
1BG9-120GZ G3/4"X14 | G3/4"X14 0119 40 493 27 32
1BGO-12-160GZ | G3/4"X14 G1"X11 0217 45 53 33 41
1BG9-160GZ G1"X11 G1"X11 0217 46 53 33 41
1BG9-20-160GZ | G1.1/4"X11 |  G1"X11 0217 50.5 58 41 41
1BG9-200GZ G1.1/4"X11 | G1.1/4"X11 0222 51 59 41 50
1BG9-240GZ G1.1/2"X11 | G1.1/2"X11 0224 58.5 63 48 55

VE: FIEEZUH51SO 1179-131 UL f#F A . Note

: F thread end fit with ISO1179-1 port.

C-20

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

w 1BG-0G
REIMEN60° RS 7~ AimE AEEBREL /
REIMEL O E
BSP MALE DOUBLE USE FOR 60° CONE SEAT OR
BONDED SEAL / BSP MALE O-RING
KB 12 47 THREAD OJFE O-RING R~} DIMENSIONS

PART NO. E F Fifi A B L S1 S2
1BG-040GZ G1/4"X19 | G1/4"x19 0111 12 21 39 19 19
1BG-04-060GZ G1/4"X19 | G3/8"X19 0113 12 24 42 19 22
1BG-06-040GZ G3/8"X19 | G1/4"x19 0111 13.5 21 425 22 19
1BG-060GZ G3/8"X19 | G3/8"x19 0113 13.5 24 455 22 22
1BG-06-080GZ G3/8"X19 | G1/2"X14 017.86X2.62 | 135 28 495 22 27
1BG-08-060GZ G1/2"X14 | G3/8"x19 0113 16 24 50 27 22
1BG-080GZ G1/2"X14 | G1/2"X14 017.86X2.62 | 16 28 54 27 27
1BG-120GZ G3/4"X14 | G3/4"X14 0119 185 | 325 62 32 32
1BG-16-080GZ G1"X11 G1/2"X14 017.86X2.62 | 20.5 28 61.5 41 27
1BG-16-120GZ G1"X11 G3/4"X14 0119 205 | 325 66 41 32
1BG-160GZ G1"X11 G1"X11 0217 205 | 325 66 41 41
1BG-20-080GZ | G1.1/4"X11 | G1/2"X14 017.86X2.62 | 20.5 28 63.5 50 27
1BG-200GZ G1.1/4"X11 | G1.1/4"X11 0222 20.5 33 68.5 50 50
1BG-240GZ G1.1/2"X11 | G1.1/2"X11 0224 23 34 72 55 55

VE: FIERZ051SO 1179-1 I ILEC S A . Note

: F thread end fit with ISO1179-1 port.

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-21




11 E#EESL ADAPTER

8
» ) 1BH

60°
E
—
F

REIMBRY60° A7 FHinE A
1H S BEHNHIMEL IR RTIISO 6149-3
S1 BSP MALE DOUBLE USE FOR 60° CONE SEAT
OR BONDED SEAL /METRIC MALE L-SERIES ISO 6149-3

KB 12 47 THREAD OJFE O-RING R~} DIMENSIONS
PART NO. E F Fifi A B S1 L
1BH-02-10NZ G1/8"X28 M10X1 008.1X1.6 10 8.5 14 25
1BH-02-12NZ G1/8"X28 | M12X1.5 009.3X2.2 10 11 17 29.5
1BH-04-12NZ G1/4"X19 | M12x1.5 009.3X2.2 12 11 19 30
1BH-04-14NZ G1/4"X19 | M14x1.5 011.3X2.2 12 11 19 315
1BH-04-16NZ G1/4"X19 | M16Xx1.5 013.3X2.2 12 1.5 22 315
1BH-06-14NZ G3/8"X19 | M14x1.5 011.3x2.2 | 135 11 22 35
1BH-06-16NZ G3/8"X19 | M16X1.5 013.3X2.2 | 135 | 115 22 33
1BH-06-18NZ G3/8"X19 | M18Xx1.5 015.3X2.2 | 135 | 125 24 36.5
1BH-08-18NZ G1/2"X14 | M18X1.5 015.3X2.2 16 12.5 27 41
1BH-08-22NZ G1/2"X14 | M22x1.5 019.3X2.2 16 13 27 415
1BH-10-22NZ G5/8"X14 | M22x1.5 019.3X2.2 | 175 13 30 43
1BH-12-16NZ G3/4"X14 | M16X1.5 013.3x2.2 | 185 | 115 32 435
1BH-12-22NZ G3/4"X14 | M22X1.5 019.3X2.2 | 185 13 32 45
1BH-12-27NZ G3/4"X14 M27X2 023.6X2.9 | 185 16 32 455
1BH-16-27NZ G1"X11 M27X2 023.6X2.9 | 205 16 41 52
1BH-16-33NZ G1"X11 M33X2 029.6X2.9 | 205 16 41 49.5
1BH-20-42NZ G1.1/4"X11 M42X2 038.6X2.9 | 205 16 50 51.5
1BH-24-48NZ G1.1/2"X11 M48X2 044.6X2.9 23 17.5 55 55.5

1 FERZU51SO 6149-13H HILELAH . Note: F thread end fit with 1ISO 6149-1 port.

C-22 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

F
B
L
%@ == 1BH9-0G
/B
=T e ‘ .
7 | FESMRLI60° P HE/ AT VE R A HI OB
60+ [ | ZZ5ISO 6149-3 90° T
| ] ' )C) BSP MALE 60° SEAT / ADJUSTABLE METRIC ORING
_XS1 L-SERIES ISO 6149-3
A 90° ELBOW
! % £ THREAD O/ O-RING R~} DIMENSIONS
PART NO. E F Fif A B S1 S2
1BH9-02-100GNZ G1/8"X28 M10X1 008.1X1.6 20 26.5 1" 14
1BH9-02-120GNZ G1/8"X28 M12X1.5 009.3X2.2 20 30.5 1 17
1BH9-04-120GNZ G1/4"X19 M12X1.5 009.3X2.2 24.5 32 14 17
1BH9-04-140GNZ G1/4"X19 M14X1.5 011.3X2.2 24.5 325 14 19
1BH9-04-160GNZ G1/4"X19 M16X1.5 013.3X2.2 26.5 34.8 16 22
1BH9-06-140GNZ G3/8"X19 M14X1.5 011.3X2.2 27.5 34 16 19
1BH9-06-160GNZ G3/8"X19 M16X1.5 013.3X2.2 27.5 34.8 16 22
1BH9-06-180GNZ G3/8"X19 M18X1.5 015.3X2.2 28.5 37 19 24
1BH9-08-180GNZ G1/2"X14 M18X1.5 015.3X2.2 345 39.5 22 24
1BH9-08-220GNZ G1/2"X14 M22X1.5 019.3X2.2 34.5 40.2 22 27
1BH9-10-220GNZ G5/8"X14 M22X1.5 019.3X2.2 35 40.2 22 27
1BH9-12-220GNZ G3/4"X14 M22X1.5 019.3X2.2 40 43.5 27 27
1BH9-12-270GNZ G3/4"X14 M27X2 023.6X2.9 40 48.5 27 32
1BH9-16-270GNZ G1"X11 M27X2 023.6X2.9 46 52 33 32
1BH9-16-330GNZ G1"X11 M33X2 029.6X2.9 46 52.5 33 41
1BH9-20-420GNZ | G1.1/4"X11 M42X2 038.6X2.9 50.5 57.2 41 50
1BH9-24-480GNZ | G1.1/2"X11 M48X2 044.6X2.9 57.5 62.5 48 55
1BH-24-48NZ G1.1/2"X11 M48X2 044.6X2.9 23 17.5 58] 55.5

T FIZ240H 51S0 6149-13 O VLA . Note: F thread end fit with ISO 6149-1 port.

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-23




HEESL ADAPTER

60°|W

L

o
=

1BJ

FEIMBY 60° MRS HIREMASRER /X
i JIC SMBET 74° SN
BSP MALE DOUBLE USE FOR 60° CONE SEAT
OR BONDED SEAL / JIC MALE 74° CONE

5 12 4L THREAD JR 5} DIMENSIONS
PART NO. E F A B L S1
1BJ-02-04Z G1/8"X28 7/16"X20 10 14 30 14
1BJ-02-05Z G1/8"X28 1/2"X20 10 14 30 14
1BJ-02-06Z G1/8"X28 9/16"X18 10 14.1 30 17

1BJ-04Z G1/4"X19 7/16"X20 12 14 32 19
1BJ-04-05Z G1/4"X19 1/2"X20 12 14 32 19
1BJ-04-06Z G1/4"X19 9/16"X18 12 14.1 32 19
1BJ-04-08Z G1/4"X19 3/4"X16 12 16.7 36.5 22
1BJ-04-10Z G1/4"X19 7/8"X14 12 19.3 39 24

1BJ-06Z G3/8"X19 9/16"X18 13.5 14.1 35.5 22
1BJ-06-04Z G3/8"X19 7/16"X20 13.5 14 35.5 22
1BJ-06-05Z G3/8"X19 1/2"X20 13.5 14 35.5 22
1BJ-06-08Z G3/8"X19 3/4"X16 13.5 16.7 38.5 22
1BJ-06-10Z G3/8"X19 7/8"X14 13.5 19.3 41 24
1BJ-06-12Z G3/8"X19 1.1/16"X12 13.5 21.9 45 30

1BJ-08Z G1/2"X14 3/4"X16 16 16.7 43 27
1BJ-08-04Z G1/2"X14 7/16"X20 16 14 40 27
1BJ-08-05Z G1/2"X14 1/2"X20 16 14 40 27
1BJ-08-06Z G1/2"X14 9/16"X18 16 14.1 40 27
1BJ-08-10Z G1/2"X14 7/8"X14 16 19.3 45.5 27
1BJ-08-12Z G1/2"X14 1.1/16"X12 16 21.9 48 30
1BJ-08-14Z G1/2"X14 1.3/16"X12 16 22.6 49.5 32
1BJ-08-16Z G1/2"X14 1.5/16"X12 16 23.1 50 36

1BJ-10Z G5/8"X14 7/8"X14 17.5 19.3 47 30
1BJ-10-08Z G5/8"X14 3/4"X16 17.5 16.7 44 30
1BJ-10-12Z G5/8"X14 1.1/16"X12 17.5 21.9 49.5 30
1BJ-10-16Z G5/8"X14 1.5/16"X12 17.5 23.1 51.5 36

1BJ-12Z G3/4"X14 1.1/16"X12 18.5 21.9 51.5 32
1BJ-12-06Z G3/4"X14 9/16"X18 18.5 14.1 43.5 32
1BJ-12-08Z G3/4"X14 3/4"X16 18.5 16.7 46.5 32
1BJ-12-10Z G3/4"X14 7/8"X14 18.5 19.3 49 32
1BJ-12-14Z G3/4"X14 1.3/16"X12 18.5 22.6 52 32
1BJ-12-16Z G3/4"X14 1.5/16"X12 18.5 23.1 52.5 34
1BJ-12-20Z G3/4"X14 1.5/8"X12 18.5 24.3 55.5 46

1BJ-16Z G1"X11 1.5/16"X12 20.5 23.1 56 41
1BJ-16-08Z G1"X11 3/4"X16 20.5 16.7 50 41
1BJ-16-10Z G1"X11 7/8"X14 20.5 19.3 53 41
1BJ-16-12Z G1"X11 1.1/16"X12 20.5 21.9 55.5 41
1BJ-16-14Z G1"X11 1.3/16"X12 20.5 22.6 56 41
1BJ-16-20Z G1"X11 1.5/8"X12 20.5 24.3 58 46

1BJ-20Z G1.1/4"X11 1.5/8"X12 20.5 24.3 62 50
1BJ-20-12Z G1.1/4"X11 | 1.1/16"X12 20.5 21.9 57.5 50
1BJ-20-16Z G1.1/4"X11 | 1.5/16"X12 20.5 23.1 60.5 50
1BJ-20-24Z G1.1/4"X11 1.7/8"X12 20.5 27.5 63 50
1BJ-24-16Z G1.1/2"X11 | 1.5/16"X12 23 23.1 61 55
1BJ-24-20Z G1.1/2"X11 1.5/8"X12 23 24.3 62.5 55

1BJ-24Z G1.1/2"X11 1.7/8"X12 23 27.5 67.5 55
1BJ-24-32Z G1.1/2"X11 | 2.1/2"X12 23 33.9 74 65

1BJ-32Z G2"X11 2.1/2"X12 25.5 33.9 77.5 70
1BJ-32-24Z G2"X11 1.7/8"X12 25.5 27.5 70 70

C-24

EATON Winner 1

TiEEL H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

L
T 1BK
St irN
o | 4L ficeo BBSMBA60° Pagi Bl A ABISMBA60°Sh 4
—LE BSP MALE 60° SEAT/JIS METRIC MALE 60° CONE
s1
® e i# 4 THREAD /<t DIMENSIONS
PART NO. E F A B L S1
1BK-04-14Z G1/4"X19 | M14X15 12 17 35 19
1BK-04-18Z G1/4"X19 | M18X1.5 12 18 38 22
1BK-06-18Z G3/8"X19 | M18X1.5 135 18 | 395 | 22
1BK-06-22Z G3/8"X19 | M22X1.5 135 | 20 | 415 | 24
1BK-08-18Z G1/2"'X14 | M18X1.5 16 18 44 27
1BK-08-20Z G1/2"X14 | M20X1.5 16 20 46 27
1BK-08-22Z G1/2"'X14 | M22X1.5 16 20 46 27
1BK-08-24Z G1/2"'X14 | M24X15 16 | 215 | 455 | 27
1BK-10-24Z G5/8"X14 | M24X1.5 175 | 215 | 49 30
1BK-12-30Z G3/4"X14 | M30X1.5 185 | 26 | 555 | 32
1BK-16-33Z G1"X11 M33X1.5 205 | 30 | 635 | 41
1BK-20-36Z G1.1/4"X11 | M36X1.5 205 | 33 | 685 | 50
L
A B 1B-WD
2 HEIMELS60° PSS~ IE
s\ M T REERFT [REIMEYG IR EE
BSP MALE DOUBLE USE FOR 60° CONE SEAT OR
s BONDED SEAL / BSP MALE CAPTIVE SEAL
=) #% S THREAD Jit # CAPTIVE JL < DIMENSIONS
PART NO. E F Fi A B L S1
1B-04WDZ G1/4"X19 | G1/4"X19 WD-B04 12 12 32 19
1B-04-06WDZ G1/4"X19 | G3/8"X19 WD-B06 12 12 345 22
1B-04-08WDZ G1/4"X19 | G1/2"X14 WD-B08 12 14 39 27
1B-06WDZ G3/8"X19 | G3/8"X19 WD-B06 135 12 34 22
1B-06-08WDZ G3/8"X19 | G1/2"X14 WD-B08 135 14 405 27
1B-08WDZ G1/2'X14 | G1/2"X14 WD-B08 16 14 43 27
1B-08-12WDZ G1/2'X14 | G3/4"X14 WD-B12 16 16 46 32
1B-12WDZ G3/4"X14 | G3/4"X14 WD-B12 185 16 46.5 32
1B-12-16WDZ G3/4"X14 G1"X11 WD-B16 185 18 52.5 41
1B-16WDZ G1"X11 G1"X11 WD-B16 20.5 18 54.5 41
1B-16-20WDZ G1"X11 G1.1/4"X11 WD-B20 20.5 20 58.5 50
1B-20WDZ G1.1/4"X11 | G1.1/4"X11 WD-B20 20.5 20 58.5 50

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-25



11 E#EESL ADAPTER

- 1BM

r REIMEL60° N7 AinE RAES R FR /
AHISIMEL60° AR S AR E AEHEREE

60°( w w| |60°
3 BSP MALE DOUBLE USE FOR 60° CONE SEAT
OR BONDED SEAL / METRIC MALE DOUBLE
S1 USE FOR 60° CONE SEAT OR BONDED SEAL

= 1% 4L THREAD JX s} DIMENSIONS
PART NO. E F A B L S1
1BM-02-10Z G1/8"X28 M10X1 10 8 25 14
1BM-02-12Z G1/8"X28 M12X1.5 10 10 27 17
1BM-04-12Z G1/4"X19 M12X1.5 12 10 29 19
1BM-04-14Z G1/4"X19 M14X1.5 12 1 30 19
1BM-04-16Z G1/4"X19 M16X1.5 12 12 33 22
1BM-04-18Z G1/4"X19 M18X1.5 12 12 33 24
1BM-06-10Z G3/8"X19 M10X1 13.5 8 29 22
1BM-06-12Z G3/8"X19 M12X1.5 189 10 SilEsS 22
1BM-06-14Z G3/8"X19 M14X1.5 13.5 " 325 22
1BM-06-16Z G3/8"X19 M16X1.5 189 12 3.5 22
1BM-06-18Z2 G3/8"X19 M18X1.5 13.5 12 34.5 24
1BM-06-20Z G3/8"X19 M20X1.5 13.5 14 38.5 27
1BM-06-22Z G3/8"X19 M22X1.5 13.5 14 38.5 27
1BM-08-14Z G1/2"X14 M14X1.5 16 1 38 27
1BM-08-16Z G1/2"X14 M16X1.5 16 12 39 27
1BM-08-18Z G1/2"X14 M18X1.5 16 12 39 27
1BM-08-20Z G1/2"X14 M20X1.5 16 14 41 27
1BM-08-22Z G1/2"X14 M22X1.5 16 14 41 27
1BM-08-24Z G1/2"X14 M24X1.5 16 14 41 30
1BM-08-26Z G1/2"X14 M26X1.5 16 16 44 32
1BM-08-27DZ G1/2"X14 M27X1.5 16 16 44 32
1BM-08-30Z G1/2"X14 M30X1.5 16 18 45 36
1BM-10-22Z G5/8"X14 M22X1.5 17.5 14 42.5 30
1BM-10-26Z G5/8"X14 M26X1.5 17.5 16 455 32
1BM-12-18Z G3/4"X14 M18X1.5 18.5 12 42.5 32
1BM-12-20Z G3/4"X14 M20X1.5 18.5 14 44.5 32
1BM-12-22Z G3/4"X14 M22X1.5 18.5 14 44.5 32
1BM-12-24Z G3/4"X14 M24X1.5 18.5 14 445 32
1BM-12-26Z G3/4"X14 M26X1.5 18.5 16 46.5 32
1BM-12-27Z G3/4"X14 M27X2 18.5 16 46.5 32
1BM-12-27DZ G3/4"X14 M27X1.5 18.5 16 46.5 32
1BM-12-30Z G3/4"X14 M30X2 18.5 18 47.5 36
1BM-12-30DZ G3/4"X14 M30X1.5 18.5 18 47.5 36
1BM-16-14Z G1"X11 M14X1.5 20.5 1 455 41
1BM-16-22Z G1"X11 M22X1.5 20.5 14 48.5 41
1BM-16-26Z G1"X11 M26X1.5 20.5 16 50.5 41
1BM-16-30Z G1"X11 M30X2 20.5 18 53 41
1BM-16-30DZ G1"X11 M30X1.5 20.5 18 53 41

C-26 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



T ERESL ADAPTER

L
2t o S
60°| W |L i J[LL 60° B
REIMELI60°HE | AHIIMES T BT
S1 BSPP MALE 60° CONE / METRIC MALE CAPTIVE SEAL

RE i £ THREAD [tz # CAPTIVE R~} DIMENSIONS
PART NO. E F Fifi A B L S1
1BM-04-12WDZ | G1/4"X19 | M12X1.5 WD-M12 12 12 32 19
1BM-06-14WDZ | G3/8"X19 | M14X1.5 WD-M14 | 135 | 12 | 355 [ 22
1BM-06-18WDZ | G3/8"X19 | M18X1.5 WD-M18 | 135 | 12 36 24
1BM-06-20WDZ | G3/8"X19 | M20X1.5 WD-M20 | 135 | 14 40 27
1BM-08-16WDZ | G1/2"X14 | M16X1.5 WD-M16 16 12 40 27
1BM-08-18WDZ | G1/2"X14 | M18X1.5 WD-M18 16 12 | 405 | 27
1BM-08-20WDZ | G1/2"X14 | M20X1.5 WD-M20 16 14 | 425 | 27
1BM-08-22WDZ | G1/2"X14 | M22X1.5 WD-M22 16 14 43 27
1BM-10-20WDZ | G5/8'X14 | M20X1.5 WD-M20 | 175 | 14 | 445 | 30
1BM-10-22WDZ | G5/8"X14 | M22X1.5 WD-M22 | 175 | 14 | 445 | 30
1BM-12-22WDZ | G3/4"X14 | M22X1.5 WD-M22 | 185 | 14 | 465 | 32

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 Cc-27



11 E#EESL ADAPTER

L
, B
1BN
60°| ™ ﬁ REIMBEL60° P TR FIHE A A BT /
= S HEE SMELL
S F BSP MALE DOUBLE USE FOR 60° CONE SEAT
OR BONDED SEAL / NPT MALE
= 1% 4L THREAD JX = DIMENSIONS
PART NO. E E A B L S1
1BN-02Z G1/8"X28 Z1/8"X27 10 10.5 26 14
1BN-02-04Z G1/8"X28 Z1/4"X18 10 15 31 17
1BN-04Z G1/4"X19 Z1/4"X18 12 15 33 19
1BN-04-02Z G1/4"X19 Z1/8"X27 12 10.5 28 19
1BN-04-06Z G1/4"X19 Z3/8"X18 12 16 34 19
1BN-04-08Z G1/4"X19 Z1/2"X14 12 19.5 39.5 22
1BN-06Z G3/8"X19 Z3/8"X18 13.5 16 37.5 22
1BN-06-04Z G3/8"X19 Z1/4"X18 13.5 15 36.5 22
1BN-06-08Z G3/8"X19 Z1/2"X14 13.5 19.5 41 22
1BN-06-12Z G3/8"X19 Z3/4"X14 13.5 19.5 43 30
1BN-08Z G1/2"X14 Z1/2"X14 16 19.5 45.5 27
1BN-08-06Z G1/2"X14 Z3/8"X18 16 15 42 27
1BN-08-12Z G1/2"X14 Z3/4"X14 16 19.5 45.5 30
1BN-08-16Z G1/2"X14 Z1"X11.5 16 258 52.5 36
1BN-10-08Z G5/8"X14 Z1/2"X14 17.5 19.5 47 30
1BN-10-12Z G5/8"X14 Z3/4"X14 17.5 19.5 47 30
1BN-12Z G3/4"X14 Z3/4"X14 18.5 19.8 49 32
1BN-12-06Z G3/4"X14 Z3/8"X18 18.5 16 455 32
1BN-12-08Z G3/4"X14 Z1/2"X14 18.5 19.8 49 32
1BN-12-16Z G3/4"X14 Z1"X11.5 18.5 24.6 53.4 36
1BN-16Z G1"X11 Z1"X11.5 20.5 24.6 59 41
1BN-16-12Z G1"X11 Z3/4"X14 20.5 19.8 53 41
1BN-16-20Z G1"X11 Z1.1/4"X11.5 20.5 26.5 60 46
1BN-20Z G1.1/4"X11 | Z1.1/4"X11.5 20.5 254 62 50
1BN-20-16Z G1.1/4"X11 Z1"X11.5 20.5 255 61 50
1BN-20-24Z G1.1/4"X11 | Z1.1/2"X11.5 20.5 27.5 63 50
1BN-24Z G1.1/2"X11 | Z21.1/2"X11.5 23 27.5 65.5 55
1BN-24-20Z G1.1/2"X11 | Z1.1/4"X11.5 23 26.5 64.5 55
1BN-24-32Z G1.1/2"X11 Z2"X11.5 23 27.5 67.5 65
1BN-32Z G2"X11 Z2"X11.5 255 26.9 70 70
1BN-32-20Z G2"X11 Z1.1/4"X11.5 255 26.5 69 70
1BN-32-24Z G2"X11 Z1.1/2"X11.5 255 27.5 70 70

C-28

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




HEESL ADAPTER

N 180

607 W - HEEIMANOG0° NS N AimE AEE R R/
SEHISAEIMREL O, 32 22 511SO 11926-3
BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED
SEAL / SAE O-RING BOSS L-SERIES ISO 11926-3

=] #2 £ THREAD OJZl O-RING JU~f DIMENSIONS
PART NO. E F Fig A B L S1
1B0O-04Z G1/4"X19 7/16"X20 0904 12 9.1 29 19
1B0O-04-05Z G1/4"X19 1/2"X20 0905 12 9.1 27 19
1B0O-04-06Z G1/4"X19 9/16"X18 0906 12 9.9 28 19
1B0O-04-08Z G1/4"X19 3/4"X16 0908 12 1.1 31 22
1BO-06Z G3/8"X19 9/16"X18 0906 13.5 9.9 33.5 22
1BO-06-04Z G3/8"X19 7/16"X20 0904 13.5 9.1 58 22
1B0O-06-08Z G3/8"X19 3/4"X16 0908 13.5 1.1 325 22
1BO-06-10Z G3/8"X19 7/8"X14 0910 13.5 12.7 36 27
1BO-08Z G1/2"X14 3/4"X16 0908 16 1.1 37 27
1BO-08-06Z G1/2"X14 9/16"X18 0906 16 9.9 38 27
1B0O-08-10Z G1/2"X14 7/8"X14 0910 16 12.7 38.5 27
1BO-08-12Z G1/2"X14 1.1/16"X12 0912 16 15.1 42 32
1BO-10Z G5/8"X14 7/8"X14 0910 17.5 12.7 43 30
1BO-10-08Z G5/8"X14 3/4"X16 0908 17.5 11.1 41.5 30
1BO-10-12Z G5/8"X14 1.1/16"X12 0912 17.5 15.1 43.5 32
1BO-12Z G3/4"X14 1.1/16"X12 0912 18.5 15.1 44.5 32
1BO-12-08Z G3/4"X14 3/4"X16 0908 18.5 111 40.5 32
1BO-12-10Z G3/4"X14 7/8"X14 0910 18.5 12.7 455 32
1BO-12-14Z G3/4"X14 1.3/16"X12 0914 18.5 15.1 44.5 36
1BO-12-16Z G3/4"X14 1.5/16"X12 0916 18.5 15.1 44.5 38
1BO-16Z G1"X11 1.5/16"X12 0916 20.5 15.1 48 41
1B0O-16-10Z G1"X11 7/8"X14 0910 20.5 12.7 49.5 41
1BO-16-12Z G1"X11 1.1/16"X12 0912 20.5 15.1 51.5 41
1BO-16-14Z G1"X11 1.3/16"X12 0914 20.5 15.1 51.5 41
1B0O-16-20Z G1"X11 1.5/8"X12 0920 20.5 15.1 50.5 50
1BO-20Z G1.1/4"X11 1.5/8"X12 0920 20.5 15.1 50.5 50
1BO-20-16Z G1.1/4"X11 1.5/16"X12 0916 20.5 15.1 54.5 50
1BO-24Z7 G1.1/2"X11 1.7/8"X12 0924 23 15.1 658 655

v FIZZ0m 51S0 11926-19H D ILEC{EH . Note: F thread end fit with ISO11926-1 port.

EATON Winner igiE##k H-AP-EHGC-2011-C Mar 2014 C-29




11 E#EESL ADAPTER

S
I 1BT9-SP
< |
60° TLT'_ —- TR SMBLI60° R / R IMBLL 90°
! st BSP MALE 60° SEAT / BSPT MALE 90° ELBOW
A
= i £ THREAD R ~f DIMENSIONS

PART NO. E F A B S1
1BT9-02SPZ G1/8"X28 R1/8"X28 20 21 1
1BT9-02-04SPZ G1/8"X28 R1/4"X19 22.3 25.5 14
1BT9-04SPZ G1/4"X19 R1/4"X19 24.5 25.5 14
1BT9-04-02SPZ G1/4"X19 R1/8"X28 25 2385 14
1BT9-04-06SPZ G1/4"X19 R3/8"X19 25 28.5 16
1BT9-04-08SPZ G1/4"X19 R1/2"X14 30 36 22
1BT9-06SPZ G3/8"X19 | R3/8"X19 275 | 285 | 16
1BT9-06-04SPZ G3/8"X19 R1/4"X19 27.5 26.5 16
1BT9-06-08SPZ G3/8"X19 R1/2"X14 31 36 22
1BT9-08SPZ G1/2"X14 R1/2"X14 34.5 36 22
1BT9-08-04SPZ G1/2"X14 R1/4"X19 34 30.5 22
1BT9-08-06SPZ G1/2"X14 R3/8"X19 34.5 325 22
1BT9-08-12SPZ G1/2"X14 R3/4"X14 375 43.5 27
1BT9-08-16SPZ G1/2"X14 R1"X11 41 50 33
1BT9-10-08SPZ G5/8"X14 R1/2"X14 35 36 22
1BT9-10-12SPZ G5/8"X14 R3/4"X14 39 43.5 27
1BT9-12SPZ G3/4"X14 R3/4"X14 40 43.5 27
1BT9-12-06SPZ G3/4"X14 R3/8"X19 40 36 27
1BT9-12-08SPZ G3/4"X14 R1/2"X14 40 39.5 27
1BT9-12-16SPZ | G3/4"X14 R1"X11 435 | 50 33
1BT9-12-20SPZ | G3/4"X14 | R1.1/4"X11 48 | 565 | 41
1BT9-16SPZ G1"X11 R1"X11 46 50 33
1BT9-16-08SPZ G1"X11 R1/2"X14 46 43 33
1BT9-16-12SPZ G1"X11 R3/4"X14 46 | 475 | 33
1BT9-16-20SPZ G1"X11 R1.1/4"X11 50.5 56.5 41
1BT9-20SPZ G1.1/4"X11 | R1.1/4"X11 52 59 41
1BT9-20-12SPZ G1.1/4"X11 R3/4"X14 50.5 54 41
1BT9-20-16SPZ G1.1/4"X11 R1"X11 52 56.5 41
1BT9-20-24SPZ G1.1/4"X11 | R1.1/2"X11 545 62.5 48
1BT9-24SPZ G1.1/2"X11 | R1.1/2"X11 57 45 62 48
1BT9-24-20SPZ G1.1/2"X11 | R1.1/4"X11 57.5 61 48
1BT9-24-32SPZ G1.1/2"X11 R2"X11 66 75 63
1BT9-32SPZ G2"X11 R2"X11 67 75 63
1BT9-32-24SPZ G2"X11 R1.1/2"X11 68 72 63

C-30 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



HEESL ADAPTER

L
. _ 1BT-SP
7 ' a%alxm;ﬂex‘cem RS R E
60| w| L _+:l i YA IR | B IMEBL
] b T ' BSP MALE DOUBLE USE FOR 60° CONE SEAT

w(—_‘ F/ OR BONDED SEAL / BSPT MALE

= 12 4L THREAD JU<F DIMENSIONS
PART NO. E F A B L S1
1BT-02SPZ G1/8"X28 | R1/8"X28 10 10 26 14
1BT-02-04SPZ G1/8"X28 | R1/4"X19 10 145 | 305 14
1BT-04SPZ G1/4"X19 | R1/4"X19 12 14.5 32 19
1BT-04-02SPZ G1/4"X19 | R1/8"X28 12 10 28 19
1BT-04-06SPZ G1/4"X19 | R3/8"X19 12 15 32 19
1BT-04-08SPZ G1/4"X19 | R1/2"X14 12 20 40 24
1BT-06SPZ G3/8"X19 | R3/8"X19 13.5 15 35.5 22
1BT-06-04SPZ G3/8"X19 | R1/4"X19 135 | 145 | 355 22
1BT-06-08SPZ G3/8"X19 | R1/2"X14 13.5 20 40.5 24
1BT-08SPZ G1/2"X14 | R1/2"X14 16 20 45 27
1BT-08-04SPZ G1/2"X14 | R1/4"X19 16 145 | 405 27
1BT-08-06SPZ G1/2"X14 | R3/8"X19 16 15 40 27
1BT-08-12SPZ G1/2"X14 | R3/4"X14 16 20 45 30
1BT-10-06SPZ G5/8"X14 | R3/8"X19 175 | 155 | 415 30
1BT-10-08SPZ G5/8"X14 | R1/2"X14 17.5 20 46.5 30
1BT-10-12SPZ G5/8"X14 | R3/4"X14 17.5 20 46.5 30
1BT-10-16SPZ G5/8"X14 R1"X11 175 | 255 54 36
1BT-12SPZ G3/4"X14 | R3/4"X14 18.5 20 485 32
1BT-12-08SPZ G3/4"X14 | R1/2"X14 18.5 20 485 32
1BT-12-16SPZ G3/4"X14 R1"X11 185 | 255 | 535 36
1BT-12-20SPZ G3/4"X14 | R1.1/4"X11 185 | 265 58 46
1BT-16SPZ G1"X11 R1"X11 205 | 255 58 41
1BT-16-12SPZ G1"X11 R3/4"X14 20.5 20 53 41
1BT-16-20SPZ G1"X11 R1.1/4"X11 205 | 265 60 46
1BT-20SPZ G1.1/4"X11 | R1.1/4"X11 205 | 265 62 50
1BT-20-12SPZ G1.1/4"X11 | R3/4"X14 205 | 205 56 50
1BT-20-16SPZ G1.1/4"X11 R1"X11 205 | 255 61 50
1BT-20-24SPZ G1.1/4"X11 | R1.1/2"X11 205 | 265 62 50
1BT-24SPZ G1.1/2"X11 | R1.1/2"X11 23 265 | 645 55
1BT-24-16SPZ G1.1/2"X11 R1"X11 23 26 63.5 55
1BT-24-20SPZ G1.1/2"X11 | R1.1/4"X11 23 265 | 645 55
1BT-24-32SPZ G1.1/2"X11 R2"X11 23 30 70 65
1BT-32SPZ G2"X11 R2"X11 25.5 30 725 70
1BT-32-20SPZ G2"X11 R1.1/4"X11 255 27 68.5 70
1BT-32-24SPZ G2"X11 R1.1/2"X11 255 | 265 | 685 70
1BT-40SPZ G2.1/2"X11 | R2.1/2"X11 32 34 83 90
1BT-48SPZ G3"X11 R3"X11 36 38 94 100

EATON Winner 1

TiEEL H-AP-EHGC-2011-C Mar 2014

C-31



HEESL ADAPTER

L B
A
4 2B
Ol T T L% masMegeo M A B E A A T /
RERIEL60°M

S1 S2 BSP MALE DOUBLE USE FOR 60° CONE SEAT
OR BONDED SEAL / BSP FEMALE 60° CONE

KRB i2 £ THREAD J <+ DIMENSIONS
PART NO. E F A B L S1 S2
2B-02Z G1/8"X28 | G1/8"x28 10 55 25 14 14
2B-02-04Z G1/8"X28 | G1/4"X19 10 55 27 14 19
2B-04Z G1/4"X19 | G1/4"X19 12 55 29 19 19
2B-04-06Z G1/4"X19 | G3/8"X19 12 6.3 | 305 19 22
2B-04-08Z G1/4"X19 | G1/2"X14 12 75 32 19 27
2B-06Z G3/8"X19 | G3/8"X19 135 | 6.3 34 22 22
2B-06-08Z G3/8"X19 | G1/2"X14 135 | 75 | 355 22 27
2B-06-10Z G3/8"X19 | G5/8"X14 135 | 95 36 22 30
2B-08Z G1/2'X14 | G1/2"X14 16 75 40 27 27
2B-08-06Z G1/2'X14 | G3/8"X19 16 6.3 | 382 27 22
2B-08-12Z G1/2'X14 | G3/4"X14 16 10.9 41 27 32
2B-10Z G5/8"X14 | G5/8"X14 175 | 95 42 30 30
2B-10-08Z G5/8"X14 | G1/2"X14 18 75 | 415 30 27
2B-10-12Z G5/8"X14 | G3/4"X14 175 | 109 | 425 30 32
2B-12Z G3/4"X14 | G3/4"X14 185 | 109 | 445 32 32
2B-12-10Z G3/4"X14 | G5/8"X14 185 | 95 44 32 30
2B-12-16Z G3/4"X14 G1"X11 185 | 1.7 46 32 41
2B-16Z G1"X11 G1"X11 205 | 117 50 41 41
2B-16-12Z G1"X11 G3/4"X14 205 | 10.9 48 41 32
2B-16-20Z G1"X11 | G1.1/4"X11 205 | 10.1 53 41 50
2B-20Z G1.1/4"X11 | G1.1/4"X11 205 | 10.1 55 50 50
2B-20-16Z G1.1/4"X11 | G1"X11 205 | 117 52 50 41
2B-20-24Z G1.1/4"X11 | G1.1/2"X11 205 | 125 | 555 50 55
2B-247 G1.1/2"X11 | G1.1/2"X11 23 12.5 58 55 55
2B-32Z G2"X11 G2"X11 255 | 161 | 63.5 70 70

C-32

EATON Winner 1

TiEEL H-AP-EHGC-2011-C Mar 2014




HEESL ADAPTER

of

2B9

REIMEL60° N HE /
RENIRL60°5M
BSP MALE 60° SEAT /

A
BSP FEMALE 60° CONE 90° ELBOW
= i2 £ THREAD J <+ DIMENSIONS
PART NO. E F A B S1 S2
2B9-02Z G1/8"X28 | G1/8"X28 198 | 55 11 14
2B9-04Z G1/4"X19 | G1/4"X19 245 | 55 14 19
2B9-04-06Z G1/4"X19 | G3/8"X19 25 6.3 14 22
2B9-06Z G3/8"X19 | G3/8"X19 275 | 63 16 22
2B9-06-04Z G3/8"X19 | G1/4"X19 275 | 55 16 19
2B9-08Z G1/2"X14 | G1/2"X14 345 | 75 22 27
2B9-08-06Z G1/2"X14 | G3/8"X19 345 | 63 22 22
2B9-10Z G5/8"X14 | G5/8"X14 35 9.5 22 30
2B9-10-08Z G5/8"X14 | G1/2"X14 35 75 22 27
2B9-127 G3/4"X14 | G3/4"X14 40 10.9 27 32
2B9-16Z G1"X11 G1"X11 46 11.7 33 41
2B9-20Z G1.1/4"X11 | G1.1/4"X11 50.5 | 10.1 41 50
2B9-247 G1.1/2"X11 | G1.1/2"X11 575 | 125 48 55
2B9-327 G2"X11 G2"X11 725 | 16.1 63 70
L B
: 7
N 2B-G
60° I L0
\ HEMRWO60° N /| HERNIENFRIEL
_E BSP MALE 60° SEAT /BSP FEMALE PRESSURE
s1 Is2 GAUGE CONNECTORS
B 12 £ THREAD 845 F: COPPER WASHER J <+ DIMENSIONS
PART NO. E F Fifi A B L S1 S2
2B-02-04GZ G1/8"X28 | G1/4"X19 DP-B04G 10 12 24.5 14 19
2B-04GZ G1/4"X19 | G1/4"X19 DP-B04G 12 12 26.5 19 19
2B-04-08GZ G1/4"X19 | G1/2"X14 DP-B08G 12 16 29 19 27
2B-06-04GZ G3/8"X19 | G1/4"X19 DP-B04G | 135 12 30 22 19
2B-08-04GZ G1/2"X14 | G1/4"X19 DP-B04G 16 12 345 27 19
2B-08GZ G1/2"X14 | G1/2"X14 DP-B08G 16 16 37 27 27

EATON Winner 1

1TiE RSk H-AP-EHGC-2011-C Mar 2014 C-33




HEESL ADAPTER

2BJ

HEIMBEN60° NS N AimEAEAREE/
EFIJICPIIRLI74° 5
BSP MALE DOUBLE USE FOR 60° CONE SEAT
OR BONDED SEAL / JIC FEMALE 74° SEAT

KRB i% 47 THREAD R~} DIMENSIONS
PART NO. E F A B L S1 S2
2BJ-02-04Z G1/8"X28 | 7/16"X20 10 9.3 24 14 14
2BJ-02-06Z G1/8"X28 | 9/16"X18 10 105 | 245 14 19
2BJ-04Z G1/4"X19 | 7/116"x20 12 9.3 26 19 14
2BJ-04-05Z G1/4"X19 1/2"X20 12 95 | 265 19 17
2BJ-04-06Z G1/4"X19 | 91618 12 10.5 27 19 19
2BJ-04-08Z G1/4"X19 3/4"X16 12 11 28.5 19 24
2BJ-06Z G3/8"X19 | 9/16"Xx18 135 | 105 | 305 22 19
2BJ-06-08Z G3/8"X19 3/4"X16 13.5 11 32,5 22 24
2BJ-06-10Z G3/8"X19 7/8"X14 13.5 13 33 22 27
2BJ-08Z G1/2"X14 3/4"X16 16 11 37 27 24
2BJ-08-06Z G1/2'X14 | 9r16"Xx18 16 10.5 35 27 19
2BJ-08-10Z G1/2"X14 7/8"X14 16 13 375 27 27
2BJ-10Z G5/8"X14 7/8"X14 17.5 13 375 30 27
2BJ-12Z G3/4"X14 | 1.1/16"X12 185 | 145 42 32 32
2BJ-12-08Z G3/4"X14 3/4"X16 18.5 11 40 32 24
2BJ-12-10Z G3/4"X14 7/8"X14 18.5 13 41 32 27
2BJ-12-16Z G3/4"X14 | 1.5/16"X12 18.5 16 42 32 41
2BJ-16Z G1"X11 1.5/16"X12 20.5 16 47 41 41
2BJ-16-20Z G1"X11 1.5/8"X12 20.5 17 50 41 50
2BJ-20Z G1.1/4"X11 | 1.5/8"X12 205 | 16.1 52 50 50
2BJ-20-24Z G1.1/4"X11 | 1.7/8"X12 205 | 186 | 535 50 60
2BJ-247 G1.1/2"X11 | 1.7/8"X12 23 186 | 56.5 55 60
2BJ-32Z G2"X11 2.1/2"X12 255 | 238 60 70 75

C-34 EATON Winner i #3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

L B
A
NN
; 2GB
60°
HEIMEL OB/ E RNIZA60° M E
BSP MALE O-RING/BSP FEMALE 60° CONE
®Re 12 4 THREAD O/ O-RING R~ DIMENSIONS
PART NO. E F Esf A B L S1 S2
2GB-02Z G1/8"X28 | G1/8"X28 | 07.97X1.88 9.5 5.5 24.5 14 14
2GB-04-02Z G1/4"X19 | G1/8"X28 o111 10 5.5 25 19 14
2GB-04Z G1/4"X19 | G1/4"X19 o111 11 5.5 29.5 19 19
2GB-04-06Z G1/4"X19 | G3/8"X19 o111 10 6.3 28.2 19 22
2GB-06Z G3/8"X19 | G3/8"X19 o113 1.5 6.3 32 24 22
2GB-06-04Z G3/8"X19 | G1/4"X19 o113 1.5 5.5 30.5 24 19
2GB-06-08Z G3/8"X19 | G1/2"X14 o113 1.5 75 34 24 27
2GB-08Z G1/2"X14 | G1/2"X14 |017.86X2.62 14 75 38 27 27
2GB-08-06Z G1/2"X14 | G3/8"X19 |017.86X2.62 14 6.3 36.2 27 22
2GB-08-10Z G1/2"X14 | G5/8"X14 |017.86X2.62 14 9.5 38.5 27 30
2GB-08-12Z G1/2"X14 | G3/4"X14 |017.86X2.62 14 10.9 | 39.1 27 32
2GB-12Z G3/4"X14 | G3/4"X14 o119 155 | 10.9 41 36 32
2GB-12-08Z G3/4"X14 | G1/2"X14 0119 15.5 75 39.5 36 27
2GB-12-16Z G3/4"X14 G1"X11 o119 155 | 117 | 418 36 41
2GB-16Z G1"X11 G1"X11 0217 186 | 11.7 | 465 41 41
2GB-16-12Z G1"X11 G3/4"X14 0217 18 10.9 | 46.1 41 32
2GB-20Z G1.1/4"X11 | G1.1/4"X11 0222 20 10.1 55 50 50
2GB-20-16Z G1.1/4"X11 | G1"X11 0222 20 1.7 | 513 50 41
2GB-247 G1.1/2"X11 | G1.1/2"X11 0224 21.5 13 55.5 60 55
Vi EME400H 51SO 1179-13 L {# 1]  Note: E thread end fit with 1ISO1179-1 port.
EATON Winner i3 &%k H-AP-EHGC-2011-C Mar 2014 C-35




T ERESL ADAPTER

B
750 2HB
L )60°
NHISMESIORZ B/ HIABEA60° JMEM
METRIC MALE O-RING/BSPP FEMALE 60° CONE
S1 S2
B 12 £ THREAD OJE O-RING J¢ <+ DIMENSIONS
PART NO. E F = A B L S1 S2
2HB-10-02NZ M10X1 G1/8"X28 | 08.1X1.6 8.5 55 | 235 14 14
2HB-12-04NZ M12X1.5 | G1/4"™x19 | 09.3x2.2 1 5.5 28 17 19
2HB-14-04NZ M14X1.5 | G1/4"™x19 | 011.3x2.2 11 5.5 28 19 19
2HB-16-06NZ M16X1.5 | G3/8™x19 | 013.3x2.2 15 | 63 | 317 22 22
2HB-18-06NZ M18X1.5 | G3/8"X19 | 015.3x2.2 125 | 6.3 34 24 22
2HB-18-08NZ M18X1.5 | G1/2'X14 | 015.3x2.2 125 | 75 | 345 24 27
2HB-22-08NZ M22X1.5 | G1/2'X14 | 019.3x2.2 13 75 37 27 27
2HB-22-10NZ M22X1.5 | G5/8"X14 | 019.3x2.2 13 95 | 375 27 30
2HB-22-12NZ M22X1.5 | G3/4"X14 | 019.3x2.2 13 109 | 38.1 27 32
2HB-27-12NZ M27X2 G3/4"X14 | 023.6X2.9 16 109 | 445 32 32
2HB-27-16NZ M27X2 G1"X11 023.6X2.9 16 1.7 | 433 32 41
2HB-33-16NZ M33X2 G1"X11 029.6X2.9 16 1.7 | 453 41 41
2HB-42-20NZ M42X2 | G1.1/4"X11 | 038.6X2.9 16 11 495 50 50
2HB-48-24NZ M48X2 | G1.1/2"X11 | 044.6X2.9 17.5 13 51.5 55 55

VE: EB4UR SISO 6149-13 HIITAL{#E A . Note: E thread end fit with ISO 6149-1 port.

C-36 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

2NB

__L}__ — _____mQGOO

Tt EIMBLL | HEMIRA60° M
NPT MALE / BSP FEMALE 60° CONE

E s1
S2
B #2 47 THREAD R~} DIMENSIONS
PART NO. E F A B L S1 S2
2NB-02Z Z1/8"X27 | G1/8"x28 105 | 55 | 255 12 14
2NB-02-04Z Z1/8"X27 | G1/4"X19 105 | 55 27 14 19
2NB-04Z Z1/4"X18 | G1/4"X19 15 55 31 17 19
2NB-04-06Z Z1/4"X18 | G3/8"X19 15 63 | 325 17 22
2NB-04-08Z Z1/4"X18 | G1/2"X14 15 75 35 19 27
2NB-06Z Z3/8"X18 | G3/8"X19 16 63 | 335 19 22
2NB-06-08Z Z3/8"X18 | G1/2"X14 16 75 36 19 27
2NB-08Z Z1/2"X14 | G1/2"X14 195 | 75 41 22 27
2NB-08-06Z Z1/2"X14 | G3/8"X19 195 | 63 | 395 24 22
2NB-08-12Z Z1/2"X14 | G3/4"X14 195 | 109 | 445 27 32
2NB-12Z Z3/4"X14 | G3/4"X14 195 | 109 | 445 30 32
2NB-12-16Z Z3/4"X14 G1"X11 195 | 117 | 465 32 41
2NB-16Z Z1"X11.5 G1"X11 255 | 11.7 | 525 36 41
2NB-16-20Z Z1"X11.5 | G1.1/4"X11 255 | 101 | 595 41 50
2NB-20Z Z1.1/4"X11.5| G1.1/4"X11 265 | 101 | 595 46 50
2NB-24Z Z1.1/2"X11.5| G1.1/2"X11 275 | 125 62 50 55
2NB-32Z Z2"X11.5 G2"X11 275 | 161 | 645 65 70

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-37



11 E#EESL ADAPTER

L B
A
) J. 20B
SAESIMEL H OB/ HZENIRL60° I
SAE O-RING BOSS/BSP FEMALE 60° CONE
S1 S2
B #2 47 THREAD OJFE O-RING R~} DIMENSIONS
PART NO. E F Esf A B L S1 S2
20B-04Z 7/16"X20 | G1/4"X19 0904 9.1 55 | 26.2 14 19
20B-04-06Z 7/16"X20 | G3/8"X19 0904 9.1 6.3 27 17 22
20B-05-06Z 1/2"X20 G3/8"X19 0905 9.1 63 | 275 17 22
20B-06Z 9/16"X18 | G3/8"X19 0906 9.9 6.3 28 17 22
20B-06-04Z 9/16"X18 | G1/4"X19 0906 9.9 55 27 17 19
20B-06-08Z 9/16"X18 | G1/2"X14 0906 9.9 75 30 19 27
20B-08Z 3/4"X16 G1/2"X14 0908 11.1 75 33 22 27
20B-08-06Z 3/4"X16 G3/8"X19 0908 11.1 6.3 31 22 22
20B-08-12Z 3/4"X16 G3/4"X14 0908 11.1 | 10.9 36 27 32
20B-10-06Z 7/8"X14 G3/8"X19 0910 127 | 63 35 27 22
20B-10-08Z 7/8"X14 G1/2"X14 0910 127 | 75 | 365 27 27
20B-10-12Z 7/8"X14 G3/4"X14 0910 127 | 109 | 375 27 32
20B-12-08Z 1.1/16"X12 | G1/2"X14 0912 15.1 75 40 32 27
20B-12Z 1.1/16"X12 | G3/4"X14 0912 151 | 10.9 41 32 32
20B-12-16Z 1.1/16"X12 | G1"X11 0912 151 | 117 42 32 41
20B-16-12Z 1.5/16"X12 | G3/4"X14 0916 15.1 | 10.9 41 38 32
20B-16Z 1.5/16"X12 | G1"X11 0916 151 | 117 42 38 41
20B-16-20Z 1.5/16"X12 | G1.1/4"X11 0916 15.1 | 10.1 48 41 50
20B-20Z 1.5/8"X12 | G1.1/4"X11 0920 151 | 101 | 495 50 50
20B-20-24Z 1.5/8"X12 | G1.1/2"X11 0920 151 | 125 50 50 55
20B-247 1.7/8"X12 | G1.1/2"X11 0924 151 | 125 50 55 55

C-38

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




HEESL ADAPTER

60°
v/
F
ol §
c 82 2TB9-SP
| HHEEIMEL | RENIRL60°5ME 90° T
| TL/ BSPT MALE / BSP FEMALE 60° CONE 90° ELBOW
S|
A
) i# 2 THREAD S~} DIMENSIONS
PART NO. E F A B S1 S2
2TB9-02SPZ R1/8"X28 | G1/8"X28 21 5.5 11 14
2TB9-04SPZ R1/4"X19 | G1/4"X19 255 | 55 14 19
2TB9-06SPZ R3/8"X19 | G3/8"X19 285 | 6.3 16 22
2TB9-06-08SPZ | R3/8"X19 | G3/8"X19 31 7.5 19 27
2TB9-08-06SPZ | R1/2"X14 | G1/2"X14 36 6.3 22 22
2TB9-08SPZ R1/2"X14 | G1/2"X14 36 7.5 22 27
2TB9-08-12SPZ | R1/2"X14 | G1/2"X14 37 109 | 24 32
2TB9-12-08SPZ | R3/4"X14 | G3/4"X14 435 | 75 27 27
2TB9-12SPZ R3/4"X14 | G3/4"X14 435 | 109 | 27 32
2TB9-16SPZ R1"X11 G1"X11 50 1.7 33 41
2TB9-20SPZ R1.1/4"X11 | G1.1/4"X11 57 10.1 41 50
2TB9-24SPZ R1.1/2"X11 | G1.1/2"X11 625 | 125 | 48 55
L B
A
v
2TB-GSP
- BSERIMBLY | FE IR RIS
| s2. BSPT MALE / BSP FEMALE PRESSURE
GAUGE CONNECTORS
e i 4 THREAD 845 'y COPPER WASHER <} DIMENSIONS
PART NO. E F Fifi A B L S1 S2
2TB-02-04GSPZ | R1/8"X28 | G1/4"X19 DP-B04G | 10 145 | 245 12 19
2TB-04GSPZ R1/4"X19 | G1/4"X19 DP-B04G | 14.5 12 29 17 19
2TB-04-08GSPZ | R1/4"X19 | G1/2"X14 DP-B08G | 14.5 16 | 315 19 27
2TB-06-04GSPZ | R3/8"X19 | G1/4"X19 DP-B04G | 15 12 | 295 19 19
2TB-08-04GSPZ | R1/2"X14 | G1/4"X19 DP-B04G | 20 12 | 365 | 22 19
2TB-08GSPZ R1/2"X14 | G1/2"X14 DP-B0SG | 20 16 39 22 27

EATON Winner igiE##k H-AP-EHGC-2011-C Mar 2014 C-39



T ERESL ADAPTER

ﬁg
AN

<) 60°

2TB-SP

REEEIMEL | RENIRL60° SME

BSPT MALE / BSP FEMALE 60° CONE

E/ S1/ S2
®Re 12 4 THREAD R~ DIMENSIONS
PART NO. E F A B L S1 S2
2TB-02SPZ R1/8"X28 | G1/8"X28 10 5.5 25 12 14
2TB-04SPZ R1/4"X19 | G1/4"X19 14.5 5.5 315 17 19
2TB-06SPZ R3/8"X19 | G3/8"X19 15 6.3 33 19 22
2TB-06-04SPZ R3/8"X19 | G1/4"X19 15 5.5 32 19 19
2TB-06-08SPZ R3/8"X19 | G1/2"X14 15 75 35 19 27
2TB-08SPZ R1/2"X14 | G1/2"X14 20 75 42 22 27
2TB-08-06SPZ R1/2"X14 | G3/8"X19 20 6.3 40 22 22
2TB-08-12SPZ R1/2"X14 | G3/4"X14 20 10.9 45 27 32
2TB-12SPZ R3/4"X14 | G3/4"X14 20 10.9 45 30 32
2TB-12-08SPZ R3/4"X14 | G1/2"X14 20 75 44 30 27
2TB-12-16SPZ R3/4"X14 G1"X11 20 1.7 47 32 41
2TB-16SPZ R1"X11 G1"X11 255 | 11.7 | 525 36 41
2TB-16-12SPZ R1"X11 G3/4"X14 255 | 109 | 515 36 32
2TB-20-16SPZ R1.1/4"X11 G1"X11 265 | 11.7 | 55.5 46 41
2TB-20SPZ R1.1/4"X11 | G1.1/4"X11 265 | 10.1 59 46 50
2TB-24SPZ R1.1/2"X11 | G1.1/2"X11 265 | 125 | 61.5 50 55
2TB-32SPZ R2"X11 G2"X11 30 16.1 67 65 70
C-40 EATON Winner i3 i&#%k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

A L B
W )
W L 3B
60°(>< 60°
HKERIRL60° M
by S0 BSP FEMALE 60° CONE

®Re 12 2 THREAD J& ~} DIMENSIONS
PART NO. E F A B L S1 S2

3B-02Z G1/8"X28 | G1/8"x28 5.5 5.5 21 14 14
3B-02-04Z G1/8"X28 | G1/4"X19 5.5 5.5 23 14 19

3B-04Z G1/4"X19 | G1/4"X19 5.5 5.5 25 19 19
3B-04-06Z G1/4"X19 | G3/8"X19 5.5 6.3 | 265 19 22
3B-04-08Z G1/4"X19 | G1/2"X14 5.5 75 | 285 19 27

3B-06Z G3/8"X19 | G3/8"X19 6.3 6.3 27 22 22
3B-06-08Z G3/8"X19 | G1/2"X14 6.3 75 | 295 22 27

3B-08Z G1/2"X14 | G1/2"X14 75 75 31 27 27
3B-08-10Z G1/2"X14 | G5/8"X14 75 95 | 315 27 30
3B-08-12Z G1/2"X14 | G3/4"X14 75 109 | 325 27 32

3B-10Z G5/8"X14 | G5/8"X14 9.5 95 | 315 30 30
3B-10-12Z G5/8"X14 | G3/4"X14 9.5 10.9 33 30 32

3B-12Z G3/4"X14 | G3/4"X14 10.9 | 109 | 335 32 32
3B-12-16Z G3/4"X14 G1"X11 109 | 11.7 35 32 41

3B-16Z G1"X11 G1"X11 1.7 | 117 | 365 41 41
3B-16-20Z G1"X11 | G1.1/4"X11 1.7 | 10.1 39 41 50

3B-20Z G1.1/4"X11 | G1.1/4"X11 10.1 | 10.1 | 405 50 50

3B-24Z G1.1/2"X11 | G1.1/2"X11 125 | 125 42 55 55

3B-32Z G2"X11 G2"X11 16.1 | 16.1 47 70 70

EATON Winner i3 &%k H-AP-EHGC-2011-C Mar 2014 C-41




HEESL ADAPTER

L
A
51 4B
60 R IMBLIO0° IS X A ST LR A BB Bk
BSP MALE DOUBLE USE FOR 60° CONE SEAT
OR BONDED SEAL PLUG
®oe #2 4 THREAD R~} DIMENSIONS
PART NO. E A L S1
4B-02Z7 G1/8"X28 10 16 14
4B-04Z G1/4"X19 12 18 19
4B-06Z G3/8"X19 13.5 21.5 22
4B-08Z G1/2"X14 16 26 27
4B-10Z G5/8"X14 17.5 27.5 30
4B-127 G3/4"X14 18.5 29.5 32
4B-16Z G1"X11 20.5 34 41
4B-20Z G1.1/4"X11 20.5 375 50
4B-247 G1.1/2"X11 23 40 55
4B-327 G2"X11 255 43.5 70
L
A
4BN-WD
S1
w FSIMBLT R K<
BSP MALE CAPTIVE SEAL HOLLOW HEX PLUG
e i2 4 THREAD Jiz # CAPTIVE R~} DIMENSIONS

PART NO. E Ei A L S1
4BN-02WDZ G1/8"X28 WD-B02 8 12.2 5
4BN-04WDZ G1/4"X19 WD-B04 12 17.2 6
4BN-06WDZ G3/8"X19 WD-B06 12 17.2 8
4BN-08WDZ G1/2"X14 WD-B08 14 19.2 10
4BN-12WDZ G3/4"X14 WD-B12 16 21.2 12
4BN-16WDZ G1"X11 WD-B16 16 22.8 17
4BN-20WDZ G1.1/4"X11 WD-B20 20 26.8 22
4BN-24WDZ G1.1/2"X11 WD-B24 22 28.8 24

C-42

EATON Winner 1

TiEEL H-AP-EHGC-2011-C Mar 2014




HEESL ADAPTER

L
A
s1
T 4B-WD
w RE MR IR T L
BSP MALE CAPTIVE SEAL PLUG
;e 1 2L THREAD JX 5+ DIMENSIONS
PART NO. E A L S1
4B-02WDZ G1/8"X28 WD-B02 8 15.5 14
4B-04WDZ G1/4"X19 WD-B04 12 19.6 19
4B-06WDZ G3/8"X19 WD-B06 12 225 22
4B-08WDZ G1/2"X14 WD-B08 14 25 27
4B-12WDZ G3/4"X14 WD-B12 16 29 32
4B-16WDZ G1"X11 WD-B16 18 85 41
4B-20WDZ G1.1/4"X11 WD-B20 20 37 50
4B-24WDZ G1.1/2"X11 WD-B24 22 40 55
5B-G

*”'"9I\‘l’§*l60 RIS 7< A imE A

HAERET RERBEREL

BSP MALE DOUBLE USE FOR 60° CONE SEAT
OR BONDED SEAL / BSP FEMALE PRESSURE
GAUGE CONNECTORS

®Roe i2 £ THREAD 44 Fr COPPER WASHER JX < DIMENSIONS
PART NO. E F Fi A B L S1
5B-04GZ G1/4"x19 | G1/4"X19 DP-B04G | 12 11 26 19
5B-06-04GZ G3/8"x19 | G1/4"X19 DP-B04G | 13.5 11 28.5 22
5B-06-08GZ G3/8"x19 | G1/2"X14 DP-B08G | 13.5 17 35.5 27
5B-08GZ G1/2'x14 | G1/2"X14 DP-B08G | 16 17 37 27

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-43



EESL ADAPTER

L
A
5B
60°| HESMRLO0 MR A A E A A BT/
RERERLL
BSP MALE DOUBLE USE FOR 60° CONE SEAT
OR BONDED SEAL / BSP FEMALE
= 12 4 THREAD JR 5+ DIMENSIONS

PART NO. E E A L S1
5B-02-04Z G1/8"X28 G1/4"X19 10 29 19
5B-04-02Z G1/4"X19 G 1/8"X28 12 28 19

5B-04z G1/4"X19 G1/4"X19 12 33 19
5B-04-06Z G1/4"X19 G3/8"X19 12 36 22
5B-06-04Z G3/8"X19 G1/4"X19 13.5 33.5 22

5B-06Z G3/8"X19 G3/8"X19 13.5 37.5 22
5B-06-08Z G3/8"X19 G1/2"X14 13.5 42.5 27
5B-08-06Z G1/2"X14 G3/8"X19 16 38 27

5B-08z G1/2"X14 G1/2"X14 16 45 27
5B-08-10Z G1/2"X14 G5/8"X14 16 46 30
5B-08-12Z G1/2"X14 G3/4"X14 16 44.5 36
5B-10-08Z G5/8"X14 G1/2"X14 17.5 41.5 30
5B-12-08Z G3/4"X14 G1/2"X14 18.5 44.5 32

5B-12Z G3/4"X14 G3/4"X14 18.5 48 36
5B-12-16Z G3/4"X14 G1"X11 18.5 53.5 41
5B-16-12Z G1"X11 G3/4"X14 20.5 47.5 41

5B-16Z G1"X11 G1"X11 20.5 55.5 41
5B-16-20Z G1"X11 G1.1/4"X11 20.5 56.5 50
5B-20-16Z G1.1/4"X11 G1"X11 20.5 49 50

5B-20Z G1.1/4"X11 | G1.1/4"X11 20.5 52.5 50
5B-20-24Z G1.1/4"X11 | G1.1/2"X11 20.5 57.5 55

5B-247 G1.1/2"X11 | G1.1/2"X11 23 58 55
5B-32-247 G2"X11 G1.1/2"X11 255 59.5 70

5B-327 G2"X11 G2"X11 255 62 70

C-44 EATON Winner it iE#% sk H-AP-EHGC-2011-C Mar 2014



HEESL ADAPTER

5BN

%%9! SR4060° MR 7N A i E
AEHEED SSHIMHEERIRYL
BSP MALE DOUBLE USE FOR 60°CONE SEAT
OR BONDEDSEAL / NPT FEMALE

Nyt

\S1
\F

= 1 2L THREAD JR 5+ DIMENSIONS
PART NO. E E A L S1
5BN-04Z G1/4"X19 Z1/4"X18 12 30 19
5BN-06Z G3/8"X19 Z3/8"X18 13.5 33 22
5BN-08Z G1/2"X14 Z1/2"X14 16 42 30
5BN-12Z G3/4"X14 Z3/4"X14 18.5 44.5 36
5BN-16Z G1"X11 Z1"X11.5 20.5 52 41
5BN-20Z G1.1/4"X11 [Z21.1/4"X11.5 20.5 55 50
5BN-24Z G1.1/2"X11 [Z21.1/2"X11.5 23 58 60
5BN-32Z G2"X11 Z2"X11.5 255 62 70
L
A 5BT
i j s SHSRLOO P RIS
o0l w L. .. (AR SRR
BSP MALE DOUBLE USE FOR 60°CONE SEAT OR
BONDED SEAL / BSPT FEMALE
= 12 4 THREAD JU 5 DIMENSIONS
PART NO. E F A L S1
5BT-04-02Z G1/4"X19 | Rc1/8"X28 12 28 19
5BT-04Z G1/4"X19 | Rc1/4"X19 12 33.5 19
5BT-04-06Z G1/4"X19 | Rc3/8"X19 12 34 22
5BT-04-08Z G1/4"X19 | Rc1/2"X14 13.5 41.5 27
5BT-06-04Z G3/8"X19 | Rc1/4"X19 13.5 32 22
5BT-06Z G3/8"X19 | Rc3/8"X19 185 34.5 22
5BT-08-06Z G1/2"X14 | Rc3/8"X19 16 39.5 27
5BT-08Z G1/2"X14 | Rc1/2"X14 16 45 27
5BT-10-08Z G5/8"X14 | Rc1/2"X14 17.5 435 30
5BT-12-08Z G3/4"X14 | Rc1/2"X14 18.5 47.5 32
5BT-12Z G3/4"X14 | Rc3/4"X14 18.5 49 36
5BT-16-12Z G1"X11 Rc3/4"X14 20.5 47.5 41
5BT-16Z G1"X11 Rc1"X11 20.5 57 41
5BT-20Z G1.1/"X11 | Re1.1/4"X11 20.5 58.5 50
5BT-24Z G1.1/2"X11 | Rc1.1/2"X11 23 61 55

EATON Winner 1

1TiE RSk H-AP-EHGC-2011-C Mar 2014 C-45



EESL ADAPTER

L
A
5GB
Wi - FEIMBL O | BB

BSP MALE O-RING / BSP FEMALE

o i £ THREAD OJI8 O-RING R~} DIMENSIONS
PART NO. E F Esifi A L S1
5GB-04Z G1/4"X19 | G1/4"X19 o111 11.2 32 19
5GB-04-06Z G1/4"X19 | G3/8"X19 0111 1.2 | 355 22
5GB-06Z G3/8"X19 | G3/8"X19 0113 1.5 36 24
5GB-06-08Z G3/8"X19 | G1/2"X14 0113 1.5 41 27
5GB-08Z G1/2"X14 | G1/2"X14 |017.86X2.62 14 41 27
5GB-08-12Z G1/2"X14 | G3/4"X14 |017.86Xx2.62 14 445 36
5GB-12Z G3/4"X14 | G3/4"X14 o119 145 | 445 36
5GB-12-16Z G3/4"X14 G1"X11 o119 14.5 50 41
5GB-16-12Z G1"X11 G3/4"X14 0217 186 | 455 41
5GB-16Z G1"X11 G1"X11 0217 18.6 51 41

7E: BSR40 5180 1179-13 HULEL{EH . Note: E thread end fit with ISO1179-1 port.

£ EELOCK NUT

L
A B
Y — i
° | |/ o [ -
60° W | ‘ ‘ w| |60 AL
S1
HEIMEN60° N TiRiEsk
BSP MALE 60° SEAT BULKHEAD
X 5 PART NO. 12 £ THREAD R~ DIMENSIONS

#:L1ABODY |ZH{FASSEMBLY E F A B L S1 S2
6B-02Z 6B-02LNZ G1/8"X28 G1/8"X28 10 33 49 14 14
6B-04Z 6B-04LNZ G1/4"X19 G1/4"X19 12 35 53 19 19
6B-06Z 6B-06LNZ G3/8"X19 G3/8"X19 13.5 35 56.5 22 22
6B-08Z 6B-08LNZ G1/2"X14 G1/2"X14 16 39 65 27 27
6B-10Z 6B-10LNZ G5/8"X14 G5/8"X14 17.5 40 67.5 30 30
6B-12Z 6B-12LNZ G3/4"X14 G3/4"X14 18.5 42 715 32 32
6B-16Z 6B-16LNZ G1"X11 G1"X11 20.5 50 84 41 41
6B-20Z 6B-20LNZ G1.1/4"X11 G1.1/4"X11 20.5 52 89.5 50 50
6B-24Z 6B-24LNZ G1.1/2"X11 G1.1/2"X11 23 55 93 55 55
6B-32Z 6B-32LNZ G2"X11 G2"X11 25.5 55 97.5 70 70

C-46 EATON Winner 5T &£k H-AP-EHGC-2011-C Mar 2014




1B ADAPTER

L
A S1
2
v 5NB
e
| T IMESY B R
ﬂ| NPT MALE/BSP FEMALE
| I ——
1t i2 £ THREAD L~} DIMENSIONS
PART NO. E F A L S1
5NB-02Z Z1/8"X27 G1/8"X28 10.5 27 14
5NB-02-04Z Z1/8"X27 G1/4"X19 10.5 32 19
5NB-04Z Z1/4"X18 G1/4"X19 15 35 19
5NB-04-02Z Z1/4"X18 G1/8"X28 15 32 17
5NB-04-06Z Z1/4"X18 G3/8"X19 15 37 22
5NB-06Z Z3/8"X18 G3/8"X19 16 38 22
S5NB-06-04Z Z3/8"X18 G1/4"X19 16 30 19
5NB-06-08Z Z3/8"X18 G1/2"X14 16 41 27
5NB-08Z Z1/2"X14 G1/2"X14 19.5 46 27
5NB-08-04Z Z1/2"X14 G1/4"X19 19.5 27.5 22
5NB-08-06Z Z1/2"X14 G3/8"X19 19.5 40 22
5NB-08-10Z Z1/2"X14 G5/8"X14 19.5 48.5 36
5NB-08-12Z Z1/2"X14 G3/4"X14 19.5 48.5 32
5NB-127 Z3/4"X14 G3/4"X14 19:5 48.5 36
5NB-12-04Z Z3/4"X14 G1/4"X19 19.5 30 30
5NB-12-06Z Z3/4"X14 G3/8"X19 19.5 29.5 27
5NB-12-08Z Z3/4"X14 G1/2"X14 19.5 32 27
5NB-12-16Z Z3/4"X14 G1"X11 1955 53 41
5NB-12-20Z Z3/4"X14 | G1.1/4"X11 19.5 54 50
5NB-16Z Z1"X11.5 G1"X11 25.5 59 41
5NB-16-04Z Z1"X11.5 G1/4"X19 25.5 37 36
5NB-16-06Z Z1"X11.5 G3/8"X19 25.5 37 36
5NB-16-08Z Z1"X11.5 G1/2"X14 25.5 36.5 36
5NB-16-12Z Z1"X11.5 G3/4"X14 25.5 37 36
5NB-16-20Z Z1"X11.5 | G1.1/4"X11 25.5 60 50
5NB-16-24Z Z1"X11.5 | G1.1/2"X11 25.5 62 55
5NB-20Z Z1.1/4"X11.5| G1.1/4"X11 26.5 61 50
5NB-20-16Z Z1.1/4"X11.5| G1"X11 26.5 42 46
5NB-20-24Z Z1.1/4"X11.5| G1.1/2"X11 26.5 63 55
5NB-20-32Z Z1.1/4"X11.5| G2"X11 26.5 67 70
5NB-247 Z1.1/2"X11.5| G1.1/2"X11 26.2 62.5 55
5NB-24-20Z Z1.1/2"X11.5| G1.1/4"X11 27.5 58 50
5NB-24-327 Z1.1/2"X11.5]  G2"X11 27.5 68 70
5NB-32Z Z2"X11.5 G2"X11 27.5 66 70
5NB-32-16Z Z2"X11.5 G1"X11 27.5 46 65
5NB-32-20Z Z2"X11.5 | G1.1/4"X11 27.5 44.5 65
5NB-32-247 Z72"X11.5 | G1.1/2"X11 27.5 44.5 65

EATON Winner i3 iE#£k H-AP-EHGC-2011-C Mar 2014

C-47




1B ADAPTER

S1

I

|
|

[ 50B
o T w
SAESMRL O B/ & PIHRLL
- SAE MALE O-RING /BSP FEMALE
e i# ¢ THREAD OJ% [ O-RING R} DIMENSIONS
PART NO. E F Esf A L S1
50B-04Z 7/16"X20 | G1/4"X19 0904 9.1 30 19
50B-06-04Z 9/16"X18 | G1/4"X19 0906 9.9 30 19
50B-06Z 9/16"X18 | G3/8"X19 0906 9.9 33 22
50B-08-06Z 3/4"X16 G3/8"X19 0908 11.1 35 24
50B-08Z 3/4"X16 G1/2"X14 0908 11.1 39 27
50B-10-08Z 7/8"X14 G1/2"X14 0910 127 | 40 27
50B-12-08Z 1.1/16"X12 | G1/2"X14 0912 151 | 415 30
50B-12Z 1.1/16"X12 | G3/4"X14 0912 15.1 44 32
50B-16-12Z 1.5/16"X12 | G3/4"X14 0916 15.1 42 36
50B-16Z 1.5/16"X12 |  G1"X11 0916 15.1 48 41
50B-20Z 1.5/8"X12 | G1.1/4"X11 0920 15.1 50 50
VE: EM2401 51S0 11926-13 I UL . Note: E thread end fit with 1SO11926-1 port.
F
i
N o
" 5TB9-SP

REEIMEGURENIRY 90°E

BSPT MALE/BSP FEMALE 90° ELBOW

= % 4 THREAD R~/ DIMENSIONS

PART NO. E E A B S1
5TB9-02SPZ R1/8"X28 G1/8"X28 24.5 20 16
5TB9-04SPZ R1/4"X19 G1/4"X19 28.5 22 19
5TB9-06SPZ R3/8"X19 G3/8"X19 33.5 26 24
5TB9-08SPZ R1/2"X14 G1/2"X14 40.5 31 30
5TB9-12SPZ R3/4"X14 G3/4"X14 47.5 37 33
5TB9-16SPZ R1"X11 G1"X11 56.5 43 41

C-48

EATON Winner i3 iE#£k H-AP-EHGC-2011-C Mar 2014




1B ADAPTER

E
N7 %
ZE il ___L‘ 5TB-SP
- gy il R IMBAL FE S IRAT
L BSPT MALE/BSP FEMALE
®e i2 £ THREAD JU~) DIMENSIONS
PART NO. E E A L S1
5TB-02-04SPZ R1/8"X28 G1/4"X19 10 31.5 19
5TB-04-06SPZ R1/4"X19 G3/8"X19 14.5 38.5 22
5TB-04SPZ R1/4"X19 G1/4"X19 14.5 35 19
5TB-06-04SPZ R3/8"X19 G1/4"X19 15 35 19
5TB-06-08SPZ R3/8"X19 G1/2"X14 15 43 27
5TB-06-12SPZ R3/8"X19 G3/4"X14 15 44 36
5TB-06SPZ R3/8"X19 G3/8"X19 15 39 22
5TB-08-06SPZ R1/2"X14 G3/8"X19 20 44 22
5TB-08-12SPZ R1/2"X14 G3/4"X14 20 50 36
5TB-08-16SPZ R1/2"X14 G1"X11 20 52 41
5TB-08SPZ R1/2"X14 G1/2"X14 20 48 27
5TB-12-08SPZ R3/4"X14 G1/2"X14 20 48 30
5TB-12-16SPZ R3/4"X14 G1"X11 20 54.5 41
5TB-12SPZ R3/4"X14 G3/4"X14 20 49 36
5TB-16-12SPZ R1"X11 G3/4"X14 25.5 55 36
5TB-16-20SPZ R1"X11 G1.1/4"X11 25.5 61.5 50
5TB-16SPZ R1"X11 G1"X11 25.5 59 41
5TB-20-08SPZ R1.1/4"X11 G1/2"X14 26.5 39 46
5TB-20-12SPZ R1.1/4"X11 G3/4"X14 26.5 39 46
5TB-20-24SPZ R1.1/4"X11 | G1.1/2"X11 26.5 63 515
5TB-20SPZ R1.1/4"X11 | G1.1/4"X11 26.5 61.5 50
5TB-24-16SPZ R1.1/2"X11 G1"X11 26.5 40.5 55
5TB-24-20SPZ R1.1/2"X11 | G1.1/4"X11 26.5 62.5 50
5TB-24-32SPZ R1.1/2"X11 G2"X11 26.5 65 70
5TB-24SPZ R1.1/2"X11 | G1.1/2"X11 26.5 61 55
5TB-32-24SPZ R2"X11 G1.1/2"X11 30 61 65

EATON Winner 5T &£k H-AP-EHGC-2011-C Mar 2014 C-49



T ERESL ADAPTER

L
Z 7B
N N
RERIRLY
- BSP FEMALE
S1
= 12 4 THREAD JR 5+ DIMENSIONS
PART NO. E E L S
7B-02z G1/8"X28 G1/8"X28 22 14
7B-02-04Z G1/8"X28 G1/4"X19 24 19
7B-04z G1/4"X19 G1/4"X19 24 19
7B-04-06Z G1/4"X19 G3/8"X19 29 22
7B-06Z G3/8"X19 G3/8"X19 26 22
7B-06-08Z G3/8"X19 G1/2"X14 33 27
7B-08z G1/2"X14 G1/2"X14 32 27
7B-08-10Z G1/2"X14 G5/8"X14 36 30
7B-10Z G5/8"X14 G5/8"X14 36 30
7B-12Z G3/4"X14 G3/4"X14 36 32
7B-12-16Z G3/4"X14 G1"X11 43 41
7B-16Z G1"X11 G1"X11 40 41
7B-16-20Z G1"X11 G1.1/4"X11 46 50
7B-20Z G1.1/4"X11 | G1.1/4"X11 44 50
7B-20-24Z G1.1/4"X11 | G1.1/2"X11 48 55
7B-24zZ G1.1/2"X11 | G1.1/2"X11 45 55
7B-24-327 G1.1/2"X11 G2"X11 56 70
7B-327 G2"X11 G2"X11 54 70

C-50

EATON Winner i3 iE#£k H-AP-EHGC-2011-C Mar 2014




1B ADAPTER

F
7B9-PK
wl AL
RERIEL 90° T
BSP FEMALE 90° ELBOW
A= 1% 2 THREAD JX s} DIMENSIONS
PART NO. E F A B S1
7B9-02PKZ G1/8"X28 G1/8"X28 20 20 16
7B9-04PKZ G1/4"X19 G1/4"X19 225 22.5 19
7B9-06PKZ G3/8"X19 G3/8"X19 26 26 24
7B9-08PKZ G1/2"X14 G1/2"X14 31 31 27
7B9-12PKZ G3/4"X14 G3/4"X14 34 34 33
7B9-16PKZ G1"X11 G1"X11 42 42 41
7B9-20PKZ G1.1/4"X11 | G1.1/4"X11 48 48 50
7B9-24PKZ G1.1/2"X11 | G1.1/2"X11 53 53 60
7B9-32PKZ G2"X11 G2"X11 62 62 70
L B

ef

60°

7B-S

RENIRLURENIZL60° S
BSP FEMALE/BSP FEMALE 60° CONE

® B 12 20 THREAD R~ DIMENSIONS
PART NO. E F B L S1 S2
7B-02SZ G1/8"X28 | G1/8"X28 5.5 29 14 14
7B-04SZ G1/4"X19 | G1/4"X19 55 32 19 19
7B-04-06SZ G1/4"X19 | G3/8"X19 6.3 33 19 22
7B-06SZ G3/8"X19 | G3/8"X19 6.3 36.5 22 22
7B-06-04SZ G3/8"X19 | G1/4"X19 5.5 35.5 22 19
7B-06-08SZ G3/8"X19 | G1/2"X14 75 37 22 27
7B-08-06SZ G1/2"X14 | G3/8"X19 6.3 415 27 22
7B-08SZ G1/2"X14 | G1/2"X14 7.5 42 27 27
7B-08-10SZ G1/2"X14 | G5/8"X14 9.5 435 27 30
7B-08-12SZ G1/2"X14 | G3/4"X14 10.9 42 27 32
7B-10-08SZ G5/8"X14 | G1/2"X14 75 44 30 27
7B-12-08SZ G3/4"X14 | G1/2"X14 7.5 44 32 27
7B-12SZ G3/4"X14 | G3/4"X14 10.9 | 455 32 32
7B-12-16SZ G3/4"X14 G1"X11 1.7 47 36 41
7B-16-12SZ G1"X11 G3/4"X14 10.9 50 41 32
7B-16SZ G1"X11 G1"X11 1.7 | 515 41 41
7B-20SZ G1.1/4"X11 | G1.1/4"X11 10.1 | 55.5 50 50
7B-24SZ G1.1/2"X11 | G1.1/2"X11 125 | 57.5 55 55
7B-32SZ G2"X11 G2"X11 16.1 61 70 70

EATON Winner i3 iE#£k H-AP-EHGC-2011-C Mar 2014




1B ADAPTER

L A
4
2
9B
< w| | e0°
HERNIRL60° M 1L
<o > ' BSP FEMALE 60° CONE PLUG
= 1 £ THREAD /&~ DIMENSIONS
PART NO. E A L 2
9B-02Z7 G1/8"X28 55 11.5 14
9B-04Z G1/4"X19 55 13.5 19
9B-06Z G3/8"X19 6.3 14.5 22
9B-08Z G1/2"X14 7.5 16 27
9B-10Z G5/8"X14 9.5 16.5 30
9B-12Z7 G3/4"X14 10.9 17.5 32
9B-16Z G1"X11 1.7 19 41
9B-20Z G1.1/4"X11 10.1 21.5 50
9B-247 G1.1/2"X11 125 22 55
9B-327 G2"X11 16.1 26.5 70
60°
X F
i
A C
A NN sE. EB
w
6°°(><’ I } IE OIS HERIZL60° S / FEEIMEL60° NHE S =@
: \3_1‘ : BSP FEMALE 60° CONE / BSP MALE 60° SEAT
BRANCH TEE
RE i 4 THREAD R I DIMENSIONS
PART NO. E F G A,C B S1 S2 S3
EB-02Z7 G1/8"X28 G1/8"X28 G1/8"X28 55 19.5 1 14 14
EB-04Z G1/4"X19 G1/4"X19 G1/4"X19 5.5 24.5 14 19 19
EB-06Z G3/8"X19 G3/8"X19 G3/8"X19 6.3 27.5 16 22 22
EB-08Z G1/2"X14 G1/2"X14 G1/2"X14 7.5 34.5 22 27 27
EB-10Z G5/8"X14 G5/8"X14 G5/8"X14 95 35 22 30 30
EB-12Z7 G3/4"X14 G3/4"X14 G3/4"X14 10.9 40 27 32 32
EB-16Z G1"X11 G1"X11 G1"X11 1.7 46 33 41 41
EB-20Z G1.1/4"X11 G1.1/4"X11 G1.1/4"X11 10.1 50.5 41 50 50
EB-247 G1.1/2"X11 G1.1/2"X11 G1.1/2"X11 12.5 575 48 55 55
EB-327 G2"X11 G2"X11 G2"X11 16.1 72.5 63 70 70

C-52 EATON Winner i3 iE#£k H-AP-EHGC-2011-C Mar 2014



1B ADAPTER

60°
:
] T% AB
| m
o e CI e T
A\\gi - BSP MALE 60° SEAT TEE

B #2 4 THREAD R <} DIMENSIONS
PART NO. E F G A B c | st
AB-027 G1/8"X28 | G1/8"X28 | G1/8"X28 19.8 | 19.8 | 19.8 1"
AB-04Z G1/4"X19 | G1/4"X19 | G1/4"X19 245 | 245 | 245 14
AB-04-06-04Z G1/4"X19 | G3/8"X19 | G1/4"X19 26.5 | 275 | 26.5 16
AB-06-04-06Z G3/8"X19 | G1/4"X19 | G3/8"X19 27.5 | 265 | 27.5 16
AB-06Z G3/8"X19 | G3/8"X19 | G3/8"X19 275 | 275 | 275 16
AB-06-08-06Z G3/8"X19 | G1/2"X14 | G3/8"X19 31 34.5 31 22
AB-08-06-08Z G1/2"X14 | G3/8"X19 | G1/2"X14 34.5 31 34.5 22
AB-08Z G1/2"X14 | G1/2"X14 | G1/2"X14 34.5 | 345 | 345 22
AB-10Z G5/8"X14 | G5/8"X14 | G5/8"X14 35 35 35 22
AB-12Z G3/4"X14 | G3/4"X14 | G3/4"X14 40 40 40 27
AB-12-16-12Z G3/4"X14 G1"X11 G3/4"X14 43.5 46 43.5 33
AB-16-12-16Z G1"X11 G3/4"X14 | G1"X11 46 43.5 46 33
AB-16Z G1"X11 G1"X11 G1"X11 46 46 46 33
AB-20Z G1.1/4"X11 [ G1.1/4"X11 | G1.1/4"X11 50.5 | 50.5 | 50.5 41
AB-247 G1.1/2"X11 [ G1.1/2"X11 | G1.1/2"X11 575 | 57.5 | 57.5 48
AB-327 G2"X11 G2"X11 G2"X11 725 | 725 | 725 63

EATON Winner 5T &£k H-AP-EHGC-2011-C Mar 2014 C-53



EESL ADAPTER

60°
\V4
F
S2 S
BB
i
60"@ o (e A HEIMEN60° N / RERNIZEN60° IME P =18
A\E‘ c BSP MALE 60° SEAT / BSP FEMALE
60° CONE BRANCH TEE
B i2 £ THREAD X~} DIMENSIONS
PAT NO. E F G A B c S1 S2
BB-02Z G1/8"X28 | G1/8"X28 | G1/8"X28 198 | 55 | 198 | 11 14
BB-04Z G1/4"X19 | G1/4"X19 | G1/4"X19 245 | 55 | 245 14 19
BB-06Z G3/8"X19 | G3/8"X19 | G3/8"X19 275 | 63 | 275 | 16 22
BB-08Z G1/2"X14 | G1/2"X14 | G1/2"X14 345 | 75 | 345 | 22 27
BB-12Z G3/4"X14 | G3/4"X14 | G3/4"X14 40 | 109 | 40 27 32
BB-16Z G1"X11 G1"X11 G1"X11 46 | 1.7 | 46 33 41
BB-20Z G1.1/4"X11 | G1.1/4"X11 | G1.1/4"X11 505 | 10.1 | 505 | 41 50
BB-24Z G1.1/2"X11 | G1.1/2"X11 | G1.1/2"X11 575 | 125 | 575 | 48 55
BB-32Z G2"X11 G2"X11 G2"X11 725 | 161 | 725 | 63 70
60°
F
| . CB
7 | SR
K |
60° | w |JT —NY-— o 60° REIMEL60° AHE / HERIEL60° ShiE
— EX=i@
A \S1 S2 BSP MALE 60° SEAT / BSP FEMALE 60° CONE
RUN TEE
B i £ THREAD <} DIMENSIONS
PART NO. E F G A B C S1 S2
CB-02Z G1/8"X28 | G1/8"X28 | G1/8"X28 19.8 | 198 | 55 11 14
CB-04Z G1/4"X19 | G1/4"X19 | G1/4"X19 25 25 | 55 | 14 19
CB-06Z G3/8"X19 | G3/8"X19 | G3/8"X19 275 | 275 | 63 | 16 22
CB-08Z G1/2"X14 | G1/2"X14 | G1/2"X14 345 | 345 | 75 | 22 27
CB-10Z G5/8"X14 | G5/8"X14 | G5/8"X14 35 35 | 95 | 22 30
CB-12Z G3/4"X14 | G3/4"X14 | G3/4"X14 40 40 | 109 | 27 32
CB-16Z G1"X11 G1"X11 G1"X11 46 46 | 1.7 | 33 41
CB-20Z G1.1/4"X11 | G1.1/4"X11 | G1.1/4"X11 505 | 505 | 10.1 | 41 50
CB-24Z G1.1/2"X11 | G1.1/2"X11 | G1.1/2"X11 575 | 575 | 125 | 48 55
CB-32Z G2"X11 G2"X11 G2"X11 725 | 725 | 161 | 63 70

C-54

EATON Winner 1

TiEEL H-AP-EHGC-2011-C Mar 2014




1B ADAPTER

60°

AV
m
A s2 S3 FB
r
e T HEIRL60° SME | FEIMBL60° Mtk
® ’jj | A ETX=@
\\g . BSP FEMALE 60° CONE / BSP MALE 60° SEAT
RUN TEE
e 12 2 THREAD &~} DIMENSIONS
PART NO. E F G A B C S1 S2 S3
FB-02Z G1/8"X28 | G1/8"X28 | G1/8"X28 5.5 5.5 19.5 11 14 14
FB-04Z G1/4"X19 | G1/4"X19 | G1/4"X19 5.5 5.5 24.5 14 19 19
FB-06Z G3/8"X19 | G3/8"X19 | G3/8"X19 6.3 6.3 27.5 16 22 22
FB-08Z G1/2"X14 | G1/2"X14 | G1/2"X14 75 75 34.5 22 27 27
FB-10Z G5/8"X14 | G5/8"'X14 | G5/8"X14 9.5 9.5 35 22 30 30
FB-12Z G3/4"X14 | G3/4"X14 | G3/4"X14 | 109 | 10.9 40 27 32 32
FB-12-08-12Z G3/4"X14 | G1/2"X14 | G3/4"X14 | 10.9 7.5 40 27 32 27
FB-16Z G1"X11 G1"X11 G1"X11 17 | 17 46 33 41 41
FB-20Z G1.1/4"X11 | G1.1/4"X11 | G1.1/4"X11 | 10.1 101 | 505 41 50 50
FB-24Z G1.1/2"X11 | G1.4/2"X11 | G1.14/2"X11 | 125 | 125 | 575 48 55 55
FB-32Z G2"X11 G2"X11 G2"X11 16.1 16.1 | 725 63 70 70
F
st/ |
4= @ GB-PK
w| - ‘ - —1- O
RERNZEN =&
BSP FEMALE TEE
A C
=" i% £ THREAD X~} DIMENSIONS
PART NO. E F G A B C S1
GB-02PKZ G1/8"X28 | G1/8"X28 | G1/8"X28 20 20 20 16
GB-04PKZ G1/4"X19 | G1/4"X19 | G1/4"X19 225 | 225 | 225 | 19
GB-06PKZ G3/8"X19 | G3/8"X19 | G3/8"X19 26 26 26 24
GB-08PKZ G1/2"X14 | G1/2"X14 | G1/2"X14 31 31 31 27
GB-12PKZ G3/4"X14 | G3/4"X14 | G3/4"X14 34 34 34 33
GB-16PKZ G1"X11 G1"X11 G1"X11 42 42 42 41
GB-20PKZ G1.1/4"X11 | G1.1/4"X11 | G1.1/4"X11 48 48 48 50
GB-24PKZ G1.1/2"X11 | G1.1/2"X11 | G1.1/2"X11 53 53 53 60
GB-32PKZ G2"X11 G2"X11 G2"X11 62 62 62 70
EATON Winner i3 iE#£k H-AP-EHGC-2011-C Mar 2014 C-55



T ERESL ADAPTER

o s 10T-SP

r | SAESMELLH O BB s B SMEBLL

4'@ SAE O-RING BOSS/BSPT MALE
B 12 £ THREAD OJ¥ M O-RING J <+ DIMENSIONS
PART NO. E F Esf A B L S1
10T-04SPZ 7/16"X20 | R1/4"X19 0904 910 | 145 | 295 17
10T-06SPZ 9/16"X18 | R3/8"X19 0906 9.93 15 30.5 17
10T-06-04SPZ 9/16"X18 | R1/4"X19 0906 993 | 145 30 19
10T-08-04SPZ 3/4"X16 R1/4"X19 0908 1113 | 145 | 335 22
10T-08-06SPZ 3/4"X16 R3/8"X19 0908 113 | 15 34 22
10T-08SPZ 3/4"X16 R1/2"X14 0908 113 | 20 38 22
10T-10-06SPZ 7/8"X14 R3/8"X19 0910 12.7 15 375 27
10T-10-08SPZ 7/8"X14 R1/2"X14 0910 12.7 20 | 425 27
10T-12-08SPZ | 1.1/16"X12 [ R1/2"X14 0912 15.09 | 20 46 32
10T-12SPZ 1.1/16"X12 | R3/4"X14 0912 15.09 | 20 46 32
10T-16-12SPZ | 1.5/16"X12 | R3/4"X14 0916 15.09 | 20 46 38
10T-16SPZ 1.5/16"X12 | R1"X11 0916 15.09 | 255 51 38
10T-20-16SPZ 1.5/8"X12 R1"X11 0920 15.09 | 255 | 55.5 50

v EMR40m 5180 11926-17H HILELMEH . Note: E thread end fit with ISO11926-1 port.

C-56 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



T ERESL ADAPTER

. . B
%L 477 1T-SP

41 L
] | \J B HMELL
L ' BSPT MALE
E/ g1/ F/

i B i £ THREAD R~ DIMENSIONS
PART NO. E E A B L S
1T-02SPZ R1/8"X28 R1/8"X28 10 10 26 12

1T-02-04SPZ R1/8"X28 R1/4"X19 10 14.5 30.5 14
1T-02-06SPZ R1/8"X28 R3/8"X19 10 15 31 17
1T-04SPZ R1/4"X19 R1/4"X19 14.5 14.5 34 14
1T-04-06SPZ R1/4"X19 R3/8"X19 14.5 15 35 17
1T-04-08SPZ R1/4"X19 R1/2"X14 15 20 43 22
1T-06SPZ R3/8"X19 R3/8"X19 15 15 36 17
1T-06-08SPZ R3/8"X19 R1/2"X14 15 20 43 22
1T-08SPZ R1/2"X14 R1/2"X14 20 20 46 22
1T-08-12SPZ R1/2"X14 R3/4"X14 20 20 48 27
1T-12SPZ R3/4"X14 R3/4"X14 20 20 48 27
1T-12-16SPZ R3/4"X14 R1"X11 20 25.5 555 36
1T-16SPZ R1"X11 R1"X11 255 25.5 61 36
1T-16-20SPZ R1"X11 R1.1/4"X11 25.5 26.5 64 46
1T-20SPZ R1.1/4"X11 | R1.1/4"X11 26.5 26.5 65.5 46
1T-20-24SPZ R1.1/4"X11 | R1.1/2"X11 26.5 26.5 67 50
1T-24SPZ R1.1/2"X11 | R1.1/2"X11 26.5 26.5 67 50
1T-24-32SPZ R1.1/2"X11 R2"X11 26.5 30 71.5 65
1T-32SPZ R2"X11 R2"X11 30 30 75 65

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-57



T ERESL ADAPTER

1T9-SP

REEEINRL 90° B
BSPT MALE 90° ELBOW

= 12 4 THREAD JR 5+ DIMENSIONS
PART NO. E E A B S1
1T9-02SPZ R1/8"X28 R1/8"X28 21 21 11
1T9-02-04SPZ R1/8"X28 R1/4"X19 2315 25.5 14
1T9-04SPZ R1/4"X19 R1/4"X19 255 255 14
1T9-04-06SPZ R1/4"X19 R3/8"X19 26.5 28.5 16
17T9-04-08SPZ R1/4"X19 R1/2"X14 30.5 36 22
1T9-06SPZ R3/8"X19 R3/8"X19 28.5 28.5 16
17T9-06-08SPZ R3/8"X19 R1/2"X14 32.5 36 22
1T9-08SPZ R1/2"X14 R1/2"X14 36 36 22
17T9-08-12SPZ R1/2"X14 R3/4"X14 39.5 43.5 27
1T9-12SPZ R3/4"X14 R3/4"X14 43.5 43.5 27
179-12-16SPZ R3/4"X14 R1"X11 48 50 33
1T9-16SPZ R1"X11 R1"X11 50 50 33
1T9-16-20SPZ R1"X11 R1.1/4"X11 56.5 57.5 41
1T9-20SPZ R1.1/4"X11 | R1.1/4"X11 56.5 56.5 41
1T9-24SPZ R1.1/2"X11 | R1.1/2"X11 62.5 62.5 48
1T9-32SPZ R2"X11 R2"X11 68 75 63

C-58 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

L
(1 S1
RHEEIMEAN ANREL
g BSPT MALE HOLLOW HEX
| E
= 12 2 THREAD X~} DIMENSIONS
PART NO. E L S
4TN-02GMZ R1/8"X28 8 5
4TN-04GMZ R1/4"X19 9 6
4TN-06GMZ R3/8"X19 10 8
4TN-08GMZ R1/2"X14 12 10
4TN-12GMZ R3/4"X14 12 12
4TN-16GMZ R1"X11 17 17
L

4T-SP

REEIMEL Bk
BSPT MALE PLUG

= 12 4 THREAD JX sf DIMENSIONS
PART NO. E A L S1
4T-02SPZ R1/8"X28 10 16 12
4T-04SPZ R1/4"X19 14.5 20 14
4T-06SPZ R3/8"X19 15 21 17
4T-08SPZ R1/2"X14 20 27 22
4T-12SPZ R3/4"X14 20 29 27
4T-16SPZ R1"X11 255 36.5 36
4T-20SPZ R1.1/4"X11 26.5 38.5 46
4T-24SPZ R1.1/2"X11 26.5 42 50
4T-32SPZ R2"X11 30 47 65

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-59



T ERESL ADAPTER

L
B
7)
o 50T
wl d- N
\ F SAESMESLH O B/ S 4 iRy
SAE O-RING BOSS/BSPT FEMALE
S1
B 12 £ THREAD OJ¥ M O-RING J <+ DIMENSIONS
PART NO. E F Esf A L S1
50T-04Z 7/16"X20 | Rc1/4"X19 0904 9.14 29 19
50T-04-02Z 7/16"X20 | Rc1/8"X28 0904 9.1 26 17
50T-06Z 9/16"X18 | Rc3/8"X19 0906 99 | 325 22
50T-06-04Z 9/16"X18 | Rc1/4"X19 0906 99 | 315 19
50T-08Z 3/4"X16 | Rc1/2"X14 0908 11.1 40 30
50T-08-02Z 3/4"X16 | Rc1/8"X28 0908 11.1 22 22
50T-08-04Z 3/4"X16 | Rc1/4"X19 0908 111 | 325 | 22
50T-08-06Z 3/4"X16 | Rc3/8"X19 0908 11.1 34 22
50T-10-06Z 7/8"X14 | Rc3/8"X19 0910 127 | 355 | 27
50T-10-08Z 7/8"X14 | Rc1/2"X14 0910 127 | 415 30
50T-12-06Z 1.1/16"X12 | Rc3/8"X19 0912 151 | 30.5 32
50T-12-08Z 1.1/16"X12 | Rc1/2"X14 0912 15.1 42 32
50T-16Z 1.5/16"X12 | Rc1"X11 0916 151 | 515 | 41
50T-16-08Z 1.5/16"X12 | Rc1/2"X14 0916 15.1 42 38
50T-16-12Z 1.5/16"X12 | Rc3/4"X14 0916 15.1 43 38

vE: EdE40m 5180 11926-17 HILELMHH . Note: E thread end fit with ISO11926-1 port.

C-60

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

L
A
)  NF
. SR AMEL | B MR
E/‘ N BSPT MALE / BSPT FEMALE
= 12 2 THREAD X~} DIMENSIONS
PART NO. E E A L S1
5T-02-04SPZ R1/8"X28 Rc1/4"X19 1" 325 19
5T-04-02SPZ R1/4"X19 Rc1/8"X28 14.5 20.5 14
5T-04SPZ R1/4"X19 Rc1/4"X19 14.5 36 19
5T-04-06SPZ R1/4"X19 Rc3/8"X19 14.5 38 22
5T-06-02SPZ R3/8"X19 Rc1/8"X28 15 23 19
5T-06-04SPZ R3/8"X19 Rc1/4"X19 15 23 19
5T-06SPZ R3/8"X19 Rc3/8"X19 15 38.5 22
5T-06-08SPZ R3/8"X19 Rc1/2"X14 15 44 27
5T-08-04SPZ R1/2"X14 Rc1/4"X19 20 30 24
5T-08-06SPZ R1/2"X14 Rc3/8"X19 20 30 24
5T-08SPZ R1/2"X14 Rc1/2"X14 20 49 27
5T-08-12SPZ R1/2"X14 Rc3/4"X14 20 51 36
5T-12-06SPZ R3/4"X14 Rc3/8"X19 20 31 30
5T-12-08SPZ R3/4"X14 Rc1/2"X14 20 31 30
5T-12SPZ R3/4"X14 Rc3/4"X14 20 51 36
5T-12-16SPZ R3/4"X14 Rc1"X11 20 56.5 41
5T-16-08SPZ R1"X11 Rc1/2"X14 255 37 36
5T-16-12SPZ R1"X11 Rc3/4"X14 25,15 &7 36
5T-16SPZ R1"X11 Rc1"X11 25.5 59 41
5T-16-20SPZ R1"X11 Rc1.1/4"X11 24515 64 50
5T-20-12SPzZ R1.1/4"X11 | Rc3/4"X14 26.5 38 46
5T-20-16SPZ R1.1/4"X11 Rc1"X11 26.5 38 46
5T-20SPZ R1.1/4"X11 | Rec1.1/4"X11 26.5 64 50
5T-24-16SPZ R1.1/2"X11 Rc1"X11 26.5 41 50
5T-24-20SPZ R1.1/2"X11 | Rc1.1/4"X11 26.5 41 50
5T-32-20SPZ R2"X11 Rc1.1/4"X11 30 45 65
5T-32-24SPZ R2"X11 Rc1.1/2"X11 30 45 65

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-61



11 E#EESL ADAPTER

F
7 m
| 5T9-SP
. REEIMBEL | REE AR 90° T
E A S1 BSPT MALE / BSPT FEMALE 90° ELBOW
R 1% 40 THREAD JR <} DIMENSIONS
PART NO. E E A B S1
5T9-02SPZ R1/8"X28 Rc1/8"X28 24.5 23 16
5T9-04SPZ R1/4"X19 | Rc1/4"X19 28.5 25 19
5T9-06SPZ R3/8"X19 | Rc3/8"X19 33.5 25 24
5T9-08SPZ R1/2"X14 | Rc1/2"X14 40.8 31.5 30
5T9-12SPZ R3/4"X14 Rc3/4"X14 475 37 33
5T9-16SPZ R1"X11 Rc1"X11 56.5 43 41
5T9-20SPZ R1.1/4"X11 | Rc1.1/4"X11 61 50 48
5T9-24SPZ R1.1/2"X11 | Re1.1/2"X11 75 55 63
L
4 7T
i O N A
£/ \F B IR
\ / BSPT FEMALE
\s1
®RE 12 4L THREAD JR <} DIMENSIONS
PART NO. E F L S1
7T-02Z Rc1/8"X28 | Rc1/8"X28 20 14
7T-02-04Z Rc1/8"X28 | Rc1/4"X19 30 19
7T-04Z Rc1/4"X19 | Rc1/4"X19 30 19
7T-04-06Z Rc1/4"X19 | Rc3/8"X19 30 22
7T-04-08Z Rc1/4"X19 | Rc1/2"X14 40 27
7T-06Z Rc3/8"X19 | Rc3/8"X19 30 22
7T-06-08Z Rc3/8"X19 | Rc1/2"X14 40 27
7T-06-12Z Rc3/8"X19 | Rc3/4"X14 37 36
7T-08Z Rc1/2"X14 | Rc1/2"X14 40 27
7T-08-12Z Rc1/2"X14 | Rc3/4"X14 42 36
7T-12Z Rc3/4"X14 | Rc3/4"X14 42 36
7T-12-16Z Rc3/4"X14 Rc1"X11 50 41
7T-16Z Rc1"X11 Rc1"X11 50 41
7T-16-20Z Rc1"X11 | Re1.1/4"X11 52 50
7T-20Z Rc1.1/4"X11 | Rc1.1/4"X11 55 50
7T-24Z Rc1.1/2"X11 | Re1.1/2"X11 55 55
7T-32Z Rc2"X11 Rc2"X11 65 70

C-62

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

F
E
o
E ‘ 7T9-PK
% KB RIRE 00°T
St BSPT FEMALE 90° ELBOW
A
it B i 4 THREAD <} DIMENSIONS
PART NO. E F A B S1
7T9-02PKZ Rc1/8"X28 Rc1/8"X28 20 20 16
7T9-02-04PKZ Rc1/8"X28 Rc1/4"X19 20 22.5 19
7T9-04PKZ Rc1/4"X19 Rc1/4"X19 225 22.5 19
7T9-06PKZ Rc3/8"X19 Rc3/8"X19 26 26 24
7T9-08PKZ Rc1/2"X14 Rc1/2"X14 31 31 27
7T9-12PKZ Rc3/4"X14 Rc3/4"X14 34 34 33
7T9-16PKZ Rc1"X11 Rc1"X11 42 42 41
7T9-20PKZ Rc1.1/4"X11 | Rc1.1/4"X11 48 48 50
7T9-24PKZ Rc1.1/2"X11 | Re1.1/2"X11 53 53 60
7T9-32PKZ Rc2"X11 Rc2"X11 62 62 70
F
|
s1 |
| N GT-PK
E/ G
HEENZEN =18
A C BSPT FEMALE TEE
s 12 4 THREAD JU~f DIMENSIONS
PART NO. E F G A B c S1
GT-02PKZ Rc1/8"X28 | Rc1/8"X28 | Rc1/8"X28 20 20 20 16
GT-04PKZ Rc1/4"X19 | Rc1/4"X19 | Rc1/4"X19 225 | 225 | 225 19
GT-06PKZ Rc3/8"X19 | Rc3/8"X19 | Rc3/8"X19 26 26 26 24
GT-08PKZ Rc1/2"X14 | Rc1/2"X14 | Rc1/2"X14 31 31 31 27
GT-12PKZ Rc3/4"X14 | Rc3/4"X14 | Rc3/4"X14 34 34 34 33
GT-16PKZ Rc1"X11 Rc1"X11 Rc1"X11 42 42 42 41
GT-20PKZ Rc1.1/4"X11 | Rc1.1/4"X11 | Re1.1/4"X11 48 48 48 50
GT-24PKZ Rc1.1/2"X11 | Re1.1/2"X11 | Re1.1/2"X11 58 58 58 60
GT-32KZ Rc2"X11 Rc2"X11 Rc2"X11 62 62 62 70

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-63




11 E#EESL ADAPTER

L
A B

HL

1J
><§ 74°
EHIJICHMEL 745N
JIC MALE 74° CONE
REF. ISO 8434-2

\F/

74°§>€\L

=) #2 20 THREAD X<} DIMENSIONS
PART NO. E F A B L S1
1J-02Z 5/116"X24 | 5/16"X24 M4 | 114 | 29 12
1J-02-03Z 5116"X24 | 3/8"X24 14 | 122 | 295 | 12
1J-03Z 3/8"X24 3/8"X24 122 | 122 | 305 | 12
1J-04Z 7116"X20 | 7/16"X20 14 14 35 12
1J-04-05Z 7/16"X20 1/2"X20 14 14 35 14
1J-04-06Z 7116"X20 | 9/16"X18 14 | 141 | 359 | 17
1J-04-08Z 7116"X20 | 3/4"X16 14 | 167 | 385 | 22
1J-05Z 1/2"X20 1/2"X20 14 14 35 14
1J-05-06Z 1/2'X20 | 9/16"X18 14 | 141 | 359 | 17
1J-05-08Z 1/2"X20 3/4"X16 14 | 167 | 383 | 22
1J-05-10Z 1/2"X20 7/8"X14 14 | 193 | 427 | 24
1J-06Z 9/16"X18 | 9/16"X18 141 | 141 | 36 17
1J-06-08Z 9/16"X18 | 3/4"X16 141 | 167 | 384 | 22
1J-06-10Z 9/16"X18 | 7/8"X14 141 | 193 | 428 | 24
1J-06-12Z 9/16"X18 | 1.1/16"X12 141 | 219 | 472 | 30
1J-08Z 3/4"X16 3/4"X16 16.7 | 167 | 41 22
1J-08-10Z 3/4"X16 7/8"X14 167 | 193 | 44 24
1J-08-12Z 3/4"X16 | 1.1/16"X12 167 | 219 | 498 | 30
1J-08-16Z 3/4"X16 | 1.5/16"X12 167 | 231 | 51 36
1J-10Z 7/8"X14 7/8"X14 193 | 193 | 48 24
1J-10-12Z 7/8"X14 | 1.1/16"X12 193 | 219 | 51 30
1J-10-16Z 7/8"X14 | 1.5/16"X12 193 | 231 | 532 | 36
1J-12Z 1.1/16"X12 | 1.1/16"X12 219 | 219 | 55 30
1J-12-14Z 1.1/16"X12 | 1.3/16"X12 219 | 226 | 555 | 32
1J-12-16Z 1.1/16"X12 | 1.5/16"X12 219 | 231 | 558 | 36
1J-14Z 1.3/16"X12 | 1.3/16"X12 226 | 226 | 561 | 32
1J-14-16Z 1.3/16"X12 | 1.5/16"X12 226 | 231 | 565 | 36
1J-16Z 1.5/16"X12 | 1.5/16"X12 231 | 231 | 57 36
1J-16-20Z 1.5/16"X12 | 1.5/8"X12 231 | 243 | 603 | 46
1J-16-24Z 1.5/16"X12 | 1.7/8"X12 231 | 275 | 655 | 50
1J-20Z 1.5/8"X12 | 1.5/8"X12 243 | 243 | 615 | 46
1J-20-24Z 1.5/8"X12 | 1.7/8"X12 243 | 275 | 668 | 50
1J-20-32Z 1.5/8"X12 | 2.1/2"X12 243 | 339 | 75 65
1J-24Z 1.7/8"X12 | 1.7/8"X12 275 | 275 | 70 50
1J-24-32Z 1.7/8"X12 | 2.1/2"X12 275 | 339 | 785 | 65
1J-32Z 2.1/2"X12 | 2.1/2"X12 33.9 | 339 | 865 | 65

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

- 1J9
——/n £ I CHMBLLTA°5NE 90° T

L
kg S— JIC MALE 74° CONE 90° ELBOW
74 (><\Jlf /)t
S1

A
= 12 4 THREAD JR 5+ DIMENSIONS
PART NO. E E A B S1
1J9-02Z 5/16"X24 5/16"X24 20.5 20.5 11
1J9-03Z 3/8"X24 3/8"X24 22 22 11
1J9-04Z 7/16"X20 7/16"X20 24.5 24.5 11
1J9-05Z 1/2"X20 1/2"X20 26.6 26.6 14
1J9-05-06Z 1/2"X20 9/16"X18 28.6 26.9 14
1J9-06Z 9/16"X18 9/16"X18 26.9 26.9 14
1J9-06-08Z 9/16"X18 3/4"X16 30 32 19
1J9-06-10Z 9/16"X18 7/8"X14 32 37.8 22
1J9-08Z 3/4"X16 3/4"X16 32 32 19
1J9-08-10Z 3/4"X16 7/8"X14 34.8 37.8 22
1J9-10Z 7/8"X14 7/8"X14 37.8 37.8 22
1J9-10-12Z 7/8"X14 1.1/16"X12 41 44.2 27
1J9-12Z 1.1/16"X12 | 1.1/16"X12 442 442 27
1J9-14Z 1.3/16"X12 | 1.3/16"X12 47.5 47.5 30
1J9-16Z 1.5/16"X12 | 1.5/16"X12 49 49 33
1J9-20Z 1.5/8"X12 1.5/8"X12 55.5 55.5 41
1J9-247 1.7/8"X12 1.7/8"X12 62.5 62.5 48
1J9-32Z 2.1/2"X12 2.1/2"X12 78 78 63

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-65



11 E#EESL ADAPTER

L
A % B 1JB-WD
- | JICHMEBT4°5h
- 7‘{ ] - B SMBE RS
) JIC MALE 74° CONE / BSP
S1 MALE CAPTIVE SEAL
e #2 20 THREAD iz # CAPTIVE <+ DIMENSIONS
PART NO. E F Fis A B L S1
1JB-04-02WDZ 7/16"X20 G1/8"X28 WD-B02 14 8 29.5 14
1JB-04WDZ 7/16"X20 G1/4"X19 WD-B04 14 12 34.8 19
1JB-04-06WDZ 7/16"X20 G3/8"X19 WD-B06 14 12 35.7 22
1JB-04-08WDZ 7/16"X20 G1/2"X14 WD-B08 14 14 39.2 27
1JB-05-04WDZ 1/2"X20 G1/4"X19 WD-B04 14 12 34.8 19
1JB-05-06WDZ 1/2"X20 G3/8"X19 WD-B06 14 12 .5 22
1JB-06-02WDZ 9/16"X18 G1/8"X28 WD-B02 14 .1 8 311 17
1JB-06-04WDZ 9/16"X18 G1/4"X19 WD-B04 141 12 351 19
1JB-06WDZ 9/16"X18 G3/8"X19 WD-B06 14.1 12 36 22
1JB-06-08WDZ 9/16"X18 G1/2"X14 WD-B08 141 14 394 27
1JB-08-04WDZ 3/4"X16 G1/4"X19 WD-B04 16.7 12 38 22
1JB-08-06WDZ 3/4"X16 G3/8"X19 WD-B06 16.7 12 38.5 22
1JB-08WDZ 3/4"X16 G1/2"X14 WD-B08 16.7 14 42 27
1JB-10-08WDZ 7/8"X14 G1/2"X14 WD-B08 19.3 14 445 27
1JB-10-12WDZ 7/8"X14 G3/4"X14 WD-B12 19.3 16 48.1 32
1JB-12-08WDZ 1.1/16"X12 G1/2"X14 WD-B08 21.9 14 48.5 30
1JB-12WDZ 1.1/16"X12 G3/4"X14 WD-B12 21.9 16 50.9 32
1JB-12-16WDZ 1.1/16"X12 G1"X11 WD-B16 21.9 18 56 41
1JB-16-12WDZ 1.5/16"X12 G3/4"X14 WD-B12 23.1 16 52.7 36
1JB-16WDZ 1.5/16"X12 G1"X11 WD-B16 23.1 18 54.7 41
1JB-16-20WDZ 1.5/16"X12 | G1.1/4"X11 WD-B20 23.1 20 59 50
1JB-20-16WDZ 1.5/8"X12 G1"X11 WD-B16 24.3 18 58 46
1JB-20WDZ 1.5/8"X12 G1.1/4"X11 WD-B20 24.3 20 60 50
1JB-20-24WDZ 1.5/8"X12 G1.1/2"X11 WD-B24 24.3 22 63 515
1JB-24-20WDZ 1.7/8"X12 G1.1/4"X11 WD-B20 27.5 20 63.1 50
1JB-24WDZ 1.7/8"X12 G1.1/2"X11 WD-B24 27.5 22 67.1 515

C-66 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



T ERESL ADAPTER

L
A B
1JF C
S &
7‘”@ 1—‘ - SEHIJICIMRLL74°51 i | ORFSHMERLL
| JIC MALE 74° CONE / ORFS MALE

B #2 47 THREAD OJFE O-RING R~} DIMENSIONS
PART NO. E F Fifi A B L S1
1JF-04Z 7/16"X20 | 9/16"X18 0011 14 10 29.5 17
1JF-05-04Z 1/2"X20 9/16"X18 0011 14 10 29.5 17
1JF-05-06Z 1/2"X20 | 11/16"X16 0012 14 1.2 | 315 19
1JF-06-04Z 9/16"X18 | 9/16"X18 0011 14.1 10 30 17
1JF-06Z 9/16"X18 | 11/16"X16 0012 14.1 11 31 19
1JF-08-06Z 3/4"X16 | 11/16"X16 0012 16.7 11 36 22
1JF-08Z 3/4"X16 | 13/16"X16 0014 16.7 13 375 22
1JF-10-08Z 7/8"X14 | 13/16"X16 0014 19.3 13 40 24
1JF-10Z 7/8"X14 1"X14 0016 193 | 155 | 445 27
1JF-12-10Z 1.1/16 “X12|  1"X14 0016 219 | 155 | 475 30
1JF-12Z 1.1/16 “X12| 1.3/16"X12 0018 21.9 17 50 32
1JF-16-12Z 1.5/16"X12 | 1.3/16"X12 0018 23.1 17 51 36
1JF-16Z 1.5/16"X12 | 1.7/16"X12 0021 231 | 175 | 515 41
1JF-20-16Z 1.5/8"X12 | 1.7/16"X12 0021 243 | 175 | 545 46
1JF-20Z 1.5/8"X12 | 1.11/16"X12 0025 243 | 175 54 46
1JF-24-20Z 1.7/8"X12 | 1.11/16"X12 0025 275 | 175 60 50
1JF-24Z 1.7/8"X12 2"X12 0029 275 | 175 60 55

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-67



11 E#EESL ADAPTER

L 1JG-L
Ao B I EHIJICHNBLL 745 /
4 - — HEHMBLOTE
LONG JIC MALE 74° CONE /
— 5 BSP MALE O-RING
B % 4L THREAD OJ¥I O-RING ]~ DIMENSIONS
PART NO. E F Fis A B L S1
1JG-04LZ 7/16"X20 G1/4"X19 o111 35 9.3 53 19
1JG-06-04LZ 9/16"X18 G1/4"X19 o111 39.5 9.3 58 19
1JG-06LZ 9/16"X18 G3/8"X19 0113 39.5 9.3 59.5 24
1JG-08-06LZ 3/4"X16 G3/8"X19 0113 48.2 9.3 68.5 24
1JG-08LZ 3/4"X16 G1/2"X14 017.86X2.62 48 12.6 73.5 27
1JG-10-08LZ 7/8"X14 G1/2"X14 017.86X2.62 53 12.6 78 27
1JG-12L.Z 1.1/16"X12 G3/4"X14 0119 63 12.6 90 36
1JG-12-16LZ 1.5/16"X12 G1"X11 0217 63 18 95 41
1JG-16LZ 1.5/16"X12 G1"X11 0217 72 18 104 41
1JG-20LZ 1.5/8"X12 G1.1/4"X11 0222 88.1 20 123.5 50

v FI2E051S0 1179-13 HULELfE . Note: F thread end fit with ISO1179-1 port.

L
A B 1JK
4 (W oot EHINICIMBETA B A AHISMELIE0°
\Lf- —7J/ JIC MALE 74° /JIS METRIC MALE 60°
Y
=] i 4 THREAD JU s DIMENSIONS
PART NO. E E A B L S
1JK-04-14Z7 7/16"X20 M14X1.5 14 17 37 17
1JK-06-18Z 9/16"X18 M18X1.5 141 18 38 19
1JK-08-227 3/4"X16 M22X1.5 16.7 20 44.5 24
1JK-10-24Z7 7/8"X14 M24X1.5 19.3 21.5 51 27
1JK-12-227 1.1/16"X12 M22X1.5 21.9 20 52 30
1JK-12-247 1.1/16"X12 M24X1.5 21.9 21.5 5585 30
1JK-12-30Z 1.1/16"X12 M30X1.5 21.9 26 59 32
1JK-16-33Z 1.5/16"X12 M33X1.5 23.1 30 64 36
1JK-20-36Z 1.5/8"X12 M36X1.5 24.3 33 70 46
1JK-24-427 1.7/8"X12 M42X1.5 27.5 36 79 50

C-68 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

74° Qé

2
U |

1JG

S1 EHIJICIMRLI74° M /R EIMELOFE
JIC MALE 74° CONE / BSP MALE O-RING

B #2 47 THREAD OJFE O-RING R~} DIMENSIONS
PART NO. E F Fifi A B L S1
1JG-04-02Z 7/16"X20 | G1/8"X28 07.97x1.88 | 14 76 | 295 14
1JG-04Z 7/16"X20 | G1/4"X19 0111 14 11 32,5 19
1JG-04-06Z 7/16"X20 | G3/8"X19 0113 14 1.5 34 24
1JG-04-08Z 7/16"X20 | G1/2"X14 017.86X2.62 | 14 14 375 27
1JG-05-04Z 1/2"X20 G1/4"X19 0111 14 11 32,5 19
1JG-05-06Z 1/2"X20 G3/8"X19 0113 14 1.5 35 24
1JG-05-08Z 1/2"X20 G1/2"X14 017.86X2.62 | 14 14 375 27
1JG-06-04Z 9/16"X18 | G1/4"X19 0111 14.1 11 315 19
1JG-06Z 9/16"X18 | G3/8"X19 0113 141 | 115 34 24
1JG-06-08Z 9/16"X18 | G1/2"X14 017.86X2.62 | 14.1 14 375 27
1JG-08-04Z 3/4"X16 G1/4"X19 0111 16.7 11 35.5 22
1JG-08-06Z 3/4"X16 G3/8"X19 0113 16.7 | 115 37 24
1JG-08Z 3/4"X16 G1/2"X14 017.86X2.62 | 16.7 14 40.5 27
1JG-08-12Z 3/4"X16 G3/4"X14 0119 16.7 | 145 | 43 36
1JG-10-06Z 7/8"X14 G3/8"X19 0113 193 | 115 | 395 24
1JG-10-08Z 7/8"X14 G1/2"X14 017.86X2.62 | 19.3 14 43 27
1JG-10-12Z 7/8"X14 G3/4"X14 0119 19.3 | 145 47 36
1JG-12-08Z 1.1/16"X12 | G1/2"X14 017.86X2.62 | 21.9 14 47.5 30
1JG-12Z 1.1/16"X12 | G3/4"X14 0119 219 | 145 49 36
1JG-12-16Z 1.116"X12 | G1"X11 0217 219 | 186 | 525 41
1JG-12-20Z 1.1/16"X12 | G1.1/4"X11 0222 21.9 20 57 50
1JG-16-12Z 1.5116"X12 | G3/4"X14 0119 231 | 145 51 36
1JG-16Z 1.5/16"X12 |  G1"X11 0217 231 | 186 55 41
1JG-16-20Z 1.5/16"X12 | G1.1/4"X11 0222 23.1 20 59.5 50
1JG-20-16Z 1.5/8"X12 G1"X11 0217 243 | 186 | 56.5 46
1JG-20Z 1.5/8"X12 | G1.1/4"X11 0222 24.3 20 59 50
1JG-24-16Z 1.7/8"X12 G1"X11 0217 275 | 186 62 50
1JG-24-20Z 1.7/8"X12 | G1.1/4"X11 0222 27.5 20 65.5 50
1JG-24Z 1.7/8"X12 | G1.1/2"X11 0224 275 | 215 64 60

VE: FIRZUR51S0 1179-13i I ULEEfEH . Note: F thread end fit with ISO1179-1 port.

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-69




11 E#EESL ADAPTER

F
1JG9-0G
S2 : -
L1 EHIJICHMRG T4 SN |
LT Z | AR EEIMELOF B ZE 90° T
74°<> JH:I — ) JIC MALE 74° CONE /
)<g ADJUSTABLE BSP MALE O-RING SEAL
A 90° ELBOW
) #2 £ THREAD OJ%H O-RING &~} DIMENSIONS
PART NO. E F Fig A B S1 S2
1JG9-04-020GZ 7/16"X20 G1/8"X28 07.97X1.88 24.5 25.5 11 14
1JG9-04-060GZ 7/16"X20 G3/8"X19 0113 27.5 36.8 16 22
1JG9-040GZ 7/16"X20 G1/4"X19 o111 26.6 31.5 14 19
1JG9-05-040GZ 1/2"X20 G1/4"X19 o111 26.5 31.8 14 19
1JG9-05-060GZ 1/2"X20 G3/8"X19 0113 28 35.5 16 22
1JG9-05-080GZ 1/2"X20 G1/2"X14 017.86X2.62 32 43.2 22 27
1JG9-06-040GZ 9/16"X18 G1/4"X19 o111 26.9 31.3 14 19
1JG9-06-080GZ 9/16"X18 G1/2"X14 017.86X2.62 32.5 43.2 22 27
1JG9-060GZ 9/16"X18 G3/8"X19 0113 28.5 35.8 16 22
1JG9-08-040GZ 3/4"X16 G1/4"X19 o111 32 33.5 19 19
1JG9-080GZ 3/4"X16 G1/2"X14 017.86X2.62 34.8 43.2 22 27
1JG9-08-060GZ 3/4"X16 G3/8"X19 0113 32 36.8 19 22
1JG9-08-120GZ 3/4"X16 G3/4"X14 0119 37.9 49.3 27 32
1JG9-10-060GZ 7/8"X14 G3/8"X19 0113 37.8 39.2 22 22
1JG9-10-080GZ 7/8"X14 G1/2"X14 017.86X2.62 37.8 43.2 22 27
1JG9-10-120GZ 7/8"X14 G3/4"X14 0119 41 49.3 27 32
1JG9-120GZ 1.1/16"X12 G3/4"X14 0119 44.2 49.3 27 32
1JG9-12-080GZ 1.1/16"X12 G1/2"X14 017.86X2.62 442 46.5 27 27
1JG9-12-160GZ 1.1/16"X12 G1"X11 0217 48 53 33 41
1JG9-160GZ 1.5/16"X12 G1"X11 0217 49 58 88 41
1JG9-16-120GZ 1.5/16"X12 G3/4"X14 0119 49 53 33 32
1JG9-16-200GZ 1.5/16"X12 | G1.1/4"X11 0222 54 59.5 41 50
1JG9-200GZ 1.5/8"X12 G1.1/4"X11 0222 55.5 59.5 41 50
1JG9-20-160GZ 1.5/8"X12 G1"X11 0217 55.5 58 41 41
1JG9-24-160GZ 1.7/8"X12 G1"X11 0217 62.5 63 48 41
1JG9-24-200GZ 1.7/8"X12 G1.1/4"X11 0222 62.5 63 48 50
1JG9-240GZ 1.7/8"X12 G1.1/2"X11 0224 62.5 63 48 55

vE: FIZZ0m 51S0 1179-13 UL f# .  Note: F thread end fit with ISO1179-1 port.

C-70 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

74°§>@ \L L

JICHMERLITA SN | AN HISMES OB ZE:
12 2% ISO 6149-3

JIC MALE 74° CONE / METIRC MALE ORING SEAL

1 L-SERIES ISO 6149-3

B #2 47 THREAD OJFE O-RING R~} DIMENSIONS
PART NO. E F Fifi A B L S1
1JH-04-10NZ 7/16"X20 M10X1 008.1X1.6 14 8.5 30 14
1JH-04-12NZ 7/16"X20 | M12X1.5 009.3X2.2 14 11 33 17
1JH-04-14NZ 7/16"X20 | M14X1.5 011.3X2.2 14 11 34 19
1JH-05-10NZ 1/2"X20 M10X1 008.1X1.6 14 8.5 29 14
1JH-05-12NZ 1/2"X20 M12X1.5 009.3X2.2 14 11 33 17
1JH-05-14NZ 1/2"X20 M14X1.5 011.3X2.2 14 11 34 19
1JH-06-14NZ 9/16"X18 | M14X1.5 011.3X2.2 | 14.1 11 34 19
1JH-06-16NZ 9/16"X18 | M16X1.5 013.3%X22 | 141 | 115 35 22
1JH-06-18NZ 9/16"X18 | M18X1.5 015.3X2.2 | 141 | 125 | 345 24
1JH-08-14NZ 3/4"X16 M14X1.5 015.3X2.2 | 16.7 11 37 22
1JH-08-16NZ 3/4"X16 M16X1.5 013.3X2.2 | 167 | 115 36 22
1JH-08-18NZ 3/4"X16 M18X1.5 015.3X2.2 | 16.7 | 125 39 24
1JH-08-22NZ 3/4"X16 M22X1.5 019.3X2.2 | 16.7 13 41 27
1JH-10-16NZ 7/8"X14 M16X1.5 013.3X2.2 | 193 | 115 42 24
1JH-10-18NZ 7/8"X14 M18X1.5 015.3X2.2 | 193 | 125 42 24
1JH-10-22NZ 7/8"X14 M22X1.5 019.3X2.2 | 19.3 13 44 27
1JH-12-22NZ 1.1/16"X12 | M22X1.5 019.3X2.2 | 219 13 47 30
1JH-12-27NZ 1.116"X12 | M27X2 023.6X29 | 219 16 50 32
1JH-16-27NZ 1.5116"X12 |  M27X2 023.6X2.9 | 23.1 16 52 36
1JH-16-33NZ 1.5116"X12 |  M33X2 029.6X2.9 | 23.1 16 53 41
1JH-20-42NZ 1.5/8"X12 M42X2 038.6X2.9 | 243 16 54 50
1JH-24-48NZ 1.7/8"X12 M48X2 0446X29 | 275 | 175 63 55

VE: FI280m51S0 6149-13l ULAL{E . Note: F thread end fit with 1SO 6149-1 port.

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-71



11 E#EESL ADAPTER

S2

\I‘[r,;[:f_)( 7 s1

1JH9-0G

EHIJICHMNZLLT4° Mt | T E) A HI MRS
2 %% 1SO 6149-3 90° &5

JIC MALE 74° CONE / ADJUSTABLE METIRC O-RING

L-SERIES ISO 6149-3 90° ELBOW

B #2 47 THREAD OJFE O-RING R~} DIMENSIONS
PART NO. E F Fifi A B S1 S2
1JH9-04-100GNZ | 7/16"X20 M10X1 008.1X1.6 | 245 | 275 1 14
1JH9-04-120GNZ | 7/16"X20 | M12X1.5 009.3X2.2 | 245 | 30.3 11 17
1JH9-04-140GNZ | 7/16"X20 | M14X1.5 011.3X22 | 266 32 14 19
1JH9-05-100GNZ 1/2"X20 M10X1 008.1X1.6 | 265 | 285 14 14
1JH9-05-120GNZ 1/2"X20 M12X1.5 009.3X2.2 | 265 32 14 17
1JH9-05-140GNZ 1/2"X20 M14X1.5 011.3X22 | 265 32 14 19
1JH9-06-140GNZ | 9/16"X18 | M14X1.5 011.3X22 | 26.9 32 14 19
1JH9-06-160GNZ | 9/16"X18 | M16X1.5 013.3X2.2 28 34.8 16 22
1JH9-06-180GNZ | 9/16"X18 | M18X1.5 015.3X2.2 30 37 19 24
1JH9-08-160GNZ | 3/4"X16 M16X1.5 013.3X2.2 32 36 19 22
1JH9-08-180GNZ | 3/4"X16 M18X1.5 015.3X2.2 33 37 19 24
1JH9-08-220GNZ | 3/4"X16 M22X1.5 019.3X2.2 | 348 | 402 22 27
1JH9-10-160GNZ | 7/8"X14 M16X1.5 013.3X2.2 | 37.8 38 22 22
1JH9-10-180GNZ | 7/8"X14 M18X1.5 015.3X2.2 38 39.5 22 24
1JH9-10-220GNZ | 7/8"X14 M22X1.5 019.3X2.2 38 425 22 27
1JH9-12-220GNZ | 1.1/16"X12 | M22X1.5 019.3X2.2 45 44 27 27
1JH9-12-270GNZ | 1.1/16"X12 | M27X2 023.6X2.9 | 442 | 485 27 32
1JH9-16-270GNZ | 1.5/16"X12 | M27X2 023.6X2.9 49 52 33 32
1JH9-16-330GNZ | 1.5/16"X12 | M33X2 029.6X2.9 49 52.5 33 41
1JH9-20-420GNZ | 1.5/8"X12 M42X2 038.6X29 | 555 | 57.2 41 50
1JH9-24-480GNZ | 1.7/8"X12 M48X2 0446X29 | 625 | 625 48 55

v PRS0 51S0 6149-17 I ULEL# . Note: F thread end fit with 1ISO 6149-1 port.

C-72

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

L
A B
% 1JM
74°© W1 L 60
\ JICHMBELT4°5h 48 1/ABISMBEL60° PO
< JIC MALE 74° CONE / METRIC MALE 60° SEAT

i B i £ THREAD R~ DIMENSIONS
PART NO. E E A B L S
1JM-04-10Z 7/16"X20 M10X1 14 8 29 14
1JM-04-12Z2 7/16"X20 M12X1.5 14 10 3l 17
1JM-04-14Z 7/16"X20 M14X1.5 14 1" 32 19
1JM-05-10Z 1/2"X20 M10X1 14 8 29 14
1JM-05-12Z 1/2"X20 M12X1.5 14 10 30 17
1JM-05-14Z 1/2"X20 M14X1.5 14 1 32 19
1JM-06-12Z 9/16"X18 M12X1.5 141 10 31 17
1JM-06-14Z 9/16"X18 M14X1.5 141 11 33 19
1JM-06-16Z 9/16"X18 M16X1.5 141 12 35 22
1JM-06-18Z 9/16"X18 M18X1.5 14.1 12 34 24
1JM-08-16Z 3/4"X16 M16X1.5 16.7 12 375 22
1JM-08-18Z 3/4"X16 M18X1.5 16.7 12 36.5 24
1JM-08-20Z 3/4"X16 M20X1.5 16.7 14 41 27
1JM-08-22Z 3/4"X16 M22X1.5 16.7 14 41 27
1JM-10-20Z2 7/8"X14 M20X1.5 19.3 14 44 27
1JM-10-22Z2 7/8"X14 M22X1.5 19.3 14 43.5 27
1JM-10-26Z2 7/8"X14 M26X1.5 19.3 16 47.5 32
1JM-12-20Z2 1.1/16"X12 M20X1.5 21.9 14 47 30
1JM-12-22Z2 1.1/16"X12 M22X1.5 21.9 14 47 30
1JM-12-26Z2 1.1/16"X12 M26X1.5 21.9 16 50 32

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-73



11 E#EESL ADAPTER

L
N 1JM-WD
0777/57 )
74°(>'-U -AgH-160° ‘
\| JICHMBELTA NS | NI IMB SR 2
S1 JIC MALE 74° CONE / METRIC MALE
CAPTIVE SEAL

e #2 2 THREAD iz # CAPTIVE R s} DIMENSIONS
PART NO. E F Fih A B L S1
1JM-04-10WDZ 7/16"X20 M10X1 WD-B02 14 8 29.5 14
1JM-04-12WDZ 7/16"X20 M12X1.5 WD-M12 14 12 34 17
1JM-05-14WDZ 1/2"X20 M14X1.5 WD-M14 14 12 34 19
1JM-06-14WDZ 9/16"X18 M14X1.5 WD-M14 14 1 12 34 19
1JM-06-18WDZ 9/16"X18 M18X1.5 WD-M18 141 12 36.5 24
1JM-06-20WDZ 9/16"X18 M20X1.5 WD-M20 141 14 40.5 27
1JM-08-18WDZ 3/4"X16 M18X1.5 WD-M18 16.7 12 39 24
1JM-08-20WDZ 3/4"X16 M20X1.5 WD-M20 16.7 14 43 27
1JM-08-22WDZ 3/4"X16 M22X1.5 WD-M22 16.7 14 43.5 27
1JM-10-18WDZ 7/8"X14 M18X1.5 WD-M18 19.3 12 41.5 24
1JM-10-20WDZ 7/8"X14 M20X1.5 WD-M20 19.3 14 455 27
1JM-10-22WDZ 7/8"X14 M22X1.5 WD-M22 19.3 14 46 27
1JM-12-20WDZ 1.1/16"X12 M20X1.5 WD-M20 21.9 14 48.5 30
1JM-12-22WDZ 1.1/16"X12 M22X1.5 WD-M22 21.9 14 49 30
1JM-12-26WDZ 1.1/16"X12 M26X1.5 WD-B12 21.9 16 52 32
1JM-12-27WDZ 1.1/16"X12 M27X2 WD-B12 21.9 16 52 32
1JM-16-26WDZ 1.5/16"X12 M26X1.5 WD-B12 23.1 16 53 36
1JM-16-33WDZ 1.5/16"X12 M33X2 WD-B16 23.1 18 56 41
1JM-20-42WDZ 1.5/8"X12 M42X2 WD-B20 24.3 20 62 50
1JM-20-48WDZ 1.5/8"X12 M48X2 WD-B24 24.3 22 64 59
1JM-24-48WDZ 1.7/8"X12 M48X2 WD-B24 27.5 22 67.5 55

C-74 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

L
A B
—17 1JN
27
& <> . \l T ﬂ JICHMBE 745Nt | Tt IMBLL
; JIC MALE 74° CONE /NPT MALE
si \F

A= 12 2L THREAD JR 5+ DIMENSIONS
PART NO. E F A B L S1
1JN-02Z 5/16"X24 Z1/8"X27 1.4 10.5 28 12
1JN-04-02Z 7/16"X20 Z1/8"X27 14 10.5 31 12
1JN-04Z 7/16"X20 Z1/4"X18 14 15 36.2 17
1JN-04-06Z 7/16"X20 Z3/8"X18 14 15 36.2 19
1JN-04-08Z 7/16"X20 Z1/2"X14 14 19.5 415 24
1JN-05-02Z 1/2"X20 Z1/8"X27 14 10.5 31 14
1JN-05-04Z 1/2"X20 Z1/4"X18 14 15 36.2 17
1JN-05-06Z 1/2"X20 Z3/8"X18 14 15 36.2 19
1JN-05-08Z 1/2"X20 Z1/2"X14 14 19.5 415 24
1JN-06-04Z 9/16"X18 Z1/4"X18 14.1 15 34.5 17
1JN-06Z 9/16"X18 Z3/8"X18 141 15 36.3 19
1JN-06-08Z 9/16"X18 Z1/2"X14 14.1 19.5 415 24
1JN-08-04Z 3/4"X16 Z1/4"X18 16.7 15 38.9 22
1JN-08-06Z 3/4"X16 Z3/8"X18 16.7 15 38.9 22
1JN-08Z 3/4"X16 Z1/2"X14 16.7 19.5 44 24
1JN-08-12Z 3/4"X16 Z3/4"X14 16.7 19.5 46.5 30
1JN-10-06Z 7/8"X14 Z3/8"X18 19.3 15 43.2 24
1JN-10-08Z 7/8"X14 Z1/2"X14 19.3 19.8 48 24
1JN-10-12Z 7/8"X14 Z3/4"X14 19.3 19.5 49 30
1JN-12-08Z 1.1/16"X12 | Z1/2"X14 21.9 19.8 52.3 30
1JN-12Z 1.1/16"X12 | Z3/4"X14 21.9 19.5 52.3 30
1JN-12-16Z 1.1/16"X12 | Z1"X11.5 21.9 24.6 57.2 36
1JN-12-20Z 1.1/16"X12 [Z1.1/4"X11.5 21.9 26.5 61 46
1JN-14-12Z 1.3/16"X12 | Z3/4"X14 22.6 19.8 53.1 32
1JN-16-12Z 1.5/16"X12 | Z3/4"X14 23.1 19.8 53.5 36
1JN-16Z 1.5/16"X12 | Z1"X11.5 231 24.6 58.4 36
1JN-16-20Z 1.5/16"X12 |Z1.1/4"X11.5 231 254 61 46
1JN-16-24Z 1.5/16"X12 |Z21.1/2"X11.5 23.1 27.5 65.5 50
1JN-20-16Z 1.5/8"X12 Z1"X11.5 24.3 24.6 61 46
1JN-20Z 1.5/8"X12 |Z1.1/4"X11.5 24.3 254 62.2 46
1JN-20-247 1.5/8"X12 [Z1.1/2"X11.5 24.3 26.2 64.9 50
1JN-24-20Z 1.7/8"X12 [Z21.1/4"X11.5 27.5 254 67.5 50
1JN-24Z 1.7/8"X12 [Z21.1/2"X11.5 27.5 26.2 68.1 50
1JN-24-327 1.7/8"X12 Z2"X11.5 27.5 27.5 72 65
1JN-32Z 2.1/2"X12 Z2"X11.5 33.9 26.9 79 65
1JN-32-20Z 2.1/2"X12 |Z1.1/4"X11.5 33.9 26.5 77.5 65
1JN-32-24Z 2.1/2"X12 |Z1.1/2"X11.5 33.9 27.5 78.5 65

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-75



11 E#EESL ADAPTER

F —
=
! m
I ! 1JN9-L
I
A4t JICHMBELTASNE | A R SMRL 00°5
JIC MALE 74° CONE / LONG NPT MALE 90° ELBOW
®RE 1% 4L THREAD JR s} DIMENSIONS
PART NO. E F A B S1
1JN9-04-02LZ 7/16"X20 Z1/8"X27 24.5 30 11
1JN9-04LZ 7/16"X20 Z1/4"X18 26.6 40.1 14
1JN9-05-02L.Z 1/2"X20 Z1/8"X27 26.6 31 14
1JN9-05-04LZ 1/2"X20 Z1/4"X18 26.6 40.1 14
1JN9-06-04LZ 9/16"X18 Z1/4"X18 26.9 40.1 14
1JN9-06-08LZ 9/16"X18 Z1/2"X14 32 55.1 22
1JN9-08-06LZ 3/4"X16 Z3/8"X18 32 46.2 19
1JN9-08LZ 3/4"X16 Z1/2"X14 34.8 55.1 22
1JN9-10-08LZ 7/8"X14 Z1/2"X14 37.8 55.1 22
1JN9-12-08LZ 1.1/16"X12 | Z1/2"X14 44.2 56.9 27
1IN9-12LZ 1.1/16"X12 | Z3/4"X14 44.2 62 27
1JN9-16-12LZ 1.5/16"X12 | Z3/4"X14 49 69.9 33
1JN9-16LZ 1.5/16"X12 | zZ1"X11.5 49 76.5 33
1JN9-20LZ 1.5/8"X12 [Z1.1/4"X11.5 5.5 93.7 41
1IN9-24L.Z 1.7/8"X12 [Z1.1/2"X11.5 62.5 | 104.1 48
1JN9-32LZ 2.1/2"X12 Z2"X11.5 78 122.2 63
F
=
@ 1JN9-LL
74°0>Wi e JICHMBL74° Mt | KT EE /MBS 90° T
A >@ JIC MALE 74° CONE / LONGER NPT MALE 90° ELBOW
®RE 12 2 THREAD JX s} DIMENSIONS
PART NO. E E A B S1
1JN9-04-02LLZ 7/16"X20 Z1/8"X27 24.5 39.6 11
1JN9-04LLZ 7/16"X20 Z1/4"X18 26.6 52.6 14
1JN9-05-04LLZ 1/2"X20 Z1/4"X18 26.6 52.6 14
1JN9-06-04LLZ 9/16"X18 Z1/4"X18 26.9 52.6 14
1JN9-06LLZ 9/16"X18 Z3/8"X18 30 61.5 19
1JN9-08-06LLZ 3/4"X16 Z3/8"X18 32 61.5 19
1JN9-10-08LLZ 7/8"X14 Z1/2"X14 37.8 72.9 22
1IN9-12LLZ 1.1/16"X12 | Z3/4"X14 44.2 83.3 27
1JN9-16LLZ 1.5/16"X12 | Z1"X11.5 49 102.9 33
1JN9-20LLZ 1.5/8"X12 [Z1.1/4"X11.5 55.5 127 41
1IN9-24LLZ 1.7/8"X12 [Z1.1/2"X11.5 62.5 141 48
1JN9-32LLZ 2.1/2"X12 Z2"X11.5 78 168.4 63

C-76 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

1JN9

JICHMRAI7A5ME | ThtEEIMRL 90° &
JIC MALE 74° CONE / NPT MALE 90° ELBOW

A
= 12 2L THREAD JX s} DIMENSIONS
PART NO. E F A B S1
1JN9-02Z 5/16"X24 Z1/8"X27 21 21 11
1JN9-03-02Z 3/8"X24 Z1/8"X27 22 21 11
1JN9-04Z 7/16"X20 Z1/4"X18 25.6 255 14
1JN9-04-02Z 7/16"X20 Z1/8"X27 24.5 21 11
1JN9-04-06Z 7/16"X20 Z3/8"X18 29.5 31 19
1JN9-05-02Z 1/2"X20 Z1/8"X27 26.6 23.5 14
1JN9-05-04Z 1/2"X20 Z1/4"X18 25.6 25.5 14
1JN9-05-06Z 1/2"X20 Z3/8"X18 29.5 31 19
1JN9-06Z 9/16"X18 Z3/8"X18 29 31 19
1JN9-06-04Z 9/16"X18 Z1/4"X18 25.8 255 14
1JN9-06-08Z 9/16"X18 Z1/2"X14 32 36.7 22
1JN9-08Z 3/4"X16 Z1/2"X14 34.8 8IS 22
1JN9-08-04Z 3/4"X16 Z1/4"X18 32 28.5 19
1JN9-08-06Z 3/4"X16 Z3/8"X18 32 31 19
1JN9-08-12Z 3/4"X16 Z3/4"X14 37.9 44 27
1JN9-10-06Z 7/8"X14 Z3/8"X18 37.8 325 22
1JN9-10-08Z 7/8"X14 Z1/2"X14 37.8 37.3 22
1JN9-10-12Z 7/8"X14 Z3/4"X14 41 44 27
1JN9-10-16Z 7/8"X14 Z1"X11.5 445 50 33
1JN9-12Z 1.1/16"X12 | Z3/4"X14 44.2 44 27
1JN9-12-08Z 1.1/16"X12 | Z1/2"X14 44 .2 40 27
1JN9-12-16Z 1.1/16"X12 | Z1"X11.5 49 50 3
1JN9-12-20Z 1.1/16"X12 |Z1.1/4"X11.5 52.5 54.5 41
1JN9-14-12Z 1.3/16"X12 | Z3/4"X14 47.5 45 30
1JN9-14-16Z 1.3/16"X12 | Z1"X11.5 48.5 50 33
1JN9-16Z 1.5/16"X12 | zZ1"X11.5 49 50 89
1JN9-16-12Z 1.5/16"X12 | Z3/4"X14 49 51 33
1JN9-16-20Z 1.5/16"X12 [Z1.1/4"X11.5 54 60.5 41
1JN9-16-24Z 1.5/16"X12 |Z1.1/2"X11.5 58 63 48
1JN9-20Z 1.5/8"X12 |Z1.1/4"X11.5 5515 54.5 41
1JN9-20-16Z 1.5/8"X12 Z1"X11.5 55.5 59.6 41
1JN9-20-247 1.5/8"X12 |Z1.1/2"X11.5 59.4 63 48
1JN9-24Z 1.7/8"X12 [Z21.1/2"X11.5 62.5 63 48
1JN9-24-20Z 1.7/8"X12 [Z1.1/4"X11.5 62.5 63 48
1JN9-32-24Z 2.1/2"X12 |Z1.1/2"X11.5 75.4 67.5 63
1JN9-32Z 2.1/2"X12 Z2"X11.5 75.4 67.5 63

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-77



11 E#EESL ADAPTER

L
A 5 1JO
7 S5 JICHNEL 745N | SAE
O ST E——T MBSO BER RTINSO 11926-3
1 1 JIC MALE 74° CONE / SAE O-RING
S1 BOSS L-SERIES ISO 11926-3
T 12 2{ THREAD OJFFE O-RING 7~ DIMENSIONS
PART NO. E F F i A B L S1
1J0-04-02Z 7/16"X20 5/16"X24 0902 14 95 27.5 12
1J0-04-03Z 7/16"X20 3/8"X24 0903 14 7.54 27.5 14
1J0-04Z2 7/16"X20 7/16"X20 0904 14 9.1 31 14
1J0O-04-05Z 7/16"X20 1/2"X20 0905 14 91 31 17
1J0-04-06Z 7/16"X20 9/16"X18 0906 14 10 32.7 17
1J0O-04-08Z 7/16"X20 3/4"X16 0908 14 1.1 33 22
1J0O-05Z2 1/2"X20 1/2"X20 0905 14 9.1 31 17
1J0O-05-04Z7 1/2"X20 7/16"X20 0904 14 9.1 31 14
1J0O-05-06Z 1/2"X20 9/16"X18 0906 14 10 32.7 17
1J0O-05-08Z 1/2"X20 3/4"X16 0908 14 1.1 34.7 22
1J0O-06Z 9/16"X18 9/16"X18 0906 14 1 10 33 17
1J0-06-04Z 9/16"X18 7/16"X20 0904 14 1 9.1 32.2 17
1J0O-06-05Z 9/16"X18 1/2"X20 0905 14 1 9.1 32.2 17
1J0O-06-08Z 9/16"X18 3/4"X16 0908 14 1 1.1 33 22
1J0-06-10Z 9/16"X18 7/18"X14 0910 141 12.7 37.9 27
1J0-06-12Z2 9/16"X18 1.1/16"X12 0912 14 1 15.1 40 32
1J0O-08Z2 3/4"X16 3/4"X16 0908 16.7 1.1 375 22
1J0O-08-04Z7 3/4"X16 7/16"X20 0904 16.7 9.1 36.2 22
1J0O-08-06Z 3/4"X16 9/16"X18 0906 16.7 9.93 37 22
1J0O-08-10Z 3/4"X16 7/8"X14 0910 16.7 12.7 40.5 27
1J0O-08-12Z2 3/4"X16 1.1/16"X12 0912 16.7 151 447 32
1J0O-08-14Z 3/4"X16 1.3/16"X12 0914 16.7 151 43 36
1J0O-10Z 7/18"X14 7/18"X14 0910 19.3 12.7 43 27
1JO-10-08Z 7/8"X14 3/4"X16 0908 19.3 1.1 41.5 24
1JO-10-12Z 7/8"X14 1.1/16"X12 0912 19.3 15.1 47 .2 32
1J0O-10-14Z 7/18"X14 1.3/16"X12 0914 19.3 15.1 455 36
1J0-12Z2 1.1/16"X12 1.1/16"X12 0912 21.9 15.1 50 32
1J0O-12-08Z 1.1/16"X12 3/4"X16 0908 21.9 1.1 49.2 30
1J0-12-10Z 1.1/16"X12 7/18"X14 0910 21.9 12.7 50.8 30
1J0-12-14Z 1.1/16"X12 1.3/16"X12 0914 21.9 151 48 36
1J0O-12-16Z 1.1/16"X12 1.5/16"X12 0916 21.9 15.1 48 38
1J0O-14Z 1.3/16"X12 1.3/16"X12 0914 22.6 151 50.5 36
1J0-14-12Z2 1.3/16"X12 1.1/16"X12 0912 22.6 15.1 48.5 32
1J0O-14-16Z 1.3/16"X12 | 1.5/16"X12 0916 22.6 15.1 50.5 38
1JO-16Z 1.5/16"X12 1.5/16"X12 0916 231 15.1 49 38
1J0-16-12Z2 1.5/16"X12 1.1/16"X12 0912 23.1 15.1 52 36
1J0-16-14Z 1.5/16"X12 1.3/16"X12 0914 23.1 151 49 36
1J0O-16-20Z 1.5/16"X12 1.5/8"X12 0920 23.1 15.1 52.7 50
1J0-20Z2 1.5/8"X12 1.5/8"X12 0920 24.3 15.1 55 50
1J0-20-16Z 1.5/8"X12 1.5/16"X12 0916 24.3 151 56.5 46
1J0-20-24Z7 1.5/8"X12 1.7/8"X12 0924 24.3 15.1 56.8 55
1J0-24Z 1.7/8"X12 1.7/8"X12 0924 27.5 15.1 60 565
1J0-24-20Z 1.7/8"X12 1.5/8"X12 0920 27.5 15.1 64.1 50
1J0-24-327 1.7/18"X12 2.1/2"X12 0932 27.5 15.1 64.1 70
1J0-32Z 2.1/2"X12 2.1/2"X12 0932 33.9 15.1 70.5 70

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

S2 ' &
& 1J04-0G
= 2 JICHMES74° 5N | SAESMBLIOT
A T\t 2 ZR51SO 11926-3 45° &
JIC MALE 74° CONE / SAE O-RING BOSS

L-SERIES ISO 11926-3 45° ELBOW
B #2 47 THREAD OJFE O-RING R~} DIMENSIONS
PART NO. E F Fifi A B S1 S2
1J04-040GZ 7/16"X20 | 7/16"X20 0904 21 24 1 17
1J04-04-060GZ | 7/16"X20 | 9/16"X18 0906 223 | 275 14 19
1J04-04-080GZ | 7/16"X20 3/4"X16 0908 235 | 315 19 24
1J04-050GZ 1/2"X20 1/2"X20 0905 22 26.7 14 17
1J04-05-040GZ 1/2"X20 7/16"X20 0904 22.3 26 14 17
1J04-060GZ 9/16"X18 | 9/16"X18 0906 235 28 14 19
1J04-06-040GZ | 9/16"X18 | 7/16"X20 0904 22.8 26 14 17
1J04-06-050GZ | 9/16"X18 1/2"X20 0905 228 | 265 14 17
1J04-06-080GZ | 9/16"X18 3/4"X16 0908 25 325 19 24
1J04-06-100GZ | 9/16"X18 7/8"X14 0910 255 | 385 22 27
1J04-080GZ 3/4"X16 3/4"X16 0908 258 | 325 19 24
1J04-08-060GZ 3/4"X16 9/16"X18 0906 255 28 19 19
1J04-08-100GZ 3/4"X16 7/8"X14 0910 28 38.7 22 27
1J04-08-120GZ 3/4"X16 | 1.1/16"X12 0912 30 43.9 27 32
1J04-100GZ 7/8"X14 7/8"X14 0910 295 | 387 22 27
1J04-10-080GZ 7/8"X14 3/4"X16 0908 29.5 33 22 27
1J04-10-120GZ 7/8'X14 | 1.1/16"X12 0912 33 43.9 27 32
1J04-120GZ 1.1/16"X12 | 1.1/16"X12 0912 34 435 27 32
1J04-12-100GZ | 1.1/16"X12 |  7/8"X14 0910 34 42 27 27
1J04-12-160GZ | 1.1/16"X12 | 1.5/16"X12 0916 37 455 33 41
1J04-140GZ 1.3/16"X12 | 1.3/16"X12 0914 37 44 30 36
1J04-160GZ 1.5/16"X12 | 1.5/16"X12 0916 38 455 33 41
1J04-16-120GZ | 1.5/16"X12 | 1.1/16"X12 0912 38 45 33 32
1J04-16-200GZ | 1.5/16"X12 | 1.5/8"X12 0920 40.5 47 41 50
1J04-200GZ 1.5/8"X12 | 1.5/8"X12 0920 42 485 41 50
1J04-20-240GZ | 1.5/8"X12 | 1.7/8"X12 0924 46 50 48 55
1J04-240GZ 1.7/8"X12 | 1.7/8"X12 0924 48 50 48 55
1J04-320GZ 2.1/2"X12 | 2.1/2"X12 0932 58 54 63 70

v FIZZ0m 51S0 11926-19H D ILEC{EH . Note: F thread end fit with ISO11926-1 port.

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-79



11 E#EESL ADAPTER

1J09-OGL

4
EHIJICHMELL / MK SAESIMELH OFZ [
mlﬁ 12 Z7511SO 11926-3 90°Z%
. JIC MALE / LONG SAE O-RING BOSS
L -SERIES ISO 11926-3 90° ELBOW

L
SRRy

B #2 47 THREAD OJFE O-RING R~} DIMENSIONS
PART NO. E F Fifi A B S1 S2
1J09-040GLZ 7/16"X20 | 7/16"X20 0904 24.5 44 11 17
1J09-060GLZ 9/16"X18 | 9/16"X18 0906 269 | 528 14 19
1J09-080GLZ 3/4"X16 3/4"X16 0908 325 | 635 19 24
1J09-100GLZ 7/8"X14 7/8"X14 0910 37.8 | 734 22 27
1J09-120GLZ 1.1/16"X12 | 1.1/16"X12 0912 442 | 848 27 32
1J09-160GLZ 1.5/16"X12 | 1.5/16"X12 0916 49 94.5 33 41

E: FIZZ0R 51S0 11926-19H LR . Note: F thread end fit with ISO11926-1 port.

L
A B

7777

T
S1

1JO-L

hNAC EHIJICHMRLL 74°5h
§t / SAESMBELTHOFEIRR RSO 11926-3
LONG JIC MALE 74° CONE / SAE O-RING
BOSS L-SERIES ISO 11926-3

®Roe #2 4 THREAD OJ¥ 8 O-RING X~} DIMENSIONS
PART NO. E F Fii A B L S1
1J0-04LZ 7/16"X20 | 7/16"X20 0904 35 9.1 50.5 14
1J0-05LZ 1/2"X20 1/2"X20 0905 37 9.1 52.5 17
1J0-06L.Z 9/16"X18 | 9/16"X18 0906 39 99 | 555 17
1J0-08LZ 3/4"X16 3/4"X16 0908 48 11 | 675 22
1J0-10LZ 7/8"X14 7/8"X14 0910 53 12.7 76 27
1J0-12LZ 1.1/16"X12 | 1.1/16"X12 0912 63 15.1 89 32
1J0-16LZ 1.5/16"X12 | 1.5/16"X12 0916 72 15.1 | 100 38
1J0-20LZ 1.5/8"X12 | 1.5/8"X12 0920 88.1 | 15.1 118 50

VE: FIZ4um 51S0 11926-19H D ILE#EH . Note: F thread end fit with ISO11926-1 port.

C-80

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

i
=
L4 1J09-0G
| o

] EHIJICIMELL74°9M 5 | SAEIMEL OB

e (>4 | % %% 1S0 11926-3 90° &
=/ JIC MALE 74° CONE / SAE O-RING BOSS
A L-SERIES 1SO 11926-3 90° ELBOW

e i 2 THREAD OJ:lil O-RING < ~F DIMENSIONS
PART NO. E F F i A B S1 S2
1J09-04-030GZ 7/16"X20 3/8"X24 0903 24 .5 28 11 14
1J09-040GZ 7/16"X20 7/16"X20 0904 24.5 27.2 11 17
1J09-04-050GZ 7/16"X20 1/2"X20 0905 26.6 29.9 14 17
1J09-04-060GZ 7/16"X20 9/16"X18 0906 26.6 31.8 14 19
1J09-05-040GZ 1/2"X20 7/16"X20 0904 26.6 30 14 17
1J09-0560GZ 1/2"X20 1/2"X20 0905 26.6 29 14 17
1J09-05-060GZ 1/2"X20 9/16"X18 0906 26.6 31.8 14 19
1J09-06-040GZ 9/16"X18 7/16"X20 0904 26.9 30 14 17
1J09-06-050GZ 9/16"X18 1/2"X20 0905 26.9 29.9 14 17
1J09-060GZ 9/16"X18 9/16"X18 0906 26.9 31.8 14 19
1J09-06-080GZ 9/16"X18 3/4"X16 0908 30 36.8 19 24
1J09-08-040GZ 3/4"X16 7/16"X20 0904 32 33 19 17
1J09-08-060GZ 3/4"X16 9/16"X18 0906 33 33.5 19 19
1J09-080GZ 3/4"X16 3/4"X16 0908 33 36.8 19 24
1J09-08-100GZ 3/4"X16 7/8"X14 0910 34.8 44 22 27
1J09-08-120GZ 3/4"X16 1.1/16"X12 0912 37.9 51 27 32
1J09-10-080GZ 7/8"X14 3/4"X16 0908 38 40 22 27
1J09-100GZ 7/8"X14 7/8"X14 0910 37.8 44 22 27
1J09-10-120GZ 7/8"X14 1.1/16"X12 0912 41 51 27 32
1J09-12-080GZ 1.1/16"X12 3/4"X16 0908 45 44 27 24
1J09-12-100GZ 1.1/16"X12 7/8"X14 0910 44 .2 47 27 27
1J09-120GZ 1.1/16"X12 1.1/16"X12 0912 44 .2 51 27 32
1J09-12-160GZ 1.1/16"X12 1.5/16"X12 0916 47.8 54.5 33 41
1J09-140GZ 1.3/16"X12 1.3/16"X12 0914 47.5 53 30 36
1J09-14-160GZ 1.3/16"X12 1.5/16"X12 0916 48.5 545 33 41
1J09-16-120GZ 1.5/16"X12 1.1/16"X12 0912 48.8 54.5 33 32
1J09-16-140GZ 1.5/16"X12 1.3/16"X12 0914 49 56 33 36
1J09-160GZ 1.5/16"X12 1.5/16"X12 0916 48.8 545 33 41
1J09-16-200GZ 1.5/16"X12 1.5/8"X12 0920 53.8 59 41 50
1J09-20-160GZ 1.5/8"X12 1.5/16"X12 0916 55.5 59.5 41 41
1J09-200GZ 1.5/8"X12 1.5/8"X12 0920 55.3 59 41 50
1J09-20-240GZ 1.5/8" X12 1.7/8"X12 0924 59.4 63 48 59
1J09-240GZ 1.7/18"X12 1.7/18"X12 0924 62.5 63 48 55
1J09-320GZ 2.1/2"x12 2.1/2"x12 0932 80 76 63 70

vE: FIE8Um 5180 11926-17H HULEL# . Note: F thread end fit with 1ISO11926-1 port.

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-81




T ERESL ADAPTER

A ) A B
7 18
74°3W w £ 60
1IN | £HICHMBLITA Shei/ BAR KGNS
S1 JIC MALE 74° CONE/JIS GAS MALE
®Re §2 4 THREAD R~ DIMENSIONS
PART NO. E E A B L S
1JS-04Z 7/16"X20 | G1/4"X19 14 16 36 14
1JS-04-06Z 7/16"X20 | G3/8"X19 14 18 38 17
1JS-05-04Z 1/2"X20 G1/4"X19 14 16 36 14
1JS-05-06Z 1/2"X20 G3/8"X19 14 18 38 17
1JS-06Z 9/16"X18 | G3/8"X19 14.1 18 38 17
1JS-06-08Z 9/16"X18 | G1/2"X14 14.1 20 42 22
1JS-08-06Z 3/4"X16 G3/8"X19 16.7 18 425 22
1JS-08Z 3/4"X16 G1/2"X14 16.7 20 44.5 22
1JS-08-12Z 3/4"X16 G3/4"X14 16.7 22 48.5 30
1JS-10-08Z 7/8"X14 G1/2"X14 19.3 20 475 24
1JS-10-12Z 7/8"X14 G3/4"X14 19.3 22 51.5 30
1JS-12Z 1.1/16 “X12| G3/4"X14 21.9 22 54 30
1JS-12-16Z 1.1/16 “X12| G1"X11 21.9 24 57 36
1JS-16-12Z 1.5/16"X12 | G3/4"X14 23.1 22 56 36
1JS-16Z 1.5116"X12 |  G1"X11 23.1 24 58 36
1JS-16-20Z 1.5/16"X12 | G1.1/4"X11 23.1 27 63 46
1JS-20Z 1.5/8"X12 | G1.1/4"X11 24.3 27 64.5 46
1JS-20-24Z 1.5/8"X12 | G1.1/2"X11 24.3 27 66 50
c-82 EATON Winner i3 i&#%k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

1JT4-SP

KHIJICIMBELTAIMIE | FHEEIMBLL 45° 8
JIC MALE 74° CONE / BSPT MALE 45° ELBOW

= 12 4 THREAD JX sf DIMENSIONS

PART NO. E = A B S1
1JT4-04-02SPZ 7/16"X20 R1/8"X28 215 17 11
1JT4-04SPZ 7/16"X20 R1/4"X19 22.3 21 14
1JT4-04-06SPZ 7/16"X20 R3/8"X19 225 23 16
1JT4-04-08SPZ 7/16"X20 R1/2"X14 24.5 29.5 22
1JT4-05-02SPZ 1/2"X20 R1/8"X28 215 17.5 14
1JT4-05-04SPZ 1/2"X20 R1/4"X19 22.3 21 14
1JT4-05-06SPZ 1/2"X20 R3/8"X19 22.8 23 16
1JT4-06-02SPZ 9/16"X18 R1/8"X28 22.8 18 14
1JT4-06-04SPZ 9/16"X18 R1/4"X19 22.8 21 14
1JT4-06SPZ 9/16"X18 R3/8"X19 22 23 16
1JT4-06-08SPZ 9/16"X18 R1/2"X14 25 29.5 22
1JT4-08-04SPZ 3/4"X16 R1/4"X19 26.8 22 19
1JT4-08-06SPZ 3/4"X16 R3/8"X19 26.8 24 19
1JT4-08SPZ 3/4"X16 R1/2"X14 28 29.5 22
1JT4-08-12SPZ 3/4"X16 R3/4"X14 29 30.5 27
1JT4-10-06SPZ 7/8"X14 R3/8"X19 31 25 22
1JT4-10-08SPZ 7/8"X14 R1/2"X14 31 29.5 22
1JT4-10-12SPZ 7/8"X14 R3/4"X14 32 30.5 27
1JT4-12-08SPZ 1.1/16"X12 | R1/2"X14 35.5 30 27
1JT4-12SPZ 1.1/16"X12 | R3/4"X14 &35 30.5 27
1JT4-12-16SPZ 1.1/16"X12 R1"X11 375 38 33
1JT4-16-12SPZ 1.5/16"X12 | R3/4"X14 38.5 32.5 88
1JT4-16SPZ 1.5/16"X12 R1"X11 38.5 38 33
1JT4-16-20SPZ 1.5/16"X12 | R1.1/4"X11 42 43 41
1JT4-20-16SPZ 1.5/8"X12 R1"X11 43 42 41
1JT4-20SPZ 1.5/8"X12 | R1.1/4"X11 43 43 41
1JT4-20-24SPZ 1.5/8"X12 [ R1.1/2"X11 46 475 48
1JT4-24-20SPZ 1.7/8"X12 | R1.1/4"X11 49 455 48
1JT4-24SPZ 1.7/8"X12 | R1.1/2"X11 49 475 48
1JT4-32SPZ 2.1/2"X12 R2"X11 58 50 63

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-83



11 E#EESL ADAPTER

F 1
j7/ ™ 1JT9-SP
7 |
s O > EHIICIMBLTA SN | SHERSMBEL 90°
)@ JIC MALE 74° CONE / BSPT MALE 90° ELBOW
A
=" i 4 THREAD JUs} DIMENSIONS

PART NO. E = A B S1
1JT9-02SPZ 5/16"X24 R1/8"X28 20.5 21 1
1JT9-04-02SPZ 7/16"X20 R1/8"X28 24.5 21 11
1JT9-04SPZ 7/16"X20 R1/4"X19 26.6 25.5 14
1JT9-04-06SPZ 7/16"X20 R3/8"X19 27.5 28 16
1JT9-05-02SPZ 1/2"X20 R1/8"X28 26.6 23.5 14
1JT9-05-04SPZ 1/2"X20 R1/4"X19 26.6 25.5 14
1JT9-05-06SPZ 1/2"X20 R3/8"X19 27.5 28 16
1JT9-06-02SPZ 9/16"X18 R1/8"X28 26.9 23.5 14
1JT9-06-04SPZ 9/16"X18 R1/4"X19 26.9 25.5 14
1JT9-06SPZ 9/16"X18 R3/8"X19 28.5 28.5 16
1JT9-06-08SPZ 9/16"X18 R1/2"X14 32 36 22
1JT9-08-04SPZ 3/4"X16 R1/4"X19 32 28 19
1JT9-08-06SPZ 3/4"X16 R3/8"X19 32 30.5 19
1JT9-08SPZ 3/4"X16 R1/2"X14 34.8 36 22
1JT9-08-12SPZ 3/4"X16 R3/4"X14 37.9 43.5 27
1JT9-10-06SPZ 7/8"X14 R3/8"X19 38 32 22
1JT9-10-08SPZ 7/8"X14 R1/2"X14 37.8 36 22
1JT9-10-12SPZ 7/8"X14 R3/4"X14 41 43.5 27
1JT9-12-08SPZ 1.1/16"X12 R1/2"X14 44 .2 40 27
1JT9-12SPZ 1.1/16"X12 R3/4"X14 442 43.5 27
1JT9-12-16SPZ 1.1/16"X12 R1"X11 47.8 50 33
1JT9-16-12SPZ 1.5/16"X12 R3/4"X14 49 47.5 33
1JT9-16SPZ 1.5/16"X12 R1"X11 49 50 33
1JT9-16-20SPZ 1.5/16"X12 | R1.1/4"X11 54 56.5 41
1JT9-20-16SPZ 1.5/8"X12 R1"X11 55.5 56.5 41
1JT9-20SPZ 1.5/8"X12 R1.1/4"X11 5.5 56.5 41
1JT9-24-20SPZ 1.7/8"X12 R1.1/4"X11 62.5 61 48
1JT9-24SPZ 1.7/8"X12 R1.1/2"X11 62.5 62.5 48
1JT9-24-32SPZ 1.7/8"X12 R2"X11 74.5 67 63
1JT9-32SPZ 2.1/2"X12 R2"X11 75.4 67 63

C-84 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

A ‘L B 1JW
e ”77% _/ Y £ 41 CHMBLIT4° SN S Bt
L] ] JIC MALE 74° CONE/BUTT-WELD TUBE
XSt
it = # 4 THREAD J% <} DIMENSIONS
PART NO. B A B D L S1
1JW-06-14 9/16"X18 14 1 8 14 28 17
1JW-08-18 3/4"X16 16.7 10 18 35 22
1JW-12-22 1.1/16"X12 21.9 10 22 42 30
1JW-12-28 1.1/16"X12 21.9 12 28 44 30
1JW-16-28 1.5/16"X12 23 12 28 46 36
1JW-20-34 1.5/8"X12 24.3 14 34 51.5 46
1JW-32-60 2.1/2"X12 33.9 20 60 71 65
vE: FIZg051S0 11926-13h I ULEC{EH . Note: F thread end fit with ISO11926-1 port.

D
S 1 ®
IO e J 1JWO-IN
[, | |
A JICHMZRLL74° G e/ ZE~THI IR E 90°E
JIC MALE 74° CONE/INCH BUTT WELD 90° ELBOW
o ¥4 THREAD JBEEF A D X~ DIMENSIONS
PART NO. E WELD TUBE O.D D A B S1
1JW9-04IN 7/16"X20 1/4" 24.5 225 1"
1JW9-06IN 9/16"X18 3/8" 26.9 22.5 14
1JW9-08IN 3/4"X16 1/2" 32 25 19
1JW9-10IN 7/8"X14 5/8" 37.8 31 22
1JW9-12IN 1.1/16"X12 3/4" 44.2 34.5 27
1JW9-16IN 1.5/16"X12 1" 48.8 41 &3
1JW9-20IN 1.5/8"X12 1.1/4" 55.3 43 41
1JW9-24IN 1.7/8"X12 1.1/2" 62.5 53 48
VE LA R AL TN L AL T . Note: the body finish is phosphated

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-85



11 E#EESL ADAPTER

L
A B
BN\ 10-0G
w4 _ _ _ 1l
1 £ HISAESMBLIH OB BRSO 11926-3
S &2 SAE O-RING BOSS L-SERIES ISO 11926-3
2 i2 2 THREAD OJ¥ME O-RING ] < DIMENSIONS
PART NO. E F Eif Fif A B L S1 S2
10-040GZ 7116"X20 | 7/16"X20 0904 0904 9.1 18 33 14 17
10-04-060GZ 7/16"X20 | 9/16"X18 0904 0906 9.1 20 | 35.1 17 19
10-060GZ 9/16"X18 | 9/16"X18 0906 0906 993 | 20 36 17 19
10-06-080GZ 9/16"X18 | 3/4"X16 0906 0908 903 | 22 40 22 24
10-080GZ 3/4"X16 3/4"X16 0908 0908 113 | 22 40 22 24
10-08-120GZ 3/4"x16 | 1.1/16"X12 | 0908 0912 113 | 29 51 32 32
10-100GZ 7/8"X14 7/8"X14 0910 0910 127 | 26 46 27 27
10-120GZ 1.1/16"X12 | 1.116"X12 | 0912 0912 151 | 29 54 32 32
10-160GZ 1.5/16"X12 | 1.5/16"X12 | 0916 0916 151 | 29 54 38 41
10-200GZ 1.5/8"X12 | 1.5/8"X12 0920 0920 151 | 29 54 50 50
10-240GZ 1.7/8"X12 | 1.7/8"X12 0924 0924 151 | 29 54 55 55
P 5ISO 11926-13 LR/ . Note: fit with 1ISO11926-1 port.
L B
LA o e
2GJ
w| |- I TR 78
| | HEIMBLLOR B CIIRET4° IHETE
S1 \S2 BSP MALE O-RING/JIC FEMALE 74° SEAT
® B i £ THREAD OJ¥ [ O-RING /< DIMENSIONS
PART NO. E F E A B L S1 S2
2GJ-04Z G1/4"X19 | 7/16"X20 o111 9.1 9 265 | 19 14
2GJ-04-05Z G1/4"X19 | 1/2"X20 o111 9.1 9.5 27 19 17
2GJ-04-06Z G1/4"X19 | 9/16"X18 o111 9.1 10 27 19 19
2GJ-06Z G3/8"X19 | 9/16"X18 0113 9.6 10 | 295 | 24 19
2GJ-06-08Z G3/8"X19 | 3/4"X16 0113 9.6 11 | 315 | 24 22
2GJ-08Z G1/2"X14 | 3/4"X16 |017.86X2.62 12.1 1 36 27 22
2GJ-08-06Z G1/2"X14 | 9/16"X18 |017.86X2.62 121 | 10 | 355 | 27 19
2GJ-08-10Z G1/2"X14 | 7/8"X14 | 017.86X2.62 121 | 13 | 365 | 27 27
2GJ-12Z G3/4"X14 | 1.1/16"X12 0119 126 | 145 | 39 36 32
2GJ-12-08Z G3/4"X14 | 3/4"X16 0119 126 | 1 38 36 22
2GJ-12-10Z G3/4"X14 | 7/8"X14 0119 126 | 13 39 36 27
2GJ-12-16Z G3/4"X14 | 1.5/16"X12 0119 126 | 15.18 | 40 36 41
2GJ-16Z G1"X11 | 1.5/16"X12 0217 16.7 | 15.18 | 45 41 41
2GJ-20Z G1.1/4"X11 | 1.5/8"X12 0222 181 | 161 | 53 50 50
2GJ-24Z G1.1/2"X11 | 1.7/8"X12 0224 196 | 186 | 57 60 60
VE: EME4Um51SO 1179-13 I VCELA# . Note: E thread end fit with ISO1179-1 port.

C-86 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

74°(>Lu

2J

EHIJICIMEL74°5ME / JICPIRE74° P HE
JIC MALE 74°CONE / JIC FEMALE 74° SEAT

®Re 12 4 THREAD R~ DIMENSIONS
PART NO. E F A B L S1 S2
2J-04Z 7/16"X20 7/16"X20 14 9 28 12 14
2J-04-05Z 7/16"X20 1/2"X20 14 95 | 285 12 17
2J-04-06Z 7/16"X20 9/16"X18 14 10 28.5 14 19
2J-04-08Z 7/16"X20 3/4"X16 14 11 30.5 19 22
2J-05Z 1/2"X20 1/2"X20 14 9.5 28.5 14 17
2J-05-06Z 1/2"X20 9/16"X18 14 10 28.5 14 19
2J-05-08Z 1/2"X20 3/4"X16 14 11 30.5 19 22
2J-06Z 9/16"X18 | 9/16"X18 14.1 10 29 17 19
2J-06-08Z 9/16"X18 3/4'X16 14.1 11 31 19 22
2J-06-10Z 9/16"X18 7/8"X14 14.1 13 33.5 22 27
2J-08Z 3/4"X16 3/4"X16 16.7 11 36 22 22
2J-08-06Z 3/4"X16 9/16"X18 16.7 10 34 22 19
2J-08-10Z 3/4"X16 7/8"X14 16.7 13 36.5 22 27
2J-08-12Z 3/4"X16 | 1.1/16"X12 16.7 | 145 | 395 27 32
2J-10Z 7/8"X14 7/8"X14 19.3 13 39 24 27
2J-10-08Z 7/8"X14 3/4"X16 19.3 11 38 24 22
2J-10-12Z 7/8"X14 | 1.1/16"X12 19.3 | 145 42 27 32
2J-127 1.1/16"X12 | 1.1/16"X12 219 | 145 | 445 30 32
2J-12-10Z 1.1/16"X12 | 7/8"X14 21.9 13 435 30 27
2J-12-16Z 1.1/16"X12 | 1.5/16"X12 219 | 15.18 | 455 36 41
2J-16Z 1.5/16"X12 | 1.5/16"X12 231 | 1518 | 465 36 41
2J-16-20Z 1.5/16"X12 | 1.5/8"X12 231 | 16.1 53 41 50
2J-20Z 1.5/8"X12 | 1.5/8"X12 243 | 16.1 54 46 50
2J-20-24Z 1.5/8"X12 | 1.7/8"X12 243 | 186 | 555 46 60
2J-24Z 1.7/18"X12 | 1.7/8"X12 275 | 186 61 50 60
2J-24-32Z 1.7/18"X12 | 2.1/2"X12 275 | 238 62 65 75
2J-32Z 2.1/2"X12 | 2.1/2"X12 339 | 238 | 69.5 65 75
EATON Winner i3 &%k H-AP-EHGC-2011-C Mar 2014 C-87



T ERESL ADAPTER

2J4

***** , EHIJICHMBLIT4° 5 | JICRIRLI 74 HE 45°5
JIC MALE 74°CONE / JIC FEMALE 74° SEAT 45° ELBOW

E,

74° 0

\s1
A

B #2 47 THREAD R~} DIMENSIONS
PART NO. E F A B S1 S2
2J4-04Z 7/16"X20 | 7/16"X20 215 9 1 14
2J4-05Z 1/2"X20 1/2"X20 22 9.5 14 17
2J4-06Z 9/16"X18 | 9/16"X18 22.8 10 14 19
2J4-08Z 3/4"X16 3/4"X16 26.8 11 19 22
2J4-10Z 7/8"X14 7/8"X14 31 13 22 27
2J4-127 1.1/16"X12 | 1.1/16"X12 355 | 145 27 32
2J4-147 1.3/16"X12 | 1.3/16"X12 37 15 30 36
2J4-16Z 1.5/16"X12 | 1.5/16"X12 385 | 1518 | 33 41
2J4-20Z 1.5/8"X12 | 1.5/8"X12 43 | 1618 | 41 50
2J4-247 1.7/8"X12 | 1.7/8"X12 49 | 1867 | 48 60
2J4-327 2.1/2'X12 | 2.1/2"X12 58 23.9 63 75

C-88

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

2J9

E&HIJICHMELI 749N | JICHIESI74° A $E 90°Z5

JIC MALE 74°CONE / JIC FEMALE 74° SEAT 90° ELBOW

B #2 47 THREAD R~} DIMENSIONS
PART NO. E F A B S1 S2
2J9-02Z 5/16"X24 | 5/16"X24 21 5.6 1 12
2J9-03Z 3/8"X24 3/8"X24 22 5 11 14
2J9-04Z 7/16"X20 | 7/16"X20 245 11 14
2J9-05Z 1/2"X20 1/2"X20 265 | 95 14 17
2J9-06Z 9/16"X18 | 9/16"X18 269 | 105 14 19
2J9-06-08Z 9/16"X18 3/4"X16 28.5 11 16 22
2J9-08-06Z 3/4"X16 9/16"X18 32 10 19 19
2J9-08Z 3/4"X16 3/4"X16 33 11 19 22
2J9-08-10Z 3/4"X16 7/8"X14 32 13 19 27
2J9-10Z 7/8"X14 7/8"X14 37.8 13 22 27
2J9-10-08Z 7/8"X14 3/4"X16 37.8 11 22 22
2J9-10-12Z 7/8"X14 | 1.1/16"X12 395 | 145 24 32
2J9-127 1.1/16"X12 | 1.1/16"X12 442 | 145 27 32
2J9-12-10Z 1.1/16"X12 |  7/8"X14 44.2 13 27 27
2J9-12-16Z 1.116"X12 | 1.5/16"X12 46 | 1518 | 30 41
2J9-147 1.3/16"X12 | 1.3/16"X12 475 15 30 36
2J9-16Z 1.5/16"X12 | 1.5/16"X12 488 | 1518 | 33 41
2J9-16-20Z 1.5116"X12 | 1.5/8"X12 54 | 16.18 | 41 50
2J9-20-16Z 1.5/8"X12 | 1.5/16"X12 55.5 | 15.18 | 41 41
2J9-20Z 1.5/8"X12 | 1.5/8"X12 555 | 16.18 | 41 50
2J9-20-24Z 1.5/8"X12 | 1.7/8"X12 59.5 | 18.67 | 48 60
2J9-24-20Z 1.7/8"X12 | 1.5/8"X12 62.5 | 16.68 | 48 50
2J9-247 1.7/8"X12 | 1.7/8"X12 62.5 | 18.67 | 48 60
2J9-32Z 2.1/2"X12 | 2.1/2"X12 755 | 23.9 63 75

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-89




11 E#EESL ADAPTER

L B
A 2JB
74° > w -\H— — w)60° JICHMBE74° Mt/ B FIRA60° M
JIC MALE 74° CONE/BSP FEMALE 60° CONE
S1 s2
B #2 47 THREAD R~} DIMENSIONS
PART NO. E F A B L S1 S2
2JB-04Z 7/16"X20 | G1/4"X19 14 55 31 12 19
2JB-04-02Z 7/16"X20 | G1/8"X28 14 55 29 14 14
2JB-04-06Z 7/16"X20 | G3/8"X19 14 63 | 325 17 22
2JB-05-02Z 1/2"X20 G1/8"X28 14 55 29 14 14
2JB-05-04Z 1/2"X20 G1/4"X19 14 55 31 14 19
2JB-06Z 9/16"X18 | G3/8"X19 14.1 63 | 325 17 22
2JB-06-04Z 9/16"X18 | G1/4"X19 14.1 55 31 17 19
2JB-06-08Z 9/16"X18 | G1/2"X14 14.1 75 34 19 27
2JB-08Z 3/4"X16 G1/2"X14 167 | 75 | 385 22 27
2JB-08-04Z 3/4"X16 G1/4"X19 167 | 55 | 355 22 19
2JB-08-06Z 3/4"X16 G3/8"X19 167 | 6.3 37 22 22
2JB-08-12Z 3/4"X16 G3/4"X14 16.7 | 10.9 42 27 32
2JB-10Z 7/8"X14 G5/8"X14 193 | 95 42 24 30
2JB-10-08Z 7/8"X14 G1/2"X14 193 | 75 41 24 27
2JB-12Z 1.1/16"X12 | G3/4"X14 21.9 | 109 47 30 32
2JB-12-08Z 1.116"X12 | G1/2"X14 219 | 75 46 30 27
2JB-12-16Z 1.1/16"X12 | G1"X11 21.9 | 1.7 | 495 32 41
2JB-16Z 1.5/16"X12 | G1"X11 231 | 1.7 51 36 41
2JB-20Z 1.5/8"X12 | G1.1/4"X11 243 | 10.1 57 46 50
2JB-20-16Z 1.5/8"X12 G1"X11 243 | 1.7 | 535 46 41
2JB-24Z 1.7/8"X12 | G1.1/2"X11 275 | 125 | 625 50 55
2JB-24-20Z 1.7/8"X12 | G1.1/4"X11 275 | 101 | 625 50 50

C-90

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

N

] |

2JF

JICHMELL74°5MfE/ORF SERLL
JIC MALE 74° CONE/ORFS FEMALE

74°<> w

B 12 4 THREAD R~} DIMENSIONS
PART NO. E F A B L S1 S2
2JF-04Z 7/16"X20 9/16X18 14 8.2 35.5 14 17
2JF-06Z 9/16"X18 | 11/16"X16 14.1 9 38.5 17 22
2JF-08Z 3/4"X16 13/16"X16 16.7 1 45 22 27
2JF-10Z 7/8"X14 1"X14 19.3 13 51.5 24 30
2JF-12Z 1.1/16"X12 | 1.3/16"X12 219 | 145 58 30 36
2JF-16Z 1.5/16"X12 | 1.7/16"X12 23.1 15 62 36 41
2JF-20Z 1.5/8"X12 | 1.11/16"X12 24.3 15 68.5 46 50
74°
F
o] N
s2
E e 2NJ9
| i
60 ( |y LI R SMBEUICRIRLLT4 I 90°%
‘ N St NPT MALE/JIC FEMALE 74° SEAT 90° ELBOW
e 12 4 THREAD X st DIMENSIONS
PART NO." E F A B S1 S2
2NJ9-02-04Z Z1/4"X18 7/16"X20 21 9 1 14
2NJ9-02-05Z Z1/4"X18 1/2"X20 21 9 1 17
2NJ9-04Z Z1/4"X18 7/16"X20 25.5 9 14 14
2NJ9-04-06Z Z1/4"X18 9/16"X18 25.5 10 14 19
2NJ9-06Z Z3/8"X18 9/16"X18 31 10 19 19
2NJ9-06-08Z Z3/8"X18 3/4"X16 31 1 19 22
2NJ9-08Z Z1/2"X14 3/4"X16 35.6 1 22 22
2NJ9-08-10Z Z1/2"X14 7/8"X14 35.6 12 22 27
2NJ9-08-12Z Z1/2"X14 | 1.1/16"X12 375 | 145 24 32
2NJ9-12Z Z3/4"X14 | 1.1/16"X12 44 14.5 27 32
2NJ9-12-08Z Z3/4"X14 3/4"X16 435 1 27 22
2NJ9-12-10Z Z3/4"X14 7/8"X14 435 12 27 27
2NJ9-16Z Z1"X11.5 | 1.5/16"X12 462 | 1518 | 33 41
2NJ9-16-14Z Z1"X11.5 | 1.3/16"X12 49 15 33 36
2NJ9-20Z Z1.1/4"X11.5| 1.5/8"X12 53 16.18 | 41 50
2NJ9-247 Z1.1/2"X11.5| 1.7/8"X12 59 18.6 48 60

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-91



11 E#EESL ADAPTER

L B
SR
2NJ
g WA
' o T HEEIMBLL/JICRIRLI 74 A HE
E S E NPT MALE/JIC FEMALE 74°SEAT
e i 2 THREAD R~} DIMENSIONS
PART NO. E F A B L S1 S2
2NJ-02-04Z Z1/8"X27 | 7/16"X20 10.5 9 245 12 14
2NJ-02-05Z Z1/8"X27 1/2"X20 105 | 95 25 12 17
2NJ-04Z Z1/4"X18 | 7/16"X20 15 9 29 17 14
2NJ-04-05Z Z1/4"X18 1/2"X20 15 95 | 295 17 17
2NJ-04-06Z Z1/4"x18 | 9/16"x18 15 10 29.5 17 19
2NJ-04-08Z Z1/4"X18 3/4"X16 15 11 31.5 19 22
2NJ-06Z Z3/8"X18 | 9/16"X18 15 10 30.5 19 19
2NJ-06-08Z Z3/8"X18 3/4"X16 15 11 325 19 22
2NJ-06-10Z 73/8"X18 7/8"X14 15 13 35 22 27
2NJ-08Z Z1/2"X14 3/4"X16 19.8 11 375 22 22
2NJ-08-06Z Z1/2"X14 | 9/16"X18 19.8 10 36 22 19
2NJ-08-10Z Z1/2"X14 7/8"X14 19.8 13 38 22 27
2NJ-08-12Z Z1/2"X14 | 1.1/16"X12 19.8 | 145 42 27 32
2NJ-12Z Z3/4"X14 | 1.1/16"X12 19.8 | 145 42 30 32
2NJ-12-08Z Z3/4"X14 3/4"X16 19.8 11 40 30 22
2NJ-12-10Z Z3/4"X14 7/8"X14 19.8 13 405 30 27
2NJ-12-16Z Z3/4"X14 | 1.5/16"X12 19.8 | 15.18 | 425 32 41
2NJ-16Z Z1"X11.5 | 1.5/16"X12 246 | 1518 | 48 36 41
2NJ-16-12Z Z1"X11.5 | 1.1/16"X12 246 | 145 49 36 32
2NJ-16-20Z Z1"X11.5 | 1.5/8"X12 246 | 16.1 55 41 50
2NJ-20Z Z1.1/4"X11.5| 1.5/8"X12 254 | 16.1 56 46 50
2NJ-20-24Z Z1.1/4"X11.5| 1.7/8"X12 254 | 186 58 46 60
2NJ-24-20Z Z1.1/2"X11.5| 1.5/8"X12 26.2 | 16.1 59 50 50
2NJ-247 Z1.1/2"X11.5| 1.7/8"X12 262 | 186 61 50 60

C-92

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

L B
A
20J
] | w| |74° e~ T/ . .
SAEIMEL O El/JICHIIRLL 74° A HE
SAE O-RING BOSS/JIC FEMALE 74° SEAT
S1 S2

e 12 2 THREAD OJFE O-RING J& ~} DIMENSIONS
PART NO. E F Esf A B L S1 S2
20J-04Z 7/16"X20 | 7/16"X20 | 8.92x1.83 9.1 9 23 14 14
20J-05Z 1/2"X20 1/2"X20 | 10.52x1.83 9.1 95 | 235 17 17
20J-05-04Z 1/2"X20 7/16"X20 | 10.52x1.83 9.1 9 23 17 14
20J-06Z 9/16"X18 | 9/16"X18 | 11.89x1.98 10 10 24.5 17 19
20J-06-04Z 9/16"X18 | 7/16"X20 | 11.89x1.98 10 9 24 17 14
20J-06-08Z 9/16"X18 3/4"X16 | 11.89x1.98 10 11 26 19 22
20J-08Z 3/4"X16 3/4"X16 | 16.36x2.21 11.1 11 29.5 22 22
20J-08-06Z 3/4"X16 9/16"X18 | 16.36x2.21 11.1 10 27.5 22 19
20J-08-10Z 3/4"X16 7/8'X14 | 19.18x2.46 11.1 13 30 22 27
20J-10Z 7/8"X14 7/8'X14 | 19.18x2.46 12.7 13 34 27 27
20J-10-08Z 7/8"X14 3/4"X16 | 19.18x2.46 12.7 11 33 27 22
20J-10-12Z 7/8'X14 | 1.1/16"X12 | 23.47x2.95 127 | 145 35 27 32
20J-127 1.1/16"X12 | 1.1/16"X12 | 23.47x2.95 151 | 145 | 385 32 32
20J-12-08Z 1.1/16"X12 | 3/4"X16 | 23.47x2.95 15.1 11 36.5 32 22
20J-12-10Z 1.1/16"X12 | 7/8"X14 | 23.47x2.95 15.1 13 37 32 27
20J-12-16Z 1.1/16"X12 | 1.5/16"X12 | 23.47x2.95 151 | 15.18 | 38.5 32 41
20J-14Z 1.3/16"X12 | 1.3/16"X12 | 26.62x2.95 15.1 15 38.5 36 36
20J-16Z 1.5/16"X12 | 1.5/16"X12 | 29.74x2.95 151 | 15.18 | 385 38 41
20J-16-12Z 1.5/16"X12 | 1.1/16"X12 | 29.74x2.95 151 | 145 | 385 38 32
20J-16-14Z 1.5/16"X12 | 1.3/16"X12 | 29.74x2.95 15.1 15 38.5 38 36
20J-16-20Z 1.5/16"X12 | 1.5/8"X12 | 37.46x3.00 151 | 16.18 | 42 41 50
20J-20Z 1.5/8"X12 | 1.5/8"X12 | 37.46x3.00 15.1 | 16.18 | 46.5 50 50
20J-247 1.7/8"X12 | 1.7/8"X12 | 43.69x3.00 151 | 18.6 48 55 60
20J-327 2.1/2"X12 | 2.1/2"X12 | 59.36X3.00 151 | 238 | 50.5 70 75

vE: EMRZUR SISO 11926-13 FIVLELf# . Note: E thread end fit with ISO11926-1 port.
EATON Winner i3 &%k H-AP-EHGC-2011-C Mar 2014 C-93




11 E#EESL ADAPTER

L B
A
dERRN 2TJ-SP
H BT IMAL/EZHIJICRRRL 74° N
% BSPT MALE/JIC FEMALE 74° SEAT
e i ¢ THREAD )<+ DIMENSIONS
PART NO. E F A B L S1 S2
2TJ-02-04SPZ R1/8"X28 | 7/16"X20 10.5 9 24 12 14
2TJ-04SPZ R1/4'X19 | 7/16"X20 14.5 9 28 14 14
2TJ-04-05SPZ R1/4'X19 1/2"X20 145 | 95 | 285 14 17
2TJ-04-06SPZ R1/4'X19 | 9/16"X18 14.5 10 28.5 14 19
2TJ-06-05SPZ R3/8"X19 1/2"X20 15 95 | 295 19 17
2TJ-06SPZ R3/8"X19 | 9/16"X18 15 10 29.5 17 19
2TJ-06-08SPZ R3/8"X19 3/4"X16 15 11 315 19 22
2TJ-08SPZ R1/2"X14 3/4"X16 20 11 37.5 24 22
2TJ-08-10SPZ R1/2"X14 7/8"X14 20 13 38 24 27
2TJ-08-12SPZ R1/2"X14 | 1.1/16"X12 20 145 | 425 27 32
2TJ-12SPZ R3/4"X14 | 1.1/16"X12 20 145 | 415 30 32
2TJ-12-16SPZ R3/4"X14 | 1.5/16"X12 20 | 15.18 | 445 32 41
2TJ-16SPZ R1"X11 1.5/16"X12 255 | 15.18 | 485 36 41
2TJ-20SPZ R1.1/4"X11 | 1.5/8"X12 265 | 16.1 55 46 50
2TJ-24SPZ R1.1/2"X11 | 1.7/8"X12 265 | 18.6 60 50 60
L
A
St 40N
L
SAESMZL A~ FEk
- SAE O-RING BOSS HOLLOW HEX PLUG
e i2 2 THREAD OJ¥ [ O-RING J <+ DIMENSIONS
PART NO. E Ejit A L St
40N-04Z 7/16"X20 8.92X1.83 9.1 1.5
40N-05Z 1/2"X20 10.52X1.83 9.1 1.5
40N-06Z 9/16"X18 11.89X1.98 929 | 122
40N-08Z 3/4"X16 16.36X2.21 1.1 | 143
40N-10Z 7/8"X14 19.18X2.46 12.7 16 10
40N-12Z 1.1/16"X12 23.47X2.95 15.1 19 14
40N-16Z 1.5/16"X12 29.74X2.95 15.1 19 16
40N-20Z 1.5/8"X12 37.46X3.00 15.1 19 19

E: EMESUR51S0 11926-1i M ILALff . Note: E thread end fit with ISO11926-1 port.

C-94

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




T ERESL ADAPTER

A L B

74° LuJ - | |74° - . )

EHIJICHMRLI74° A

JIC FEMALE 74° SEAT

S2 S3

®Re 12 4 THREAD R~ DIMENSIONS
PART NO. E F A B L S2 S3
3J-04Z 7/16"X20 7/16"X20 9 9 19 14 14
3J-04-05Z 7/16"X20 1/2"X20 9 95 | 205 14 17
3J-04-06Z 7/16"X20 9/16"X18 9 10 20.5 14 19
3J-05Z 1/2"X20 1/2"X20 9.5 9.5 21 17 17
3J-05-06Z 1/2"X20 9/16"X18 9.5 10 21 17 19
3J-06Z 9/16"X18 | 9/16"X18 10 10 21 19 19
3J-06-08Z 9/16"X18 3/4"X16 10 11 23 19 22
3J-08Z 3/4"X16 3/4"X16 11 11 26 22 22
3J-08-10Z 3/4"X16 7/8"X14 11 13 26.5 22 27
3J-08-12Z 3/4"X16 | 1.1/16"X12 11 14.5 28 22 32
3J-10Z 7/8"X14 7/8"X14 13 13 27 27 27
3J-10-12Z 7/8"X14 | 1.1/16"X12 13 14.5 28 27 32
3J-12Z 1.1/16"X12 | 1.1/16"X12 145 | 145 29 32 32
3J-12-14Z 1.1/16"X12 | 1.3/16"X12 14.5 15 29 32 36
3J-12-16Z 1.1/16"X12 | 1.5/16"X12 145 | 1518 | 29 32 41
3J-16Z 1.5/16"X12 | 1.5/16"X12 15.18 | 15.18 | 29 41 41
3J-20Z 1.5/8"X12 | 1.5/8"X12 16.1 | 16.1 35 50 50
3J-24Z 1.7/8"X12 | 1.7/8"X12 186 | 18.6 37 60 60
3J-32Z 2.1/2"X12 | 2.1/2"X12 238 | 238 37 75 75

EATON Winner i3 &%k H-AP-EHGC-2011-C Mar 2014 C-95




11 E#EESL ADAPTER

74°{><

EHIJICHMELI74° N1 Sk
JIC MALE 74° CONE PLUG

4J

S1

=] 12 £ THREAD <} DIMENSIONS
PART NO. E A L S1
4J-02Z 5/16"X24 1.4 | 175 1
4J-03Z 3/8"X24 12.2 18 12
4J-047 7/16"X20 14 20.5 12
4J-05Z 1/2"X20 14 20.5 14
4J-06Z 9/16"X18 141 | 215 17
4J-08Z 3/4"X16 16.7 24 22
4J-10Z 7/8"X14 19.3 28 24
4J-12Z 1.1/16"X12 219 | 325 30
4)-147 1.3/16"X12 226 | 333 32
4J-16Z 1.5/16"X12 23.1 34 36
4J-20Z 1.5/8"X12 24.3 37 46
4J-247 1.7/8"X12 27.5 42 50
4J)-327 2.1/2"X12 33.9 52 65

A
40
Pl EHISAEIMBLFFOF B 3k
L SAE O-RING BOSS PLUG

= 12 £ THREAD O [E O-RING <} DIMENSIONS
PART NO. E Efi A L S1
40-02Z 5/16"X24 6.07X1.63 754 | 15.2 12
40-03Z 3/8"X24 7.65X1.63 754 | 15.2 14
40-04Z 7/16"X20 8.92X1.83 9.1 17 14
40-05Z 1/2"X20 10.52X1.83 9.1 17 17
40-06Z 9/16"X18 11.89X1.98 9.9 18.5 17
40-08Z 3/4"X16 16.36X2.21 1.1 | 203 22
40-10Z 7/8"X14 19.18X2.46 127 | 236 27
40-12Z 1.1/16"X12 23.47X2.95 151 | 277 32
40-14Z 1.3/16"X12 26.62X2.95 151 | 277 36
40-16Z 1.5/16"X12 29.74X2.95 151 | 28.4 38
40-20Z 1.5/8"X12 37.46X3.00 151 | 305 50
40-247 1.7/8"X12 43.69X3.00 151 | 323 55
40-327 2.1/2"X12 59.36X3.00 151 | 36.3 70

W B2 51S0 11926-13h LA . Note: E thread end fit with 1ISO11926-1 port.

C-96

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

n L L B
A
74°(>ul |7 74°(>mj -l |7a
\S1 | St
5J 5J-S JICHMERLI74° SMEINICHIRETA" M
JIC MALE 74° CONE/NIC FEMALE 74° SEAT

R B i 2 THREAD LI DIMENSIONS
PART NO. E F A L S1 B
5J-04-05Z 7/16"X20 | 1/2"X20 14| 306 | 17
5J-04-06SZ 7/16"X20 | 9/16"X18 14 | 246 | 19 | 958
5J-04-085Z 7/16'x20 | 3/4"X16 14 | 254 | 22 | 109
5J-04-10SZ 7/16"X20 | 7/8"X14 14| 262 | 27 | 128
5J-04-12SZ 7/16"X20 | 1.1/16"X12 14| 277 | 32 15
5J-04-14SZ 7/16"X20 | 1.3/16"X12 14 | 325 | 36 | 15.2
5J-05-06Z 1/2'X20 | 9/16X18 14| 337 | 19
5J-05-08SZ 1/2'X20 | 3/4"X16 14 | 254 | 22 | 109
5J-05-10SZ 1/2'X20 | 7/8"X14 14 | 262 | 27 | 12.8
5J-05-12SZ 1/2'X20 | 1.1116"X12 14 | 277 | 32 | 15
5J-06-04Z 9/16"'X18 | 7/16"X20 141 | 306 | 17
5J-06-085Z 9/16"X18 | 3/4"X16 141 | 254 | 22 | 10.9
5J-06-10SZ 9/16"X18 | 7/8"X14 141 | 262 | 27 | 12.8
5J-06-125Z 9/16"X18 | 1.1/16"X12 141 | 277 | 32 | 15
5J-06-14SZ 9/16"x18_| 1.3/16"X12 141 | 325 | 36 | 15.2
5J-06-16SZ 9/16"X18_| 1.5/16"X12 141 | 30 | 38 | 15.9
5J-08-04Z 3/4"X16 | 7/16"X20 167 | 25 | 22
5J-08-06Z 3/4"X16 | 9/16"X18 16.7 | 365 | 22
5J-08-10Z 3/4"X16__| _7/8"X14 16.7 | 36.5 | 30
5J-08-12SZ 3/4"X16 | 1.1/16"X12 167 | 29 | 32 15
5J-08-14SZ 3/4"X16 | 1.3/16"X12 167 | 35 | 36 | 152
5J-08-16SZ 3/4"X16__| 1.5/16"X12 16.7 | 30 | 38 | 15.4
5J-08-20SZ 3/4"X16__| 1.5/8"X12 16.7 | 36 | 50 | 16.3
5J-10-08Z 7/8'X14__| 3/4"X16 19.3 | 405 | 24
5J-10-12Z 7/8"X14 | 1.1/16"X12 19.3 | 451 | 32
5J-10-16SZ 7/8"X14_| 1.5/16"X12 193 | 35 | 38 | 154
5J-10-20SZ 7/8"X14 | 1.5/8"X12 193 | 36 | 50 | 16.3
5J-10-24SZ 7/8'X14 | 1.7/8"X12 193 | 37 | 60 | 187
5J-12-08Z 1.116"X12 | 3/4"X16 219 | 43 | 30
5J-12-10Z 1.116'X12 | 7/8"X14 21.9 | 43 | 30
5J-12-165Z 1.1/16"X12_| 1.5/16"X12 21.9 | 373 | 38 | 154
5J-12-20SZ 1.116"X12 | 1.5/8"X12 219 [ 389 | 50 | 163
5J-12-245Z 1.116"X12 | 1.7/8"X12 219 | 41 60 | 187
5J-16-08Z 1.5/16"X12 | 3/4"X16 231 | 37 | 36
5J-16-10Z 1.516"X12 | 7/8"X14 231 | 38 | 36
5J-16-12Z 1.516"X12_| 1.1/16"X12 231 | 50 | 36
5J-16-20SZ 1.5/16"X12_| 1.5/8"X12 231 | 385 | 50 | 16.3
5J-16-24SZ 1.5/16"X12_ | 1.7/8"X12 231 | 41 60 | 187
5J-16-325Z 1.516"X12 | 2.1/2"X12 231 | 49 | 75 | 236
5J-20-12Z 1.5/8"X12_| 1.1/16"X12 243 | 39 | 46
5J-20-16Z 1.5/8"X12_| 1.5/16"X12 243 | 455 | 46
5J-20-24SZ 1.5/8"X12_|_1.7/8"X12 243 | 429 | 60 | 187
5J-20-325Z 1.5/8"X12_|_2.1/2"X12 243 | 50 | 75 | 236
5J-24-20Z 1.7/8"X12_| 1.5/8"X12 275 | 56 | 50

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-97



11 E#EESL ADAPTER

;PL
W | ﬁ/ 5JB-G

S1

JICHMBLI74° S/ LB MBS i3k
JIC MALE 74° CONE/BSP PRESSURE GAUGE CONNECTOR

B #2 47 THREAD 64 Fr COPPER WASHER R~} DIMENSIONS
PART NO. E F Fifi A L S1
5JB-04-08GZ 7/16"X20 | G1/2"X14 DP-B08G 14 41 27
5JB-04GZ 7/16"X20 | G1/4"X19 DP-B04G 14 32 19
5JB-05-04GZ 1/2"X20 G1/4"X19 DP-B04G 14 28 19
5JB-05-08GZ 1/2"X20 G1/2"X14 DP-B08G 14 41 27
5JB-06-04GZ 9/16"X18 | G1/4"X19 DP-B04G | 14.1 | 28.1 19
5JB-06-08GZ 9/16"X18 | G1/2"X14 DP-B08G | 14.1 | 355 27
5JB-08-04GZ 3/4"X16 G1/4"X19 DP-B04G | 16.7 31 22
5JB-08GZ 3/4"X16 G1/2"X14 DP-B08G | 16.7 38 27
5JB-10-08GZ 7/8"X14 G1/2"X14 DP-B08G | 19.3 | 405 27
5JB-12-08GZ 1.1/16"X12 | G1/2"X14 DP-B08G | 21.9 43 30
L
A

>4 I s 5JB-GDK

S JICHMERLLT ANt S E IR LLTRIZ K
JIC MALE 74° CONE/BSP PRESSURE GAUGE CONNECTOR

e #2 4 THREAD BB X~} DIMENSIONS
PART NO. E F SEALING RING DKI A L S1
5JB-04GDKZ 7/16"X20 | G1/4"X19 DP-B04DK 14 35.5 19
5JB-05-04GDKZ 1/2"X20 G1/4"X19 DP-B04DK 14 33 19
5JB-06-04GDKZ 9/16"X18 | G1/4"X19 DP-B04DK 141 | 315 19
5JB-10-08GDKZ 7/8"X14 G1/2"X14 DP-B08DK 19.3 | 455 27
5JB-12-08GDKZ | 1.1/16"X12 | G1/2"X14 DP-BO8DK 21.9 48 30

C-98 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

L

A
// ) 5JB

W JICHMEZLI74° SN/ ZEE RIRLL
§S1

JIC MALE 74° CONE/BSP FEMALE

e i

= 12 4 THREAD JX sf DIMENSIONS

PART NO. E = A L S1
5JB-04Z 7/16"X20 G1/4"X19 14 35 19
5JB-04-02Z 7/16"X20 G1/8"X28 14 30.5 14
5JB-04-06Z 7/16"X20 G3/8"X19 14 35.5 22
5JB-04-08Z 7/16"X20 G1/2"X14 14 40 27
5JB-06Z 9/16"X18 G3/8"X19 14.1 37 22
5JB-06-04Z 9/16"X18 G1/4"X19 14.1 35.5 19
5JB-06-08Z 9/16"X18 G1/2"X14 14.1 42 27
5JB-06-10Z 9/16"X18 G5/8"X14 14.1 43.4 30
5JB-08Z 3/4"X16 G1/2"X14 16.7 46 27
5JB-08-04Z 3/4"X16 G1/4"X19 16.7 38.5 22
5JB-08-06Z 3/4"X16 G3/8"X19 16.7 40 22
5JB-08-10Z 3/4"X16 G5/8"X14 16.7 457 30
5JB-08-12Z 3/4"X16 G3/4"X14 16.7 46 32
5JB-10-08Z 7/8"X14 G1/2"X14 19.3 48 27
5JB-10-12Z 7/8"X14 G3/4"X14 19.3 48 32
5JB-12Z 1.1/16"X12 | G3/4"X14 21.9 52 36
5JB-12-08Z 1.1/16"X12 | G1/2"X14 21.9 50 30
5JB-12-10Z 1.1/16"X12 | G5/8"X14 21.9 51.1 30
5JB-12-16Z 1.1/16"X12 G1"X11 21.9 53 41
5JB-16Z 1.5/16"X12 G1"X11 23.1 58 41
5JB-16-12Z 1.5/16"X12 | G3/4"X14 23.1 50 36
5JB-16-20Z 1.5/16"X12 | G1.1/4"X11 23.1 57 50
5JB-16-24Z 1.5/16"X12 | G1.1/2"X11 23.1 59.6 55
5JB-20Z 1.5/8"X12 | G1.1/4"X11 24.3 63 50
5JB-20-16Z 1.5/8"X12 G1"X11 243 59.5 46
5JB-20-24Z 1.5/8"X12 | G1.1/2"X11 24.3 64.8 55
5JB-247 1.7/8"X12 | G1.1/2"X11 27.5 67 55
5JB-24-20Z 1.7/8"X12 | G1.1/4"X11 27.5 66 50
5JB-24-327 1.7/8"X12 G2"X11 27.5 68 70
5JB-32Z 2.1/2"X12 G2"X11 33.9 67 70

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-99



T ERESL ADAPTER

S1
T Y ﬁ
AL e L
A S ==
- ) JICHMEBL]T
1o AR 3 Sk /AR HE T PSR AL
5JN-BH 5JN-BH(LN) JIC MALE BULKHEAD/NPT FEMALE
£ 5 PART NO. 12 4 THREAD X~} DIMENSIONS
3L 14&BODY ZH{FASSEMBLY E F A L S1
5JN-04-02BHZ 5JN-04-02BHLNZ 7/16"X20 Z1/8"X27 32.5 48.5 17
5JN-04BHZ 5JN-04BHLNZ 7/16"X20 Z1/4"X18 5285 54 19
5JN-06-04BHZ 5JN-06-04BHLNZ 9/16"X18 Z1/4"X18 32.5 54 19
5JN-08-06BHZ 5JN-08-06BHLNZ 3/4"X16 Z3/8"X18 36.5 59.5 22
5JN-10-08BHZ 5JN-10-08BHLNZ 7/8"X14 Z1/2"X14 40 68.5 30
5JN-10-12BHZ 5JN-10-12BHLNZ 7/8"X14 Z3/4"X14 40 70.5 32
5JN-12-06BHZ 5JN-12-06BHLNZ 1.1/16"X12 Z3/8"X18 44.5 68.5 36
5JN-12-08BHZ 5JN-12-08BHLNZ 1.1/16"X12 Z1/2"X14 44.5 69.5 36
5JN-12BHZ 5JN-12BHLNZ 1.1/16"X12 Z3/4"X14 445 75 36
5JN-14-12BHZ 5JN-14-12BHLNZ 1.3/16"X12 Z3/4"X14 445 75 41
5JN-16-12BHZ 5JN-16-12BHLNZ 1.5/16"X12 Z3/4"X14 445 71.5 41
5JN-16BHZ 5JN-16BHLNZ 1.5/16"X12 | Z1"X11.5 44.5 81 41
5JN-20BHZ 5JN-20BHLNZ 1.5/8"X12 |1Z21.1/4"X11.5] 45.7 83 50
5JN-24BHZ 5JN-24BHLNZ 1.7/8"X12 [(Z1.1/2"X11.5] 46 83.5 55

C-100 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



T ERESL ADAPTER

L
A
7 5JN
4 EHIJICHMELL
4o " TASNHE | Ao R PIARLL
i_ F JIC MALE 74° CONE / NPT FEMALE
S1
= 12 2 THREAD X~} DIMENSIONS
PART NO. E E A L S1
5JN-04-02Z 7/16"X20 Z1/8"X27 14 30.2 17
5JN-04Z 7/16"X20 Z1/4"X18 14 85 19
5JN-05-04Z2 1/2"X20 Z1/4"X18 14 35 19
5JN-06-04Z 9/16"X18 Z1/4"X18 14.1 8615 19
5JN-06Z 9/16"X18 Z3/8"X18 141 36.5 22
5JN-06-08Z2 9/16"X18 Z1/2"X14 14.1 42.5 30
5JN-08-06Z 3/4"X16 Z3/8"X18 16.7 39 22
5JN-08Z 3/4"X16 Z1/2"X14 16.7 45.5 30
5JN-08-12Z 3/4"X16 Z3/4"X14 16.7 45 36
5JN-10-08Z2 7/8"X14 Z1/2"X14 19.3 48 30
5JN-10-12Z 7/8"X14 Z3/4"X14 19.3 49.7 36
5JN-12-08Z2 1.1/16"X12 Z1/2"X14 21.9 50.5 30
5JN-12Z 1.1/16"X12 Z3/4"X14 21.9 52 36
5JN-16-12Z 1.5/16"X12 Z3/4"X14 23.1 50 36
5JN-16Z 1.5/16"X12 Z1"X11.5 23.1 59.5 41
5JN-20Z 1.5/8"X12 |Z1.1/4"X11.5 24.3 61.5 50
5JN-247 1.7/8"X12 [Z1.1/2"X11.5 27.5 62.5 60
5JN-327 2.1/2"X12 Z2"X11.5 33.9 70 70

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-101



11 E#EESL ADAPTER

F
| 5JN9
— m
_ 7 JICHMBLI 7491 |
74o@m U s o RIRAL 90° 25
A A& JIC MALE 74° CONE / NPT FEMALE 90° ELBOW
" e i 4 THREAD R~} DIMENSIONS
PART NO. E F A B S1
5JN9-04-02Z7 7/16"X20 Z1/8"X27 27.5 16.8 16
5JN9-04Z 7/16"X20 Z1/4"X18 30.9 22.4 19
5JN9-06-04Z 9/16"X18 Z1/4"X18 30.3 22.4 19
5JN9-06Z 9/16"X18 Z3/8"X18 33.5 25.9 24
5JN9-08-04Z7 3/4"X16 Z1/4"X18 31.6 22.4 19
5JN9-08Z2 3/4"X16 Z1/2"X14 39.5 31.2 30
5JN9-12-08Z7 1.1/16"X12 Z1/2"X14 46 31.2 30
5JN9-127 1.1/16"X12 Z3/4"X14 48 34.5 33
5JN9-12-16Z 1.1/16"X12 Z1"X11.5 52.5 411 41
5JN9-16-12Z 1.5/16"X12 Z3/4"X14 49 34.5 33
5JN9-16Z 1.5/16"X12 Z1"X11.5 55.1 41.1 41
5JN9-20Z2 1.5/8"X12 |Z1.1/4"X11.5 59.2 43.2 48
5JN9-247 1.7/8"X12 | Z1.1/2"X11.5 73.4 52.8 63
L
A
AN f
74o®m N 5JT
{

EHJICHMERLL
TA°HME/BHEE IREL
JIC MALE 74° CONE /BSPT FEMALE

®RE % 40 THREAD JR <) DIMENSIONS
PART NO. E F A L S1
5JT-04-02Z 7/16"X20 Rc1/8"X28 14 30 14
5JT-04Z 7/16"X20 Rc1/4"X19 14 35.5 19
5JT-06-04Z 9/16"X18 Rc1/4"X19 14.1 35.5 19
5JT-06Z 9/16"X18 | RC3/8"X19 14.1 36.5 22
5JT-08-06Z 3/4"X16 RC3/8"X19 16.7 39.5 22
5JT-08Z 3/4"X16 Rc1/2"X14 16.7 45.5 27
5JT-10-08Z 7/8"X14 Rc1/2"X14 19.3 48 27
5JT-12Z 1.1/16"X12 | Rc3/4"X14 21.9 52.5 36
5JT-16Z 1.5/16"X12 Rc1"X11 23.1 59 41

C-102

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




T ERESL ADAPTER

F
EInR 5JT9
S JICHMBLIT A4St/
e (= SKHEEPIRE 90°
] “AS1 JIC MALE 74° CONE/BSPT FEMALE 90° ELBOW
s i 4 THREAD X ~f DIMENSIONS
PART NO. E E A B S1
5JT9-04-02Z7 7/16"x20 Rc1/8"X28 27.5 20 16
5JT9-047 7/16"x20 Rc1/4"X19 30 25 19
5JT9-05-04Z7 1/2"X20 Rc1/4"X19 30 25 19
5JT9-06Z 9/16"X18 Rc3/8"X19 33.5 27 24
5JT9-06-04Z7 9/16"X18 Rc1/4"X19 30.5 25 19
5JT9-08Z2 3/4"X16 Rc1/2"X14 39.5 31.5 30
5JT9-08-06Z 3/4"X16 Rc3/8"X19 36 27 24
5JT9-10-08Z2 7/8"X14 Rc1/2"X14 42.5 31.5 30
5JT9-12Z7 1.1/16"X12 Rc3/4"X14 48 37 33
5JT9-12-08Z 1.1/16"X12 | Rc1/2"X14 46.2 31.5 30
5JT9-16Z 1.5/16"X12 Rec1"X11 54 43 41
5JT9-20Z 1.5/8"X12 | Rc1.1/4"X11 62 46 50
5JT9-247 1.7/8"X12 | Rc1.1/2"X11 74.5 55 63

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-103



11 E#EESL ADAPTER

50
EHISAEIMEL H O E R AT
L 1ISO11926-3 /2&ISAERHZLTISO 11926-1
SAE O-RING BOSS L-SERIES ISO
11926-3 / SAE FEMALE ISO 11926-1
e i2 40 THREAD O O-RING J&~F DIMENSIONS

PART NO. E F Eift A L S1
50-04-06Z2 7/16"X20 9/16"X18 0904 9.1 31 22
50-06-04Z 9/16"X18 7/16"X20 0906 10 28 17
50-06-08Z7 9/16"X18 3/4"X16 0906 10 36 27
50-08-06Z 3/4"X16 9/16"X18 0908 11.1 31.5 22
50-08-10Z 3/4"X16 7/8"X14 0908 11.1 38 30
50-08-12Z7 3/4"X16 1.1/16"X12 0908 11.1 43 32

50-10Z2 7/8"X14 7/8"X14 0910 12.7 41 30
50-10-06Z 7/8"X14 9/16"X18 0910 12.7 20.6 27
50-10-08Z7 7/8"X14 3/4"X16 0910 12.7 35 27
50-10-12Z 7/8"X14 1.1/16"X12 0910 12.7 43 36
50-12-08Z7 1.1/16"X12 3/4"X16 0912 15.1 26 32
50-12-10Z 1.1/16"X12 7/8"X14 0912 151 40.5 32
50-12-16Z 1.1/16"X12 | 1.5/16"X12 0912 151 46 41
50-14-12Z 1.3/16"X12 | 1.1/16"X12 0914 151 43 36
50-16-06Z 1.5/16"X12 9/16"X18 0916 15.1 26 38
50-16-10Z2 1.5/16"X12 7/8"X14 0916 15.1 26 38
50-16-12Z2 1.5/16"X12 | 1.1/16"X12 0916 15.1 43.5 38
50-16-14Z 1.5/16"X12 | 1.3/16"X12 0916 15.1 43 38
50-16-20Z2 1.5/16"X12 1.5/8"X12 0916 15.1 46.5 50
50-20-12Z2 1.5/8"X12 1.1/16"X12 0920 15.1 35 50
50-20-16Z 1.5/8"X12 1.5/16"X12 0920 15.1 42 50
50-20-247 1.5/8"X12 1.7/8"X12 0920 15.1 48 55
50-24-16Z 1.7/8"X12 1.5/16"X12 0924 15.1 35 55
50-24-20Z2 1.7/8"X12 1.5/8"X12 0924 15.1 45 655
50-32-20Z2 2.1/2"X12 1.5/8"X12 0932 151 32 70
50-32-247 2.1/2"X12 1.7/8"X12 0932 15.1 32 70

vE: EME4Un51S0 11926-13 M VLA fi . Note: E thread end fit with ISO11926-1 port.

C-104

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

#ifE LOCK NUT

A . /77)% N 2

(4 ) ULV

EHJICHMBREI7 4 ST AR IR
6J 6J-LN JIC MALE 74° CONE BULKHEAD

£ 5 PART NO. 12 2 THREAD X 5 DIMENSIONS
3k ABODY HIEASSEMBLY E F A B L S1 S2
6J-04Z 6J-04LNZ 7/16"X20 | 7/16"X20 14 325 | 525 17 17
6J-05Z 6J-05LNZ 1/2"X20 1/2"X20 14 325 | 525 19 19
6J-06Z 6J-06LNZ 9/16"X18 | 9/16"X18 | 14.1 | 325 | 545 22 22
6J-08Z 6J-08LNZ 3/4"X16 3/4"x16 | 16.7 | 36,5 | 615 24 24
6J-10Z 6J-10LNZ 7/8"X14 7/8"X14 | 19.3 40 69.5 30 30
6J-12Z 6J-12LNZ 1.1/16"X12 | 1.1/16"X12| 219 | 445 | 785 36 36
6J-16Z 6J-16LNZ 1.5/16"X12 | 1.5/16"X12| 231 | 445 | 79.8 41 41
6J-20Z 6J-20LNZ 1.5/8"X12 | 1.5/8"X12 | 24.3 | 457 84 50 50
6J-247 6J-24LNZ 1.7/8"X12 | 1.7/8"X12 | 27.5 46 89.5 55 55
6J-32Z 6J-32LNZ 2.1/2"X12 | 2.1/2"x12 | 33.9 | 53.1 | 106.7 | 70 70
74°
5
_F_
i o BBk
, LOCK NUT
74°CL” \LH_H—T
A S1
6J9 6J9-LN JICHMELLTA NI AR HE S 90°F
JIC MALE 74° CONE BULKHEAD 90° ELBOW
£ 5 PART NO. 12 £ THREAD R~ DIMENSIONS
3k ABODY #11+ASSEMBLY E F A B S1 S2
6J9-04Z 6J9-04LNZ 7/16"X20 | 7/16"X20 | 245 | 404 1 17
6J9-05Z 6J9-05LNZ 1/2"X20 1/2"X20 | 26.6 | 437 14 19
6J9-06Z 6J9-06LNZ 9/16"X18 | 9/16"X18 | 27.7 46 14 22
6J9-08Z 6J9-08LNZ 3/4"X16 3/4"X16 | 345 | 535 19 24
6J9-10Z 6J9-10LNZ 7/8"X14 7/8"X14 | 396 | 60.7 22 30
6J9-12Z 6J9-12LNZ 1.1/16"X12 | 1.1/16"X12| 452 | 67.8 27 36
6J9-14Z 6J9-14LNZ 1.3/16"X12 | 1.3/16"X12| 48.2 | 69.5 30 38
6J9-16Z 6J9-16LNZ 1.5/16"X12 | 1.5/16"X12| 50 71 33 41
6J9-20Z 6J9-20LNZ 1.5/8"X12 | 1.5/8"X12 | 575 | 79.2 41 50
6J9-24Z 6J9-24LNZ 1.7/8"X12 | 1.7/8"X12 | 62.5 | 86.9 48 55

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-105



11 E#EESL ADAPTER

9J
w 74°
EHEJICRIRL74° N HE L
JIC FEMALE 74° SEAT PLUG
= 12 4 THREAD JR 5+ DIMENSIONS
PART NO. E A L S2
9J-03Z 3/8"X24 8 10.5 14
9J-04Z 7/16"X20 9 10.5 14
9J-05Z 1/2"X20 9.5 1 17
9J-06Z 9/16"X18 10.5 11 19
9J-08Z 3/4"X16 11 13 22
9J-10Z 7/8"X14 13 13.5 27
9J-12Z 1.1/16"X12 15 15 32
9J-142 1.3/16"X12 15 15 36
9J-16Z 1.5/16"X12 16 15.5 41
9J-20Z 1.5/8"X12 17 18.5 50
9J-247 1.7/8"X12 20 19 60
9J-3272 2.1/2"X12 23.5 20.5 75

L

MLl

-
N

9J-CAP

|
5

JIC 74° IR 4 3E 3k
JIC 74° FEMALE PLUG

= 12 2t THREAD JU s} DIMENSIONS

PART NO. E L S1
9J-04CAPZ 7/16"X20 15.1 15
9J-10CAPZ 7/8"X14 21.4 27
9J-05CAPZ 1/2"X20 15.5 17
9J-06CAPZ 9/16"X18 15.9 19
9J-08CAPZ 3/4"X16 19 24
9J-12CAPZ 1.1/16"X12 23 32
9J-20CAPZ 1.5/8"X12 27 50
9J-24CAPZ 1.7/8"X12 30.2 60
9J-32CAPZ 2.1/2"X12 36.5 75
9J-16CAPZ 1.5/16"X12 25.8 41

C-106

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

74°
‘ AJ

41 h
@ g% A EHIJICIMEGTAIME =i
N = ¢ | <2 . JIC MALE 74° CONE TEE

7470 U fm;on
A Cc

K= i £ THREAD JX <} DIMENSIONS
PART NO. E F G A B © S1
AJ-02Z 5/16"X24 | 5/16"X24 | 5/16"X24 21 21 21 11
AJ-03Z 3/8"X24 | 3/8"X24 | 3/8"X24 22 | 22 | 22 11
AJ-04Z 7/16"X20 | 7/16"X20 | 7/16"X20 245 [ 245 | 245 | 1
AJ-04-06-04Z | 7/16"X20 | 9/16"X18 | 7/16"X20 266 | 269 | 26.6 | 14
AJ-05-04-05Z 1/2"X20 | 7/16"X20 | 1/2"X20 26 | 266 | 26 14
AJ-05Z 1/2"X20 | 1/2"X20 | 1/2"X20 26 | 26 | 26 14
AJ-06-04-06Z | 9/16"X18 | 7/16"X20 | 9/16"X18 269 | 266 | 26.9 | 14
AJ-06Z 9/16"X18 | 9/16"X18 | 9/16"X18 269 [ 269 | 26.9 | 14
AJ-06-08-06Z | 9/16"X18 | 3/4"X16 | 9/16"X18 30 | 32 | 30 19
AJ-08Z 3/4"X16 | 3/4"X16 | 3/4"X16 32 | 32 | 32 19
AJ-08-06-06Z | 3/4"X16 | 9/16"X18 | 9/16"X18 32 | 30 | 30 19
AJ-08-06-08Z | 3/4"X16 | 9/16"X18 | 3/4"X16 32 | 30 | 32 19
AJ-08-10-08Z | 3/4"X16 | 7/8"X14 | 3/4"X16 348 | 37.8 | 348 | 22
AJ-08-12-08Z | 3/4"X16 [1.1/16"X12| 3/4"X16 37.9 | 442 | 379 | 27
AJ-10Z 7/8"X14 | 7/8"X14 | 7/8"X14 378 | 378 | 378 | 22
AJ-10-08-08Z | 7/8"X14 | 3/4"X16 | 3/4"X16 37.8 | 348 | 348 | 22
AJ-10-08-10Z | 7/8"X14 | 3/4"X16 | 7/8"X14 378 | 348 | 378 | 22
AJ-10-12-10Z | 7/8"X14 [1.1/16"X12| 7/8"X14 4 | 442 | M4 27
AJ-12Z 1.1/16"X12 | 1.1/16"X12 | 1.1/16"X12 442 | 442 | 442 | 27
AJ-12-08-12Z [1.1/16"X12| 3/4"X16 |[1.1/16"X12 442 | 379 | 442 | 27
AJ-12-10-12Z  [1.1/16"X12| 7/8"X14 [1.1/16"X12 442 | 41 | 442 | 27
AJ-12-16-12Z  [1.1/16"X12 [ 1.5/16"X12 | 1.1/16"X12 48 | 49 | 48 | 33
AJ-14Z 1.3/16"X12 | 1.3/16"X12 | 1.3/16"X12 475 | 475 | 475 | 30
AJ-16Z 1.5/16"X12 | 1.5/16"X12 | 1.5/16"X12 49 | 49 | 49 | 33
AJ-16-12-16Z [ 1.5/16"X12 [ 1.1/16"X12 | 1.5/16"X12 49 | 48 | 49 | 33
AJ-20Z 1.5/8"X12 | 1.5/8"X12 | 1.5/8"X12 56.5 | 56.5 | 56.5 | 41
AJ-20-16-20Z | 1.5/8"X12 [1.5/16"X12 | 1.5/8"X12 565 | 54 | 565 | 41
AJ-24Z 1.7/8"X12 | 1.7/8"X12 | 1.7/8"X12 62.5 | 62.5 | 62.5 | 48
AJ-32Z 2.1/2"X12 | 2.1/2"X12 | 2.1/2"X12 78 | 78 | 78 | 63

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-107



11 E#EESL ADAPTER

ik LOCK NUT J |C9|\$§3174°9|\$E/
o SPI JICHMBEL74° T AR Sk
747 Okir4° i AV i 2 ]
——rc JGJJELW JIC MALE 74° CONE /
JIC MALE 74° CONE BULKHEAD
AJ6JJ AJ6JJ-LN BRANCH TEE

1% 5 PART NO. 12 2r THREAD JX <} DIMENSIONS
#%k{ABODY H{FASSEMBLY E F G A B © S1 S2
AJ6JJ-04Z AJ6JJ-04LNZ 7/16"X20 7/16"X20 7/16"X20 24.5 40.4 24.5 11 17
AJ6JJ-04-06-04Z AJ6JJ-04-06-04LNZ | 7/16"X20 9/16"X18 7/16"X20 26.4 46 26.4 14 22
AJ6JJ-05Z AJ6JJ-05LNZ 1/2"X20 1/2"X20 1/2"X20 26.6 43.7 26.6 14 19
AJ6JJ-06Z AJ6JJ-06LNZ 9/16"X18 | 9/16"X18 | 9/16"X18 | 26.9 46 26.9 14 22
AJ6JJ-08Z AJ6JJ-08LNZ 3/4"X16 3/4"X16 3/4"X16 32 53.5 32 19 24
AJ6JJ-10Z AJ6JJ-10LNZ 7/8"X14 7/8"X14 7/8"X14 37.8 60.7 37.8 22 30
AJ6JJ-12Z7 AJ6JJ-12LNZ 1.1/16"X12 | 1.1/16"X12 | 1.1/16"X12 | 44.2 67.8 44 .2 27 36
AJ6JJ-14Z7 AJ6JJ-14LNZ 1.3/16"X12 | 1.3/16"X12 | 1.3/16"X12 | 48.5 71 48.5 33 38
AJ6JJ-16Z AJ6JJ-16LNZ 1.5/16"X12 | 1.5/16"X12 | 1.5/16"X12 49 71 49 33 41
AJ6JJ-20Z AJ6JJ-20LNZ 1.5/8"X12 | 1.5/8"X12 | 1.5/8"X12 | 55.3 79.2 15058 41 50
AJ6JJ-247 AJB6JJ-24LNZ 1.7/8"X12 | 1.7/8"X12 | 1.7/8"X12 | 63.5 86.9 63.5 48 55

F
S2 o
: : AJGJ-0G
ki i [ . A N
T JICHMBLIT4°5ME K E TR EIOR B E:
NX=iE
JIC MALE 74° CONE / BSP ADJUSTABLE ORING SEAL
BRANCH TEE

2 i% £ THREAD OJ% I O-RING R~ DIMENSIONS
PART NO. E F G Fis A B c S1 S2
AJGJ-040GZ 7/16"X20 | G1/4"X19 | 7/16"X20 o111 26.6 31.8 26.6 14 19
AJGJ-04-02-040GZ | 7/16"X20 | G1/8"X28 | 7/16"X20 07.97X1.88 245 | 255 | 245 11 19
AJGJ-05-02-050GZ 1/2"X20 G1/8"X28 1/2"X20 07.97X1.88 26.6 28 26.6 14 19
AJGJ-05-04-050GZ 1/2"X20 G1/4"X19 1/2"X20 o111 26.6 31.8 | 26.6 14 19
AJGJ-06-04-060GZ | 9/16"X18 | G1/4"X19 | 9/16"X18 o111 27 31 27 14 19
AJGJ-060GZ 9/16"X18 | G3/8"X19 | 9/16"X18 0113 28,5 | 358 | 28.5 16 22
AJGJ-08-06-080GZ | 3/4"X16 G3/8"X19 3/4"X16 0113 32 36.8 32 19 22
AJGJ-080GZ 3/4"X16 G1/2"X14 3/4"X16 017.86X2.62 35 43.2 35 22 27
AJGJ-10-08-100GZ 7/8"X14 G1/2"X14 7/8"X14 017.86X2.62 37.8 43.2 37.8 22 27
AJGJ-120GZ 1.1/16"X12 | G3/4"X14 | 1.1/16"X12 0119 44 .2 51 44 .2 27 32
AJGJ-160GZ 1.5/16"X12| G1"X11 1.5/16"X12 0217 48.8 53 48.8 33 41

v FERZU51S0 1179-13 HILECfS A . Note: F thread end fit with ISO1179-1 port.

C-108 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

&%E ﬁ@ 3 AJHJ-0G
T NS ) JICHMBELT4° b4/ AT BB A IO B B
] e SE =il
A S1 ¢ JIC MALE 74° CONE / ADJUSTABLE METRIC ORING SEAL
BRANCH TEE
B i £ THREAD Oj¥JE O-RING JU <} DIMENSIONS

PART NO. E F G Fifi A B C S1 S2
AJHJ-04-10-040GNZ | 7/16"X20 | M10X1 | 7/16"X20 08.1X1.6 245 | 265 | 245 | 11 14
AJHJ-04-12-040GNZ | 7/16"X20 | M12X1.5 | 7/16"X20 09.3X2.2 266 | 32 | 266 | 14 17
AJHJ-05-10-050GNZ | 1/2"X20 M10X1 1/2"X20 08.1X1.6 266 | 288 | 266 | 14 14
AJHJ-05-12-050GNZ | 1/2"X20 | M12X1.5 | 1/2"X20 09.3X2.2 266 | 32 | 266 | 14 17
AJHJ-05-14-050GNZ | 1/2"X20 | M14X1.5 | 1/2"X20 011.3X2.2 266 | 32 | 266 | 14 19
AJHJ-06-14-060GNZ | 9/16"X18 | M14X1.5 | 9/16"X18 011.3X2.2 269 | 32 | 269 | 14 19
AJHJ-06-16-060GNZ | 9/16"X18 | M16X1.5 | 9/16"X18 013.3X2.2 285 | 348 | 285 | 16 22
AJHJ-08-16-080GNZ | 3/4"X16 | M16X1.5 | 3/4"X16 013.3X2.2 32 36 32 19 22
AJHJ-08-18-080GNZ | 3/4"X16 | M18X1.5 | 3/4"X16 015.3X2.2 32 37 32 19 24
AJHJ-10-18-100GNZ | 7/8"X14 | M18X1.5 | 7/8"X14 015.3X2.2 378 | 395 | 378 | 22 24
AJHJ-10-22-100GNZ | 7/8"X14 | M22X1.5 | 7/8"X14 019.3X2.2 37.8 | 402 | 378 | 22 27
AJHJ-12-22-120GNZ | 1.1/16"X12| M22X1.5 | 1.1/16"X12 019.3X2.2 442 | 435 | 442 | 27 27
AJHJ-12-27-120GNZ | 1.1/16"X12| M27X2 |1.1/16"X12 023.6X2.9 442 | 485 | 442 | 27 32
AJHJ-16-27-160GNZ | 1.5/16"X12| M27X2 |1.5/16"X12 023.6X2.9 49 52 49 33 32
AJHJ-16-33-160GNZ | 1.5/16"X12| M33X2 [1.5/16"X12 029.6X2.9 49 | 525 | 49 33 41
AJHJ-20-42-200GNZ | 1.5/8"X12 | M42X2 | 1.5/8"X12 038.6X2.9 55.5 | 57.2 | 555 | 41 50
AJHJ-24-48-240GNZ | 1.7/8"X12 | M48X2 | 1.7/8"X12 044.6X2.9 625 | 62.7 | 625 | 48 55
Ve FRRZ0 51S0 6149-13 LIPLEL (. Note: F thread end fit with ISO 6149-1 port.

EATON Winner i3 &%k H-AP-EHGC-2011-C Mar 2014 C-109



11 E#EESL ADAPTER

51 iEE LOCK NUT
g D; S JICHMBLT74° 5Nt/ JICHMBLI74° ST AR Sk
o = St
NI I
e hl]Ej:ﬂ[tﬁld JIC MALE 74° CONE /
JIC MALE 74° CONE BULKHEAD

AJJ6J AJJ6J-LN RUN TEE
X % PART NO. i £ THREAD R ~f DIMENSIONS
3Lk BODY 411+ASSEMBLY E F G A B C S1 S2
AJJBJ-04Z AJJBJ-04LNZ 7/116"X20 | 7/16"X20 | 7/16"X20 | 245 | 245 | 404 | 11 17
AJJBJ-05Z AJJBJ-05LNZ 1/2"X20 | 1/2"x20 | 1/2"x20 | 266 | 26.6 | 437 | 14 | 19
AJJ6J-06Z AJJBJ-06LNZ 9/16"X18 | 9/16"X18 | 9/16"X18 | 269 | 26.9 | 46 | 14 | 22
AJJ6J-08Z AJJ6J-08LNZ 3/4"X16 | 3/4"X16 | 3/4"X16 | 32 | 32 [535 | 19 | 24
AJJ6J-10Z AJJ6J-10LNZ 7/8"X14 | 7/8"X14 | 7/8"X14 | 37.8 | 37.8 | 60.7 | 22 | 30
AJJ6J-12Z AJJBJ-12LNZ | 1.1/16"X12 [ 1.1/16"X12 | 1.1/16"X12 | 442 | 442 | 678 | 27 | 36
AJJ6J-16Z AJJBJ-16LNZ | 1.5/16"X12 [ 1.5/16"X12 | 1.5/16"X12| 49 | 49 | 71 33 | 41
AJJ6J-20Z AJJ6J-20LNZ 1.5/8"X12 | 1.5/8"X12 | 1.5/8"X12 | 55.3 | 55.3 | 79.2 | 41 50
AJJ6J-247 AJJ6J-24LNZ 1.7/8"X12 | 1.7/8"X12 | 1.7/8"X12 | 635 | 635 | 86.9 | 48 | 55
74°
: AJJG-OG
J i s2 o
. | % JICHMEL74° 5 e/ BB R [E] OFZ BB &
b ]]—ﬂ’_ﬂIH”D 9 FRZE
el JIC MALE 74° CONE / BSP ADJUSTABLE ORING SEAL
: . RUN TEE
"o i2 £ THREAD OJ% 1 O-RING J~f DIMENSIONS
PART NO. E F G G A B C S1 S2
AJJG-040GZ 7/16"X20 | 7/16"X20 | G1/4"X19 0111 266 | 265 | 31.9 | 14 | 19
AJJG-05-05-040GZ | 1/2"x20 | 1/2"x20 | G1/4"X19 o111 266 | 266 | 31.3 | 14 | 19
AJJG-05-06-040GZ | 1/2"X20 | 9/16"X18 | G1/4"X19 0111 266 | 269 | 31.3 | 14 19
AJJG-060GZ 9/16"X18 | 9/16"X18 | G3/8"X19 o113 285 | 285 | 355 | 16 | 22
AJJG-06-06-040GZ | 9/16"X18 | 9/16"X18 | G1/4"X19 0111 269 | 269 | 313 | 14 | 19
AJJG-08-08-060GZ | 3/4"X16 | 3/4"X16 | G3/8"X19 o113 32 | 32 [368 | 19 | 22
AJJG-080GZ 3/4"X16 | 3/4"X16 | G1/2"X14 017.86X2.62 35 | 35 | 432 | 22 | 27
AJJG-10-10-080GZ | 7/8"X14 | 7/8"X14 | G1/2"X14 017.86X2.62 378 | 378 | 432 | 22 | 27
AJJG-120GZ | 1.1/16"X12 | 1.1/16"X12 | G3/4"X14 0119 44 | 44 | 495 | 27 | 32
AJJG-160GZ | 1.5/16"X12 [ 1.5/16"X12| G1"X11 0217 488 | 488 | 53 | 33 | 41
vE: FIZZ0m 51S0 1179-13 D UCEf# .  Note: F thread end fit with ISO1179-1 port.

C-110

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

<7
| AJJH-0G
S2 o
— /7% JICHMEL 74° 51N/ A HI FT [ ORZ B 25 %
oM e E¥=iE
A SRS JIC MALE 74° CONE / METRIC ADJUSTABLE ORING SEAL
RUN TEE
=" 12 4 THREAD OJ¥8 O-RING '~ DIMENSIONS
PART NO. E F G Gt A B C S1 S2
AJJH-04-04-100GNZ| 7/16"X20 | 7/16"X20 | M10X1 08.1X1.6 245 | 245 | 265 | 11 14
AJJH-04-04-120GNZ| 7/16"X20 | 7/16"X20 | M12X1.5 09.3X2.2 265 | 265 | 325 | 14 17
AJJH-05-05-100GNZ| 1/2"X20 | 1/2"X20 M10X1 08.1X1.6 266 | 266 | 288 | 14 14
AJJH-05-05-120GNZ| 1/2"X20 | 1/2"X20 | M12X1.5 09.3X2.2 265 | 265 | 32 14 17
AJJH-05-05-140GNZ| 1/2"X20 | 1/2"X20 | M14X1.5 011.3X2.2 266 | 266 | 32 14 19
AJJH-06-06-140GNZ| 9/16"X18 | 9/16"X18 | M14X1.5 011.3X2.2 27 27 32 14 19
AJJH-06-06-160GNZ| 9/16"X18 | 9/16"X18 | M16X1.5 013.3X2.2 28 28 | 345 | 16 22
AJJH-08-08-160GNZ| 3/4"X16 | 3/4"X16 | M16X1.5 013.3X2.2 32 32 36 19 22
AJJH-08-08-180GNZ| 3/4"X16 | 3/4"X16 | M18X1.5 015.3X2.2 32 32 37 19 24
AJJH-10-10-180GNZ| 7/8"X14 | 7/8"X14 | M18X1.5 015.3X2.2 38 38 | 395 | 22 24
AJJH-10-10-220GNZ| 7/8"X14 | 7/8"X14 | M22X1.5 019.3X2.2 378 | 378 | 402 | 22 27
AJJH-12-12-220GNZ| 1.1/16"X12 | 1.1/16"X12 | M22X1.5 019.3X2.2 442 | 442 | 435 | 27 27
AJJH-12-12-270GNZ| 1.1/16"X12 [ 1.1/16"X12 | M27X2 023.6X2.9 44 44 | 485 | 27 32
AJJH-16-16-270GNZ| 1.5/16"X12 | 1.5/16"X12| M27X2 023.6X2.9 49 49 52 33 32
AJJH-16-16-330GNZ| 1.5/16"X12 | 1.5/16"X12| M33X2 029.6X2.9 49 49 | 525 | 33 41
AJJH-20-20-420GNZ| 1.5/8"X12 | 1.5/8"X12 | M42X2 038.6X2.9 55.5 | 555 | 57.2 | 41 50
AJJH-24-24-480GNZ| 1.7/8"X12 | 1.7/8"X12 | M48X2 044.6X2.9 625 | 625 | 627 | 48 55
T GEEZUH 51SO 614913 VLA /. Note: G thread end fit with ISO 6149-1 port.
EATON Winner i3 &%k H-AP-EHGC-2011-C Mar 2014 c-111



T ERESL ADAPTER

12
F
|
)| ",_i “ AJJN
bl e | o N
A1 JICHMEBLITA S / NPTIMBL X =18

AE c JIC MALE 74° CONE / NPT MALE RUN TEE
= i £ THREAD JU~F DIMENSIONS
PART NO. E F G A B C S1
AJIN-04Z 7/16"X20 | 7/16"X20 | Z1/4"X18 266 | 266 | 255 | 14
AJIN-04-04-02Z | 7/16"X20 | 7/16"X20 | Z1/8"X27 245 | 245 | 21 11
AJIN-05-05-02Z | 1/2"X20 | 1/2"X20 | Z1/8"X27 266 | 266 | 235 | 14
AJIN-05-05-04Z | 1/2"X20 | 1/2"X20 | Z1/4"X18 266 | 266 | 255 | 14
AJIN-06Z 9/16"X18 | 9/16"X18 | Z3/8"X18 30 | 30 | 31 19
AJIN-06-06-04Z | 9/16"X18 | 9/16"X18 | Z1/4"X18 269 [ 269 | 255 | 14
AJIN-06-06-08Z | 9/16"X18 | 9/16"X18 | Z1/2"X14 32 | 32 [367 | 22
AJIN-08Z 3/4"X16 | 3/4"X16 | Z1/2"X14 348 | 348 | 36.7 | 22
AJIN-08-08-06Z | 3/4"X16 | 3/4"X16 | Z3/8"X18 32 | 32 | 31 19
AJIN-10-10-08Z | 7/8"X14 | 7/8"X14 | Z1/2"X14 37.8 | 378 | 36.7 | 22
AJIN-10-10-12Z | 7/8"X14 | 7/8"X14 | Z3/4"X14 41 41 44 | 27
AJIN-12Z 1.1/16"X12 | 1.1/16"X12 | Z3/4"X14 442 | 442 | 44 | 27
AJIN-16Z 1.5/16"X12 | 1.5/16"X12| Z1"X11.5 49 | 49 | 50 | 33
AJIN-20Z 1.5/8"X12 | 1.5/8"X12 |Z1.1/4"X11.5 55.5 | 55.5 | 54.5 | 41
AJIN-24Z 1.7/8"X12 | 1.7/8"X12 |Z1.1/2"X11.5 625 | 625 | 60 | 48

C-112 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

74°
XE
|
| P AJJO-0G
= [ r '
7455 jﬂ_l 9
LHP JICHMERELL74° 5N/ £ I BT B [BIOfZ B 2 £
1 ¢ TX=@
JIC MALE 74° CONE / SAE ADJUSTABLE ORING SEAL
RUN TEE
e #2 47 THREAD OJ¥:[ O-RING <} DIMENSIONS
PART NO. E F G Gt A B C S1 S2
AJJO-040GZ 7/16"X20 | 7/16"x20 | 7/16"x20 0904 245 | 245 [ 272 | 11 | 17
AJJO-04-04-060GZ | 7/16"X20 | 7/16"X20 | 9/16"X18 0906 265 | 265 | 315 | 14 | 19
AJJO-050GZ 12'x20 | 1/2x20 | 1/2"x20 0905 266 | 266 | 29 | 14 | 17
AJJO-05-05-040GZ | 1/2"x20 | 1/2"x20 | 7/16"x20 0904 266 | 266 | 30 | 14 | 17
AJJO-060GZ 9/16"X18 | 9/16"X18 | 9/16"X18 0906 269 | 269 [ 318 | 14 | 19
AJJO-06-06-040GZ | 9/16"X18 | 9/16"X18 | 7/16"X20 0904 269 | 269 [ 301 | 14 | 17
AJJO-06-06-050GZ | 9/16"X18 | 9/16"X18 | 1/2"x20 0905 269 | 269 | 30 | 14 | 17
AJJO-06-06-080GZ | 9/16"X18 | 9/16"x18 | 3/4"X16 0908 30 | 30 375 19 | 24
AJJO-080GZ 3/4"x16 | 34"x1e | 34"x16 0908 33 | 33 [ 368 | 19 | 24
AJJO-08-08-060GZ | 3/4"X16 | 3/4"X16 | 9/16"X18 0906 32 | 32 [ 335 19 | 19
AJJO-08-08-100GZ | 3/4"X16 | 3/4"X16 | 7/8"X14 0910 348 | 348 | 44 | 22 | 27
AJJO-100GZ 7/8"x14 | 7/8"x14 | 7/8"X14 0910 378 | 378 | 44 | 22 | 27
AJJO-10-10-080GZ | 7/8"x14 | 7/8"x14 | 3/4"X16 0908 378 | 37.8 [ 395 | 22 | 24
AJJO-120GZ | 1.1/16"X12 | 1.1/16"X12 | 1.1/16"X12 0912 442 [ 442 | 51 | 27 | 32
AJJO-12-12-080GZ | 1.1/16"X12 | 1.1/16"X12 | 3/4"X16 0908 442 [ 442 | 43 | 27 | 24
AJJO-12-12-100GZ [ 1.1/16"X12 | 1.116"x12| 7/8"X14 0912 442 | 442 | 49 | 27 | 27
AJJO-160GZ | 1.5/16"X12 | 1.5/16"X12 | 1.5/16"X12 0916 488 | 488 [ 545 | 33 | 41
AJJO-16-16-120GZ | 1.5/16"X12 | 1.5/16"X12 | 1.1/16"X12 0912 49 | 49 | 56 | 33 | 32
AJJO-200GZ | 1.5/8"X12 | 1.5/8"X12 | 1.5/8"X12 0920 553 | 553 | 59 [ 41 | 50
AJJO-240GZ | 1.7/8"x12 | 1.7/8"X12 | 1.7/8"X12 0924 625 | 625 | 63 | 48 | 55
AJJO-320GZ | 2.1/2'x12 | 2.1/2"X12 | 2.1/2"X12 0932 785 | 785 | 765 | 63 | 70
Vi GEZLUE 51S0 11926-13 HITALE . Note: G thread end fit with 1ISO11926-1 port.

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-113



11 E#EESL ADAPTER

74

F

ks

ey AJJT-SP
N JICHMBEAI74°9MfE | BSPTHMEL 3 = 1%
JIC MALE 74° CONE / BSPT MALE RUN TEE

B i2 4L THREAD R~} DIMENSIONS
PART NO. E F G A B © S1
AJJT-04-04-02SPZ 7/16"X20 7/16"X20 R1/8"X28 24.5 24.5 21 1"
AJJT-04SPZ 7/16"X20 7/16"X20 R1/4"X19 26.6 26.6 2.5 14
AJJT-04-04-06SPZ 7/16"X20 7/16"X20 R3/8"X19 27.5 27.5 28 16
AJJT-06-06-04SPZ 9/16"X18 9/16"X18 R1/4"X19 26.9 26.9 2515 14
AJJT-06SPZ 9/16"X18 9/16"X18 R3/8"X19 28.5 28.5 28.5 16
AJJT-08-08-06SPZ 3/4"X16 3/4"X16 R3/8"X19 32 32 30.5 19
AJJT-08SPZ 3/4"X16 3/4"X16 R1/2"X14 34.8 34.8 36 22
AJJT-10-10-08SPZ 7/8"X14 7/8"X14 R1/2"X14 37.8 37.8 36 22
AJJT-12SPZ 1.1/16"X12 1.1/16"X12 R3/4"X14 44 .2 44 .2 43.5 27
AJJT-16SPZ 1.5/16"X12 1.5/16"X12 R1"X11 49 49 50 33
AJJT-20SPZ 1.5/8"X12 1.5/8"X12 R1.1/4"X11 555 55.5 56.5 41
AJJT-24SPZ 1.7/8"X12 1.7/8"X12 R1.1/2"X11 62.5 62.5 62.5 48

F
— ]
S T i ) i AJNJ
N JICHMEZLI74°9M 4 | NPTIMEXN S =18
JIC MALE 74° CONE / NPT MALE BRANCH TEE

= i2 5 THREAD R~} DIMENSIONS
PART NO. E F G A B C S1
AJNJ-02Z 5/16"X24 Z1/8"X27 5/16"X24 21 21 21 1
AJNJ-03-02-03Z 3/8"X24 Z1/8"X27 3/8"X24 22 21 22 11
AJINJ-04Z 7/16"X20 Z1/4"X18 7/16"X20 26.6 25.5 26.6 14
AJNJ-04-02-04Z 7/16"X20 Z1/8"X27 7/16"X20 24.5 21 24.5 1
AJNJ-05-02-05Z 1/2"X20 Z1/8"X27 1/2"X20 26.6 23.5 26.6 14
AJNJ-05-04-05Z 1/2"X20 Z1/4"X18 1/2"X20 25.6 25,5 25.6 14
AJNJ-06Z 9/16"X18 Z3/8"X18 9/16"X18 30 31 30 19
AJNJ-06-04-06Z 9/16"X18 Z1/4"X18 9/16"X18 25.75 25.5 25.75 14
AJNJ-06-08-06Z 9/16"X18 Z1/2"X14 9/16"X18 32 36.7 32 22
AJNJ-08Z 3/4"X16 Z1/2"X14 3/4"X16 34.8 37.3 34.8 22
AJNJ-08-06-08Z 3/4"X16 Z3/8"X18 3/4"X16 32 31 32 19
AJNJ-10-08-10Z 7/8"X14 Z1/2"X14 7/8"X14 37.8 36.7 37.8 22
AJINJ-12Z 1.1/16"X12 Z3/4"X14 1.1/16"X12 44 .2 44 44.2 27
AJNJ-16Z 1.5/16"X12 Z1"X11.5 1.5/16"X12 49 50 49 &3
AJNJ-20Z 1.5/8"X12 Z1.1/4"X11.5 1.5/8"X12 55.5 545 55.5 41
AJNJ-24Z 1.7/8"X12 Z1.1/2"X11.5 1.7/8"X12 62.5 63 62.5 48

C-114 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

AJOJ-OG

JICHMELL74° 5Nt/ £ AT I R O BBl 2

SCl e o HE=iE
A C 1 JIC MALE 74° CONE / SAE ADJUSTABLE ORING SEAL
BRANCH TEE
=" 12 4 THREAD OJ% [ O-RING '~ DIMENSIONS
PART NO. E F G Fifi A B C S1 S2
AJOJ-040GZ 7/16"X20 | 7/16"X20 | 7/16"X20 0904 245 | 272 | 245 | 11 17
AJOJ-05-04-050GZ | 1/2"X20 | 7/16"X20 | 1/2"X20 0904 266 | 30 | 266 | 14 17
AJOJ-050GZ 1/2"X20 | 1/2"X20 | 1/2"X20 0905 266 | 29 | 266 | 14 17
AJOJ-06-04-060GZ | 9/16"X18 | 7/16"X20 | 9/16"X18 0904 269 | 30 | 269 | 14 17
AJOJ-06-05-060GZ | 9/16"X18 | 1/2"X20 | 9/16"X18 0905 269 | 30 | 269 | 14 17
AJOJ-060GZ 9/16"X18 | 9/16"X18 | 9/16"X18 0906 269 | 318 | 269 | 14 19
AJOJ-06-08-060GZ | 9/16"X18 | 3/4"X16 | 9/16"X18 0908 30 | 375 | 30 19 24
AJOJ-08-06-080GZ | 3/4"X16 | 9/16"X18 | 3/4"X16 0906 32 [ 335 ]| 32 19 19
AJOJ-080GZ 3/4"X16 | 3/4"X16 | 3/4"X16 0908 33 | 368 | 33 19 24
AJOJ-10-08-100GZ | 7/8"X14 | 3/4"X16 | 7/8"X14 0908 378 | 395 | 378 | 22 24
AJOJ-100GZ 7/8"X14 | 7/8"X14 | 7/8"X14 0910 378 | 44 | 378 | 22 27
AJOJ-12-08-120GZ | 1.1/16"X12| 3/4"X16 | 1.1/16"X12 0908 442 | 43 | 442 | 27 24
AJOJ-12-10-120GZ | 1.1/16"X12| 7/8"X14 |1.1/16"X12 0910 442 | 49 | 442 | 27 27
AJOJ-120GZ 1.1/16"X12 | 1.1/16"X12 [ 1.1/16"X12 0912 442 | 51 | 442 | 27 32
AJOJ-140GZ 1.3/16"X12 | 1.3/16"X12 [ 1.3/16"X12 0914 485 | 56 | 485 | 33 38
AJOJ-16-14-160GZ | 1.5/16"X12 | 1.3/16"X12 | 1.5/16"X12 0914 49 56 49 33 38
AJOJ-160GZ 1.5/16"X12 | 1.5/16"X12 | 1.5/16"X12 0916 488 | 545 | 488 | 33 41
AJOJ-16-20-160GZ | 1.5/16"X12 | 1.5/8"X12 | 1.5/16"X12 0920 54 | 595 | 54 41 50
AJOJ-20-16-200GZ | 1.5/8"X12 | 1.5/16"X12| 1.5/8"X12 0916 555 | 59.5 | 55.5 | 41 41
AJOJ-200GZ 1.5/8"X12 | 1.5/8"X12 | 1.5/8"X12 0920 553 | 59 | 553 | 41 50
AJOJ-240GZ 1.7/8"X12 | 1.7/8"X12 | 1.7/8"X12 0924 625 | 63 | 625 | 48 55
Vi FR240 51S0 11926-13 LI LA . Note: F thread end fit with 1ISO11926-1 port..
EATON Winner i3 &%k H-AP-EHGC-2011-C Mar 2014 C-115



11 E#EESL ADAPTER

AJTJ-SP
740 JICHMZEL 74° M | BSPTHMERLL
NE=E
JIC MALE 74° CONE / BSPT MALE
BRANCH TEE
B i% £ THREAD J <+ DIMENSIONS
PART NO. E F G A B C S1
AJTJ-04SPZ 7/16"X20 R1/4"X19 7/16"X20 26.6 25.5 26.6 14
AJTJ-04-02-04SPZ 7/16"X20 R1/8"X28 7/16"X20 245 21 245 11
AJTJ-06SPZ 9/16"X18 R3/8"X19 9/16"X18 28.5 28.5 28.5 16
AJTJ-06-04-06SPZ 9/16"X18 R1/4"X19 9/16"X18 26.9 25.5 26.9 14
AJTJ-08SPZ 3/4"X16 R1/2"X14 3/4"X16 34.8 36 34.8 22
AJTJ-08-06-08SPZ 3/4"X16 R3/8"X19 3/4"X16 32 30.5 32 19
AJTJ-10-08-10SPZ 7/8"X14 R1/2"X14 7/8"X14 37.8 36 37.8 22
AJTJ-12SPZ 1.1/16"X12 R3/4"X14 1.1/16"X12 442 | 435 | 442 27
AJTJ-16SPZ 1.5/16"X12 R1"X11 1.5/16"X12 49 50 49 33
AJTJ-20SPZ 15/8"X12 | R1.1/4"X11 1.5/8"X12 55.5 56.5 55.5 41
AJTJ-24SPZ 1.7/18"X12 | R1.1/2"X11 1.7/8"X12 62.5 62.5 62.5 48
e
”“INr— o BJ
. JICHMEBET74° 9N/ I CPIIB AL 74° P i
74D w :!U o 74° ﬁi‘zz‘%
A c JIC MALE 74° CONE / JIC FEMALE 74° SEAT
BRANCH TEE
e i2 £ THREAD J <+ DIMENSIONS
PART NO. E F G A B C S1 | s2
BJ-04Z 7/16"X20 | 7/16"X20 | 7/16"X20 245 | 9 | 245 | 11 14
BJ-05Z 1/2"X20 | 1/2"X20 1/2"X20 265 | 95 | 265 | 14 | 17
BJ-06Z 9/16"X18 | 9/16"x18 | 9/16"X18 269 | 10 | 269 | 14 | 19
BJ-08Z 3/4"X16 | 3/4"X16 | 3/4"X16 32 11 32 19 | 22
BJ-10Z 7/8"X14 | 7/8"X14 | 7/8"X14 378 | 13 | 378 | 22 | 27
BJ-12Z 1.1/16"X12 | 1.1/16"X12 | 1.1/16"X12 442 | 145 | 442 | 27 | 32
BJ-14Z 1.3/16"X12 | 1.3/16"X12 | 1.3/16"X12 475 | 15 | 475 | 30 | 36
BJ-16Z 1.5/16"X12 | 1.5/16"X12 | 1.5/16"X12 49 |[15.18 | 49 33 | 41
BJ-20Z 1.5/8"X12 | 1.5/8"X12 | 1.5/8"X12 56 | 16.1 | 56 41 | 50
BJ-24Z 1.7/8"X12 | 1.7/8"X12 | 1.7/8"X12 635 | 186 | 635 | 48 | 60
BJ-32Z 2.1/2"X12 | 2.1/2"X12 | 2.1/2"X12 78 | 238 | 78 63 | 75

C-116 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

N = cJ
“w C * [ | ™ JICHMEZLI74° 9 /I ICPIERL 74° N
A FX=E
JIC MALE 74° CONE / JIC FEMALE 74° SEAT
RUN TEE
R® 2 % 4 THREAD JX sf DIMENSIONS
PART NO. E F G A B C S1 | s2
CJ-04Z 7/16"X20 | 7/16"X20 | 7/16"X20 245 | 245 9 1 14
CJ-05Z 1/2"X20 1/2"X20 1/2"X20 26.6 | 266 | 95 14 17
CJ-06Z 9/16"X18 | 9/16"X18 | 9/16"X18 269 | 269 | 10 14 19
CJ-08Z 3/4"X16 3/4"X16 3/4"X16 32 32 1 19 | 22
CJ-10Z 7/8"X14 7/8"X14 7/8"X14 378 | 378 | 13 22 | 27
CJ-12Z 1.1/16"X12 | 1.1/16"X12| 1.1/16"X12 442 | 442 | 145 | 27 32
CJ-14Z 1.3/16"X12 | 1.3/16"X12| 1.3/16"X12 475 | 475 | 15 30 36
CJ-16Z 1.5/16"X12 | 1.5/16"X12| 1.5/16"X12 46 46 [ 15.18| 33 | 41
CJ-20Z 1.5/8"X12 | 1.5/8"X12 | 1.5/8"X12 555 | 555 | 16.1 | 41 50
CJ-24Z 1.7/8"X12 | 1.7/8"X12 | 1.7/8"X12 625 | 625 | 186 | 48 | 60
CJ-32Z 2.1/2"X12 | 2.1/2"X12 | 2.1/2"X12 775 | 775 | 238 | 63 | 75
DJ
EHIJICHRIZN 74° N =18
JIC FEMALE 74° SEAT TEE
= 12 4 THREAD R~} DIMENSIONS
PART NO. E F G AB.C| S1 |S2S3534
DJ-04Z 7/16"X20 | 7/16"X20 | 7/16"X20 9 11 14
DJ-05Z 1/2"X20 1/2"X20 1/2"X20 9.5 1 17
DJ-06Z 9/16"X18 | 9/16"X18 | 9/16"X18 10 14 19
DJ-08Z 3/4"X16 3/4"X16 3/4"X16 11 16 22
DJ-10Z 7/8"X14 7/8"X14 7/8"X14 13 22 27
DJ-12Z 1.1/16"X12 | 1.1/16"X12 | 1.1/16"X12 145 | 24 32
DJ-16Z 1.5/16"X12 | 1.5/16"X12 | 1.5/16"X12 1518 | 33 41
EATON Winner i3 E#£k H-AP-EHGC-2011-C Mar 2014 cC-117



11 E#EESL ADAPTER

74°

@A ‘ c EJ
Nin= D JICHISBELT4° PO/ ICHMBLLT4° 51
1] " NE=iE
s2 ST \sa JIC FEMALE 74° SEAT / JIC MALE 74° CONE
BRANCH TEE
= i 2 THREAD JU <} DIMENSIONS
PART NO. E F G A.C| B S1 | s2,54
EJ-04Z 7/16"X20 | 7/16"X20 | 7/16"X20 9 | 245 | M 14
EJ-06Z 9/16"X18 | 9/16"X18 | 9/16"X18 95 | 265 | 14 19
EJ-08Z 3/4"X16 | 3/4"X16 | 3/4"X16 11 | 365 | 22 22
EJ-10Z 7/18"X14 | 7/8"X14 | 7/8"X14 13 | 38 22 27
EJ-12Z 1.1/16"X12 | 1.1/16"X12 | 1.1/16"X12 145 | 442 | 27 32
EJ-16Z 1.5/16"X12 | 1.5/16"X12 | 1.5/16"X12 15.18 | 49 33 41
EJ-20Z 1.5/8"X12 | 1.5/8"X12 | 1.5/8"X12 16.1 | 555 | 41 50
EJ-24Z 1.7/8"X12 | 1.7/8"X12 | 1.7/8"X12 18.6 | 625 | 48 60
EJNJ

JICREZEL74° A/ NPTHHELY 72 =&

JIC FEMALE 74° SEAT / NPTT BRANCH TEE

e i% £ THREAD R~} DIMENSIONS
PART NO. E F G A.C B S1 S2 S3
EJNJ-04Z 7/16 “X20 Z1/4"X18 7/16 “X20 9 255 14 17 14
EJNJ-05-04-05Z 1/2” X20 Z1/4"X18 1/2” X20 9 255 14 17 14
EJNJ-06Z 9/16 “X18 Z3/8"X18 9/16 “X18 105 | 295 16 19 19
EJNJ-06-04-06Z 9/16 “X18 Z1/4"X18 9/16 “X18 105 | 255 14 19 19
EJNJ-08Z 3/4” X16 Z1/2"X14 3/4” X16 105 | 36.7 22 24 22
EJNJ-08-06-08Z 3/4” X16 Z3/8"X18 3/4” X16 10.5 31 19 24 22
EJNJ-10-08-10Z 7/8"X14 Z1/2"X14 7/8"X14 12 36.7 22 27 27
EJNJ-12Z 1.1/16 “X12 |  z3/4"X14 1.1/16 “X12 15 44 27 32 32
EJNJ-16Z 1.5/16"X12 Z1"X11.5 1.5/16"X12 16 50 33 41 41
EJNJ-20Z 15/8"X12 | Z1.1/4"X11.5 | 1.5/8"X12 17 54.5 41 50 50
EJNJ-24Z 1.7/8"X12 | Z1.1/2"X11.5 | 1.7/8"X12 20 63 48 60 60

C-118

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

s1 ‘

A f HNNJ
T OQH
Iy c T PMRALN/IICIMEN 745N E =X =18
NPT FEMALE/JIC MALE 74° CONE RUN TEE

! i2 £ THREAD S ~f DIMENSIONS
PART NO. E F G A B C S1
HNNJ-04Z Z1/4"X18 | z1/4"X18 | 7/16"X20 224 | 224 | 295 | 19
HNNJ-04-04-05Z | z1/4"x18 | z1/4"X18 | 1/2"X20 224 | 224 | 295 | 19
HNNJ-04-04-06Z | z1/4"X18 | z1/4"X18 | 9/16"X18 224 | 224 | 31.2 | 19
HNNJ-06Z Z3/8"X18 | Z3/8"X18 | 9/16"X18 259 | 259 | 335 | 24
HNNJ-06-06-08Z | Z3/8"X18 | Z3/8"X18 | 3/4"X16 259 | 259 | 36 | 24
HNNJ-08Z Z1/2"X14 | z1/2"X14 | 3/4"X16 312 | 31.2 | 395 | 30
HNNJ-08-08-10Z | z1/2"X14 | z1/2"X14 | 7/8"X14 312 | 31.2 | 425 | 30
HNNJ-12Z Z3/4"X14 | z3/4"X14 | 1.1/16"X12 345 | 345 | 48 | 33
HNNJ-16Z Z1"X11.5 | z1"X11.5 | 1.5/16"X12 411 | 411 | 551 | 41

74°
)
. JNJN
RS PMRLN/JICIMEN 74°5M E P =18
E }——{ G NPT FEMALE/JIC MALE 74° CONE BRANCH TEE
23 ¢

e i# £ THREAD J <+ DIMENSIONS
PART NO. E F G A B o} S1
INJIN-02-04-02Z | z1/8"X27 | 7/16"X20 | Z1/8"X27 16.8 | 265 | 16.8 | 16
JNJIN-04Z Z1/4"X18 | 7/16"X20 | Zz1/4"X18 224 | 295 | 224 | 19
JNJIN-04-06-04Z | Z1/4"X18 | 9/16"X18 | Z1/4"X18 224 | 30 | 224 | 19
JNJIN-06Z Z3/8"X18 | 9/16"X18 | Zz3/8"X18 259 | 335 | 259 | 24
JNJIN-08-06-08Z | z1/2"X14 | 9/16"X18 | Z1/2"X14 312 | 365 | 312 | 30
JNJIN-08Z Z1/2"X14 | 3/4"X16 | z1/2"X14 312 | 395 | 312 | 30
JNJUN-08-10-08Z | z1/2"X14 | 7/8"X14 | z1/2"X14 312 | 425 | 312 | 30
JNJIN-12Z Z3/4"X14 | 1.1/16"X12 | Z3/4"X14 345 | 48 | 345 | 33
JNJN-16Z Z1"X11.5 [1.5/16"X12| Z1"X11.5 411 | 551 | 411 | 41

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-119



11 E#EESL ADAPTER

R KJNJ
S1
o
”@ JEPA e T JICSMBELTASMEINPTAREL
0 BE=iE
A c JIC MALE 74° CONE / NPT FEMALE
BRANCH TEE
e i 4 THREAD S~ DIMENSIONS
PART NO. E F G A B C S1
KJINJ-04Z 7/16"X20 | Z1/4"X18 | 7/16"X20 295 | 224 | 295 | 19
KJINJ-04-02-04Z | 7/16"X20 | Z1/8"X27 | 7/16"X20 265 | 168 | 265 | 16
KJINJ-05-02-05Z | 1/2"X20 | Zz1/8"X27 | 1/2"X20 275 | 168 | 275 | 16
KJINJ-05-04-05Z | 1/2"X20 | Zz1/4"X18 | 1/2"X20 295 | 224 | 295 | 19
KJINJ-06Z 9/16"X18 | Z3/8"X18 | 9/16"X18 335 | 259 | 335 | 24
KJINJ-06-04-06Z | 9/16"X18 | Z1/4"X18 | 9/16"X18 30 | 224 | 30 19
KJINJ-08Z 3/14"X16 | Z1/2"X14 | 3/4"X16 395 | 31.2 | 395 | 30
KJINJ-08-04-08Z | 3/4"X16 | Z1/4"X18 | 3/4"X16 316 | 224 | 32 19
KJINJ-08-06-08Z | 3/4"X16 | Z3/8"X18 | 3/4"X16 36 | 259 | 36 24
KJINJ-10-08-10Z | 7/8"X14 | z1/2"X14 | 7/8"X14 425 | 312 | 425 | 30
KJINJ-10-12-10Z | 7/8"X14 | Z3/4"X14 | 7/8"X14 445 | 345 | 445 | 33
KJINJ-12Z 1.1/16"X12 | Z3/4"X14 [1.1/16"X12 48 | 345 | 48 33
KINJ-12-08-12Z [ 1.1/16"X12| Z1/2"X14 [1.1/16"X12 46 | 312 | 46 30
KJINJ-14-12-14Z [ 1.3/16"X12| Z3/4"X14 [1.3/16"X12 485 | 345 | 485 | 33
KJINJ-16Z 1.5/16"X12 | z1"X11.5 |[1.5/16"X12 54 | 411 | 54 41
KJINJ-16-12-16Z | 1.5/16"X12 | Z3/4"X14 [1.5/16"X12 49 | 345 | 49 33
KJINJ-20Z 1.5/8"X12 [Z1.1/4"X11.5| 1.5/8"X12 59.4 | 432 | 594 | 48
KJINJ-24Z 1.7/8"X12 | Z1.1/2"X11.5 | 1.7/8"X12 734 | 528 | 734 | 63
F
ST KJNN

JICHMZELL74°INEINPTIREZESU/NPTIMELL

74°(>@ - 7 — =R

A c JIC MALE 74° CONE / NPT FEMALE/NPT
MALE TEE

e i# £ THREAD <} DIMENSIONS
PART NO. E F G A B C S1
KJNN-04-02-02Z | 7/16"X20 | z1/8"X27 | Z1/8"X27 265 | 16.8 | 245 | 16
KJNN-04Z 7/16"X20 | z1/4"X18 | z1/4"X18 295 | 224 | 28 19
KJNN-06-04-04Z | 9/16"X18 | z1/4"X18 | Z1/4"X18 30 | 224 | 28 19
KJNN-06Z 9/16"X18 | Zz3/8"X18 | z3/8"X18 335 | 259 | 335 | 24
KJNN-08-06-06Z | 3/4"X16 | z3/8"x18 | z3/8"X18 36 | 259 | 335 | 24
KJNN-08Z 3/4"X16 | Z1/2"X14 | Z1/2"X14 395 | 31.2 | 412 | 30
KJNN-10-08-08Z | 7/8"X14 | z1/2"X14 | Z1/2"X14 425 | 312 | 412 | 30
KJNN-12Z 1.1/16"X12 | Z3/4"X14 | Z3/4"X14 48 | 345 | 452 | 33
KJINN-14-12-12Z | 1.3/16"X12| Z3/4"X14 | Z3/4"X14 485 | 345 | 452 | 33
KJNN-16Z 1.5/16"X12 | z1"X11.5 | Z1"X11.5 551 | 411 | 545 | 41

C-120 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

<7
F
J ‘ ) LJJN
el L Ve JICHMEBLL74°5MNEE/NPTPIERLL
= e EXNZE
AT o JIC MALE 74° CONE / NPT FEMALE
RUN TEE
= i2 £ THREAD R~} DIMENSIONS
PART NO. E F G A B C S1
LJUN-04Z 7/116"X20 | 7/16"X20 | Z1/4"X18 309 [ 309 | 2511 | 19
LJUN-04-04-02Z | 7/16"X20 | 7/16"X20 | Z1/8"X27 275 | 275 | 168 | 16
LJJIN-05-05-02Z 1/2"X20 1/2'x20 | z1/8"x27 275 | 275 | 168 | 16
LJJN-05-05-04Z 1/2"X20 1/2'X20 | z1/4"x18 295 | 295 | 224 | 19
LJIN-06Z 9/16"X18 | 9/16"X18 | Zz3/8"X18 335 | 335 | 268 | 24
LJUN-06-06-04Z | 9/16"X18 | 9/16"X18 | Z1/4"X18 30 | 30 [ 225 | 19
LJIN-08Z 3/4"X16 3/4"X16 | z1/2"X14 395 | 395 | 33 30
LJIN-08-08-06Z | 3/4"X16 3/4"X16 | Z3/8"X18 36 | 36 | 259 | 24
LJIN-10-10-08Z | 7/8"X14 7/8"X14 | z1/2"X14 425 | 425 | 312 | 30
LJIN-12Z 1.1/16"X12 | 1.1/16"X12 | Z3/4"X14 48 | 48 39 33
LJIN-14-14-12Z [ 1.3/16"X12| 1.3/16"X12 | Z3/4"X14 485 | 485 | 345 | 33
LJIN-16Z 1.5/16"X12 | 1.5/16"X12 | Z1"X11.5 551 | 55.1 | 439 | 41
LJJIN-20Z 1.5/8"X12 | 1.5/8"X12 |Z1.1/4"X11.5 592 | 59.2 | 433 | 48
LJIN-24Z 1.7/8"X12 | 1.7/8"X12 |Z1.1/2"X11.5 734 | 734 | 528 | 63
/==
) } o LJNN
O TR ~T JICHNBELT AN HEINRLL
P R ERIEY =iF
JIC MALE 74° CONE / NPT MALE / NPT
FEMALE TEE
e i 4 THREAD <} DIMENSIONS
PART NO. E F G A B C S1
LJNN-04Z 7116"X20 | z1/4"X18 | Z1/4"X18 205 | 28 | 224 | 19
LINN-04-02-02Z | 7/16"X20 | Zz1/8"X27 | Z1/8"X27 275 | 245 | 168 | 16
LJNN-06Z 9/16"X18 | Zz3/8"X18 | Z3/8"X18 335 | 335 | 259 | 24
LJNN-06-04-04Z | 9/16"X18 | Z1/4"X18 | Z1/4"X18 312 | 28 | 224 | 19
LJNN-08Z 3/4"X16 | Z1/2"X14 | Z1/2"X14 395 [ 412 | 312 | 30
LJNN-08-06-06Z | 3/4"X16 | Z3/8"X18 | Z3/8"X18 36 | 335 | 259 | 24
LJNN-10-08-08Z | 7/8"X14 | Zz1/2"X14 | Z1/2"X14 425 | 412 | 312 | 30
LINN-12Z 1.1/16"X12 | Z3/4"X14 | Zz3/4"X14 48 | 452 | 345 | 33
LINN-14-12-12Z | 1.3/16"X12| Z3/4"X14 | Z3/4"X14 485 | 452 | 345 | 33
LIJNN-16Z 1.5116"X12| z1"X11.5 | z1"X11.5 55.1 | 545 | 411 | 41

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-121



T ERESL ADAPTER

/_V_Vj
S2
>_°-°—X/_
N NB200
JICHZ R}
= § JIC TRIPLE LOCK NUT
L
e IR AE VCPC ) 5% 414 INCH SLEEVE( ULAC ) A fil4f%& METRIC SLEEVE | R ~f DIMENSIONS
=

PARTNO. | THREAD | e 0p, | sieeveno. | Tuseop. | sieeveno. | & | 92
NB200-04Z 7/16"X20 1/4" NB300-04Z 6 NB500-06Z 158 | 14
NB200-05Z 1/2"X20 5/16" NB300-05Z 8 NB500-08Z 173 | 17
NB200-06Z 9/16"X18 3/8" NB300-06Z 10 NB500-10Z 185 19
NB200-08Z2 3/4"X16 1/2" NB300-08Z 12 NB500-12Z 216 | 24
NB200-10Z 7/8"X14 14 NB500-14Z 249 | 27
NB200-10Z 7/8"X14 15 NB500-15Z 249 | 27
NB200-10Z 7/8"X14 5/8" NB300-10Z 16 NB500-16Z 249 | 27
NB200-12Z 1.1/16"X12 3/4" NB300-12Z 18 NB500-18Z 26.2 | 32
NB200-14Z 1.3/16"X12 20 NB500-20Z 27.7 | 36
NB200-14Z 1.3/16"X12 7/8" NB300-14Z 22 NB500-22Z 27.7| 36
NB200-16Z 1.5/16"X12 1" NB300-16Z 25 NB500-25Z 28.7| 38
NB200-20Z 1.5/8"X12 28 NB500-28Z 31.2| 50
NB200-20Z 1.5/8"X12 30 NB500-30Z 31.2 | 50
NB200-20Z 1.5/8"X12 1.1/4" NB300-20Z 32 NB500-32Z 31.2| 50
NB200-24Z 1.7/8"X12 35 NB500-35Z 36.1| 60
NB200-24Z 1.7/8"X12 1.1/2" NB300-24Z 38 NB500-38Z 36.1| 60
NB200-32Z 2.1/2"X12 2" NB300-32Z 50 NB500-50Z 445 | 75

C-122

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




T ERESL ADAPTER

L
%!
()] — i L
JICEHIE
JICINCH SLEEVE
= 122 THREAD HT4Ms TUBE O.D. JX 5 DIMENSIONS
PART NO. In. D L
NB300-04Z 7/16"X20 1/4" 9.73 10.4
NB300-05Z 1/2"X20 5/16" 1.8 11.2
NB300-06Z 9/16"X18 3/8" 12.75 | 12.7
NB300-08Z 3/4"X16 1/2" 17.32 | 14.2
NB300-10Z 7/8"X14 5/8" 20.24 | 16.8
NB300-12Z 1.1/16"X12 3/4" 2469 | 17.3
NB300-14Z 1.3/16"X12 718" 27.86 | 19.3
NB300-16Z 1.5/16"X12 1" 31.04 | 19.8
NB300-20Z 1.5/8"X12 1.1/4" 38.96 | 23.1
NB300-24Z 1.7/8"X12 1.1/2" 4531 | 284
NB300-32Z 2.1/2"X12 2" 61.19 | 30.2

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 Cc-123



T ERESL ADAPTER

L
/I
NB500
o B
JICAHIE
JICMETRIC SLEEVE
= U240 THREAD &F4METUBE O.D. /U<t DIMENSIONS

PART NO. mm D L

NB500-06Z 7/16"X20 6 9.7 10.4
NB500-08Z 1/2"X20 8 11.3 11.2
NB500-10Z 9/16"X18 10 12.7 12.7
NB500-12Z 3/4"X16 12 17.3 14.2
NB500-14Z 7/8"X14 14 20.2 16.8
NB500-15Z 7/8"X14 15 20.2 16.8
NB500-16Z 7/8"X14 16 20.2 16.8
NB500-18Z 1.1/16"X12 18 24.7 17.3
NB500-20Z 1.3/16"X12 20 27.8 19.3
NB500-22Z7 1.3/16"X12 22 27.8 19.3
NB500-25Z 1.5/16"X12 25 31 19.8
NB500-28Z 1.5/8"X12 28 38.9 | 23.1
NB500-30Z 1.5/8"X12 30 38.9 23.1
NB500-32Z 1.5/8"X12 32 38.9 | 23.1
NB500-35Z 1.7/8"X12 35 453 28.4
NB500-38Z 1.7/8"X12 38 453 | 284
NB500-50Z 2.1/2"X12 50 61.2 30.2

C-124

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

EHIORFSIMEL ORI F HZE:

1F

ORFS MALE O-RING

Re i% £ THREAD OJFJE O-RING R~} DIMENSIONS
PART NO. E F Ef Fifh A B L S1
1F-04Z 9/16"X18 9/16"X18 0011 0011 10 10 | 275 | 17
1F-04-06Z 9/16"X18 11/16"X16 0011 0012 10 | 1.2 | 29.7 | 19
1F-04-08Z 9/16"X18 13/16"X16 0011 0014 10 13 | 325 | 22
1F-06Z 11/16"X16 11/16"X16 0012 0012 112 | 112 | 311 | 19
1F-06-08Z 11/16"X16 13/16"X16 0012 0014 112 | 13 | 338 | 22
1F-06-10Z 11/16"X16 1"X14 0012 0016 112 | 155 | 38 27
1F-08Z 13/16"X16 13/16"X16 0014 0014 13 13 | 354 | 22
1F-08-10Z 13/16"X16 1"X14 0014 0016 13 | 155 | 40 27
1F-08-12Z 13/16"X16 | 1.3/16"X12 0014 0018 13 17 43 32
1F-10Z 1"X14 1"X14 0016 0016 155 | 155 | 425 | 27
1F-10-12Z 1"X14 1.3/16"X12 0016 0018 155 | 17 | 455 | 32
1F-12Z 1.3/16"X12 | 1.3/16"X12 0018 0018 17 17 | 471 | 32
1F-12-16Z 1.3M16"X12 |  1.7/16"X12 0018 0021 17 | 175 | 455 | 38
1F-12-20Z 1.3/16"X12 | 1.11/16"X12 0018 0025 17 | 175 | 505 | 46
1F-16Z 1.7116"X12 | 1.7/16"X12 0021 0021 175 | 175 | 493 | 41
1F-16-20Z 1.7116"X12 | 1.11/16"X12 0021 0025 175 | 175 | 51.3 | 46
1F-16-24Z 1.7/16"X12 2"X12 0021 0029 175 | 175 | 53 55
1F-20Z 1.11/16"X12 | 1.11/16"X12 0025 0025 175 | 175 | 513 | 46
1F-20-24Z 1.11/16"X12 2"X12 0025 0029 175 | 175 | 53 55
1F-24Z 2"X12 2"X12 0029 0029 175 | 175 | 53 55

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-125




11 E#EESL ADAPTER
F

v

1F9

EHIORFSIMENOF B FEEZE 90° &
ORFS MALE O-RING 90° ELBOW

A
=] i2 £ THREAD OJ¥ & O-RING R ~F DIMENSIONS

PART NO. E F Esfi Fifh A B S1

1F9-04Z 9/16"X18 9/16"X18 0011 0011 23 23 14
1F9-04-06Z 9/16"X18 11/16"X16 0011 0012 255 | 27 19

1F9-06Z 11/16"X16 11/16"X16 0012 0012 275 | 275 | 19
1F9-06-08Z 11/16"X16 13/16"X16 0012 0014 29 31 22

1F9-08Z 13/16"X16 13/16"X16 0014 0014 31 31 22
1F9-08-12Z 13/16"X16 | 1.3/16"X12 0014 0018 355 | 403 | 30

1F9-10Z 1"X14 1"X14 0016 0016 365 | 365 | 27

1F9-12Z 1.3/16"X12 | 1.3/16"X12 0018 0018 41 41 30

1F9-16Z 1.7/16"X12 | 1.7116"X12 0021 0021 445 | 445 | 36

1F9-20Z 1.11/16"X12 | 1.11/16"X12 0025 0025 475 | 475 | 41

1F9-24Z 2"X12 2"X12 0029 0029 535 | 535 | 50

1FH
EFHIORFSHMRELI O B FE ZH 3T /A
SMEL AT A4 iR E R 51ISO 6149-2
ORFS MALE O-RING / METIRC MALE
ADJUSTABLE STUD END S-SERIES 1SO6149-2
=] i2 £ THREAD OF¥ 8 O-RING R~ DIMENSIONS

PART NO. E F Ev Fi A B L S1
1FH-04-10NZ 9/16" X18 M10X1 0011 008.1X1.6 10 9.5 28 17
1FH-04-12NZ 9/16" X18 M12X1.5 0011 009.3X2.2 10 11 28.5 17
1FH-06-12NZ 11/16"X16 M12X1.5 0012 009.3X2.2 1.2 11 31 19
1FH-06-14NZ 11/16"X16 M14X1.5 0012 011.3X2.2 11.2 11 31 19
1FH-06-16NZ 11/16"X16 M16X1.5 0012 013.3X2.2 112 | 125 | 335 | 22
1FH-08-16NZ 13/16"X16 M16X1.5 0014 013.3X2.2 128 | 125 | 36 22
1FH-08-18NZ 13/16"X16 M18X1.5 0014 015.3X2.2 12.8 14 | 365 | 24
1FH-08-22NZ 13/16"X16 M22X1.5 0014 019.3X2.2 12.8 15 | 375 | 27
1FH-10-22NZ 1"X14 M22X1.5 0016 019.3X2.2 15.5 15 | 405 | 27
1FH-12-22NZ 1.3/16"X12 M22X1.5 0018 019.3X2.2 17 15 | 455 [ 32
1FH-12-27NZ 1.3/16"X12 M27X2 0018 023.6X2.9 17 185 | 49 32
1FH-16-33NZ 1.7/16"X12 M33X2 0021 029.6X2.9 175 | 185 | 51 41
1FH-20-42NZ 1.11/16"X12 M42X2 0025 038.6X2.9 17.5 19 | 545 [ 50
1FH-24-48NZ 2"X12 M48X2 0029 044.6X2.9 175 | 215 | 57 55

VE: FIRZ051S0 6149-17 HILELEH . Note: F thread end fit with 1SO 6149-1 port.

C-126

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

F
| 1FH9-0G -
S2 — C
i @ EHIORFSHMEL OB T mE &+t /
AT E A FIIMEN OB ZE EARFISO 6149-2 90° &
w | . ORFS MALE O-RING /
)<g ADJUSTABLE METRIC ORING SEAL S-SERIES ISO6149-2
A 90° ELBOW
e i2 £ THREAD O J% [ O RING X~ DIMENSIONS

PART NO. E F E 3 F s A B S1 S2
1FH9-04-120GZ | 9/16"X18 M12X1.5 0011 009.3X2.2 23 32 14 17
1FH9-06-140GZ | 11/16"X16 M14X1.5 0012 011.3X2.2 27 | 355 | 19 19
1FH9-06-160GZ | 11/16"X16 M16X1.5 0012 013.3X2.2 27 38 19 22
1FH9-08-160GZ | 13/16"X16 M16X1.5 0014 013.3X2.2 31 | 405 | 22 22
1FH9-08-180GZ | 13/16"X16 M18X1.5 0014 015.3X2.2 31 43 22 24
1FH9-08-220GZ | 13/16"X16 M22X1.5 0014 019.3X2.2 31 | 445 | 22 27
1FH9-10-220GZ 1"X14 M22X1.5 0016 019.3x2.4 | 365 | 48 27 27
1FH9-12-270GZ | 1.3/16"X12 M27X2 0018 0236X2.9 | 405 | 50 30 32
1FH9-12-330GZ | 1.3/16"X12 M33X2 0018 029.6X2.9 | 425 | 56 33 41
1FH9-16-330GZ | 1.7/16"X12 M33X2 0021 0296X2.9 | 445 | 585 | 36 41
VE: Fi51S0 6149-13 D AHREC. Note: F end is fit for ISO 6149-1 port.

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 c-127



11 E#EESL ADAPTER

L

A B
& //gﬂ; 1FN
1 ledl

w B} u
EHIORFSIMBEN OB FEZ T / T HEEIMEL
‘ ORFS MALE O-RING / NPT MALE
F
S1
Re i% £ THREAD OJFJE O-RING R~} DIMENSIONS
PART NO. E F Ef A B L S1
1FN-04-02Z 9/16"X18 Z1/8"X27 0011 10 | 105 | 265 | 17
1FN-04Z 9/16"X18 Z1/4"X18 0011 10 15 | 305 | 17
1FN-04-06Z 9/16"X18 Z3/8"X18 0011 10 16 | 305 | 19
1FN-06-04Z 11/16"X16 Z1/4"X18 0012 11 15 32 19
1FN-06Z 11/16"X16 Z3/8"X18 0012 112 | 16 | 335 | 19
1FN-06-08Z 11/16"X16 Z1/2"X14 0012 11.2 | 195 | 39 24
1FN-08-04Z 13/16"X16 Z1/4"X18 0014 13 15 36 22
1FN-08-06Z 13/16"X16 Z3/8"X18 0014 13 16 | 365 | 22
1FN-08Z 13/16"X16 Z1/2"X14 0014 13 | 195 | 40 24
1FN-08-12Z 13/16"X16 Z3/4"X14 0014 13 | 195 | 425 | 30
1FN-10-08Z 1"X14 Z1/2"X14 0016 155 | 195 | 45 27
1FN-10-12Z 1"X14 Z3/4"X14 0016 155 | 195 | 45 30
1FN-12-08Z 1.3/16"X12 Z1/2"X14 0018 17 | 195 | 465 | 32
1FN-12Z 1.3/16"X12 Z3/4"X14 0018 17 | 195 | 49 32
1FN-12-16Z 1.3/16"X12 Z1"X11.5 0018 17 | 255 | 535 | 36
1FN-16-12Z 1.7/16"X12 Z3/4"X14 0021 175 | 195 | 48 38
1FN-16Z 1.7/16"X12 Z1"X11.5 0021 175 | 2555 | 535 | 38
1FN-16-20Z 1.7/16"X12 | Z1.1/4"X11.5 0021 175 | 265 | 57 46
1FN-20-16Z | 1.11/16"X12 |  Z1"X11.5 0025 175 | 255 | 56 46
1FN-20Z 1.11/16"X12 | Z1.1/4"X11.5 0025 175 | 265 | 565 | 46
1FN-20-24Z | 1.11/16"X12 | Z1.1/2"X11.5 0025 175 | 275 | 60 50
1FN-24Z 2"X12 Z1.1/2"X11.5 0029 175 | 275 | 595 | 55

C-128 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

X HIORFSHMEL O B T EZHE /
mHEEIMEL 90°5

1FN9

ORFS MALE O-RING / NPT MALE 90° ELBOW

Re i% £ THREAD OJFJE O-RING R~} DIMENSIONS
PART NO. E F Ef A B S1
1FN9-04-02Z 9/16X18 Z1/8"X27 0011 23 24 14
1FN9-04Z 9/16X18 Z1/4"X18 0011 23 | 255 | 14
1FN9-06-04Z 11/16"X16 Z1/4"X18 0012 27 | 285 | 19
1FN9-06Z 11/16"X16 Z3/8"X18 0012 275 | 31 19
1FN9-06-08Z 11/16"X16 Z1/2"X14 0012 29 | 367 | 22
1FN9-08-06Z 13/16"X16 Z3/8"X18 0014 31 | 335 | 22
1FN9-08Z 13/16"X16 Z1/2"X14 0014 29 | 356 | 22
1FN9-08-12Z 13/16"X16 Z3/4"X14 0014 345 | 44 27
1FN9-10-08Z 1"X14 Z1/2"X14 0016 36.5 | 40 27
1FN9-10-12Z 1"X14 Z3/4"X14 0016 36.5 | 44 27
1FN9-12-08Z | 1.3/16"X12 Z1/2"X14 0018 403 | 415 | 30
1FN9-12Z 1.3/16"X12 Z3/4"X14 0018 41 | 455 | 30
1FN9-12-16Z | 1.3/16"X12 Z1"X11.5 0018 43 50 33
1FN9-16-12Z | 1.7/16"X12 Z3/4"X14 0021 445 | 49 36
1FN9-16Z 1.7/16"X12 Z1"X11.5 0021 445 | 515 | 36
1FN9-20-16Z [ 1.11/16"X12 |  z1"X11.5 0025 475 | 545 | 41
1FN9-20Z 1.11/16"X12 | Z1.1/4"X11.5 0025 475 | 545 | 41
1FN9-24Z 2"X12 Z1.1/2"X11.5 0029 535 | 58.7 | 50

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-129




11 E#EESL ADAPTER

L
A B
1FO
g 77%///
L - B— . = HIORFSHMRAL O B T m #5314
SAESMELHOREE R 51ISO 11926-2
— - ORFS MALE O-RING/SAE O-RING BOSS
S1 S-SERIES ISO 11926-2

= i £ THREAD OJ¥[El O-RING L~} DIMENSIONS
PART NO. E F Eih Fi A B L S1
1FO-04Z 9/16"X18 7/16"X20 0011 0904 10 1" 28.7 17
1FO-04-05Z 9/16"X18 1/2"X20 0011 0905 10 1 28.7 17
1F0O-04-06Z 9/16"X18 9/16"X18 o011 0906 10 12 29.5 17
1F0O-04-08Z2 9/16"X18 3/4"X16 0011 0908 9.8 14 33.5 22
1F0O-06-04Z 11/16"X16 7/16"X20 0012 0904 1.2 1" 33.5 19
1FO-06-05Z 11/16"X16 1/2"X20 0012 0905 11.2 1 30.9 19
1FO-06Z 11/16"X16 9/16"X18 0012 0906 1.2 12 31.9 19
1FO-06-08Z2 11/16"X16 3/4"X16 0012 0908 11.2 14 35 22
1FO-06-10Z 11/16"X16 7/8"X14 0012 0910 1.2 16 38.5 27
1FO-08-06Z 13/16"X16 9/16"X18 0014 0906 13 12 85 22
1F0O-08Z 13/16"X16 3/4"X16 0014 0908 13 14 36.6 22
1FO-08-10Z 13/16"X16 7/8"X14 0014 0910 13 16 40.5 27
1FO-08-12Z7 13/16"X16 1.1/16"X12 0014 0912 13 18.5 445 32
1FO-10Z 1"X14 7/8"X14 0016 0910 15.5 16 43.1 27
1FO-10-08Z 1"X14 3/4"X16 0016 0908 15.5 14 44 27
1FO-10-12Z 1"X14 1.1/16"X12 0016 0912 195 18.5 47 32
1FO-12-10Z 1.3/16"X12 7/8"X14 0018 0910 17 16 49 32
1FO-12Z2 1.3/16"X12 1.1/16"X12 0018 0912 17 18.5 48.6 32
1FO-12-16Z 1.3/16"X12 1.5/16"X12 0018 0916 17 18.5 49.8 38
1FO-16-12Z 1.7/16"X12 1.1/16"X12 0021 0912 17.5 18.5 658 38
1FO-16Z 1.7/16"X12 1.5/16"X12 0021 0916 17.5 18.5 50.3 38
1FO-16-20Z 1.7/16"X12 1.5/8"X12 0021 0920 17.5 18.5 52 50
1FO-20-16Z 1.11/16"X12 1.5/16"X12 0025 0916 17.5 18.5 54 46
1FO-20Z 1.11/16"X12 1.5/8"X12 0025 0920 17.5 18.5 52.3 50
1F0O-24-20Z 2"X12 1.5/8"X12 0029 0920 17.5 18.5 58 55
1FO-24Z7 2"X12 1.7/8"X12 0029 0924 17.5 18.5 54.1 68

VE: FIEZUR 5180 11926-1iH HULEA# . Note: F thread end fit with 1ISO11926-1 port.

C-130

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

1F09-OGL

X HIORFSIMEL ORI F I ZE /
K AIEE £ HISAEOF. B HE EARFIISO 11926-2 90°E
ORFS MALE O-RING /
LONG ADJUSTABLE SAE ORING SEAL S-SERIES
ISO 11926-2 90° ELBOW

B i £ THREAD OJ¢# O-RING <+ DIMENSIONS
PART NO. E F Eifi Fi A B L S1
1F09-040GLZ 9/16"X18 7/16"X20 0011 0904 23 44 14 17
1F09-04-080GLZ | 9/16"X18 3/4"X16 0011 0908 25.5 | 63.5 19 24
1FO9-060GLZ 11/16"X16 9/16"X18 0012 0906 275 | 52.8 19 19
1F09-06-080GLZ | 11/16"X16 3/4"X16 0012 0908 27.5 | 63.5 19 24
1FO9-080GLZ 13/16"X16 3/4"X16 0014 0908 31 63.5 22 24
1F09-08-100GLZ | 13/16"X16 7/8"X14 0014 0910 31 73.4 22 27
1FO9-100GLZ 1"X14 7/18"X14 0016 0910 36.5 | 73.4 27 27
1F09-120GLZ 1.3/16"X12 1.1/16"X12 0018 0912 41 84.8 30 32
1F09-12-160GLZ | 1.3/16"X12 1.5/16"X12 0018 0916 43 94.5 33 41
1F09-160GLZ 1.7/16"X12 1.5/16"X12 0021 0916 445 | 945 36 41
W FIZZ0m 51S0 11926-19H D ITEC{EH .  Note: F thread end fit with 1ISO11926-1 port.

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-131



11 E#EESL ADAPTER

F

4 !—
|

1FO9-0G

S2
BSL: 45| ORFSHMBL O B E 51 /
- TIAMESISAE OF¢E%H ERFISO 11926-2 90°%
! ORFS MALE O-RING /
lh '_] _'_\.k')l ADJUSTABLE SAE ORING SEAL S-SERIES ISO 11926-2
S1

90° ELBOW
A
RE i% £ THREAD OJFJE O-RING R~} DIMENSIONS

PART NO. E F Ef Fifh A B S1 S2
1F09-040GZ 9/16"X18 7/16"X20 0011 0904 23 | 303 | 14 17
1F09-04-060GZ | 9/16"X18 9/16"X18 0011 0906 23 32 14 19
1F09-06-040GZ | 11/16"X16 7/16"X20 0012 0904 275 | 335 | 19 17
1F09-060GZ 11/16"X16 9/16"X18 0012 0906 275 | 345 | 19 19
1F09-06-080GZ | 11/16"X16 3/4"X16 0012 0908 275 | 38 19 24
1F09-06-100GZ | 11/16"X16 7/8"X14 0012 0910 29 | 453 | 22 27
1F09-08-060GZ | 13/16"X16 9/16"X18 0014 0906 31 37 22 19
1F09-080GZ | 13/16"X16 3/4"X16 0014 0908 31 | 405 | 22 24
1F09-08-100GZ | 13/16"X16 7/8"X14 0014 0910 31 | 453 | 22 27
1F09-08-120GZ | 13/16"X16 | 1.1/16"X12 0014 0912 345 | 52 27 32
1F09-10-080GZ 1"X14 3/4"X16 0016 0908 365 | 45 27 24
1F09-100GZ 1"X14 7/8"X14 0016 0910 36.5 | 508 | 27 27
1F09-10-120GZ 1"X14 1.1/16"X12 0016 0912 365 | 52 27 32
1F09-12-100GZ | 1.3/16"X12 7/8"X14 0018 0910 41 | 528 | 30 27
1F09-120GZ | 1.3/16"X12 | 1.1/16"X12 0018 0912 41 54 30 32
1F09-12-160GZ | 1.3/16"X12 | 1.5/16"X12 0018 0916 43 | 555 | 33 41
1F09-16-120GZ | 1.7/16"X12 | 1.1/16"X12 0021 0912 445 | 59 36 32
1F09-160GZ | 1.7/16"X12 | 1.5/16"X12 0021 0916 445 | 59 36 41
1F09-200GZ | 1.11/16"X12 |  1.5/8"X12 0025 0920 475 | 605 | 41 50
1F09-20-240GZ | 1.11/16"X12 | 1.7/8"X12 0025 0924 515 | 66.5 | 48 55
1F09-24-200GZ 2"X12 1.5/8"X12 0029 0920 535 | 67.5 | 50 50
1F09-240GZ 2"X12 1.7/8"X12 0029 0924 52 | 66.5 | 48 55

VE: FI280m51S0 11926-13 D ILEC{EH . Note: F thread end fit with ISO11926-1 port.

C-132 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

L B
A
% %@ 2F
L . - EHIORFSIMRELI O
. i B E %41 /| ORFSPIIZEL
S1 ORFS MALE O-RING / ORFS FEMALE
S2
= #2 £ THREAD OJ¥ [ O-RING S DIMENSIONS

PART NO. E F Esfi A B L S1 S2
2F-04Z 9/16"X18 9/16"X18 0011 10 | 85 | 33 17 17
2F-04-06Z 9/16"X18 11/16"X16 0011 10 10 | 345 | 17 22
2F-04-08Z 9/16"X18 13/16"X16 0011 10 11 | 365 | 19 27
2F-06-04Z 11/16"X16 9/16"X18 0012 112 | 85 | 355 | 19 17
2F-06Z 11/16"X16 11/16"X16 0012 112 | 10 | 385 | 19 22
2F-06-08Z 11/16"X16 13/16"X16 0012 112 [ 11 | 377 | 19 27
2F-06-10Z 11/16"X16 1"X14 0012 112 | 13 | 437 | 24 30
2F-08-06Z 13/16"X16 11/16"X16 0014 13 10 41 22 22
2F-08Z 13/16"X16 13/16"X16 0014 13 11 43 22 27
2F-08-10Z 13/16"X16 1"X14 0014 13 13 | 455 | 24 30
2F-08-12Z 13/16"X16 |  1.3/16"X12 0014 13 15 49 30 36
2F-10-08Z 1"X14 13/16"X16 0016 155 | 11 | 475 [ 27 27
2F-10Z 1"X14 1"X14 0016 155 | 135 | 515 [ 27 30
2F-10-12Z 1"X14 1.3/16"X12 0016 155 | 15 [ 515 [ 30 36
2F-10-16Z 1"X14 1.7/16"X12 0016 155 | 15 56 36 41
2F-12-08Z 1.3/16"X12 [  13/16"X16 0018 17 11 | 505 | 32 27
2F-12-10Z 1.3/16"X12 1"X14 0018 17 | 135 | 545 | 32 30
2F-12Z 1.3/16"X12 [ 1.3/16"X12 0018 17 15 56 32 36
2F-12-16Z 1.3/16"X12 | 1.7/16"X12 0018 17 15 58 36 41
2F-16-12Z 1.7/16"X12 | 1.3/16"X12 0021 175 | 15 58 38 36
2F-16Z 1.7/16"X12 | 1.7/16"X12 0021 175 | 15 60 38 41
2F-16-20Z 1.7/16"X12 | 1.11/16"X12 0021 175 | 15 58 41 50
2F-20-16Z 1.11/16"X12 | 1.7/16"X12 0025 175 | 15 | 585 [ 46 41
2F-20Z 1.11/16"X12 | 1.11/16"X12 0025 175 | 15 62 46 50
2F-20-24Z 1.11/16"X12 2"X12 0025 175 | 15 | 655 [ 50 60
2F-24-20Z 2"X12 1.11/16"X12 0029 175 | 15 64 55 50
2F-247 2"X12 2"X12 0029 175 | 15 64 55 60

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-133



T ERESL ADAPTER

2F9
XHIORFSIMEL O EIF HE 2 / ORFSHIRLL 90°F
L ORFS MALE O-RING / ORFS FEMALE 90° ELBOW

=2 #2 40 THREAD OJE [ O-RING S~} DIMENSIONS
PART NO. E F Edif A B S1 | s2
2F9-04Z 9/16X18 9/16X18 0011 23 | 85 | 14 | 17
2F9-04-06Z 9/16X18 11/16"X16 0011 23 | 10 [ 14 | 22
2F9-06-04Z 11/16"X16 9/16X18 0012 275 | 85 | 19 [ 17
2F9-06Z 11/16"X16 |  11/16"X16 0012 275 | 10 [ 19 [ 22
2F9-06-08Z 11/16"X16 |  13/16"X16 0012 27 1 19 | 27
2F9-08-06Z 13/16"X16 |  11/16"X16 0014 315 | 10 | 22 | 22
2F9-08Z 13/16"X16 |  13/16"X16 0014 31 1 22 | 27
2F9-10-08Z 1"X14 13/16"X16 0016 36.5 | 11 27 | 27
2F9-10Z 1"X14 1"X14 0016 365 | 13 | 27 | 30
2F9-10-12Z 1"X14 1.3/16"X12 0016 36 | 15 | 27 | 36
2F9-127Z 1.3/16"X12 |  1.3/16"X12 0018 41 15 | 30 | 36
2F9-12-16Z 1.3/16"X12 |  1.7/16"X12 0018 425 | 15 | 33 [ 41
2F9-16-12Z 1.7/16"X12 | 1.3/16"X12 0021 445 | 15 | 36 | 36
2F9-16Z 1.7/16"X12 | 1.7/16"X12 0021 445 | 15 | 36 | 41
2F9-20Z 1.11/16"X12 | 1.11/16"X12 0025 445 | 15 | 41 50
2F9-247 2"X12 2"X12 0029 535 | 15 | 50 | 60

C-134 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



T ERESL ADAPTER

B

A

0

i
J
H

L‘-‘A\ﬂ S2

I w

2NF

EHI R IMEL/ORFS IR

NPT MALE/ORFS FEMALE

= #% £ THREAD JU~F DIMENSIONS
PART NO. E F A B L S1 S2
2NF-02-04Z Z1/8"X27 9/16"X18 105 | 85 32 14 17
2NF-04Z Z1/4"X18 9/16"X18 15 85 | 365 | 17 17
2NF-04-06Z Z1/4"X18 11/16"X16 15 10 | 403 | 17 22
2NF-06Z Z3/8"X18 11/16"X16 16 10 | 405 | 19 22
2NF-06-08Z Z3/8"X18 13/16"X16 16 1 | 425 | 19 27
2NF-08Z Z1/2"X14 13/16"X16 195 | 11 48 22 27
2NF-08-10Z Z1/2"X14 1"X14 195 | 13 52 24 30
2NF-12Z Z3/4"X14 1.3/16"X12 195 | 15 | 555 | 30 36
2NF-12-16Z Z3/4"X14 1.7/16"X12 195 | 15 | 585 | 36 41
2NF-16Z Z1"X11.5 1.7/16"X12 255 | 15 | 645 | 36 41
2NF-16-20Z Z1"X11.5 1.11/16"X12 255 [ 15 70 41 50
2NF-20Z Z1.1/4"X11.5| 1.11/16"X12 265 [ 15 70 46 50
2NF-24Z Z1.1/2"X11.5 2"X12 275 | 15 74 50 60
EATON Winner i3 &%k H-AP-EHGC-2011-C Mar 2014 C-135



11 E#EESL ADAPTER

L B
A 20F
-Q
N % : 2 ) £HISAESMBLIHOR B
1 i EZ5ISO 11926-2 / ORFSHHELL
= \ SAEO-RING BOSS S-SERIES ISO
S1 52 11926-2 /| ORFS FEMALE

=" i £ THREAD OJIE O-RING X~} DIMENSIONS
PART NO. E F Es A B L S1 S2
20F-04Z 7/16"X20 9/16"X18 0904 11 85 | 325 | 17 17
20F-04-06Z 7/16"X20 11/16"X16 0904 11 10 | 355 | 17 22
20F-06-04Z 9/16"X18 9/16"X18 0906 12 85 | 335 | 17 17
20F-06Z 9/16"X18 11/16"X16 0906 12 10 | 365 | 19 22
20F-06-08Z 9/16"X18 13/16"X16 0906 12 11 | 385 | 19 27
20F-08-06Z 3/4"X16 11/16"X16 0908 14 10 | 405 | 22 22
20F-08Z 3/4"X16 13/16"X16 0908 14 11 | 425 | 22 27
20F-10-08Z 7/8"X14 13/16"X16 0910 16 11 | 465 | 27 27
20F-10Z 7/8"X14 1"X14 0910 16 13 | 505 | 27 30
20F-12-10Z 1.1/16"X12 1"X14 0912 185 | 13 54 32 30
20F-12Z 1.1/16"X12 | 1.3/16"X12 0912 185 | 15 56 32 36
20F-16-12Z 1.5/16"X12 | 1.3/16"X12 0916 185 | 15 | 555 | 38 36
20F-16Z 1.5/16"X12 | 1.7/16"X12 0916 185 | 15 | 575 | 38 41
20F-20-16Z 1.5/8"X12 1.7/16"X12 0920 185 | 15 | 615 | 50 41
20F-20Z 1.5/8"X12 | 1.11/16"X12 0920 185 | 15 65 50 50
20F-24Z 2"X12 1.7/8"X12 0924 185 | 16 65 55 60

W EMR4UR 51S0 11926-13 I JLEL{E . Note: E thread end fit with 1ISO11926-1 port.
L
A

A

1)

n

\ s1

4F

X HORFSHMBL O T E £ H3k
ORFS MALE O-RING PLUG

= #2 2 THREAD OJ% [ O-RING X <+ DIMENSIONS
PART NO. E Eufi A L S1
4F-04Z 9/16"X18 0011 10 | 165 | 17
4F-06Z 11/16"X16 0012 11 19 19
4F-08Z 13/16"X16 0014 13 22 22
4F-10Z 1"X14 0016 155 | 26 27
4F-12Z 1.3/16"X12 0018 17 | 275 | 32
4F-16Z 1.7/16"X12 0021 175 | 28 41
4F-20Z 1.11/16"X12 0025 175 | 28 46
4F-247 2"X12 0029 175 | 28 55

C-136

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

L _C

L C
A § A 5F-S
) 255
L w| w w EHIORFSHMRAL O B - i 21/
% ORFSHIZ4L C
\s1 S1 ORFS MALE O-RING/ORFS FEMALE
(A7 12 47 THREAD OJ.FE O-RING JX <} DIMENSIONS
PART NO. E F Eiffi A © L S1
5F-04SZ 9/16"X18 9/16"X18 0011 10 85 | 185 17
5F-04-06SZ 9/16"X18 11/16"X16 0011 10 10 196 | 22
5F-04-085Z 9/16"X18 13/16"X16 0011 10 11 215 | 24
5F-04-10SZ 9/16"X18 1"X14 0011 10 13 23 30
5F-04-12SZ 9/16"X18 1.3/16"X12 0011 10 15 24 41
5F-04-16SZ 9/16"X18 1.7/16"X12 0011 10 15 25 36
5F-04-20SZ 9/16"X18 1.11/16"X12 0011 10 15 25 50
5F-06SZ 11/16"X16 11/16"X16 0012 11.2 10 | 222 | 22
5F-06-04SZ 11/16"X16 9/16"X18 0012 1.2 | 85 20 17
5F-06-08SZ 11/16"X16 13/16"X16 0012 11.2 11 224 | 27
5F-06-10SZ 11/16"X16 1"X14 0012 11 13 | 245 | 30
5F-06-12SZ 11/16"X16 1.3/16"X12 0012 11.2 15 25 36
5F-06-16SZ 11/16"X16 1.7/16"X12 0012 11 15 27 41
5F-06-20SZ 11/16"X16 1.11/16"X12 0012 11.2 15 | 265 | 50
5F-08SZ 13/16"X16 13/16"X16 0014 13 11 24 27
5F-08-04SZ 13/16"X16 9/16"X18 0014 13 8.5 22 17
5F-08-06SZ 13/16"X16 11/16"X16 0014 13 10 24 22
5F-08-10SZ 13/16"X16 1"X14 0014 13 13 [ 257 | 30
5F-08-12SZ 13/16"X16 1.3/16"X12 0014 13 15 | 277 | 36
5F-08-16SZ 13/16"X16 1.7/16"X12 0014 13 15 | 292 | 41
5F-08-20SZ 13/16"X16 | 1.11/16"X12 0014 12.8 15 [ 292 | 50
5F-10SZ 1"X14 1"X14 0016 15.5 13 28 30
5F-10-06SZ 1"X14 11/16"X16 0016 15.5 10 | 265 | 22
5F-10-08SZ 1"X14 13/16"X16 0016 15.5 11 265 | 27
5F-10-12SZ 1"X14 1.3/16"X12 0016 15.5 15 | 295 | 36
5F-10-16SZ 1"X14 1.7/16"X12 0016 15.5 15 | 305 | 41
5F-10-20SZ 1"X14 1.11/16"X12 0016 15.5 15 31 50
5F-12SZ 1.3/16"X12 1.3/16"X12 0018 17 15 30 36
5F-12-06SZ 1.3/16"X12 11/16"X16 0018 17 10 28 22
5F-12-08SZ 1.3/16"X12 13/16"X16 0018 17 11 28 27
5F-12-10SZ 1.3/16"X12 1"X14 0018 17 13 [ 295 | 30
5F-12-16SZ 1.3/16"X12 1.7/16"X12 0018 17 15 31 41
5F-12-20SZ 1.3/16"X12 | 1.11/16"X12 0018 17 15 | 325 | 50
5F-12-24SZ 1.3/16"X12 2"X12 0018 17 15 | 335 | 60
5F-16SZ 1.7/16"X12 1.7/16"X12 0021 17.5 15 | 315 | 41
5F-16-04SZ 1.7/16"X12 9/16"X18 0021 175 | 85 27 17
5F-16-06SZ 1.7/16"X12 11/16"X16 0021 17.5 10 | 285 | 22
5F-16-08SZ 1.7/16"X12 13/16"X16 0021 17.5 11 285 | 27
5F-16-10SZ 1.7/16"X12 1"X14 0021 17.5 13 30 30
5F-16-12SZ 1.7/16"X12 1.3/16"X12 0021 17.5 15 | 305 | 36
5F-16-20SZ 1.7/16"X12 | 1.11/16"X12 0021 17.5 15 | 345 | 50
5F-16-24SZ 1.7/16"X12 2"X12 0021 17.5 15 34 60
5F-20SZ 1.11/16"X12 | 1.11/16"X12 0025 17.5 15 35 50
5F-20-12SZ 1.11/16"X12 |  1.3/16"X12 0025 17.5 15 | 305 | 36
5F-20-16SZ 1.11/16"X12 |  1.7/16"X12 0025 17.5 15 | 315 | 41
5F-20-24SZ 1.11/16"X12 2"X12 0025 17.5 15 34 60
5F-24SZ7 2"X12 1.11/16"X12 0029 17.5 15 | 36,5 | 60
5F-24-20SZ 2"X12 1.11/16"X12 0029 17.5 15 36 50

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-137



11 E#EESL ADAPTER

L #iiB LOCK NUT
A, B ﬂ
7 2 77277 6F
| f— 4 m 77 - - =1
H £ HIORFSSMELL
s1 sz O BT ABEHT IR IEL
6F 6F-LN ORFS MALE O-RING BULKHEAD
A 5 PART NO. 12 2t THREAD OJZ [k O-RING R st DIMENSIONS
#3LABODY| 4 ASSEMBLY E F LEFT | ARIGHT A B L S1 S2
6F-04Z7 6F-04LNZ 9/16"X18 9/16"X18 0011 0011 10 31.5 48.2 22 22
6F-06Z 6F-06LNZ 11/16"X16 11/16"X16 0012 0012 11.2 34 53.2 27 27
6F-08Z7 6F-08LNZ 13/16"X16 13/16"X16 0014 0014 13 36.5 58.3 30 30
6F-10Z 6F-10LNZ 1"X14 1"X14 0016 0016 185 40.6 66.6 36 36
6F-12Z7 6F-12LNZ 1.3/16"X12 | 1.3/16"X12 0018 0018 17 41.7 69.2 38 38
6F-16Z 6F-16LNZ 1.7/16"X12 | 1.7/16"X12 0021 0021 17.5 42.2 70.2 46 46
6F-20Z 6F-20LNZ 1.11/16"X12 1 1.11/16"X12 0025 0025 17.5 42.2 70.2 50 50
6F-247 6F-24LNZ 2"X12 2"X12 0029 0029 17.5 42.2 70.2 60 60
A
" 8F
EH|ORFSHRL i £
ORFS LOCK NUT
;81
e i £ THREAD &~ DIMENSIONS
PART NO. E A S1
8F-04Z7 9/16"X18 7 22
8F-06Z 11/16"X16 8 27
8F-08Z7 13/16"X16 9 30
8F-10Z 1"X14 10.4 36
8F-127 1.3/16"X12 10.4 38
8F-16Z 1.7/16"X12 10.4 46
8F-20Z 1.11/16"X12 10.4 50
8F-247 2"X12 10.4 60

C-138 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

i

N 9F
L EHIORFSAMELIFH 5k
ORFS FEMALE PLUG
S2
=" i% £ THREAD R~} DIMENSIONS
PART NO. E A L S2
9F-04Z 9/16"X18 85 | 105 | 19
9F-06Z 11/16"X16 10 13 22
9F-08Z 13/16"X16 11 14 27
9F-10Z 1"X14 13 16 30
9F-12Z 1.3/16"X12 15 15 36
9F-16Z 1.7/16"X12 15 18 41
9F-20Z 1.11/16"X12 15 19 50
OF-247 2"X12 15 21 60
< AF
w4
XHIORFSIMEN O E FHZ] =18
A C ORFS MALE O-RING TEE
=] i2 2 THREAD OJ% [ O-RING JUf DIMENSIONS
PART NO. E F G JELEFT FMID | ARIGHT | A | B | C | 1
AF-04Z | 9/16"X18 | 9/16"X18 | 9/16"X18 0011 0011 0011 23 | 23 | 23 | 14
AF-06Z | 11/16"X16 | 11/16"X16 | 11/16"X16 0012 0012 0012 271 | 27 | 27 | 19
AF-08Z | 13/16"X16 | 13/16"X16 | 13/16"X16 | 0014 0014 0014 31 | 31| 31| 22
AF-10Z 1"X14 1"X14 1"X14 0016 0016 0016 |[36.5|36.5(36.5| 27
AF-12Z | 1.3/16"X12 | 1.3/16"X12 | 1.3/16"X12 | 0018 0018 0018 |40.3]40.3[40.3| 30
AF-16Z | 1.7/16"X12 | 1.7/16"X12 | 1.7/16"X12 | 0021 0021 0021 |44.5|445|445| 36
AF-20Z [ 1.11/16"X12 |1.11/16"X12| 1.11/16"X12 | 0025 0025 0025 |44.5|445|445]| 41
AF-247 2"X12 2"X12 2"X12 0029 0029 0029 |535(53.5|535]| 50

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-139




11 E#EESL ADAPTER

F
o) o
S1 i BiRE LOCK NUT
% - i S2
T T | © 7 2778 EH|ORFSHMBLION B E S
A :LC L] TRiESL FX =8
ORFS MALE O-RING BULKHEAD
AFF6F AFF6F-LN RUNTEE
& 5 PART NO. 12 4 THREAD OJ% & O-RING R <F DIMENSIONS
B3k 1ABODY| Z1{-ASSEMBLY E F G Eifi | Fifi | Giii | A [ B | C [S1]8S2
AFFB6F-04Z | AFFBF-04LNZ | 9/16"X18 | 9/16"X18 | 9/16"X18 | 0011|0011 [ 0011 | 23 | 47 | 23 | 14 | 22
AFF6F-06Z | AFFBF-06LNZ | 11/16"X16 | 11/16"X16 | 11/16"X16 0012|0012 0012 | 27 | 52 | 27 | 19 | 27
AFF6F-08Z | AFF6F-08LNZ | 13/16"X16 | 13/16"X16 | 13/16"X16 | 0014 | 0014 | 0014 | 29 [55.5( 29 | 22 | 30
AFF6F-10Z | AFFB6F-10LNZ 1"X14 1"X14 1"X14 | 0016 [ 0016 | 0016 |36.5| 63 [36.5| 27 | 36
AFF6F-12Z | AFFBF-12LNZ | 1.3/16"X12 | 1.3/16"X12 | 1.3/16"X12 | 0018 | 0018 | 0018 | 41 |67.2| 41 | 30 | 41
AFF6F-16Z | AFFBF-16LNZ | 1.7/16"X12 | 1.7/16"X12 | 1.7/16"X12 [ 0021 | 0021 | 0021 [44.5|71.2|44.5| 36 | 46
AFFB6F-20Z | AFFBF-20LNZ | 1.11/16"X12 [ 1.11/16"X12 [ 1.11/16"X12 | 0025 | 0025 | 0025 |47.5|75.5|47.5| 41 | 50
AFF6F-24Z | AFFBF-24LNZ 2"X12 2"X12 2"X12 | 0029 | 0029 | 0029 |53.5|79.5|53.5| 50 | 60
E 5
z
X
| 8
|
} S1 m =
I £5|ORFSIMEL O B AEE
w T — et O HiREEL =8
1 - ﬁ[ ORFS MALE O-RING BULKHEAD
A c BRANCH TEE
AF6FF AF6FF-LN
X 5 PART NO. 12 4 THREAD OJEIE O-RING R~ DIMENSIONS
%1 4ABODY | #H1FASSEMBLY E,F.G Ejifi Fft Gty A B C S1 | s2
AF6FF-04Z AF6FF-04LNZ 9/16"X18 0011 0011 0011 23 [ 225 47 | 14 | 22
AF6FF-06Z AF6FF-06LNZ 11/16"X16 0012 0012 0012 | 27 | 27 | 52 | 19 | 27
AF6FF-08Z AF6FF-08LNZ 13/16"X16 0014 0014 0014 | 31 | 31 | 555 22 | 30
AF6FF-10Z AF6FF-10LNZ 1"X14 0016 0016 0016 | 365|365 63 | 27 | 36
AF6FF-12Z AF6FF-12LNZ 1.3/16"X12 0018 0018 0018 | 385 (385|672 30 | 38
AF6FF-16Z AF6FF-16LNZ 1.7/16"X12 0021 0021 0021 |445 (445|712 | 36 | 46
AF6FF-20Z AF6FF-20LNZ 1.11/16"X12 0025 0025 0025 | 475 (475|755 | 41 | 50
AF6FF-247 AF6FF-24LNZ 2"X12 0029 0029 0029 |535(535|795| 50 [ 60
C-140 EATON Winner it iE##k H-AP-EHGC-2011-C Mar 2014




HEESL ADAPTER

- AFFO-0G
s1 PI1]] s2
. ® EHIORFSHMBL OB F HE / ATAEHISAE O EHE
el v FZ5) SO 11926-2 T % =i&
ORFS MALE O-RING / ADJUSTABLE SAE O-RING SEAL
A C S-SERIES ISO 11926-2 RUN TEE
=" I 4 THREAD O/ O-RING JU~I DIMENSIONS
PART NO. E F G Ef Fi G A B c | s1| s2
AFFO-040GZ 9/16"X18 9/16"X18 7/16"X20 | O011 0011 0904 23 23 30 14 17
AFFO-04-04-060GZ 9/16"X18 9/16"X18 9/16"X18 | 0011 0011 0906 23 23 32 14 22
AFFO-060GZ 11/16"X16 11/16"X16 | 9/16"X18 | O012 | O012 | O906 | 2752751355 19 22
AFFO-06-06-080GZ | 11/16"X16 11/16"X16 3/4"X16 0012 | O012 | O908 | 275|275 38 19 24
AFFO-08-08-060GZ | 13/16"X16 13/16"X16 | 9/16"X18 | 0014 | O014 | 0906 31 31 | 375 22 22
AFFO-080GZ 13/16"X16 13/16"X16 3/4"X16 0014 | O014 | 0908 31 31 405 22 24
AFFO-08-08-100GZ | 13/16"X16 13/16"X16 7/8"X14 0014 | 0014 | 0910 31 31 | 453 | 22 30
AFFO-08-08-120GZ | 13/16"X16 13/16"X16 |1.1/16"X12| O014 | O014 | 0912 | 345|345 52 27 36
AFFO-100GZ 1"X14 1"X14 7/8"X14 0016 | O016 | 0910 | 36.5|36.5150.8| 27 30
AFFO-10-10-120GZ 1"X14 1"X14 1.1/16"X12| O016 | O016 | 0912 | 36.5|36.5| 52 27 36
AFFO-120GZ 1.3/16"X12 | 1.3/16"X12 [ 1.1/16"X12| O018 | O018 | 0912 | 40.3|40.3|55.3| 30 36
AFFO-16-16-120GZ | 1.7/16"X12 | 1.7/16"X12 | 1.1/16"X12| 0021 0021 0912 144514451595 36 36
AFFO-160GZ 1.7/16"X12 | 1.7/16"X12 | 1.5/16"X12| 0021 0021 0916 | 4451445 159.3| 36 41
AFFO-200GZ 1.11/16"X12 | 1.11/16"X12| 1.5/8"X12 | O025 | 0025 | 0920 |47.5|47.5|60.5| 41 50
AFFO-240GZ 2"X12 2"X12 1.7/8"X12 | 0029 | O029 | 0924 |[53.5|53.5|68.5| 50 55
VE: GRS 51SO 11926-13 HVLEC# .  Note: G thread end fit with ISO11926-1 port.
F
= AFFN
| &%
w Cr £ 5|ORFSHMESOF B E B A & IMES £ =18
N - \ ORFS MALE O-RING / NPT MALE RUN TEE
=] #2 4 THREAD O O-RING R~} DIMENSIONS
PART NO. E F G Eift Fis A | B c | s1
AFFN-04Z 9/16"X18 9/16"X18 Z1/4"X18 0011 0011 23 23 26 14
AFFN-06-06-04Z2 11/16"X16 11/16"X16 Z1/4"X18 0012 | 0012 275|275 29 19
AFFN-06Z 11/16"X16 11/16"X16 Z3/8"X18 0012 | 0012 27 27 31 19
AFFN-08-08-06Z 13/16"X16 | 13/16"X16 Z3/8"X18 0014 | 0014 31 31 34 22
AFFN-08Z 13/16"X16 13/16"X16 Z1/2"X14 0014 | 0014 31 31 37 22
AFFN-10-10-08Z2 1"X14 1"X14 Z1/2"X14 0016 | O016 36.5|36.5| 40 27
AFFN-12-12-08Z2 1.3/16"X12 | 1.3/16"X12 Z1/2"X14 0018 | 0018 41 41 42 30
AFFN-12Z 1.3/16"X12 | 1.3/16"X12 Z3/4"X14 0018 | 0018 40.5140.5| 45 30
AFFN-16Z 1.7/16"X12 | 1.7/16"X12 Z1"X11.5 0021 0021 4451445 52 36
AFFN-20Z 1.11/16"X12 | 1.11/16"X12 |Z1.1/4"X11.5|] O025 | 0025 4751475 | 55 41
AFFN-247 2"X12 2"X12 Z1.1/2"X11.5] 0029 | 0©029 53.5|53.5| 61 50

EATON Winner it iE#% sk H-AP-EHGC-2011-C Mar 2014 C-141



11 E#EESL ADAPTER

F
|
o
i S2
st | BF
1 ! ?I = v oA 7 w1t
L T —[ ————— T‘—[ o EHIORFSHMEN OB L EmZE /
' ZHIORFSHIZLFH A =18
A C ORFS MALE O-RING / ORFS FEMALE BRANCH TEE
RE 12 4 THREAD OJ 8 O-RING R~ DIMENSIONS
PART NO. E F G Eifi Fis A B c | s1| s2
BF-04Z 9/16"X18 | 9/16"X18 | 9/16"X18 |7.65x1.78|7.65X1.78| 23 | 85 | 23 | 14 | 17
BF-06Z 11/16"X16 | 11/16"X16 | 11/16"X16 |9.25X1.78 | 9.25X1.78 | 275 10 | 27 | 19 | 22
BF-08Z 13/16"X16 | 13/16"X16 | 13/16"X16 [12.42X1.78|12.42x1.78| 31 | 11 | 31 | 22 | 27
BF-10Z 1"X14 1"X14 1"X14 15.6X1.78 | 15.6X1.78 | 36.5 | 13.5| 36,5 27 | 30
BF-12Z 1.3/16"X12 | 1.3/16"X12 | 1.3/16"X12 |18.77X1.78(18.77X1.78| 42 | 15 | 42 | 33 | 36
BF-16Z 1.7/16"X12 | 1.7/16"X12 | 1.7/16"X12 |23.52X1.78(23.52X1.78| 41.5| 15 | 41.5| 36 | 41
BF-20Z 1.11/16"X12 | 1.11/16"X12 | 1.11/16"X12 |29.87X1.78(29.87X1.78| 475 | 15 | 47.5| 41 | 50
BF-24Z 2"X12 2"X12 2"x12  [37.82x1.78|37.82x1.78| 535 15 | 53.5| 50 | 60
F
| c
7 | o CF
| Powss ‘
w | *;EL L O EH|IORFSHMEL OB FEZFE /
' EHIORFSHRY FH £X =&
A \S1 S2 ORFS MALE O-RING / ORFS FEMALE RUN TEE
=] 12 £ THREAD OJ% K O-RING JX <+ DIMENSIONS
PART NO. E F G Efi i A B c | s1| s2
CF-04Z 9/16"X18 | 9/16"X18 | 9/16"X18 0011 0011 23 | 23 | 82| 14 | 17
CF-06Z 11/16"X16 | 11/16"X16 | 11/16"X16 0012 0012 |279|279| 9 | 19 | 22
CF-08Z 13/16"X16 | 13/16"X16 | 13/16"X16 0014 0014 31 | 31| 11| 22| 27
CF-10Z 1"X14 1"X14 1"X14 0016 0016 |365(36.5[13.5]| 27 | 30
CF-12Z 1.3/16"X12 | 1.3/16"X12 | 1.3/16"X12 0018 0018 |375(375| 15 | 30 | 36
CF-16Z 1.7/16"X12 | 1.7/16"X12 | 1.7/16"X12 0021 0021 |415|415| 15 | 36 | 41
CF-20Z 1.11/16"X12 [ 1.11/16"X12| 1.11/16"X12 | 0025 0025 |475|475| 15 | 41 | 50
CF-247 2"X12 2"X12 2"X12 0029 0029 |535(535| 15 | 50 | 60

C-142

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

: :SZ

N ORFSIZR
MO
L ORFS TUBE END NUT
12 o E JCHC )i+ 2 INCH SLEEVE| VCEL ) 2 fill 412 METRIC SLEEVE | K ~FDIMENSIONS
iR =
s 1A Y =] pots JZ N =]
PART NO. BT AME HERS BT AME HENS
THREAD TUBE O.D. SLEEVE NO. TUBE O.D. SLEEVE NO. L S2
NB200-04FZ 9/16"X18 1/4" NB300-04FZ 6 NB500-06FZ 14.7 19
NB200-06FZ 11/16"X16 3/8" NB300-06FZ 10 NB500-10FZ 17 22
NB200-08FZ 13/16"X16 1/2" NB300-08FZ 12 NB500-12FZ 21 24
NB200-10FZ 1"X14 5/8" NB300-10FZ 16 NB500-16FZ 23.5 30
NB200-12FZ 1.3/16"X12 3/4" NB300-12FZ 20 NB500-20FZ 26 36
NB200-16FZ 1.7/16"X12 1" NB300-16FZ 25 NB500-25FZ 27.8 41
NB200-20FZ 1.11/16"X12 1.1/4" NB300-20FZ 30 NB500-30FZ 27.8 50
NB200-24FZ 2"X12 1.1/2" NB300-24FZ 38 NB500-38FZ 27.8 60
L
()]
| ORFSHFIEWE
\ ORFS INCH SLEEVE
B #2470 THREAD % T4Mz TUBE O.D. R I DIMENSIONS
PART NO. in D L
NB300-04FZ 9/16"X18 1/4" 128 | 8.5
NB300-06FZ 11/16"X16 3/8" 15.8 | 8.5
NB300-08FZ 13/16"X16 1/2" 1891 95
NB300-10FZ 1"X14 5/8" 234 | 95
NB300-12FZ 1.3/16"X12 3/4" 2791 125
NB300-16FZ 1.7/16"X12 1" 34.2 14
NB300-20FZ 1.11/16"X12 1.1/4" 40.6 14
NB300-24FZ 2"X12 1.1/2" 48.5 14

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-143




T ERESL ADAPTER

L
o
N — ORFSAHIERE
ORFS METRIC SLEEVE
®E 122 THREAD H¥4Ms TUBE O.D. X~ DIMENSIONS

PART NO. MM D 85
NB500-06FZ 9/16"X18 6 12.8 | 8.5
NB500-10FZ 11/16"X16 10 1568 | 9.5
NB500-12FZ 13/16"X16 12 18.9 | 9.5
NB500-16FZ 1"X14 16 23.4 ] 12.5
NB500-20FZ 1.3/16"X12 20 279 | 14
NB500-25FZ 1.7/16"X12 25 342 | 14
NB500-30FZ 1.11/16"X12 30 406 | 14
NB500-38FZ 2"X12 38 48.5

C-144

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

7%/@ 1N

SR HEE MRS
E/s ) F NPT MALE

= 12 24 THREAD JR =+ DIMENSIONS
PART NO. E E A B L S1
1N-02Z Z1/8"X27 Z1/8"X27 10.5 | 10.5 27 12
1N-02-04Z Z1/8"X27 Z1/4"X18 10.5 15 31 17
1N-02-06Z Z1/8"X27 Z3/8"X18 10.5 16 32 19
1N-04Z Z1/4"X18 Z1/4"X18 15 15 35 17
1N-04-06Z Z1/4"X18 Z3/8"X18 15 16 37 19
1N-04-08Z Z1/4"X18 Z1/2"X14 15 19.5 | 41.5 22
1N-06Z Z3/8"X18 Z3/8"X18 16 16 38 19
1N-06-08Z Z3/8"X18 Z1/2"X14 16 19.5 | 43.5 22
1N-06-12Z Z3/8"X18 Z3/4"X14 16 19.5 | 455 27
1N-08Z Z1/2"X14 Z1/2"X14 19.5 | 19.5 47 22
1N-08-12Z Z1/2"X14 Z3/4"X14 19.5 | 19.5 49 27
1N-08-16Z Z1/2"X14 Z1"X11.5 19.5 | 25,5 56 36
1N-12Z Z3/4"X14 Z3/4"X14 19.5 | 19.5 49 27
1N-12-16Z Z3/4"X14 Z1"X11.5 19.5 | 25.5 55 36
1N-12-20Z Z3/4"X14 Z1.1/4"X11.5 19.5 | 26.5 58 46
1N-16Z Z1"X11.5 Z1"X11.5 255 | 255 61 36
1N-16-20Z Z1"X11.5 Z1.1/4"X11.5 255 | 26.5 64 46
1N-16-24Z Z1"X11.5 Z1.1/2"X11.5 255 | 27.5 68 50
1N-20Z Z1.1/4"X11.5| Z1.1/4"X11.5 26.5 | 26.5 65 46
1N-20-24Z Z1.1/4"X11.5| Z1.1/2"X11.5 26.5 | 27.5 69 50
1N-24Z Z1.1/2"X11.5| Z1.1/2"X11.5 275 | 275 69 50
1N-24-327 Z1.1/2"X11.5 Z2"X11.5 275 | 27.5 72 65
1N-32Z Z2"X11.5 Z2"X11.5 275 | 27.5 71 65

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




T ERESL ADAPTER

1N9

A HEE YMRLL 90°
NPT MALE 90° ELBOW

= i £ THREAD JU~F DIMENSIONS
PART NO. E E A B S1
1N9-02Z Z1/8"X27 Z1/8"X27 21 21 11
1N9-02-04Z Z1/8"X27 Z1/4"X18 21 | 255 | 14
1N9-04Z Z1/4"X18 Z1/4"X18 255 | 255 [ 14
1N9-04-06Z Z1/4"X18 Z3/8"X18 28 28 19
1N9-04-08Z Z1/4"X18 Z1/2"X14 30.8 | 356 | 22
1N9-06Z Z3/8"X18 Z3/8"X18 28 28 19
1N9-06-08Z Z3/8"X18 Z1/2"X14 338 | 373 | 22
1N9-08Z Z1/2"X14 Z1/2"X14 373 | 37.3 | 22
1N9-08-12Z Z1/2"X14 Z3/4"X14 40 44 27
1N9-12Z Z3/4"X14 Z3/4"X14 44 44 27
1N9-12-16Z Z3/4"X14 Z1"X11.5 465 | 50 33
1N9-16Z Z1"X11.5 Z1"X11.5 50 50 33
1N9-20Z Z1.1/4"X11.5 | Z1.1/4"X11.5 53 53 41
1N9-24Z Z1.1/2"X11.5 | Z1.1/2"X11.5 63 63 48
1N9-32Z Z2"X11.5 Z2"X11.5 68 68 63

C-146

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

L
A B
1NO
|
“/
o | . LHINPTIMEL /24
| W SAESMELHOR B4 R F1ISO 11926-3
| NPT MALE / SAE O-RING BOSS
S1 L-SERIES ISO 11926-3
Re i 4 THREAD OJ¥H O-RING J& s+ DIMENSIONS
PART NO. E F Fik A B L S1
1NO-04Z Z1/4"X18 7/16"X20 0904 15 91 | 309 | 17
1NO-04-06Z Z1/4"X18 9/16"X18 0906 15 10 31 17
1NO-06-04Z Z3/8"X18 7/16"X20 0904 15 9.1 33 19
1NO-06Z Z3/8"X18 9/16"X18 0906 16 9.9 32 19
1NO-06-08Z Z3/8"X18 3/4"X16 0908 16 | 111 | 355 | 22
1NO-08Z Z1/2"X14 3/4"X16 0908 195 | 111 | 385 | 22
1NO-08-10Z Z1/2"X14 7/8"X14 0910 195 | 127 | 42 27
1NO-08-12Z Z1/2"X14 1.1/16"X12 0912 195 | 151 | 455 | 32
1NO-12-10Z Z3/4"X14 7/8"X14 0910 195 | 127 | 465 | 30
1NO-12Z Z3/4"X14 1.1/16"X12 0912 195 | 151 | 455 | 32
1NO-16Z Z1"X11.5 1.5/16"X12 0916 255 | 151 | 515 | 38
1NO-20-16Z Z1.1/4"X11.5 | 1.5/16"X12 0916 265 | 151 | 585 | 46
1NO-20Z Z1.1/4"X11.5 | 1.5/8"X12 0920 265 | 151 | 565 | 50
1NO-24Z Z1.1/2"X11.5 | 1.7/8"X12 0924 275 | 151 | 575 | 55

T FIERZU51S0O 11926-13 I ILECf# A . Note: F thread end fit with ISO11926-1 port.

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-147




T ERESL ADAPTER

-
]
c 1NO9-0G
[ — _x!_ SHINPTIMELYRIEE XHISAE OfZ EIZES 90°E
;J X& NPT MALE/ADJUSTABLE SAE O-RING SEAL 90° ELBOW
A
=2 #2 40 THREAD OJE [ O-RING S~} DIMENSIONS
PART NO. E F Fifi A B S1 | s2
1NO9-02-040GZ |  Z1/8"X27 7/16"X20 0904 185 [ 28 1 17
1N09-02-050GZ | Z1/8"X27 1/2"X20 0905 235 | 299 [ 14 | 17
1NO9-04-060GZ | Z1/4"X18 9/16"X18 0906 255 | 31.8 [ 14 | 19
1NO9-06-080GZ | Z3/8"X18 3/4"X16 0908 31 37 | 19 | 24
1NO9-08-100GZ |  Z1/2"X14 7/8"X14 0910 365 | 44 | 22 | 27
1NO9-120GZ Z3/4"X14 1.1/16"X12 0912 44 | 51 27 | 32
1NO9-12-140GZ |  Z3/4"X14 1.3/16"X12 0914 45 | 53 [ 30 | 36
1NO9-160GZ Z1"X11.5 1.5/16"X12 0916 50 | 55 [ 33 | 41
1NO9-200GZ | Z1.1/4X11.5 | 1.5/8"X12 0920 545 | 595 | 41 50

T FI2405H 51S0 11926-13H D ULE{#F T .  Note: F thread end fit with ISO11926-1 port.

C-148 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

INT

T HEE MBS/ FHEE MR
NPT MALE/BSPT MALE

= 12 24 THREAD JR =+ DIMENSIONS
PART NO. E E A B L S1
1NT-02Z Z1/8"X27 R1/8"X28 10.5 10 26.5 12
1NT-02-04Z Z1/8"X27 R1/4"X19 10.5 | 14.5 31 17
1NT-04Z Z1/4"X18 R1/4"X19 15 14.5 35 17
1NT-04-02Z Z1/4"X18 R1/8"X28 15 10 31 17
1NT-04-06Z Z1/4"X18 R3/8"X19 15 15.5 37 19
1NT-06Z Z3/8"X18 R3/8"X19 16 15 37 19
1NT-06-04Z Z3/8"X18 R1/4"X19 16 14.5 | 36.5 19
1NT-06-08Z Z3/8"X18 R1/2"X14 15 20 42 22
1NT-08Z Z1/2"X14 R1/2"X14 19.5 20 47.5 22
1NT-08-06Z Z1/2"X14 R3/8"X19 19.5 15 42.5 22
1NT-08-12Z Z1/2"X14 R3/4"X14 19.5 20 49.5 27
1NT-12Z Z3/4"X14 R3/4"X14 19.5 20 49.5 27
1NT-12-08Z Z3/4"X14 R1/2"X14 19.5 20 49.5 27
1NT-12-16Z Z3/4"X14 R1"X11 19.5 | 25.5 56 36
1NT-16Z Z1"X11.5 R1"X11 243 | 255 62 36
1NT-16-12Z Z1"X11.5 R3/4"X14 24.6 20 56.8 36
1NT-16-20Z Z1"X11.5 R1.1/4"X11 255 | 26.5 65 46
1NT-20Z Z1.1/4"X11.5 | R1.1/4"X11 26.5 | 26.5 66 46
1NT-20-16Z Z1.1/4"X11.5 R1"X11 26.5 | 25.5 64 46
1NT-20-24Z Z1.1/4"X11.5 | R1.1/2"X11 26.5 | 26.5 68 50
1NT-24Z Z1.1/2"X11.5 | R1.1/2"X11 275 | 26.5 69 50
1NT-24-32Z Z1.1/2"X11.5 R2"X11 27.5 30 74.5 65
1NT-32Z Z2"X11.5 R2"X11 27.5 30 74.5 65

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




T ERESL ADAPTER

L

7

=%,

4N

EHIMHEE MR
NPT MALE PLUG

= i £ THREAD JU~F DIMENSIONS

PART NO. E A L S1
4N-02Z Z1/8"X27 105 | 16

4N-04Z Z1/4"X18 15 20 17
4N-06Z Z3/8"X18 16 21 19
4N-08Z Z1/2"X14 195 | 27 22
4N-12Z Z3/4"X14 19.5 | 29.5 | 27
4N-16Z Z1"X11.5 255 | 365 | 36
4N-20Z Z1.1/4"X11.5 26.5 | 385 | 46
4N-24Z Z1.1/2"X11.5 275 | 43 50
4N-32Z Z2"X11.5 275 | 435 | 65

£
7‘ (Pt ANN
EmEEIMEY ARAEL
NPT MALE HOLLOW HEX PLUG
L
=" i 5 THREAD JU<F DIMENSIONS

PART NO. E L S1

4NN-02Z Z1/8"X27 8 5

4NN-04Z Z1/4"X18 10 6

4NN-06Z Z3/8"X18 12 8

4NN-08Z Z1/2"X14 15 10

4NN-12Z Z3/4"X14 16 12

4NN-16Z Z1"X11.5 18 17

C-150

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




T ERESL ADAPTER

\S1 5GN
A e g e S
L REIMEL O B/ Sl IR
BSP MALE O-RING/NPT FEMALE
=2 #2 40 THREAD OJE [ O-RING S~} DIMENSIONS
PART NO. E F Edif A L S1
5GN-02Z G1/8"X28 Z1/8"X27 | 07.97X1.88 76 | 23 | 17
5GN-02-04Z G1/8"X28 Z1/4"x18 | 07.97X1.88 76 | 275 [ 19
5GN-04-02Z G1/4"X19 Z1/8"X27 0111 1.2 | 265 [ 19
5GN-04Z G1/4"X19 Z1/4"X18 0111 11 31 19
5GN-04-06Z G1/4"X19 Z3/8"X18 0111 M2 | 32 | 22
5GN-06-04Z G3/8"X19 Z1/4"X18 0113 115 | 33 | 24
5GN-06Z G3/8"X19 Z3/8"X18 0113 1.2 | 342 | 24
5GN-08-04Z G1/2"X14 Z1/4"X18 | 017.86X2.62 145 | 255 | 27
5GN-08-06Z G1/2"X14 Z3/8"X18 | 017.86X2.62 14 | 325 | 27
5GN-08Z G1/2"X14 Z1/2"X14 [ 017.86X2.62 14 | 415 | 30
5GN-12Z G3/4"X14 Z3/4"X14 0119 145 [ 43 | 36
5GN-16Z G1"X11 Z1"X11.5 0217 186 [ 53 | 41
5GN-20Z G1.1/4"X11 | Z1.1/4"X11.5 0222 20 | 54 | 50
5GN-247 G1.1/2"X11 | Z1.1/2"'X11.5 0224 215 | 57 | 60
TE: EBRZ051SO 1179-17 VLA /T Note: E thread end fit with ISO1179-1 port.

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-151



T ERESL ADAPTER

w ol o
{ \S1 SHN
A . . .
L NHIFMELOR B EEH B ARFIISO 6149-3 / ftEEMIRK
METRIC MALE ORING SEAL L-SERIES ISO 6149-3 /
NPT FEMALE
=2 #2 40 THREAD OJE [ O-RING S~} DIMENSIONS
PART NO. E F Edif A L S1
5HN-10-02NZ M10X1 Z1/8"X27 | 008.1X1.6 85 | 24 | 14
5HN-12-02NZ M12X1.5 Z1/8"X27 | 009.3x2.2 11 26 | 17
5HN-12-04NZ M12X1.5 Z1/4"X18 | 009.3X2.2 11 | 315 [ 19
5HN-14-04NZ M14X1.5 Z1/4"X18 | 011.3X2.2 11 32 | 19
5HN-16-06NZ M16X1.5 Z3/8"X18 | 013.3X2.2 115 | 345 | 22
5HN-16-08NZ M16X1.5 Z1/2'X14 | 013.3x2.2 125 [ 40 | 30
5HN-18-06NZ M18X1.5 Z3/8"X18 | 015.3X2.2 125 | 35 | 24
5HN-18-08NZ M18X1.5 Z1/2"X14 | 015.3X2.2 14 | 415 | 30
5HN-22-08NZ M22X1.5 Z1/2'X14 | 019.3X2.2 15 | 425 | 30
5HN-27-12NZ M27X2 Z3/4"X14 | 023.6X2.9 185 | 475 | 36
5HN-33-16NZ M33X2 Z1"X11.5 | 029.6X2.9 185 | 535 | 41
5HN-42-20NZ M42X2 Z1.1/4"X11.5 | 038.6X2.9 16 | 52 | 50
5HN-48-24NZ MA48X2 Z1.1/2"X11.5 | 044.6X2.9 175 [ 53 | 60

vE: EMR4UR 5150 6149-13 HIILAL{# . Note: E thread end fit with 1SO 6149-1 port.

C-152 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

\F

g

5N

i EIMRL /AHEEPIRA
NPT MALE / NPT FEMALE

;= 1% 4L THREAD JR <} DIMENSIONS

PART NO. E F A L S1

5N-02Z Z1/8"X27 Z1/8"X27 105 | 255 17
5N-02-04Z Z1/8"X27 Z1/4"X18 10.5 31 19
5N-02-06Z Z1/8"X27 Z3/8"X18 11 31 24
5N-04-02Z Z1/4"X18 Z1/8"X27 15 22 17

5N-04Z Z1/4"X18 Z1/4"X18 15 35.3 19
5N-04-06Z Z1/4"X18 Z3/8"X18 15 36.6 24
5N-04-08Z Z1/4"X18 Z1/2"X14 15 43 30
5N-06-02Z Z3/8"X18 Z1/8"X27 15 22 19
5N-06-04Z Z3/8"X18 Z1/4"X18 16 22 19

5N-06Z Z3/8"X18 Z3/8"X18 16 37.6 24
5N-06-08Z Z3/8"X18 Z1/2"X14 16.7 | 43.7 30
5N-06-12Z Z3/8"X18 Z3/4"X14 17 47 36
5N-08-04Z Z1/2"X14 Z1/4"X18 19.5 28 24
5N-08-06Z Z1/2"X14 Z3/8"X18 19.5 | 28.5 24

5N-08Z Z1/2"X14 Z1/2"X14 19.5 | 475 30
5N-08-12Z Z1/2"X14 Z3/4"X14 19.5 49 36
5N-12-06Z Z3/4"X14 Z3/8"X18 19.5 | 30.5 27
5N-12-08Z Z3/4"X14 Z1/2"X14 19.5 | 30.5 27

5N-12Z Z3/4"X14 Z3/4"X14 19.5 49 36
5N-12-16Z Z3/4"X14 Z1"X11.5 195 | 554 41
5N-16-08Z Z1"X11.5 Z1/2"X14 255 | 355 36
5N-16-12Z Z1"X11.5 Z23/4"X14 255 | 36.5 36

5N-16Z Z1"X11.5 Z1"X11.5 255 | 60.7 41
5N-16-20Z Z1"X11.5 Z1.1/4"X11.5 255 | 63.5 50
5N-20-12Z Z1.1/4"X11.5 Z3/4"X14 26.5 | 38.5 46
5N-20-16Z Z1.1/4"X11.5 Z1"X11.5 26.5 41 46

5N-20Z Z1.1/4"X11.5 | Z1.1/4"X11.5 26.5 | 61.5 50
5N-20-24Z Z1.1/4"X11.5 | Z1.1/2"X11.5 26.5 | 62.5 60
5N-24-16Z Z1.1/2"X11.5 Z1"X11.5 275 | 415 50
5N-24-20Z Z1.1/2"X11.5 | Z1.1/4"X11.5 27.5 41 50

5N-24Z7 Z1.1/2"X11.5 | Z1.1/2"X11.5 275 | 625 60
5N-24-327 Z1.1/2"X11.5 Z2"X11.5 275 | 66.5 70
5N-32-20Z Z22"X11.5 Z1.1/4"X11.5 275 | 445 65
5N-32-247 Z2"X11.5 Z1.1/2"X11.5 27.5 45 65

5N-32Z Z2"X11.5 Z2"X11.5 275 | 625 70

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-153




T ERESL ADAPTER

L
A
. O
: A SN
a1 W e |
[ Fo i SMBL/ZEHISAEMIRLLISO 11926-1
| NPT MALE / SAE FEMALE I1SO 11926-1
; S1
= i £ THREAD JU~F DIMENSIONS
PART NO. E E A L S1
5N0O-02-04Z Z1/8"X27 7/16"X20 105 | 295 | 17
5N0O-02-05Z Z1/8"X27 1/2"X20 10.5 | 305 | 17
5NO-04Z Z1/4"X18 7/16"X20 15 34 17
5NO-04-06Z Z1/4"X18 9/16"X18 15 36 19
5N0O-04-08Z Z1/4"X18 3/4"X16 15 41 27
5NO-06-04Z Z3/8"X18 7/16"X20 16 22 19
5NO-06Z Z3/8"X18 9/16"X18 16 | 345 [ 19
5NO-06-08Z Z3/8"X18 3/4"X16 16 | 40 24
5NO-08-06Z Z1/2"X14 9/16"X18 195 | 275 | 24
5N0O-08Z Z1/2"X14 3/4"X16 195 | 415 | 27
5N0O-08-10Z Z1/2"X14 7/8"X14 19.5 | 465 | 30
5NO-12-08Z Z3/4"X14 3/4"X16 19.8 | 295 | 30
5NO-12-10Z Z3/4"X14 7/8"X14 19.5 | 425 | 30
5NO-12Z Z3/4"X14 1.1/16"X12 19.5 | 47 36
5NO-16-12Z Z1"X11.5 1.1/16"X12 255 | 525 | 36
5NO-16Z Z1"X11.5 1.5/16"X12 255 | 53 41
5NO-20Z Z1.1/4"X11.5 | 1.5/8"X12 265 | 555 | 50

C-154 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

L
A S1
P
b A2
s 1 5NT
E/l : EH B MBS KT ARL
-~/
NPT MALE/BSPT FEMALE
= 12 2t THREAD JX s} DIMENSIONS
PART NO. E E A L S1
5NT-04Z Z1/4"X18 Rc1/4"X19 15 34.5 19
5NT-04-02Z Z1/4"X18 Rc1/8"X28 15 21 14
5NT-04-06Z Z1/4"X18 Rc3/8"X19 15 37 22
5NT-06Z Z3/8"X18 Rc3/8"X19 16 BI7Es 22
5NT-06-04Z Z3/8"X18 Rc1/4"X19 16 22 19
5NT-06-08Z Z3/8"X18 Rc1/2"X14 16 43 27
5NT-08Z Z1/2"X14 Rc1/2"X14 19.5 46 27
5NT-08-06Z Z1/2"X14 Rc3/8"X19 19.5 | 29.5 24
5NT-08-12Z Z1/2"X14 Rc3/4"X14 19.5 50 36
5NT-12Z Z3/4"X14 Rc3/4"X14 19.5 46 36
5NT-12-08Z Z3/4"X14 Rc1/2"X14 19.5 | 29.5 27
5NT-12-16Z Z3/4"X14 Rec1"X11 19.5 52 41
5NT-16Z Z1"X11.5 Rc1"X11 25.5 57 41
5NT-16-12Z Z1"X11.5 Rc3/4"X14 25,45 51 36
5NT-16-20Z Z1"X11.5 Rc1.1/4"X11 255 | 63.5 50
5NT-20Z Z1.1/4"X11.5 | Rec1.1/4"X11 26.5 | 64.5 50
5NT-20-16Z Z1.1/4"X11.5 Rc1"X11 26.5 | 395 46
5NT-20-24Z Z1.1/4"X11.5 | Rec1.1/2"X11 26.5 | 64.5 65
5NT-247 Z1.1/2"X11.5 | Rec1.1/2"X11 275 | 65.5 55
5NT-32Z Z2"X11.5 Rc2"X11 27.5 65 70

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

L
50N
" %I SAESMBL OB
2Z27511SO 11926-3 /% HEEE IRLL
SAE O-RING BOSS L-SERIES
ISO 11926-3 / NPT FEMALE
RE i2 £ THREAD OJFJE O-RING R~} DIMENSIONS

PART NO. E F Ef A L S1
50N-02Z 5/16"X24 Z1/8"X27 0902 754 | 245 | 17
50N-02-04Z 5/16"X24 Z1/4"x18 0902 754 | 29 19
50N-03-02Z 3/8"X24 Z1/8"X27 0903 754 | 245 | 17
50N-03-04Z 3/8"X24 Z1/4"x18 0903 754 | 29 19
50N-04-02Z 7/16"X20 Z1/8"X27 0904 91 | 245 | 17
50N-04Z 7/16"X20 Z1/4"x18 0904 9.1 29 19
50N-04-06Z 7/16"X20 Z3/8"x18 0904 91 | 305 | 22
50N-05-02Z 1/2"X20 Z1/8"X27 0905 9.1 26 17
50N-06-04Z 9/16"X18 Z1/4"x18 0906 99 | 315 | 19
50N-08-04Z 3/4"X16 Z1/4"x18 0908 1.1 | 325 | 22
50N-08-06Z 3/4"X16 Z3/8"x18 0908 111 | 34 22
50N-08Z 3/4"X16 Z1/2"X14 0908 1.1 | 40 30
50N-08-12Z 3/4"X16 Z3/4"x14 0908 11.1 | 40 36
50N-10-08Z 7/8"X14 Z1/2"x14 0910 127 | 415 | 30
50N-10-06Z 7/8"X14 73/8"x18 0910 127 | 355 | 27
50N-10-12Z 7/8"X14 Z3/4"x14 0910 127 | 41 36
50N-12-08Z 1.1/16"X12 Z1/2"x14 0912 151 | 42 32
50N-12Z 1.1/16"X12 Z3/4"x14 0912 151 | 455 | 36
50N-12-16Z 1.1/16"X12 Z1"X11.5 0912 15.1 | 50.5 | 41
50N-16-12Z 1.5/16"X12 Z3/4"x14 0916 151 | 43 38
50N-16Z 1.5/16"X12 Z1"X11.5 0916 151 | 51.5 | 41
50N-20-16Z 1.5/8"X12 Z1"X11.5 0920 15.1 | 40 50
50N-20Z 1.5/8"X12 | Z1.1/4"X11.5 0920 151 | 535 | 50
50N-24-16Z 1.7/8"X12 Z1"X11.5 0924 151 | 34 55
50N-24-20Z 1.7/8"X12 | Z1.1/4"X11.5 0924 151 | 48 55
50N-24Z 1.7/8"X12 | Z1.1/2"X11.5 0924 151 | 50 60
50N-32Z 2.1/2"X12 2"X11.5 0932 151 | 50 70

vE: EfR40m 51S0 11926-17i I VLA H .  Note: E thread end fit with 1ISO11926-1 port.

C-156

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




T ERESL ADAPTER

L
A S1
P
0 1 ) 5TN-SP
— REEIMELL S HEE IR
d — BSPT MALE / NPT FEMALE
= i £ THREAD JU~F DIMENSIONS
PART NO. E E A L S1
5TN-02SPZ R1/8"X28 Z1/8"X27 10 25 17
5TN-04-02SPZ R1/4"X19 Z1/8"X27 145 [ 215 [ 14
5TN-04SPZ R1/4"X19 Z1/4"X18 145 | 345 | 19
5TN-06-04SPZ R3/8"X19 Z1/4"X18 15 23 19
5TN-06SPZ R3/8"X19 Z3/8"X18 15 | 365 | 24
5TN-08-06SPZ R1/2"X14 Z3/8"X18 20 | 285 | 24
5TN-08SPZ R1/2"X14 Z1/2"X14 20 47 30
5TN-12-08SPZ R3/4"X14 Z1/2"X14 20 | 305 | 32
5TN-12SPZ R3/4"X14 Z3/4"X14 20 49 36
5TN-16-12SPZ R1"X11 Z3/4"X14 255 | 365 | 36
5TN-16SPZ R1"X11 Z1"X11.5 255 | 59 41

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-157



T ERESL ADAPTER

\st

7N

o E IR
NPT FEMALE

= i £ THREAD JU~F DIMENSIONS
PART NO. E E L S1
7N-02Z Z1/8"X27 Z1/8"X27 24 17
7N-02-04Z Z1/8"X27 Z1/4"X18 27 19
7N-02-06Z Z1/8"X27 Z3/8"X18 30 22
7N-04Z Z1/4"X18 Z1/4"X18 29 19
7N-04-06Z Z1/4"X18 Z3/8"X18 31 22
7N-04-08Z Z1/4"X18 Z1/2"X14 35 30
7N-06Z Z3/8"X18 Z3/8"X18 29 22
7N-06-08Z Z3/8"X18 Z1/2"X14 38 30
7N-06-12Z Z3/8"X18 Z3/4"X14 40 36
7N-08Z Z1/2"X14 Z1/2"X14 38 30
7N-08-12Z Z1/2"X14 Z3/4"X14 43 36
7N-12Z Z3/4"X14 Z3/4"X14 39 36
7N-12-16Z Z3/4"X14 Z1"X11.5 455 | 41
7N-16Z Z1"X11.5 Z1"X11.5 48 | 41
7N-20Z Z1.1/4"X11.5 | Z1.1/4"X11.5 49 50
7N-24Z Z1.1/2"X11.5 | Z1.1/2"X11.5 49 60
7N-32Z Z2"X11.5 Z2"X11.5 50 70

C-158

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

F
| an}
A 7N9-PK
E/ %
Kt BB 90° &

A NPT FEMALE 90° ELBOW

= 12 4L THREAD R~} DIMENSIONS
PART NO. E F A B S1
7N9-02PKZ Z1/8"X27 Z1/8"X27 20 20 16
7N9-02-04PKZ Z1/8"X27 Z1/4"X18 20 225 19
7N9-04PKZ Z1/4"X18 Z1/4"X18 225 | 225 19
7N9-04-06PKZ Z1/4"X18 Z3/8"X18 25 26 24
7N9-06PKZ Z3/8"X18 Z3/8"X18 26 26 24
7N9-06-08PKZ Z3/8"X18 Z1/2"X14 26 31 27
7N9-08PKZ Z1/2"X14 Z1/2"X14 31 31 27
7N9-08-12PKZ Z1/2"X14 Z3/4"X14 34 34 33
7N9-12PKZ Z3/4"X14 Z3/4"X14 34 34 33
7N9-12-16PKZ Z3/4"X14 Z1"X11.5 42 42 41
7N9-16PKZ Z1"X11.5 Z1"X11.5 42 42 41
7N9-20PKZ Z1.1/4"X11.5 | Z1.1/4"X11.5 48 48 50
7N9-24PKZ Z1.1/2"X11.5 | Z1.1/2"X11.5 53 53 60
7N9-32PKZ Z2"X11.5 Z2"X11.5 62 62 70

L
9N-CAP

EHIMHEEERNIRE Hk
NPT FEMALE PLUG

e

=S 1% 4L THREAD JX <) DIMENSIONS

PART NO. E L S1
9N-02CAPZ Z1/8"X27 17.5 17
9N-04CAPZ Z1/4"X18 23 19
9N-06CAPZ Z3/8"X18 24 24
9N-08CAPZ Z1/2"X14 28 30
9IN-12CAPZ Z3/4"X14 28 36
IN-16CAPZ Z1"X11.5 34 46
9N-20CAPZ Z1.1/4"X11.5 37 55
9N-24CAPZ Z1.1/2"X11.5 37 65
9N-32CAPZ Z2"X11.5 40.5 75

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-159



11 E#EESL ADAPTER

I
FA
E S1 ‘ G m AN
% | %
"l AN 11
| | EH ML =
A c NPT MALE
e 12 £ THREAD X s} DIMENSIONS
PART NO. E F G A B C S1
AN-02Z Z1/8"X27 | z1/8"X27 | z1/8"X27 21 21 21 1
AN-04Z z1/4"x18 | z1/4"x18 | z1/4"x18 255 | 255 | 255 | 14
AN-06Z Z3/8"X18 | Zz3/8"Xx18 | Z3/8"X18 31 31 31 19
AN-08Z Z1/2"X14 | z1/2"X14 | z1/2"X14 367 | 367 | 367 | 22
AN-12Z Z3/4"X14 | Z3/4"X14 | Z3/4"X14 44 44 44 27
AN-16Z Z1"X115 | z1"x115 | z1"x11.5 50 50 50 33
AN-20Z Z1.1/4"X11.5|z1.1/4"X11.5|z1.1/4"X11 5 545 | 545 | 545 | 41
AN-24Z Z1.1/2"X11.5|z1.1/2"X11.5(z1.1/2"x11.5 595 | 595 | 59.5 | 48
F
|
S1 2
| . m
i GN-PK
EA | ¢ e s
' G THENIZY =&
NPT FEMALE TEE
A C
= i 4 THREAD JU <} DIMENSIONS
PART NO. E F G A B C S1
GN-02PKZ Z1/8"X27 | z1/8"X27 | Zz1/8"X27 20 20 20 16
GN-04PKZ Z1/4"X18 | z1/4"X18 | Z1/4"X18 225 | 225 | 225 | 19
GN-06PKZ Z3/8"X18 | Zz3/8"X18 | Z3/8"X18 26 26 26 24
GN-08PKZ Z1/2"X14 | z1/2"X14 | Z1/2"X14 31 31 31 27
GN-12PKZ Z3/4"X14 | Zz3/4"X14 | Z3/4"X14 34 34 34 33
GN-16PKZ Z1"X115 | z1"x115 | z1"x11.5 42 42 42 41
GN-20PKZ  |z1.1/4"X11.5|z1.1/4"X11.5|z1.1/4"X11 5 48 48 48 50
GN-24PKZ  |z1.1/2"X11.5|z1.1/2"X11.5{z1.1/2"x11.5 53 53 53 60
GN-32PKZ z2'x115 | z2'x115 | z2"x11.5 62 62 62 70

C-160

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

F
|
s HN
g LT - -
£/ — L TERIRY / TREIMNEL TR
A S1 ¢ NPT FEMALE / NPT MALE RUN TEE
® B i £ THREAD &~ DIMENSIONS
PART NO. E F G A B C S1
HN-02Z Z1/8"X27 Z1/8"X27 Z1/8"X27 20 20 22 16
HN-04Z Z1/4"X18 Z1/4"X18 Z1/4"X18 25 25 28.5 19
HN-06Z Z3/8"X18 Z3/8"X18 Z3/8"X18 27 27 33.5 24
HN-08Z Z1/2"X14 Z1/2"X14 Z1/2"X14 35 35 42.5 30
HN-12Z Z3/4"X14 Z3/4"X14 Z3/4"X14 37 37 45.2 33
HN-16Z Z1"X11.5 Z1"X11.5 Z1"X11.5 44 44 54.7 41
HN-20Z Z1.1/4"X11.5|121.1/4"X11.5(Z21.1/4"X11.5 48 48 58.5 48

ﬂ%}m IN

- ST o 5 o 5 =%
E/ G MEENEY / HHEEIMEY 2B
JI NPT FEMALE / NPT MALE BRANCH TEE
A S C
= i 4 THREAD JU <} DIMENSIONS
PART NO. E F G A B C S1
JIN-02Z z1/8"X27 | z1/8"X27 | z1/8"X27 16.8 | 23.1 | 16.8 | 14
JIN-04Z Z1/4"X18 | Zz1/4"X18 | Z1/4"X18 224 | 28 | 224 | 19
JIN-06Z Z3/8"X18 | Zz3/8"X18 | Z3/8"X18 25 | 335 | 25 | 24
JIN-08Z Z12"X14 | Z1/2'X14 | Z1/2"X14 312 | 412 [ 312 | 30
IN-12Z Z3/4"X14 | Z3/4"X14 | Z3/4"X14 345 | 452 | 345 | 33
JIN-16Z Z1"X11.5 | z1"X11.5 | z1"X11.5 411 | 545 [ 411 | 41

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-161



11 E#EESL ADAPTER

F
11
E G o KN
e Ny e
L‘L [] | Jl_L MEEIMNRL/HHERIEY 2X =@
A C NPT MALE/NPT FEMALE BRANCH TEE
e #2 4 THREAD &~} DIMENSIONS
PART NO. E F G A B c | st
KN-02Z Z1/8"X27 | Z1/8"X27 | Z1/8"X27 245 | 17.8 | 245 | 16
KN-04Z Z1/4"X18 | Z1/4"X18 | Z1/4"X18 28 | 224 | 28 | 19
KN-06Z Z3/8"X18 | Z3/8"X18 | Z3/8"X18 335 | 25 | 335 | 24
KN-08Z Z1/2"X14 | Z1/2"X14 | Z1/2"X14 412 | 312 | 412 | 30
KN-12Z Z3/4"X14 | Z3/4"X14 | Z3/4"X14 452 | 345 | 452 | 33
KN-16Z ZI"XM.5 | Z1"X1.5 | Z1'X11.5 545 | 41.1 | 545 | 41
]
E } @ LN
e e e HREMEL FHENIRY TE SR
NPT MALE/NPT FEMALE RUN TEE
A C
7§ #% 2 THREAD JU~f DIMENSIONS
PART NO. E F G A B c | st
LN-02Z z1/8"X27 | Z1/8"X27 | Z1/8"X27 245 | 245 | 18 | 16
LN-04Z Z1/4"X18 | Z1/4"X18 | Z1/4"X18 28 | 28 | 225 | 19
LN-06Z Z3/8"X18 | Z3/8"X18 | Z3/8"X18 335|335 | 25 | 24
LN-08Z Z1/2"X14 | Z1/2"X14 | Z1/2"X14 412 | 412 | 312 | 30
LN-12Z Z3/4"X14 | Z3/4"X14 | Z3/4"X14 46.5 | 465 | 345 | 33
LN-16Z ZI"XM.5 | Z1X1.5 | Z1'X11.5 545 | 545 | 41.1 | 41
LN-20Z Z1.1/4"X11.5|Z1.1/4"X11.5| Z1.1/4"X11.5 58.5 | 58.5 | 435 | 48
LN-24Z Z1.1/2"X11.5|Z1.1/2"X11.5|Z1.1/2"X11.5 715 | 715 | 528 | 63

C-162

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




1B ADAPTER

2FU9
L ORFSHMEZL/ZEHINPSMPAMZELSI60°9M 4 90°
ORFS MALE/NPSM FEMALE 60° CONE 90° ELBOW

B #2 47 THREAD OJ% R~} DIMENSIONS
PART NO. E F E i A B S1 S2
2FU9-04Z 9/16"X18 1/4"X18 0011 23 46 14 19
2FU9-04-06Z 9/16"X18 3/8"X18 0011 23 6 14 22
2FU9-04-08Z 9/16"X18 1/2"X14 0011 255 | 75 19 27
2FU9-06Z 11/16"X16 3/8"X18 0012 275 6 19 22
2FU9-06-08Z 11/16"X16 1/2"X14 0012 275 | 75 19 27
2FU9-06-12Z 11/16"X16 3/4"X14 0012 305 | 89 24 32
2FU9-08Z 13/16"X16 1/2"X14 0014 31 75 22 27
2FU9-08-12Z 13/16"X16 3/4"X14 0014 33 8.9 24 32
2FU9-08-16Z 13/16"X16 1"X11.5 0014 36 10.5 30 41
2FU9-10-12Z 1"X14 3/4"X14 0016 365 | 89 27 32
2FU9-12Z 1.3/16"X12 3/4"X14 0018 41 8.9 30 32
2FU9-12-16Z 1.3/16"X12 1"X11.5 0018 41 10.5 30 41
2FU9-12-20Z 1.3/16"X12 | 1.1/4"X11.5 0018 465 | 11.2 41 50
2FU9-16Z 1.7/16"X12 1"X11.5 0021 445 | 105 36 41
2FU9-16-20Z 1.7116"X12 | 1.1/4"X11.5 0021 475 | 11.2 41 50
2FU9-16-24Z 1.7116"X12 | 1.1./2"X11.5 | 0021 515 | 11.2 48 55
2FU9-20Z 1.11/16"X12 | 1.1/4"X11.5 0025 475 | 11.2 41 50
2FU9-20-24Z 1.11/16"X12 | 1.1./2"X11.5 | 0025 515 | 11.2 48 55
2FU9-247 2"X12 1.1./2"X11.5 | 0029 535 | 11.2 50 55

EATON Winner 5T &£k H-AP-EHGC-2011-C Mar 2014 C-163



11 E#EESL ADAPTER

B
A
77 2NU
4L & 60°

B #r 48R SMBLL /£ HINPSMPIRAI60°Ih 4

E | o1 £S2 NPT MALE / NPSM FEMALE 60° CONE

it = 2 40 THREAD &~} DIMENSIONS
PART NO. E F A B L S1 S2
2NU-02Z Z1/8"X27 1/8"X27 105 | 35 | 255 | 12 15
2NU-02-04Z Z1/8"X27 1/4"X18 105 | 46 | 275 | 12 19
2NU-04-02Z Z1/4"X18 1/8"X27 15 | 35 | 30 14 15
2NU-04Z Z1/4"X18 1/4"X18 15 | 46 | 32 17 19
2NU-04-06Z Z1/4"X18 3/8"X18 15 6 33 17 22
2NU-04-08Z Z1/4"X18 1/2"X14 15 | 75 | 35 19 27
2NU-06Z 73/8"X18 3/8"X18 16 6 | 345 | 19 22
2NU-06-04Z 73/8"X18 1/4"X18 16 | 46 | 33 19 19
2NU-06-08Z 73/8"X18 1/2"X14 16 | 75 | 36 19 27
2NU-08Z Z1/2"X14 1/2"X14 195 | 75 | 415 | 22 27
2NU-08-04Z Z1/2"X14 1/4"X18 195 | 46 | 385 | 22 19
2NU-08-06Z Z1/2"X14 3/8"X18 195 | 6 | 395 | 22 22
2NU-12Z Z3/4"X14 3/4"X14 195 | 89 | 445 [ 30 32
2NU-12-06Z Z3/4"X14 3/8"X18 195 | 6 | 415 | 30 22
2NU-12-08Z Z3/4"X14 1/2"X14 195 | 75 | 435 | 30 27
2NU-12-16Z Z3/4"X14 1"X11.5 195 | 105 | 465 | 32 41
2NU-16-12Z Z1"X11.5 3/4"X14 215 | 89 | 515 | 36 32
2NU-16Z Z1"X11.5 1"X11.5 255 | 105 | 525 | 36 41
2NU-16-20Z Z1"X11.5 | 1.1/4"X11.5 255 | 112 | 585 | 41 50
2NU-20-16Z | Z1.1/4"X11.5 | 1"X115 265 | 105 | 555 | 46 41
2NU-20Z Z1.1/4"X11.5 | 1.1/4"X11.5 265 | 112 | 595 | 46 50
ONU-20-24Z | Z1.4/4"X115 | 1.1/2"X11.5 265 | 112 | 595 | 46 55
ONU-24-20Z | Z1.1/2"X11.5 | 1.1/4"X11.5 275 | 112 | 625 | 50 50
2NU-24Z Z1.1/2°X11.5 | 1.1/2"X11.5 275 | 112 | 625 | 50 55
2NU-32Z Z2'X11.5 2"X11.5 275 | 112 | 645 | 65 70

C-164

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

60°
B/
@ |
- 2NU9-L
] IR sEE SMBL/ EHINPSMAMRLI60°5M i 90°%
| LONG NPT MALE/NPSM FEMALE 60° CONE 90° ELBOW
A
e i2 2 THREAD JU < DIMENSIONS
PART NO. E F A B S1 S2
2NU9-04LZ Z1/4"X18 1/4"X18 40.1 46 14 19
2NU9-06LZ Z3/8"X18 3/8"X18 46.2 6 19 22
2NU9-08LZ Z1/2"X14 1/2"X14 55.1 75 22 27
2NU9-12LZ Z3/4"X14 3/4"X14 62 8.9 27 32
2NU9-16LZ Z1"X11.5 1"X11.5 765 | 105 33 41
2NU9-20LZ Z1.1/4"X11.5 | 1.1/4"X11.5 937 | 112 41 50
2NU9-24L7 Z1.1/2'X11.5 | 1.1./2"X11.5 1041 | 1.2 48 55
2NU9-32LZ Z2"X11.5 2"X11.5 1222 | 1.2 63 70
L B
A 20U
e
" ] U—Q 60° SAESMENTFHOREIRZ R SISO 1j926—3 /
EHINPSMPIERLL60° /M
SAE O-RING BOSS L-SERIES ISO
11926-3 / NPSM FEMALE 60° CONE
S1 S2
e i% £ THREAD OJ¥ 8 O-RING .~} DIMENSIONS
PART NO. E F E i A B L S1 S2
20U-04Z 7/16"X20 1/4"X18 0904 9.1 46 26 14 19
20U-04-06Z 7/16"X20 3/8"X18 0904 9.1 6 275 17 22
20U-06Z 9/16"X18 3/8"X18 0906 9.9 6 28.5 17 22
20U-06-08Z 9/16"X18 1/2"X14 0906 9.9 75 30 19 27
20U-082 3/4"X16 1/2"X14 0908 1.1 75 33 22 27
20U-08-06Z 3/4"X16 3/8"X18 0908 11.1 6 31 22 22
20U-10-08Z 7/8"X14 1/2"X14 0910 127 | 75 | 365 27 27
20U-12-08Z 1.1/16"X12 1/2"X14 0912 15.1 75 40 32 27
20U-12Z 1.1/16"X12 3/4"X14 0912 15.1 8.9 41 32 32
20U-12-16Z 1.1/16"X12 1"X11.5 0912 151 | 105 | 425 32 41
20U-16Z 1.5/16"X12 1"X11.5 0916 151 | 105 | 425 38 41
20U-20Z 1.5/8"X12 | 1.1/4"X11.5 0920 151 | 11.2 50 50 50
20U-24Z 1.7/8"X12 | 1.1/2"X11.5 0924 151 | 11.2 50 55 55
VE: EM240i 51S0 11926-13h LA . Note: E thread end fit with 1ISO11926-1 port.

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-165



11 E#EESL ADAPTER

2NU9

B IMRLL | EFINPSMAIZEL60°5M 90° T
NPT MALE / NPSM FEMALE 60° CONE 90° ELBOW

B #% 47 THREAD R~} DIMENSIONS
PART NO. E F A B S1 S2
2NU9-02Z Z1/8"X27 1/8"X27 185 | 35 11 15

2NU9-02-04Z Z1/8"X27 1/4"X18 21 4.6 1 19
2NU9-04-02Z Z1/4"X18 1/8"X27 255 | 35 14 15
2NU9-04Z Z1/4"X18 1/4"X18 255 | 46 14 19
2NU9-04-06Z Z1/4"X18 3/8"X18 25.5 6 14 22
2NU9-06Z Z3/8"X18 3/8"X18 31 6 19 22
2NU9-06-04Z Z3/8"X18 1/4"X18 31 46 19 19
2NU9-06-08Z Z3/8"X18 1/2"X14 31 75 19 27
2NU9-08Z Z1/2"X14 1/2"X14 373 | 75 22 27
2NU9-08-06Z Z1/2"X14 3/8"X18 36.7 6 22 22
2NU9-08-12Z Z1/2"X14 3/4"X14 375 | 89 24 32
2NU9-12Z Z3/4"X14 3/4"X14 44 8.9 27 32
2NU9-12-08Z Z3/4"X14 1/2"X14 44 75 27 27
2NU9-12-16Z Z3/4"X14 1"X11.5 45 10.5 30 41
2NU9-16Z Z1"X11.5 1"X11.5 50 10.5 33 41
2NU9-16-12Z Z1"X11.5 3/4"X14 50 8.9 33 32
2NU9-20-16Z Z1.1/4"X11.5 1"X11.5 545 | 105 41 41
2NU9-20Z Z1.1/4"X11.5 | 1.1/4"X11.5 545 [ 11.2 41 50
2NU9-247 Z1.1/2"X11.5 | 1.1./2"X11.5 595 | 11.2 48 55
2NU9-327 Z2"X11.5 2"X11.5 735 | 11.2 63 70

C-166

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

L B
E 7NU-S
T | [l 60°
]\H Ao IR /2 HINPSMPIIRLI60°5h 4
52 NPT FEMALE / NPSM FEMALE 60° CONE
\S1
e i2 4 THREAD R~} DIMENSIONS
PART NO. E F B L S1 S2
7NU-02SZ Z1/8"X27 1/8"X27 35 24 17 15
7NU-04-02SZ Z1/4"X18 1/8"X27 35 29 19 15
7NU-04SZ Z1/4"X18 1/4"X18 46 | 315 19 19
7NU-04-06SZ Z1/4"X18 3/8"X18 6 315 19 22
7NU-06SZ Z3/8"X18 3/8"X18 6 34 22 22
7NU-06-08SZ Z3/8"X18 1/2"X14 7.5 34 22 27
7NU-08-06SZ Z1/2"X14 3/8"X18 6 39 30 22
7NU-08SZ Z1/2"X14 1/2"X14 7.5 41 30 27
7NU-12SZ Z3/4"X14 3/4"X14 8.9 44 36 32
7NU-16SZ Z1"X11.5 1"X11.5 105 | 515 | 41 41
7NU-20SZ Z1.1/4"X11.5 | 1.1/4"X11.5 11.1 55 50 50
7NU-24SZ Z1.1/2"X11.5 | 1.1/2"X11.5 112 | 555 | 60 55
7NU-32SZ Z2'X11.5 2"X11.5 1.5 57 70 70
60°
s3 g
@ !
R N | . DU
5ot 7% | 77 R EFHINPSMPAIZL =i
i NPSM FEMALE TEE
S2 Y sS4
e i 4 THREAD R~} DIMENSIONS
PART NO. E F G A B C S1 S2 | s3 | s4
DU-02Z 1/8"X27 1/8"X27 1/8"X27 35 | 35 | 35 | 1 15 15 15
DU-04Z 1/4"X18 1/4"X18 1/4"X18 46 | 46 | 46 | 11 19 19 19
DU-06Z 3/8"X18 3/8"X18 3/8"X18 6 6 6 16 | 22 | 22 | 22
DU-08Z 1/2"X14 1/2"X14 1/2"X14 75 | 75 | 75 | 19 | 27 | 27 | 27
DU-12Z 3/4"X14 3/4"X14 3/4"X14 89 | 89 | 89 | 24 | 32 32 | 32
DU-16Z 1"X11.5 1"X11.5 1"X11.5 | 105 | 105 [ 105 | 30 | 41 41 41
DU-20Z 1.1/4"X11.5 | 1.1/4"X11.5 | 1.1/4"X11.5 [ 111 | 111 | 111 | 41 50 | 50 50
DU-24Z 1.4/2°X11.5 [ 1.12X115 | 1.42X115 [ 112 | 12 | 112 | 48 | 55 | 55 | 55

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-167



T ERESL ADAPTER

E

S1
A

mil L o)L
L NP

s
A —E A B SMELUSAESMELLO0® Sk
NPT MALE/SAE MALE 90° CONE

= 12 4 THREAD R~} DIMENSIONS
PART NO. E E A B L S1
1NP-04Z Z1/4"X18 7/16"X20 15 12.7 33.7 17
1NP-04-05Z Z1/4"X18 1/2"X20 15 14.2 35.2 17
1NP-04-06Z Z1/4"X18 5/8"X18 15 15.7 36.7 17
1NP-06-04Z Z3/8"X18 7/16"X20 16 12.7 34.7 19
1NP-06Z Z3/8"X18 5/8"X18 16 15.7 37.5 19
1NP-06-08Z Z3/8"X18 3/4"X16 16 19 43 22
1NP-08-06Z Z1/2"X14 5/8"X18 19.5 15.7 43.5 24
1NP-08Z Z1/2"X14 3/4"X16 19.5 19 46.5 24
1NP-08-10Z Z1/2"X14 7/8"X14 19.5 22.4 50 24
1NP-12Z Z3/4"X14 1.1/16"X14 19.5 254 55 30

C-168 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

L1

D1
<>‘l/\

)

NEBYFER /2
ZH3£221S0 6162-1

1CFL 1CFL-RNW METRIC MALE BITE TYPE /
1DEL 1DFL-RNW L-SERIES FLANGE ISO 6162-1
U5 PART NO. BAE | MM | FTHMED | ikORM /X I DIMENSIONS
B3l 44 BODY | 4144 ASSEMBLY THREAD [FLANGE SIZE| TUBE O.D. |FLANGE O-RING| p1 b 1 |L1]s1|s2
1CFL-22-08Z |1CFL-22-08RNW/| M22X1.5 1/2" 15 0210 30.2| 6.7 | 41 |56(24 (27
1CFL-26-12Z |1CFL-26-12RNW/| M26X1.5 3/4" 18 0214 38.116.73145.5162 (30|32
1CFL-30-12Z [1CFL-30-12RNW| M30X2 3/4" 22 0214 38.1| 6.7 1455|6232 (36
1CFL-36-16Z |1CFL-36-16RNW/| M36X2 1" 28 0219 444 8 |44.5|63|36 |41
1CFL-45-20Z [1CFL-45-20RNW/| M45X2 1.1/4" 35 0222 50.8 47.5(69 4150
1CFL-52-24Z |1CFL-52-24RNW/| M52X2 1.1/2" 42 0225 60.3| 8 53 | 764660
1DFL-24-08Z |1DFL-24-08RNW| M24X1.5 1/2" 16 0210 30.2| 6.7 1415|6024 (30
1DFL-30-12Z |[1DFL-30-12RNW/| M30X2 3/4" 20 0214 38.1| 6.7 |46.5|68 |30 |36
1DFL-36-12Z |[1DFL-36-12RNW| M36X2 3/4" 25 0214 38.116.73| 45 69|30 (46
1DFL-42-16Z |1DFL-42-16RNW/| M42X2 1" 30 0219 444 8 |49.5|76|36 |50
1DFL-36-20Z |[1DFL-36-20RNW/| M36X2 1.1/4" 25 0222 50.8| 8 | 48 |72|41(46
1DFL-42-20Z |1DFL-42-20RNW/| M42X2 1.1/4" 30 0222 50.8| 8 |48.5|75|41(50
1DFL-52-20Z |[1DFL-52-20RNW/| M52X2 1.1/4" 38 0222 50.8| 8 54 1814660
1DFL-52-24Z |1DFL-52-24RNW/| M52X2 1.1/2" 38 0225 60.3| 8 54 185|46|60

I BPEZOREA O SRR MAL b, 55 5 /b RaiT 5%
included in the body and assembly, need seperately order another.

Note: the flange end o-ring in the above sheet don't

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-169




T ERESL ADAPTER

w — °
- AFISMBG24H | B
RHISE=1S0 6162-2
1DFS 1DFS-RNW METRIC MALE 24° CONE /
S-SERIES FLANGE ISO 6162-2
f 5 PART NO. BAE | EMH [ETSMED|  EZOKM /R °I' DIMENSIONS
P23l 44 BODY | 4044+ ASSEMBLY THREAD |FLANGE SIZE |TUBE O.D.|[FLANGE O-RING| p1 b 1 L1 [s1]s2
1DFS-24-08Z | 1DFS-24-08RNW | M24X1.5 1/2" 16 0210 31.7| 7.8 |44.5| 63 (24|30
1DFS-24-12Z | 1DFS-24-12RNW | M24X1.5 3/4" 16 0214 41.3| 8.8 [50.5| 69 |30 (30
1DFS-30-12Z [ 1DFS-30-12RNW | M30X2 3/4" 20 0214 41.3| 8.8 [50.5| 72 |30 (36
1DFS-36-12Z | 1DFS-36-12RNW | M36X2 3/4" 25 0214 41.3| 88 | 51 | 75 |30 (46
1DFS-36-16Z | 1DFS-36-16RNW | M36X2 1" 25 0219 47.6| 9.5 | 60 | 81 |36 (46
1DFS-42-16Z | 1DFS-42-16RNW | M42X2 1" 30 0219 47.6| 9.5 [60.5| 87 |36 |50
1DFS-42-20Z | 1DFS-42-20RNW | M42X2 1.1/4" 30 0222 54 110.3|65.5( 92 41|50
1DFS-52-20Z | 1DFS-52-20RNW | M52X2 1.1/4" 38 0222 54 110.3| 67 | 98 | 46|60
1DFS-52-24Z | 1DFS-52-24RNW | M52X2 1.1/2" 38 0225 63.5(12.6| 73 |104(46|60

T RPINEZOR B AL E EECLRMANE T, &5 RAIT 52,

included in the body and assembly, need seperately order another.

Note: the flange end o-ring in the above sheet don't

C-170

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




11 E#EESL ADAPTER

22 %
w - o 7l7 O
T 1FFL
A B £ HIORFSHMEL OB F '
- ] Z4 | BRIEZISO 6162-1

ORFS MALE O-RING / L-SERIES
FLANGE ISO 6162-1

= 2 5 E 2L OjF el O-RING R~} DIMENSIONS
PART NO. THREAD E |FLANGE SIZE Ef V22 B FL ANGE A b D1 D2 L
1FFL-12Z 1.3/16X12 3/4" 0018 0214 17 | 6.73 | 38.1 | 31.7 | 45.7
1FFL-16Z 1.7/16"X12 1" 0021 0219 17.5 8 444 | 38 |[47.8
1FFL-20Z 1.11/16"X12 1.1/4" 0025 0222 17.5 8 50.8 | 43 47
1FFL-24Z 2"X12 1.1/2" 0029 0225 17.5 8 60.3 | 50 | 49.5

W BRI LORBAE S AR LT, TH/EMITH?, Note: the flange end o-ring in the above sheet don't included
in the adaptors, need seperately order another.

\
I

Ja ], 1FFS

ZEHIORFSHMBRL O B F T
B | ERY)EZISO 6162-2

. -2 ORFS MALE O-RING / S-SERIES
FLANGE ISO 6162-2

B 2 50 E 22 HRE OJE [ O-RING JU~f DIMENSIONS
PART NO. THREAD E |FLANGE SIZE Eif: 2 ERFL ANGE A b D1 D2 L
1FFS-12Z 1.3/16X12 3/4" 0018 0214 17 | 876 | 41.3 | 32 [ 51.8
1FFS-16Z 1.7/16"X12 1" 0021 0219 1751 9.53 | 476 | 38 | 57.2
1FFS-20Z 1.11/16"X12 1.1/4" 0025 0222 17.5 110.29| 54 44 62
1FFS-247 2"X12 1.1/2" 0029 0225 17.5 112.57| 63.5 | 51 | 66.8

W BPMEZORBA LS AR, TH/NEMITH?. Note: the flange end o-ring in the above sheet don't included
in the adaptors, need seperately order another.

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-171




T ERESL ADAPTER

L
b
74°0> W \\- o 1JFL
— EHIJICHMNRLI74° S | 2R F5E=ISO 6162-1
JIC MALE 74° CONE / L-SERIES FLANGE ISO 6162-1
= i 20 THREAD V22 oW JUf DIMENSIONS
PART NO. E FLANGE SIZE| O RING b D1 L
1JFL-08Z2 3/4"X16 1/2" 0210 6.73 | 30.2 43.5
1JFL-08-12Z 3/4"X16 3/4" 0214 6.73 | 38.1 45.4
1JFL-10-08Z2 7/8"X14 1/2" 0210 6.73 | 30.2 48
1JFL-10-12Z 7/8"X14 3/4" 0214 6.73 | 38.1 48
1JFL-12-08Z2 1.1/16X12 1/2" 0210 6.73 | 30.2 49
1JFL-12Z 1.1/16X12 3/4" 0214 6.73 | 38.1 50.5
1JFL-12-16Z 1.1/16X12 1" 0219 8 44 .4 52.2
1JFL-16-12Z 1.5/16"X12 3/4" 0214 6.73 | 38.1 52
1JFL-16Z 1.5/16"X12 1" 0219 8 44 .4 53.4
1JFL-16-20Z 1.5/16"X12 1.1/4" 0222 8 50.8 52.2
1JFL-20-16Z 1.5/8"X12 1" 0219 8 44 .4 54.5
1JFL-20Z 1.5/8"X12 1.1/4" 0222 8 50.8 53.1
1JFL-20-24Z 1.5/8"X12 1.1/2" 0225 8 60.3 56
1JFL-24-20Z 1.7/8"X12 1.1/4" 0222 8 50.8 56.5
1JFL-24Z7 1.7/8"X12 1.1/2" 0225 8 60.3 59.2
1JFL-24-32Z 1.7/8"X12 2" 0228 953 | 714 60
1JFL-32Z 2.1/2"X12 2" 0228 953 | 714 66.3

VE: BREEEZOB A SER LT, FRA T . Note: the flange end o-ring in the above sheet don't included
in the adaptors, need seperately order another.

C-172 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



11 E#EESL ADAPTER

d D1
(=il
, ﬁﬁm 1JFL9
74°
“4ly /Lbﬁ@ 90° ZEEIJICIMBLITA SN | BRERFIFEZISO 6162-1
90° ELBOW JIC MALE 74° CONE / L-SERIES FLANGE ISO 6162-1
1t 12 40 THREAD V22 4K O @ R~} DIMENSIONS

PART NO. E FLANGE SIZE O RING" A B b D1 S1

1JFL9-08Z 3/4"X16 1/2" 0210 325 44 6.73 | 30.2 19
1JFL9-08-12Z 3/4"X16 3/4" 0214 38 54.1 6.73 | 38.1 27
1JFL9-10-08Z 7/8"X14 1/2" 0210 37.5 44 6.73 | 30.2 22
1JFL9-10-12Z 7/8"X14 3/4" 0214 41 54.1 6.73 | 38.1 27

1JFL9-12Z 1.1/16"X12 3/4" 0214 445 | 541 6.73 | 38.1 27
1JFL9-12-16Z 1.1/16"X12 1" 0219 48 60.2 8 44 .4 83

1JFL9-16Z 1.5/16"X12 1" 0219 49 60.2 8 44 .4 33
1JFL9-16-12Z 1.5/16"X12 3/4" 0214 49 58 6.73 | 38.1 S5
1JFL9-16-20Z 1.5/16"X12 1.1/4" 0222 54 66.5 8 50.8 41

1JFL9-20Z 1.5/8"X12 1.1/4" 0222 555 | 66.5 8 50.8 41
1JFL9-20-16Z 1.5/8"X12 1" 0219 55.5 65 8 44 .4 41
1JFL9-20-24Z 1.5/8"X12 1.1/2" 0225 60 79.3 8 60.3 48

1JFL9-24Z7 1.7/8"X12 1.1/2" 0225 62.5 | 79.3 8 60.3 48
1JFL9-24-20Z 1.7/8"X12 1.1/4" 0222 625 | 75.5 8 50.8 48
1JFL9-24-32Z7 1.7/8"X12 2" 0228 74.5 108 953 | 714 63

1JFL9-32Z7 2.1/2"X12 2" 0228 80 108 953 | 714 63

T RPE OB USRS, i 1,
in the adaptors, need seperately order another.

Note: the flange end o-ring in the above sheet don't included

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

C-173



T ERESL ADAPTER

L
b
74°0> W 0
EHIJICIMEL74° I | ERFIFE=ISO 6162-2
1JFS JIC MALE 74° CONE / S-SERIES FLANGE ISO 6162-2
e i 4 THREAD V% R o & ~F DIMENSIONS
PART NO. E FLANGE SIZE O RING b D1 L
1JFS-08Z 3/4"X16 1/2" 0210 7.75 | 31.7 47.5
1JFS-10-08Z 7/8"X14 1/2" 0210 7.75 | 31.7 50
1JFS-10-12Z 7/18"X14 3/4" 0214 8.76 | 41.3 55
1JFS-12Z2 1.1/16"X12 3/4" 0214 8.76 | 41.3 56.7
1JFS-12-16Z 1.1/16"X12 1" 0219 9.53 | 47.6 61.5
1JFS-16-12Z 1.5/16"X12 3/4" 0214 8.76 | 41.3 58
1JFS-16Z 1.5/16"X12 1" 0219 9.53 | 47.6 62.8
1JFS-16-20Z 1.5/16"X12 1.1/4" 0222 10.29| 54 67.7
1JFS-20-16Z 1.5/8"X12 1" 0219 9.53 | 47.6 64
1JFS-20Z 1.5/8"X12 1.1/4" 0222 10.29| 54 68.9
1JFS-20-24Z 1.5/8"X12 1.1/2" 0225 12.57 | 63.5 73.5
1JFS-24-20Z 1.7/8"X12 1.1/4" 0222 10.29| 54 72
1JFS-247 1.7/8"X12 1.1/2" 0225 12.57 | 63.5 76.7
T BRI ZOR AL SEE:LT, FHIHEIITEE. Note: the flange end o-ring in the above sheet don't included
in the adaptors, need seperately order another.

C-174 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



T ERESL ADAPTER

(o

L=,

90°

1JFS9

TRHIJICHMREL74° St | ERFEZISO 6162-2
90° ELBOW JIC MALE 74° CONE / S-SERIES FLANGE ISO 6162-2

1t 12 40 THREAD V22 K O @ R~} DIMENSIONS
PART NO. E FLANGE SIZE | O RING A B b D1 S1
1JFS9-08Z 3/4"X16 1/2" 0210 32.5 44 7.75 | 31.7 19
1JFS9-10-08Z 7/8"X14 1/2" 0210 37.5 46 7.75 | 31.7 22
1JFS9-10-12Z 7/8"X14 3/4" 0214 41 541 | 8.76 | 41.3 27
1JFS9-127 1.1/16"X12 3/4" 0214 442 | 541 | 8.76 | 41.3 27
1JFS9-12-16Z 1.1/16"X12 1" 0219 48 60.2 | 953 | 47.6 33
1JFS9-16Z 1.5/16"X12 1" 0219 49 60.2 | 9.53 | 47.6 &
1JFS9-16-12Z 1.5/16"X12 3/4" 0214 49 57 8.76 | 41.3 33
1JFS9-16-20Z 1.5/16"X12 1.1/4" 0222 54 66.5 [ 10.29 | 54 41
1JFS9-20Z 1.5/8"X12 1.1/4" 0222 55.5 | 66.5 | 10.29 | 54 41
1JFS9-20-16Z 1.5/8"X12 1" 0219 55.5 65 953 | 476 | 41
1JFS9-20-24Z 1.5/8"X12 1.1/2" 0225 59.5 | 79.3 | 12.57 | 63.5 48
1JFS9-247 1.7/8"X12 1.1/2" 0225 625 | 79.3 [ 1257 | 63.5 | 48
1JFS9-24-20Z 1.7/8"X12 1.1/4" 0222 62.5 79 1029 | 54 48
i BPMEEZORBA U SR LY, FAIHIITIE. Note: the flange end o-ring in the above sheet don't included
in the adaptors, need seperately order another.

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 C-175



T ERESL ADAPTER

_h
"
SAE Xt A=K
SAE SPLIT FLANGE CLAMP
R 5 2 H JX ' DIMENSIONS L FE R
PART NO. FLANGE SIZE Al B ] da ] n ] m ][N BOLT
3000PSI
FL-08Z 1/2" 54 45.6 9 6.2 38.1 17.5 M8X25
FL-12Z 3/4" 65.6 51.8 11 6.2 47.6 22.2 M10X30
FL-16Z 1" 70.5 58.4 1 7.5 52.4 26.2 M10X30
FL-20Z 1.1/4" 79 72.6 11 7.5 58.7 30.2 M10X30
FL-24Z 1.1/2" 94 82.2 13.5 7.5 69.9 35.7 M12X35
FL-32Z 2" 102 96.4 13.5 77.8 42.9 M12X35
FL-40Z 2.1/2" 115 108.2 13.5 88.9 50.8 M12X40
FL-48Z 3" 134.4 | 130.6 17 106.4 61.9 M16X50
6000PSI

FS-08Z 1/2" 56.8 47.2 9 7.2 40.5 18.2 M8X30
FS-12Z 3/4" 70.8 60 11 8.26 50.8 23.8 M10X35
FS-16Z 1" 81.15 69.6 13 9 57.2 27.8 M12X45
FS-20Z 1.1/4" 96.68 77.2 15 9.8 66.6 31.8 M14X50
FS-247 1.1/2" 113.38 95 17 12 79.4 36.6 M16X55
FS-32Z 2" 188 113.8 21 12 96.8 44.4 M20X70

i BCHRRE T B ATIT L

The bolt need ordered another.

C-176

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




T ERESL ADAPTER

_h
FL-W
L= (<C| -
FS-W
SAEJA=3%
SAE FLANGE CLAMP

R 5 2 H JX ' DIMENSIONS L FE R

PART NO. FLANGE SIZE A ] B | d ] nh | ™M ] N BOLT
3000PSI
FL-08WZ 1/2" 54 45.6 9 6.2 38.1 17.5 M8X25
FL-12WZ 3/4" 65.6 51.8 " 6.2 47.6 22.2 M10X30
FL-16WZ 1" 70 58.4 1" 7.5 52.4 26.2 M10X30
FL-20WZ 1.1/4" 79 72.6 11 7.5 58.7 30.2 M10X30
FL-24WZ 1.1/2" 94 82.2 185 7.5 69.9 35.7 M12X35
FL-32WZ 2" 102 96.4 135 9 77.8 42.9 M12X35
FL-40WZ 2.1/2" 115 108.2 13.5 9 88.9 50.8 M12X40
FL-48WZ 3" 1344 | 130.6 17 9 106.4 61.9 M16X50
6000PSI
FS-08Wz 1/2" 56 47.2 9 7.2 40.5 18.2 M8X30
FS-12wWz 3/4" 70.8 60 11 8.2 50.8 23.8 M10X35
FS-16WzZ 1" 81.15 69.6 13.5 9 57.2 27.8 M12X45
FS-20Wwz 1.1/4" 96.68 77.2 15 9.8 66.6 31.8 M14X50
FS-24WzZ 1.1/2" 113.38 95 17 12 79.4 36.6 M16X55
FS-32Wz 2" 132.82 | 113.8 21 12 96.8 44 .4 M20X70
W BCAERETE 53171758, The bolt need ordered another.

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 Cc-177






E.TeN | Winner

B

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014






SAE:%£ = SAE FLANGE

A SE5

4FL. 4FS
PD1

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014






SAE:%£ = SAE FLANGE

L
I
4"7‘7
\\t 4FL
N _L\\_ . 4FS
SAE JE=3#k
SAE FLANGE PLUG

R 5 V2R O J¥ R ~I" DIMENSIONS

PART NO. FLANGE SIZE O RING DA1 | L | b
3000PSI
4FL-08Z 1/2" 0210 30.2 16 6.73
4FL-12Z 3/4" 0214 38.1 17 6.73
4FL-16Z 1" 0219 44.4 17 8
4FL-20Z 1.1/4" 0222 50.8 17 8
4FL-24Z 1.1/2" 0225 60.3 19 8
4FL-32Z 2" 0228 71.4 19 9.53
4FL-40Z 2.1/2" 0232 84.1 40 9.53
4FL-48Z 3" 0237 101.6 45 9.53
6000PSI
4FS-08Z 1/2" 0210 31.7 18 7.75
4FS-12Z 3/4" 0214 41.3 18 8.76
4FS-16Z 1" 0219 47.6 18 9.53
4FS-20Z 1.1/4" 0222 54 18 10.3
4FS-247 1.1/2" 0225 63.5 20 12.6
4FS-327 2" 0228 79.4 30 12.6
i BRREEZOR AL S EE LY, FAIEINT IR, Note: the flange end o-ring in the above sheet don't included in
the adaptors, need seperately order another.

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 D-1






E-T-N | Winner

B 0 B3

S TAETE JJ 35 e veveeeeseesessnsenneressasanianunnieesessssasnnnnesasaanans E-1
T TTEY T JG I~ eveveeeeseesasnnenneneesnsenionuneieesessesasnnanesessanans E-5
2SI IR G BT e eevevvnvennenessasensassnneteeseesesesnsinesaaaanans E-12
R A A oy b USSR E-18
B AT T S veveeeeseennvnrennesesanseniassnteieeseesesssrnaresaeaanans E-20
BT LB e v envnvrreesanansestnntteteeseses st te e e e e e e et rr e e e aeaa E-21

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014







Mifni&# INFORMATION

1EL T1EE 1%k Working Pressure

e e @
NI AMZEEL Al SRS Al SRS NSRS | A MRS [ A SRS
O JE B %4t O JE B % &t O JE 8 % &t O REZE | Sl ktumiz R4 | 2k R4
#H RS A A A R A LZE Y| A A A AR R A (E %) (E %)

M8X1 63 40 40 315 - -
M10X1 63 40 40 315 25 -
M12X1.5 63 40 40 315 25 63
M14X1.5 63 40 40 315 25 63
M16X1.5 63 40 315 25 25 63
M18X1.5 63 40 315 25 25 63
M20X1.5 - - - - - 63
M22X1.5 - - - - 16 40
M22X1.5 63 40 315 25 - -
M26X1.5 - - - - 16 -
M27X2 40 40 20 16 - 40
M30X2 40 40 20 16 = -
M33X2 - - - - 10 40
M33X2 40 315 20 16 - -
M42X2 25 25 20 16 - -
M42X2 - - - - 10 25
M48X2 25 20 20 16 10 25
M60X2 25 16 16 10 - -

EATON Winner i3 E#£k H-AP-EHGC-2011-C Mar 2014 E-1




Mifni&# INFORMATION

”

TN

HREL
H A il SRS
60° HEw R

M12X1.5 34.5
M14X1.5 34.5
M16X1.5 34.5
M18X1.5 34.5
M20X1.5 34.5
M22X1.5 34.5
M24X1.5 27.5
M27X1.5 27.5
M30X1.5 20.5
M33X1.5 20.5
M36X1.5 17

M42X1.5 17

s Vanitr
>74o n
2 MLJL ﬁ_ :ﬁ )
awshms | amsneg | amises
74° HEEE | OMEEmH | 60° i
M10X1 35 - -
M10X1 35 - -
M12X1.25 - 63 i
M12X1.5 35 - -
M14X1.5 35 s it
M16X1.5 25 3 -
M18X1.5 25 o3 it
M22X1.5 20 3 it
M24X1.5 20 - -
M27X1.5 20 70 '
M27X2 - - e
M30X2 20 - ;
M30X1.5 - 40 i
M33X2 16 - e
M36X2 16 - -
M36X2 - 40 i
M39X2 12.5 - -
M39X2 - 25 i
M42X2 125 - 7
M42X2 - 25 i
M45X2 10 - -
M45X2 - 25 i
M52X2 - 25 i
M60X2 - 25 i
M64X2 - 25 i

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




Mifni&# INFORMATION

D R 27
60° jﬁo" | ’
1 ﬁl / j“‘“: iHUL i ) i
sspiger | TEREME | s piymy | RESMBA LD
60° tmieit |2 00 I | oppmmy | O MBS
R1/8"'X28 34.5
G1/8"X28 34.5 34.5 40 315 BT e
G1/4"X19 34.5 34.5 40 315 R3/8%X19 5
G3/8"X19 345 345 315 25 Sl o
G1/2'X14 34.5 34.5 315 25 R/ X14 o
G3/4"X14 275 275 20 16 ] o
G1"X11 20.5 20.5 20 16 R1.1/4"X11 17
G1.1/4"X11 17 17 20 16 L] e
G1.1/2"X11 10.5 10.5 20 16 R2"X11 105
G2"X11 10.5 10.5 16 10
.
Yo e e Wﬂ
>w
L Hu HL[ 4L { ;’
[P0 -
74 it | O TREH| S | O PHEH | Sarigpg v s
# agg | B % 751 :
Z1/4"X18 27.5
5/16"X24 34.5 - - 31.5 31.5 73/8"X18 21
3/8"X24 34.5 63 40 SRS 31.5 71/2"X14 21
7/16"X20 34.5 63 40 31.5 31.5 73/4"X14 17
1/2"X20 34.5 63 40 31.5 31.5 Z1"X11.5 14
9/16"X18 34.5 63 40 31.5 25 71.1/4"X11 5
3/4"X16 31 63 40 31.5 25 Z71.1/2"%X11 5
7/8"X14 24 63 40 25 20
1.1/16"X12 24 40 40 25 20
1.3/16"X12 21 40 40 20 16
1.5/16"X12 21 40 31.5 20 16
1.5/8"X12 17 25 25 16 12.5
1.7/8"X12 14 25 20 16 12.5
2.1/2"X12 10.5 - - 12.5 10

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




Mifni&# INFORMATION

E-4

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

Vi
=¥y j‘ ¥
4 ORFS sy | S REE | PSR |
HMZS O T iy BEFE BEFE BRFE
[ 45 4 7 2% 7 2% H R Y AR
9/16"X18 63 1/2 “ 35 35 35 40
11/16"X16 63 3/4” 35 35 35 40
13/16"X16 63 14 25 31.5 35 40
1"X14 40 1.1/4 « 20 25 35 40
1.3/16"X12 40 1.1/2” 20 20 35 40
1.7/16"X12 40 2”7 16 16 35 40
1.11/16"X12 25
2"X12 25




Mimn#=#l INFORMATION

HMOBKXERT Port

1 1SO 9974-1/3 IS F S AH A 5

L]

1

L)

T
[

AR B ISO 9974-3 BXYH: ity ISO 9974-2 EF 1% OJ¥ el % &t TV B %

d4

d3

90° - 32
N .
I
3 7k
d2
& d1
FATAS oV L2 HE 2 i S et
This dimension only applies when tap
drill cannot pass through entire boss
ISO 9974-13Hi I
RS mm
IBLL d2 d3 d4 L1 L2 L3 w
d1 2% ref. R~ nom. N tol. min. max. min. min.

M8X1 3 8 0, +0.2 13 1 8 10 0.1
M10X1 45 10 0, +0.2 15 1 8 10 0.1
M12X1.5 6 12 0, +0.2 18 1.5 12 15 0.1
M14X1.5 7 14 0, +0.2 20 1.5 12 15 0.1
M16X1.5 9 16 0, +0.2 23 1.5 12 15 0.1
M18X1.5 11 18 0, +0.2 25 12 15 0.1
M20X1.5 10 20 0, +0.2 27 14 17 0.1
M22X1.5 14 22 0, +0.2 28 2.5 14 17 0.1
M26X1.5 18 26 0, +0.2 33 2.5 16 19 0.2
M27X2 16 27 0, +0.2 33 2.5 16 20 0.2
M33X2 23 33 0, +0.3 41 2.5 18 22 0.2
M42X2 30 42 0, +0.3 51 2.5 20 24 0.2
M48X2 36 48 0, +0.3 56 2.5 22 36 0.2

EATON Winner 1

TiEEL H-AP-EHGC-2011-C Mar 2014




Mifni&# INFORMATION

21SO 6149-1 Al BRS0H 11 K AR FCAT: i

L2

d2

ISO 6149-2. 1SO 6149-3F% i

-
H
N
>

d4 (il gauiing)

/
7

d3

R0O.2
R0.1

A

i il

For identification of port
dé
R0.2max
d5

L1

05
w
QN\

o d1 g:?*/
FH TS A0 V2240 57 B 8 flo1]A
This dimension only applies when tap
drill cannot pass through entire boss
ISO 6149-13 M
O R mm
30 < d3 ds dé L1 L2 | L3 L4 | z O
d% min.! min 2 2% d4 +01 *0.5 *04 min. | max. | min. | £1° O-RI/NG
ref. 0 0 0

M8X1 17 14 3 12.5 9.1 14 1.6 1.5 1 10 12 6.1X1.6
M10X1 20 16 4.5 14.5 1.1 16 1.6 11.5 1 10 12 8.1X1.6
M12X1.5 23 19 6 17.5 13.8 19 2.4 14 1.5 11.5 15 9.3X2.2
M14X1.5 25 21 7.5 19.5 15.8 21 2.4 14 1.5 11.5 15 11.3X2.2
M16X1.5 28 24 9 22.5 17.8 24 2.4 15.5 1.5 13 15 13.3X2.2
M18X1.5 30 26 11 24.5 19.8 26 2.4 17 2 14.5 15 15.3X2.2
M20X1.5 32 27 -- 25.5 21.8 27 2.4 - 2 14.5 15 17.3X2.2
M22X1.5 34 29 14 27.5 23.8 29 2.4 18 2 15.5 15 19.3X2.2
M27X2 40 34 18 32.5 29.4 34 3.1 22 2 19 15 23.6X2.9
M33X2 49 43 23 41.5 354 43 3.1 22 25 19 15 29.6X2.9
M42X2 60 52 30 50.5 44 .4 52 3.1 22.5 25 19.5 15 38.6X2.9
M48X2 66 57 36 55.5 50.4 57 3.1 25 2.5 22 15 44.6X2.9
M60X2 76 67 44 65.5 62.4 67 3.1 27.5 25 245 15 56.6X2.9

E-6

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




Mifni&# INFORMATION

3 DIN 38523 WA 4 v 1 S AH A ity

1) ] ] L

DIN 3852 AL A3 DIN3852 B #i:3ii DIN3852 EfU#:3ii (o)A EaES O fl % &
d4
d3
90° - 32
| I
N/ mn/k
d1
A
DIN 38527 I
T ERSF mm
d4
+0.4
BESL 43 . L1 le L.3 W
d1 max. min. min.
B. E ZfEu HeE
G1/8X28 9.8 0,+0.2 15 19 1 8 13 0.1
G1/4X19 13.2 0,+0.2 19 25 15 12 18.5 0.1
G3/8X19 16.7 0,+0.2 23 28 2 12 18.5 0.1
G1/2X14 21 0,+0.2 27 34 25 14 22 0.1
G3/4X14 26.5 0,+0.2 33 42 25 16 24 0.2
G1X11 33.3 0,+0.3 40 47 25 18 27 0.2
G1.1/4X11 42 0,+0.3 50 58 25 20 29 0.2
G1.1/2X11 47.9 0,+0.3 56 65 2.5 22 31 0.2
G2X11 59.7 0,+0.3 69 76 3 24 33 0.2

4 BS5380 5= AL 1 J2 AHECH: Uiy

—

BS 5380+ Ui

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 E-7



Mifni&# INFORMATION

d2 A
%J_ 0.12| A d5
li R0O.4max R0.25
! RO.12 32
% 3 ol A
/ ¥
K
N
d3 &
0.1]A
d1 5 !
BS 53803 1
MRS mm
b d2 d3 +3512 +b1 , L3 L4 o M
d1 min. max. 0 0' max. min. O-RING
G1/8X28 15 14 11.24 1.3 0.6 10.5 8.1X1.6
G1/4X19 19 18 14.16 1.2 0.6 11.0 10.1X1.6
G3/8X19 23 22 18.86 1.9 0.6 125 13.6X2.4
G1/2X14 27 26 22.40 1.9 0.8 15.0 17.6X2.4
G5/8X14 31 30 26.00 2.4 0.8 16.3 19.5X3.0
G3/4X14 33 32 28.92 2.4 1.1 16.3 22.5X3.0
G1X11 40 39 35.50 24 1.1 19.1 29.5X3.0
G1.1/4X11 50 49 43.56 2.4 1.1 21.4 36.5X3.0
G1.1/2X11 56 55 49.42 2.4 1.1 22.5 42.5X3.0
G2X11 69 68 61.42 2.4 1.1 25.7 54.5X3.0

5 JIS B 235145 1R 40 H SAH FU A i

E=

JIS B2351 45

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




Mifni&# INFORMATION

d2 A
1To. ds5
A {112l o
; ! . RO1 3.2
%3 N o A 3.2 ; —
-
N————’ j \ O*/
Ne
Aa— d1 / fToA[A
T‘S"t\e
JIS B 2351 i
RS mm
LE$3 d2 +‘(’)51 +IE)1 4 L2 L3 L4 O & I#
d1 +0.3 0' 0' min. max. min. O-RING
G1/8X28 18 11.6 2 15 1 10 7.8X1.9
G1/4X19 24 15.6 2.5 18 1.5 12 10.8X2.4
G3/8X19 28 18.6 2.5 18 2 12 13.8X2.4
G1/2X14 34 22.6 2.5 24 2.5 16 17.8X2.4
G3/4X14 45 29.8 3.5 25 2.5 17 22.1X3.5
G1X11 51 35.8 3.5 30 2.5 21 28.7X3.5
G1.1/4X11 62 44.8 3.5 30 2.5 214 37.7X3.5
G1.1/2X11 68 50.8 3.5 30 2.5 21.4 43.7X3.5
6 1SO 11926-1 3 il MRS 1 3z A EC AT v
ISO 11926-2. 1SO 11926-3E | W2 £ v
d2
d4 (Il §:gauging) A
AT | ds
T 1 I R0.4max R
! / / R0.2
Y < RO.1 %
% T
% Z = .
d3 &
@ | d1 /10.1]A
FRVT S 0V 2 27 3

This dimension only applies when tap
drill cannot pass through entire boss

ISO 11926-1 3 il SR AL

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 E-9



Mifni&# INFORMATION

RS mm
. d3 L1 z .,
WREZL d2 P d4 d5 +0.4 L2 L3 L4 Z (oFIAE]
d1 min. fef min. +0.05 0' min. max. min. +1° O-RING
5/16”7 X24 17 2.5 1 9.15 1.9 12 1.6 10 12 6.07X1.63
3/8”7 X24 19 3.5 13 10.75 2.4 12 1.6 10 12 7.65X1.63
7/16” X20 21 4.5 15 12.45 2.4 14 1.6 1.5 12 8.92X1.83
1/2” X20 23 6 16 14.05 2.5 14 1.6 11.5 12 10.52X1.83
9/16” X18 25 7.5 18 15.70 2.5 15.5 2.4 12.7 15 11.89X1.98
3/4” X16 30 10 22 20.65 2.5 17.5 2.4 14.3 15 16.36X2.21
7/8”7 X14 34 12.5 26 24 3.3 20 2.4 16.7 15 19.18X2.46
1.1/16”7 X12 41 16 32 29.2 3.3 23 2.4 19 15 23.47X2.95
1.3/16”7 X12 45 18 35 324 3.3 23 2.4 19 15 26.62X2.95
1.5/16” X12 49 21 38 5.5 3.3 23 3.2 19 15 29.74X2.95
1.5/8” X12 58 27 48 43.55 3.3 23 3.2 19 15 37.46X3.00
1.7/8” X12 65 &8 54 49.9 3.3 23 3.2 19 15 43.69X3.00
2.1/2”7 X12 88 45 70 65.75 3.3 23 3.2 19 15 59.36X3.00
7 HEEWR SO D
=
E
Nl -
. A
) )
HEE RS0 T
T E RS mm
Ear E b1 min. b2 min.
R1/8x28 9.5 7.5
R1/4x19 13.5 1
R3/8x19 14 1.5
R1/2x14 17.5 15
THEE RS R3/4x14 19 16.5
R1x11 22.5 19.5
R1.1/4x11 24.8 21.5
R1.1/2x11 24.8 21.5
R2x11 29.5 26
Z1/8x27 10 7.8
Z1/4x18 14 11.8
Z3/8x18 14 11.8
Z1/2x14 18 15.5
A HEE RS Z3/4x14 18.5 16
Z1x11.5 22.5 19.5
Z1.1/4x11.5 24 20.5
Z1.1/2x11.5 24 20.5
Z2x11.5 25 21.5

E-10 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014




Mifni&# INFORMATION

8 1SO 61627% =3 I

116 117
Lol ke
N
\eTe/
o 1/ \
- ;@M@‘ /@M@ ]
DY DD T-
s ) ic) \% & @/
o S 4-d2x12
111
110 ©
9 d
a AERSsh Hbrid. b HRMEAHKEERa3.2 -
C VEZEA IR N . d Ak AT R S

ISO 6162-1. 1SO 6162-27% %3 1

ISO 6162-1i% 27 H ) (3.5MPa—35MPa)

12 17 18 19 110 111 112 115 116 117 r1 r2

R d2
Bl min. | max. | min. |£0.25|+0.25| £0.8 | min. |£0.25| +0.25 | min. | min. | min. | 0.4 | £0.8

-08 | 1/2” | M8 | 14 | 549 | 53.1 | 38.1 | 19.05 | 46 33 17.5 8.75 56 52 49 8 23
-12| 3/4” |M10 | 18 | 65.8 | 64.3 | 47.6 | 23.8 52 41 22.3 11.15 68 61 55 9 26
-16 17 |M10 | 18 | 70.6 | 69.1 | 52.4 | 26.2 59 48 26.2 131 72 67 61 9 29
-20 | 1.1/4” |{M10| 22 | 80.3 | 785 | 58.7 |29.35 | 73 54 30.2 15.1 82 78 75 10 37
24 11.1/27 |M12| 22 | 945 | 93.0 | 69.9 |34.95 | 83 64 35.7 17.85 96 90 85 12 41
32| 27 |M12| 22 |103.1 | 100.1 | 77.8 | 38.9 97 76 42.9 21.45 104 | 102 99 12 49

ISO 6162-2i% 43l 1 s (35MPa—40MPa)

16
) 12 17 18 19 110 111 112 115 116 117 r1 r2
ARG | d2 . : . . . .
min. | max. | min. |£0.25|=0.25| £0.8 | min. |[£0.25| *=0.25 | min. | min. | min. | =0.4 | £0.8
-08 | 1/2» | M8 16 57.2 | 556 | 40.5 |20.25 48 38 18.2 9.1 59 56 53 8 24

-12 | 3/4” |[M10 | 18 | 721 | 70.6 | 50.8 | 25.4 60 48 23.8 11.9 75 70 66 10 30
-16 177 |M12 | 23 | 818 | 80.3 | 57.2 | 28.6 70 54 27.8 13.9 84 80 75 12 35
-20 | 1.1/4” |M12 | 20 | 96.0 | 945 | 66.6 | 33.3 78 60 31.8 15.9 99 90 83 14 39
-24 (1.1/27 |M16 | 27 | 1143 | 111.3 | 79.3 | 39.65 | 95 70 36.5 18.25 116 | 108 | 101 17 48
32| 27 |M20 | 35 | 1349 |131.8 | 96.8 | 48.4 114 86 44.5 22.25 137 | 128 | 120 18 57

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 E-11



Mifni&# INFORMATION

FESLBEA & 2 B2 HBAFITTINGS AND FITTINGS ASSEMBLY INSTRUCTIONS

OB mHZ+1E3L0-RING FACE SEAL FITTINGS

OB T E 1% LA O-RING FACE SEAL FITTINGS INSTRUCTIONS

©® O [E-F il B (HAL W LG BIRR, B—Fioh: miEckik. OIE « BREE B84, 85 AZTERTIMNE R
PR, WEPFIR. B Foh: MR OIE. BAE WEUL, & radlilmmeos, mEP2ir. EHEP1AT
AN HVEEAREERIS SRR A Tk o

o
O i

~ T f@“ - |

;.

i
=
Jut

KIP1 xIP2

® OV ERERIFIIE M TR E RS, MR ANOONOIL I, REA IR EEM, AP Ikiltlk. mT
OB el ES, PRI i AR Y [l 52 O TE 18 41 Bl R 52 i o

©® OB Vi Bk RS PRl AHIIREL, KAHIORFSIRLL.

® CHIORFSIZLHOTVIE B EMNZEFITEL KPS, A HISRSIOIY 6% B 25 114 18 P4 .

KIP3 KP4

E-12 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



Mimni&kl INFORMATION

OB T E 1L L% O-RING FACE SEAL FITTINGS ASSEMBLY INSTRUCTIONS

® I Assembly

1 STEIPAEARSE K, fE2cdEarpiie T EgE FAE (21°PLN) , EWNAMEEHR], FHEmEEn, & LIRS HIER.
XHEP2( B AN, EEES TG H T H W &EE i K0°, HR~IDR/ED1FD22 7], WLEP5.

NIZ 2

|
i
o Qo

KIP5

RS MOR T EOTL e, N STl i O8]«

3 PSP, A N B KA, T RIR R, F AR T A BRI e AR IR T,
A SR TR 1/4201/218

® =5 R%Reassembly
TR P H N H 52 E, EeddRhorE s, FItRRES 2R, NEEONE A LIUE,
LN 7 A

® tt/F/EELeakage reason

1 O TR RIR LR 22 AEO TR RIS A

2 O JEIE G A BARIE «

3 Pk BB R BN VIS E I AR R 2 A (R
4 Bk RO/, ANEREAEO TEIE .

5 O JEREM BiANE T TAER S

6 O LB A5 .

7 EFAR BT

+~E$##£3LBITE TYPE TUBE FITTINGS

FERIMBIABITE TYPE TUBE FITTINGS INSTRUCTIONS

FEAEESRM =M AR Bk RE. B, M RENRSEENE R AEELME R, IEREEE, RERTw M
BRSNS, WIS NN, A s E . WLIEP6.

kg *E R ToEEME

R SR
I o %
LUW: FEEEET L

DIN 3861

KIP6

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 E-13



Mifni&# INFORMATION

24° HEFMWELEGH4DIN 3861 brifE. RERHAWIIKE.

T W DU S AR AR R R A PR AL P . Sk S ) A B ) B ]38 63MPa, oA N Az i K v42mme.
Bite type fitting consists of three parts: body, cutting ring and nut. When tightening nut, cutting ring is driven forward on
the tube then bites the tube with the edge of cutting ring, this is how sealing is achieved and results in internal ridge inside
the tube. See Fig-6.
The tube connection side of fitting is manufactured in accordance with standard: DIN 3861.
In general, body and nuts' surface is plated zinc. Bite type fitting can be used in system with Max 63MPa. The
connection tube OD is Max 42mm.

FEIZLAEACBITE TYPE TUBE FITTINGS ASSEMBLY INSTRUCTIONS

® LI Assembly

1 M EERKERCENE, KbRm TR, B rmmEShLEE, MEAEAKRT05 « mMAETHERS, M
N i T 28725 AR AL ) B B FEANRE D T = A5 R B .

Cut the tube at right angle and de-burr inside and outside of tube end. Minimum straight length of tube from the starting

point of tube bend to the tube end may be 3 times height of the nut.

2 RRPRIREEAELSMNE L. EEBREAM-RER TN, AEERT .

Set a nut and cutting ring on the tube. Make sure the cutting ring and the nut are facing the fitting.

3 TEPEBCHCKAIRSON RE Lk LIEWE M, 08 TSR, BT B EERR) TSR

Lubricate the pre-assembly fitting body threads and cutting ring. Insert tube end into fitting body until it is firmly seated

on bottom (fitting shoulder) and hand-tighten the nut.

4 fFRIBREEREREE T, XA AU DUE T 5 0 IR B (7 5

Tighten nut until ferrule grips tube which is felt by a noticeable increase in torque (increase in force).

5 JEBIE SR, BGRB8 T E1/218 . Tighten nut 1/2 of a turn after increase in force.

6 CHTEECHELAT T, A RETILMERAE L, 7T UL SRGE 6 R R B I 238 . RE R LA IER:, {EAREH
[ HEFS o

Disassembly the pre-assembly fitting body .Check penetration of cutting edge.A visible ring of material should fill the

space in front of the profile ring end face. Profile ring may turn on tube,but should not be capable of axial displacement.

7 EAEE, bR IEERR IIRSOR IR R IR R S B T BT R i b B TR
11208 2358 5.

Lubricate the fitting body to be subsequently installed.Tighten nut until a noticeable increase in force is required.Tighten

nut by 1/2 of a turn beyond this point for final assembly.

@ 5 ¥ Reassembly

P R EECSREAT A2 X E 2, (EZELIERATCHIA B

Fitting can be used many times. To ensure this, parts must be clean and free of defects.

I BE TR ECKE B 2 REN K HCS RN HETR, T 536,

Insert the tube into fitting body until cutting ring seats firmly in the fitting and hand-tighten the nut.

2 HIRFATREEE, HEITREIESRB, HirR1/4 21/2 BRI,

Tighten the nut with a wrench by holding the fitting body with a backup wrench until a sharp rise in torque is felt. Further
tighten the nut 1/4 to 1/2 turn.

@ 57 Checking up the bite condition

MR NE TRERIE S TFER: RERTKE T LAZAEHNRRMNE. RENRIEES), HBRdraRms).
All bite type fitting must be disassembled prior to service to check up if small ridge inside the tube is completely formed
around front edge of cutting ring. Otherwise tighten slightly more to have it. Cutting ring may rotate on the tube that
doesn't mean wrong installation. The cutting ring shall be refitted once the nut is retightened.

@ it 5 Xl Leakage reason

1 HFFEEEIK. When the tube is not fully bottomed

IZREE 5. When the nut is not tightened enough
ETHNREIGEE T ANE . When the tube is of scratches or oval
T XKI#. When the tube is extremely hard

B~ W DN

E-14 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



Mifni&# INFORMATION

" ON3ELFLARED TUBE FITTINGS
I ORIELMHAFLARED TUBE FITTINGS INSTRUCTIONS
O JIXEEICKRAEPTIIS M, B= o dk: Bkik, #HE. B8R W& Dy 1M R37°, (FHAMER37°
PO SRS R L, & B s A S RO A B R sh A sy, R LT SRR R, AR
N IRE R

P2 AKFITTING BREENUT 4148 SLEEVE

@xﬁ @% | AV TUBE
= J(

%P7

® I HUEBSKINERIRSCH PRl AHIRSL SRHIJICIRLL.
® I OUEBCLLHE, AR, TRATHRETREAS. mTESEAGRATEE, NILERLEE .

¥ OxHEESk %4 FLARED TUBE FITTINGS ASSEMBLY INSTRUCTIONS

® LI Assembly
1 fERERT R e EA T (£1°RVAD , R ASMEER, BRI, FENE ERE, BREET RS B
HR~FDRNIED1AID22 8], WLIEIPS.

'\i
RV

KPS

D1
D2

2 POE SRR B A BT O AN G . LR NN B A B S AR T i e R
3 CRE T I SHCRHEI S MENGT RS, TR, AR T AR SRR AR T, AT A S AR
FHATRAR2[E, — B 11E, D28 .

® X kiReassembly
B I8 AR EEL AT L2 LS, HERIE AU Hig s . dEy AR,

Fitting can be used many times. To ensure this, parts must be clean and free of defects. no tube cracked .

IR IR X Leakage reason

GRS, WE . & S HE AL, SR f S R B
ER W) EBUIY NSRS

BT OarR.

SR BE T4 AR S T A 2w S AT 4R

BEFRIRRERATT

T RS B 2 I BSR4 A BT TR, k%R 7.

BT URKEORN, it SHESMIR LT G &% 5

\IG)(J'I#OJI\)—\.

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 E-15



Mimni&kl INFORMATION

tHEEIZATIESL TAPER THREAD FITTINGS

HEEIBSESAMIATAPER THREAD FITTINGS INSTRUCTIONS

HEB RS SR N R EUE =Rl EHINPTHIG0 % 34 E 1240 (GB/T 12716, ANSI/ASME B1.20.1) ; ZE#HINPTFT
HEHMEE RS (ANSI B1.20.4) ; Jiii|BSPTRI55°% EH4E 5 184 (GB/T 7306) -

NPT. BSPTHRSUERENT, WZ0(f 2 EDEE, NPTFRT LUE k@ vt @ iy s, (R IR o FH 25 3Rk 5 DR AT
LA ZH, e Ak, BE R RER. PR E S,

BT MM TR E . IS, MRLEAY, SXNMOE G5, H g,

IINFAS RS LUK ) B BRI, —fR3/4" LA B B AT ST

BB HECK AIHESRAU, RS RS, ATl s S S, WA T, G SO 6149.
ISO 1192655 7 ¥ [A] 4%k -

IR IESL 22 3% TAPPER THREAD FITTINGS ASSEMBLY INSTRUCTIONS

l\)—\.

w

L% Assembly

AT O R GEBELSL, RIEEAEY . B R oAb 7

FEAMBS EINE R BAEEE . 2F B EAEE R R, DRI R R G . InARL I R £ 05 1] O
Ui ) {EAMBRS b YESe1 5 F 20

MFr%, BHRTIRE1.521308, — R/ EIRE2.508 /A, KEIRE2E A .

# 5 %% Reassembly

HEEIRAUECKL T I R 203, LR 2RI WA A DR 1 CARE, 7 BRI BT i s SO A R e

A wON -

E-16

it )5 Rl Leakage reason
VA A B B DR R FE

RAL CLBE A

WRAUHIE AN LR, HCRIRSUE BEA I AR E VRS .
WRAA ™ F Gk LB ZR .

HR5) T BIREHR B -

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



Mifni&# INFORMATION

7R B IR AV IE 7% & Routing of Tube Lines

RAT BRI, NIRRT LA
® ErKEIE, ¥REAE, MERmaSmARE
O® PIEE I AIRER:, MRS, TA MBS, WE R, DETARE, A EIKA 4G

| AR N E DAV
xf i
X i
xf B
K1
O HTHEEPRMRTRER, HE/NEELRLINEEIIMEN2.560 . Eimib N & By, HEEAE

PRI R R R A L. 2R .

® G BRSO IR BN SRR 55 R AL, BRI 2 BRI, F N R SCHE

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 E-17



Mimni&kl INFORMATION

AT UL RS, WA . A S I R, S T L BU BN ST R E, AR S PR IE
PRI, NIRRT i N e SCHE . A e [A] BEAERE R 3 K R

C
EEE
A B
T 1 J
m\ © © j
= | — o] o]
K3
%1
EFAME(mm) & Je Al FEA(Mm) & Je 1] FEB (mm) & 2 8] FEC(mm)
6-12.7 50 900 100
15.9-22.2 100 1200 200
25.4 100 1500 200
31.8-38.1 150 2100 300
48.3 150 2700 300

@ BHTRERSYIN AT R ZH90° B, WAL —AN90° S HE I PR EL A T I AN45° (1S IS
Ko Wk 4 NigH EHSEME.

W~
o7 o7

K4

® fEEHKN, REMEFRTETEFMESNEME. WEsSHrs.

E-18 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



Mimni&kl INFORMATION

% i

K5

® EHIINAFE. B, T EkibE. RIFMYEE. mEeR.

Kle

EATON Winner 5T &%k H-AP-EHGC-2011-C Mar 2014 E-19



Mimni&kl INFORMATION

B2 5B i# i FRecommended Thread Torque

A HIRZMetric Thread FEIRLBSP Thread
¥ ZTHREAD e N 4 PALIERD NUT TOROUE
M12x15 10-20 G1/8'%28 11-12
M14x15 2035 G1/4'x19 2528
M16x15 25:40 G3/8'x19 41-48
M18x15 30-45 G1/2'x14 72-82
M20x15 35-50 G5/8'X14 96-110
M22x15 40-70 G3/4™X14 124137
M24x15 4070 GI'x11 151-165
M26x15 60-100 G741 192-206
M30x2.0 80-120 G1.1/2'x11 261-275
M36x2.0 100-150 G2'x11 343357
M42x2.0 150-220
M45x2.0 180-250
M52X2.0 200-300
i JIC B240JIC Thread 1l ORFS #R2Z1JIC Thread
#% £(THREAD AL N 1 TEEAT HETITE N
7/16'x20 15-16 9/16'x18 14-16
1/2'%20 19-21 11/16'x16 2427
9/16'x18 24-28 13/16'x16 43-47
3/4'x16 49-53 1'x14 60-68
7/8'x14 77-85 1316’12 90-95
1.1/16'x12 107-119 1.7/16'x12 125135
13/16'x12 127140 1111612 170-190
15/16'x12 147-154 2'x12 200-225
1.5/8"x12 172-181
1.7/8'x12 215-226
2.1/2'x12 332-350

E-20 EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014



Mifni&# INFORMATION

B {i % # 3= CONVERSION FACTOR

B4 <K 2 A AL A /A
DENOMINATION UNIT CONVERSION UNIT FACTOR
Hifin ZKmm 254
K ZKmm Htin 0.03937
LENGTH AN Km 0.3048
km i Rt 3.28084
HiR F7gesfine ¥ JE Keme 6.4516
AREA -5 JE Kem? V)7 Pi~Fine 0.1550
#hn¢gal TH 4.54609
i TH i trgal 0.219969
VOLUME Entgal TH 3.78541
TH * Nt gal 0.264172
FH gy ke 1
P TElb F kg 0.453592
MASS T3ikg b 2.204622
S 5 /3. 25 Ibfin 4= 2KN.m 0.112985
TORQUE b KN.m 1% 77,551 bf.in 8.85075
55 J1135)2 psi Ebar 0.06895
Mbar 5 71195} 2 psi 14.5038
155 13/~ 2 psi JEMIMPa 0.006895
JE 5 JEMPa 5% J3/3}2 psi 145.038
PRESSURE JEMPa Ebar 10
Hbar JEMIMPa 0.1
rPa Ebar 105
Ebar HPa 105
R ¥R Fbftls Kifbmis 0.3048
VELOCITY KlFbmis ¥ RIS 3.28084
BN /4y gal/min. FH1431/min. 4.54609
M FH/53min. FEIN-G:/5)gal/min. 0.219969
FLOW RATE £ 114/4>gallmin. TH4Mmin. 3.78541
Ft1431/min. Fhnt/4rgal/min., 0.264172
R R FEF HICE C 5/9* (YEIKIRE°F-32)
TEMPERATURE HEC R EF 1 IR JE°C*9/5+32

EATON Winner i3 iE#£3k H-AP-EHGC-2011-C Mar 2014

E-21




	过渡接头
	空白页面


